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1 ²ÒÕÔÕÝØÕ
·ÐÚÞÝë ºÕßÛÕàÐ ÔÐîâ ÜÐâÕÜÐâØçÕáÚÞÕ ÒëàÐÖÕÝØÕ ßÞàÐ×ØâÕÛìÝÞÙ ßàÞáâÞâÕ ßÛÐ-
ÝÕâÝëå ÔÒØÖÕÝØÙ, ÝÐÑÛîÔÐÕÜëå Ò ÓÕÛØÞæÕÝâàØçÕáÚÞÙ (áÒï×ÐÝÝÞÙ á ÁÞÛÝæÕÜ) áØ-
áâÕÜÕ ÞâáçÕâÐ. ½ÐÙÔÕÝÝÞÕ ½ìîâÞÝÞÜ ÞÑêïáÝÕÝØÕ íâÞÙ ×ÐÜÕçÐâÕÛìÝÞÙ ßàÞáâÞâë ÝÐ
ÞáÝÞÒÕ ×ÐÚÞÝÞÒ ÔØÝÐÜØÚØ ÜÞÖÝÞ ÑÕ× ßàÕãÒÕÛØçÕÝØï áçØâÐâì ÝÐçÐÛÞÜ áÞÒàÕÜÕÝ-
ÝÞÙ äØ×ØçÕáÚÞÙ ÝÐãÚØ. ÍâÞ ÑëÛ ßÞØáâØÝÕ äÐÝâÐáâØçÕáÚØÙ ßàÞàëÒ Ò ßÞÝØÜÐÝØØ
¿àØàÞÔë. ½Þ Ø ßÞÝëÝÕ ÔÒØÖÕÝØï ÝÕÑÕáÝëå âÕÛ � ÜÐÛëå Ø ÑÞÛìèØå ßÛÐÝÕâ ÁÞÛ-
ÝÕçÝÞÙ áØáâÕÜë, Øå áßãâÝØÚÞÒ, ÚÞÜÕâ, ÐáâÕàÞØÔÞÒ, Ð Ò ÝÐèÕ ÒàÕÜï âÐÚÖÕ àãÚÞ-
âÒÞàÝëå ÚÞáÜØçÕáÚØå ÚÞàÐÑÛÕÙ Ø ØáÚãááâÒÕÝÝëå áßãâÝØÚÞÒ, ÔÐîâ ÝÐØÑÞÛÕÕ ÒßÕ-
çÐâÛïîéØÕ ÞßëâÝëÕ ßÞÔâÒÕàÖÔÕÝØï ×ÐÚÞÝÞÒ ÚÛÐááØçÕáÚÞÙ ÝìîâÞÝÞÒáÚÞÙ ÜÕåÐÝØ-
ÚØ. ² íâÞÙ ×ÐÜÕçÐâÕÛìÝÞÙ ÚÞáÜØçÕáÚÞÙ ÛÐÑÞàÐâÞàØØ ÒáÕ ïÒÛÕÝØï ÝÐÑÛîÔÐîâáï Ò
ÝÐØÑÞÛÕÕ �çØáâÞÜ� ÒØÔÕ, ÝÕ ÞáÛÞÖÝÕÝÝëÕ ßÞÑÞçÝëÜØ äÐÚâÞàÐÜØ ÒàÞÔÕ âàÕÝØï, áÞ-
ßàÞâØÒÛÕÝØï ÒÞ×ÔãåÐ Ø â.ß., ÝÕØ×ÑÕÖÝëÜØ Ò ãáÛÞÒØïå ×ÕÜÝÞÙ ÛÐÑÞàÐâÞàØØ.

ÂÕÞàÕâØçÕáÚØÙ äãÝÔÐÜÕÝâ, ÝÐ ÚÞâÞàÞÜ ßÞáâàÞÕÝÐ ÝÕÑÕáÝÐï ÜÕåÐÝØÚÐ Ø ÕÕ áÞ-
ÒàÕÜÕÝÝÐï ÒÕâÒì � ÜÕåÐÝØÚÐ ÚÞáÜØçÕáÚÞÓÞ ßÞÛÕâÐ � íâÞ ×ÐÚÞÝë ½ìîâÞÝÐ, áÞ-
áâÐÒÛïîéØÕ ÞáÝÞÒã ÚÛÐááØçÕáÚÞÙ ÔØÝÐÜØÚØ, Ø ×ÐÚÞÝ ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï.
²âÞàÞÙ ×ÐÚÞÝ ½ìîâÞÝÐ ÔÐÕâ ÔØääÕàÕÝæØÐÛìÝëÕ ãàÐÒÝÕÝØï, ÜÐâÕÜÐâØçÕáÚØ ÞßØáë-
ÒÐîéØÕ ÔÒØÖÕÝØï âÕÛ. ·ÐÜÕçÐâÕÛìÝÞ, çâÞ ÔÛï ÔÒØÖÕÝØï âÕÛÐ ßÞÔ ÔÕÙáâÒØÕÜ æÕÝ-
âàÐÛìÝÞÙ áØÛë âïÓÞâÕÝØï, ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞÙ ÚÒÐÔàÐâã àÐááâÞïÝØï Þâ áØ-
ÛÞÒÞÓÞ æÕÝâàÐ (âÐÚ ÝÐ×ëÒÐÕÜÐï ×ÐÔÐçÐ ºÕßÛÕàÐ), ÒÞ×ÜÞÖÝÞ ßÞÛãçÕÝØÕ àÕèÕÝØï
ãàÐÒÝÕÝØÙ ÔÒØÖÕÝØï Ò ÐÝÐÛØâØçÕáÚÞÜ ÒØÔÕ. ÀÐáçÕâ ÔÒØÖÕÝØï ÔÒãå ÝÕÑÕáÝëå âÕÛ,
ÝÐåÞÔïéØåáï ßÞÔ ÔÕÙáâÒØÕÜ áØÛ Ò×ÐØÜÝÞÓÞ âïÓÞâÕÝØï, ÜÐâÕÜÐâØçÕáÚØ áÒÞÔØâáï Ú
×ÐÔÐçÕ Þ ÔÒØÖÕÝØØ ÞÔÝÞÓÞ âÕÛÐ Ò æÕÝâàÐÛìÝÞÜ ÝìîâÞÝÞÒáÚÞÜ ßÞÛÕ âïÓÞâÕÝØï. ¿Þ-
íâÞÜã âÐÚ ÝÐ×ëÒÐÕÜÐï ×ÐÔÐçÐ ÔÒãå âÕÛ, áÒï×ÐÝÝëå ÜÕÖÔã áÞÑÞÙ ÓàÐÒØâÐæØÞÝÝëÜ
Ò×ÐØÜÞÔÕÙáâÒØÕÜ, âÐÚÖÕ ØÜÕÕâ ÐÝÐÛØâØçÕáÚÞÕ àÕèÕÝØÕ, Ò ÞâÛØçØÕ Þâ ×ÐÔÐçØ âàÕå (Ø
ÜÝÞÓØå) âÕÛ, ÔÛï ÚÞâÞàÞÙ ÐÝÐÛØâØçÕáÚÞÕ àÕèÕÝØÕ Ò ÞÑéÕÜ áÛãçÐÕ ÝÕ áãéÕáâÒãÕâ.

»îÑÞÕ ÔÒØÖÕÝØÕ Ò ÝìîâÞÝÞÒáÚÞÜ ßÞÛÕ âïÓÞâÕÝØï ßàÞØáåÞÔØâ ßÞ ÞÔÝÞÜã Ø× âÐÚ
ÝÐ×ëÒÐÕÜëå ÚÞÝØçÕáÚØå áÕçÕÝØÙ � ÚàØÒëå, ÚÞâÞàëÕ ßÞÛãçÐîâáï ßàØ ßÕàÕáÕçÕ-
ÝØØ ÚàãÓÞÒÞÓÞ ÚÞÝãáÐ ßÛÞáÚÞáâìî. ² ×ÐÒØáØÜÞáâØ Þâ ÝÐÚÛÞÝÐ áÕÚãéÕÙ ßÛÞáÚÞáâØ
Ú ÞáØ ÚÞÝãáÐ ßÞÛãçÐîâáï ÞÚàãÖÝÞáâì, íÛÛØßá, ßÐàÐÑÞÛÐ ØÛØ ÓØßÕàÑÞÛÐ. ¿ÕàØÞ-
ÔØçÕáÚØÜ ÔÒØÖÕÝØïÜ ßÛÐÝÕâ Ø áßãâÝØÚÞÒ áÞÞâÒÕâáâÒãîâ ×ÐÜÚÝãâëÕ íÛÛØßâØçÕáÚØÕ
(Ò çÐáâÝÞÜ áÛãçÐÕ ÚàãÓÞÒëÕ) ÞàÑØâë. ¿àÕÔÕÛìÝÞÜã áÛãçÐî áØÛìÝÞ ÒëâïÝãâëå íÛ-
ÛØßâØçÕáÚØå ÞàÑØâ áÞ ÒáÕ ÑÞÛÕÕ Ø ÑÞÛÕÕ ÔÐÛÕÚØÜ ÒâÞàëÜ äÞÚãáÞÜ áÞÞâÒÕâáâÒãÕâ
àÐ×ÞÜÚÝãâÐï ßÐàÐÑÞÛØçÕáÚÐï âàÐÕÚâÞàØï (ÒâÞàÞÙ äÞÚãá íÛÛØßáÐ ßàØ âÐÚÞÜ ßàÕ-
ÔÕÛìÝÞÜ ßÕàÕåÞÔÕ ßÞáâÕßÕÝÝÞ ãÔÐÛïÕâáï Ò ÑÕáÚÞÝÕçÝÞáâì). µáÛØ ÖÕ âÕÛÞ ßàØÑÛØ-
ÖÐÕâáï Ú áØÛÞÒÞÜã æÕÝâàã Ø× ÑÕáÚÞÝÕçÝÞáâØ, ÕÓÞ ÔÒØÖÕÝØÕ ßàÞØáåÞÔØâ ßÞ ÞÔÝÞÙ
Ø× ÒÕâÒÕÙ ÓØßÕàÑÞÛë. ² íâÞÜ áÛãçÐÕ, Ø×ÜÕÝØÒ ÝÐßàÐÒÛÕÝØÕ ÔÒØÖÕÝØï ßÞÔ ÔÕÙáâÒØ-
ÕÜ áØÛë âïÓÞâÕÝØï, âÕÛÞ áÝÞÒÐ ãåÞÔØâ Ò ÑÕáÚÞÝÕçÝÞáâì. ´ÒØÖÕÝØÕ ßÞ ãåÞÔïéÕÙ Ò
ÑÕáÚÞÝÕçÝÞáâì ÒÕâÒØ ÓØßÕàÑÞÛë ÜÞÖÝÞ âÐÚÖÕ ßÞÛãçØâì, áÞÞÑéØÒ ÝÐåÞÔïéÕÜãáï
ÝÐ ÚÞÝÕçÝÞÜ àÐááâÞïÝØØ âÕÛã ÔÞáâÐâÞçÝÞ ÑÞÛìèãî áÚÞàÞáâì, ßàÕÒÞáåÞÔïéãî âÐÚ
ÝÐ×ëÒÐÕÜãî áÚÞàÞáâì ÞáÒÞÑÞÖÔÕÝØï.

ÂÞçÝëÕ ÐÝÐÛØâØçÕáÚØÕ àÕèÕÝØï, ßÞÔÞÑÝëÕ ÚÕßÛÕàÞÒã ÔÒØÖÕÝØî Ò ÝìîâÞÝÞÒ-
áÚÞÜ æÕÝâàÐÛìÝÞÜ ßÞÛÕ âïÓÞâÕÝØï, ×ÐÜÕçÐâÕÛìÝë âÕÜ, çâÞ ÞßØáëÒÐÕÜëÕ âÐÚØÜØ àÕ-
èÕÝØïÜØ ÔÒØÖÕÝØï ÞÚÐ×ëÒÐîâáï ÒÕáìÜÐ ßàÞáâëÜØ. º áÞÖÐÛÕÝØî, âÞçÝëÕ àÕèÕ-
ÝØï àÕÔÚÞ ÒáâàÕçÐîâáï Ò äØ×ØÚÕ. ¿àØ ÝÐÛØçØØ ÒÞ×ÜãéÐîéØå ÒÞ×ÔÕÙáâÒØÙ (âïÓÞâÕ-
ÝØÕ ÔàãÓØå ßÛÐÝÕâ, ÞâÛØçØÕ áØÛë âïÓÞâÕÝØï ÝÕÑÕáÝÞÓÞ âÕÛÐ Þâ áâàÞÓÞÙ áäÕàØçÕáÚÞÙ
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áØÜÜÕâàØØ Ø â.ß.) ãàÐÒÝÕÝØï ÔÒØÖÕÝØï áâÐÝÞÒïâáï ÝÕØÝâÕÓàØàãÕÜëÜØ. ¿àØáãéÕÕ
ÚÕßÛÕàÞÒëÜ ÔÒØÖÕÝØïÜ �çãÔÞ� ×ÐÜÚÝãâëå ÞàÑØâ, àÐÒÝÞ ÚÐÚ Ø ×ÐÜÕçÐâÕÛìÝÐï Øå
ßàÞáâÞâÐ, ÑÕááÛÕÔÝÞ ØáçÕ×Ðîâ. ¼ÐâÕÜÐâØçÕáÚÞÕ ØááÛÕÔÞÒÐÝØÕ ÔÒØÖÕÝØï ÝÕØ×ÜÕ-
àØÜÞ ãáÛÞÖÝïÕâáï.

ºÞÓÔÐ ÒÞ×ÜãéÐîéØÕ ÒÞ×ÔÕÙáâÒØï ÜÐÛë ßÞ áàÐÒÝÕÝØî á ÞáÝÞÒÝÞÙ áØÛÞÙ âïÓÞ-
âÕÝØï, ÜÞÖÝÞ ØáßÞÛì×ÞÒÐâì ßàØÑÛØÖÕÝÝëÕ ÐÝÐÛØâØçÕáÚØÕ ÜÕâÞÔë. ºÕßÛÕàÞÒÞ ÔÒØ-
ÖÕÝØÕ ÜÞÖÝÞ âÞÓÔÐ ßàØÝïâì Ò ÚÐçÕáâÒÕ ÝãÛÕÒÞÓÞ ßàØÑÛØÖÕÝØï, áçØâÐï, çâÞ ÒÞ×Üã-
éÕÝØï ßàØÒÞÔïâ Ú áàÐÒÝØâÕÛìÝÞ ÜÕÔÛÕÝÝëÜ Ø×ÜÕÝÕÝØïÜ ßÐàÐÜÕâàÞÒ ÚÕßÛÕàÞÒÞÙ
ÞàÑØâë, Ø ßÞßëâÐâìáï ÝÐÙâØ ÐÝÐÛØâØçÕáÚØÕ ÒëàÐÖÕÝØï ÔÛï íâØå ÜÕÔÛÕÝÝëå Ø×ÜÕ-
ÝÕÝØÙ. ºÞÓÔÐ ÖÕ ÒÞ×ÜãéÕÝØï ÝÕÛì×ï áçØâÐâì ÜÐÛëÜØ, ÚÐÚ, ÝÐßàØÜÕà, Ò âÐÚ ÝÐ×ëÒÐ-
ÕÜÞÙ ×ÐÔÐçÕ âàÕå âÕÛ, ÔÐÖÕ ßàØÑÛØÖÕÝÝëÕ àÕèÕÝØï ßÞÛãçØâì ÝÕ ãÔÐÕâáï. ² âÐ-
ÚØå áÛãçÐïå ÞáâÐÕâáï ßÞÛÐÓÐâìáï âÞÛìÚÞ ÝÐ çØáÛÕÝÝëÕ ÜÕâÞÔë àÕèÕÝØï ãàÐÒÝÕÝØÙ
ÔÒØÖÕÝØï.

¿ÞïáÝØÜ ØÔÕî çØáÛÕÝÝëå ÜÕâÞÔÞÒ àÐáçÕâÐ ÔÒØÖÕÝØï. ¿ãáâì ÔÛï ÝÕÚÞâÞàÞÓÞ ÝÐ-
çÐÛìÝÞÓÞ ÜÞÜÕÝâÐ ÒàÕÜÕÝØ ×ÐÔÐÝë ßÞÛÞÖÕÝØÕ Ø áÚÞàÞáâì àÐááÜÐâàØÒÐÕÜÞÓÞ ÚÞá-
ÜØçÕáÚÞÓÞ âÕÛÐ (ÝÐßàØÜÕà, ßÛÐÝÕâë ØÛØ ÚÞáÜØçÕáÚÞÓÞ ÐßßÐàÐâÐ), Ð âÐÚÖÕ àÐáßÞÛÞ-
ÖÕÝØÕ ÒáÕå ÝÕÑÕáÝëå âÕÛ, áÞÞÑéÐîéØå ÕÜã ãáÚÞàÕÝØÕ áÒÞØÜØ áØÛÐÜØ âïÓÞâÕÝØï.
½Ð ÞáÝÞÒÕ ×ÐÚÞÝÐ ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï ÜÞÖÝÞ ÒëçØáÛØâì ÓàÐÒØâÐæØÞÝÝÞÕ ãáÚÞ-
àÕÝØÕ, áÞÞÑéÐÕÜÞÕ ÔÐÝÝÞÜã âÕÛã ÚÐÖÔëÜ ÝÕÑÕáÝëÜ âÕÛÞÜ Ò ÞâÔÕÛìÝÞáâØ, Ð ×ÝÐ-
çØâ, Ø ßÞÛÝÞÕ ãáÚÞàÕÝØÕ ÚÐÚ ÒÕÚâÞàÝãî áãÜÜã íâØå ãáÚÞàÕÝØÙ. ·ÝÐï ÒÕÛØçØÝã Ø
ÝÐßàÐÒÛÕÝØÕ áÚÞàÞáâØ âÕÛÐ, ÜÞÖÝÞ, ãçØâëÒÐï ÒëçØáÛÕÝÝÞÕ ãáÚÞàÕÝØÕ Ø áçØâÐï ÕÓÞ
ßÞáâÞïÝÝëÜ, àÐááçØâÐâì ßÞÛÞÖÕÝØÕ Ø áÚÞàÞáâì âÕÛÐ çÕàÕ× ÝÕÑÞÛìèÞÙ ßàÞÜÕÖãâÞÚ
ÒàÕÜÕÝØ (�èÐÓ� ØÝâÕÓàØàÞÒÐÝØï). ´Ûï ÝÐÙÔÕÝÝÞÓÞ ÝÞÒÞÓÞ ßÞÛÞÖÕÝØï ÜÞÖÝÞ áÝÞÒÐ
àÐááçØâÐâì ãáÚÞàÕÝØÕ âÕÛÐ, Ø ×ÐâÕÜ ßÞ âÞÙ ÖÕ áåÕÜÕ àÐááçØâÐâì áÛÕÔãîéÕÕ ßÞÛÞ-
ÖÕÝØÕ âÕÛÐ Ø ÕÓÞ áÚÞàÞáâì, Ø âÐÚ ÔÐÛÕÕ. ÂÐÚØÜ ßãâÕÜ ÜÞÖÝÞ èÐÓ ×Ð èÐÓÞÜ ßàÞáÛÕ-
ÔØâì ÒáÕ ÔÒØÖÕÝØÕ àÐááÜÐâàØÒÐÕÜÞÓÞ âÕÛÐ. µÔØÝáâÒÕÝÝÞÕ ßàØÑÛØÖÕÝØÕ, ÚÞâÞàÞÕ
ßàØ íâÞÜ ßàØåÞÔØâáï ÔÞßãáÚÐâì, ×ÐÚÛîçÐÕâáï Ò âÞÜ, çâÞ Ò âÕçÕÝØÕ ÚÐÖÔÞÓÞ ÝÕÑÞÛì-
èÞÓÞ ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ (èÐÓÐ àÐáçÕâÐ) ãáÚÞàÕÝØÕ âÕÛÐ áçØâÐÕâáï ßÞáâÞïÝÝëÜ,
âÞÓÔÐ ÚÐÚ ÝÐ áÐÜÞÜ ÔÕÛÕ ÞÝÞ ÒáÕ ÒàÕÜï Ø×ÜÕÝïÕâáï. ½Þ âÞçÝÞáâì àÐáçÕâÐ ÜÞÖÝÞ
ßÞÒëáØâì, ãÜÕÝìèÐï èÐÓ ØÝâÕÓàØàÞÒÐÝØï. ºÞÝÕçÝÞ, ×Ð ßÞÒëèÕÝØÕ âÞçÝÞáâØ ßàØ-
åÞÔØâáï ßÛÐâØâì ãÒÕÛØçÕÝØÕÜ ÞÑêÕÜÐ ÒëçØáÛÕÝØÙ.

¼ë ÞßØáÐÛØ ×ÔÕáì âÐÚ ÝÐ×ëÒÐÕÜëÙ ÐÛÓÞàØâÜ ÍÙÛÕàÐ çØáÛÕÝÝÞÓÞ ØÝâÕÓàØàÞÒÐ-
ÝØï ãàÐÒÝÕÝØÙ ÔÒØÖÕÝØï, Ø×ÒÕáâÝëÙ âÐÚÖÕ ÚÐÚ ÜÕâÞÔ ÛÞÜÐÝëå. ÍâÞâ ÜÕâÞÔ ÔÐÕâ
áàÐÒÝØâÕÛìÝÞ ÝÕÒëáÞÚãî âÞçÝÞáâì Ø ßàØÒÞÔØâ Ú ÝÐÚÐßÛØÒÐîéØÜáï ÞèØÑÚÐÜ. ¿Þ-
íâÞÜã Ò ÚÞÜßìîâÕàÝëå ßàÞÓàÐÜÜÐå ßÐÚÕâÐ �´ÒØÖÕÝØÕ ÚÞáÜØçÕáÚØå âÕÛ� ØáßÞÛì-
×ÞÒÐÝ ÝÕáÚÞÛìÚÞ ÑÞÛÕÕ áÛÞÖÝëÙ ÜÕâÞÔ ÀãÝÓÕ�ºãââÐ çÕâÒÕàâÞÓÞ ßÞàïÔÚÐ âÞçÝÞáâØ,
ÛØèÕÝÝëÙ ÞâÜÕçÕÝÝëå ÝÕÔÞáâÐâÚÞÒ, ßàØáãéØå ßàÞáâÞÜã ÜÕâÞÔã ÍÙÛÕàÐ.

² ÜÞÔÕÛØàãîéØå ÚÞÜßìîâÕàÝëå ßàÞÓàÐÜÜÐå ÒëßÞÛÝïÕâáï çØáÛÕÝÝÞÕ ØÝâÕÓàØ-
àÞÒÐÝØÕ ãàÐÒÝÕÝØÙ ÔÒØÖÕÝØï ÔÐÖÕ Ò âÕå áÛãçÐïå, ÚÞÓÔÐ áãéÕáâÒãîâ ÐÝÐÛØâØçÕ-
áÚØÕ àÕèÕÝØï. ÀÕ×ãÛìâÐâë ÐÝÐÛØâØçÕáÚÞÓÞ àÕèÕÝØï ØáßÞÛì×ãîâáï ÛØèì ÔÛï ÐÒâÞ-
ÜÐâØçÕáÚÞÓÞ ÒëÑÞàÐ ÞßâØÜÐÛìÝÞÓÞ ÜÐáèâÐÑÐ ÞâÞÑàÐÖÕÝØï Ø×ãçÐÕÜÞÓÞ ÔÒØÖÕÝØï
ÝÐ íÚàÐÝÕ ÚÞÜßìîâÕàÐ. ´àãÓØÜØ áÛÞÒÐÜØ, ÝØÚÐÚØå ×ÐÚÞÝÞÒ áÞåàÐÝÕÝØï Ø ×ÐÚÞÝÞÒ
ºÕßÛÕàÐ Ò ÜÞÔÕÛØàãîéØÕ ßàÞÓàÐÜÜë ÝÕ ×ÐÛÞÖÕÝÞ � ÐÛÓÞàØâÜ çØáÛÕÝÝÞÓÞ ØÝâÕ-
ÓàØàÞÒÐÝØï ÞáÝÞÒÐÝ ÛØèì ÝÐ ÒâÞàÞÜ ×ÐÚÞÝÕ ½ìîâÞÝÐ Ø ×ÐÚÞÝÕ ÒáÕÜØàÝÞÓÞ âïÓÞâÕ-
ÝØï. ¸ÜÕÝÝÞ Ò íâÞÜ áÜëáÛÕ ÜÞÖÝÞ ÓÞÒÞàØâì, çâÞ íâØ ßàÞÓàÐÜÜë ÔÐîâ ÒÞ×ÜÞÖÝÞáâì
íÚáßÕàØÜÕÝâÐÛìÝÞÙ ßàÞÒÕàÚØ ×ÐÚÞÝÞÒ ºÕßÛÕàÐ (ÝÐ ÞáÝÞÒÕ ÒëçØáÛØâÕÛìÝÞÓÞ íÚá-
ßÕàØÜÕÝâÐ) ÔÛï ÔÒØÖÕÝØï âÕÛÐ Ò æÕÝâàÐÛìÝÞÜ ßÞÛÕ âïÓÞâÕÝØï Ø ÔÛï ÔÒØÖÕÝØï ÔÒãå
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Ò×ÐØÜÞÔÕÙáâÒãîéØå âÕÛ.
¿àØ ÔÞÑÐÒÛÕÝØØ ÕéÕ ÞÔÝÞÓÞ âÕÛÐ Ú áØáâÕÜÕ ÔÒãå Ò×ÐØÜÞÔÕÙáâÒãîéØå âÕÛ ×Ð-

ÔÐçÐ ÝÐåÞÖÔÕÝØï Øå ÔÒØÖÕÝØï Ò ÞÑéÕÜ áÛãçÐÕ áâÐÝÞÒØâáï ÐÝÐÛØâØçÕáÚØ ÝÕàÐ×àÕ-
èØÜÞÙ. ´àãÓØÜØ áÛÞÒÐÜØ, ÝÕ áãéÕáâÒãÕâ äÞàÜãÛ, ßàÕÔáâÐÒÛïîéØå ÔÒØÖÕÝØÕ âÕÛ Ø
ßÞ×ÒÞÛïîéØå ÒëçØáÛØâì Øå ßÞÛÞÖÕÝØÕ Ò ßàÞáâàÐÝáâÒÕ ßàØ ßàÞØ×ÒÞÛìÝëå ÝÐçÐÛì-
Ýëå ãáÛÞÒØïå. ºÞÝÕçÝÞ, ÔÕÛÞ ×ÔÕáì ÝÕ âÞÛìÚÞ Ò ÜÐâÕÜÐâØçÕáÚÞÙ áÛÞÖÝÞáâØ ×ÐÔÐçØ,
ÝÞ Ø Ò ØáÚÛîçØâÕÛìÝÞÙ áÛÞÖÝÞáâØ áÐÜØå ÔÒØÖÕÝØÙ. ¼ÕÖÔã âÕÜ, ßàØ çØáÛÕÝÝÞÜ àÕ-
èÕÝØØ âÐÚÞÙ ×ÐÔÐçØ ÝØÚÐÚØå ßàØÝæØßØÐÛìÝëå ÜÐâÕÜÐâØçÕáÚØå ×ÐâàãÔÝÕÝØÙ ÝÕ ÒÞ×-
ÝØÚÐÕâ. ·ÐÔÐçÐ âàÕå âÕÛ çØáÛÕÝÝÞ àÕèÐÕâáï âÐÚ ÖÕ ßàÞáâÞ, ÚÐÚ Ø ×ÐÔÐçÐ ÔÒãå âÕÛ;
ÛØèì ãÒÕÛØçØÒÐÕâáï ÞÑêÕÜ ÝÕÞÑåÞÔØÜëå ÒëçØáÛÕÝØÙ. ¾ÔÝÐÚÞ áÛÕÔãÕâ ØÜÕâì Ò ÒØ-
Ôã, çâÞ çØáÛÕÝÝëÕ ÜÕâÞÔë ÔÐÛÕÚÞ ÝÕ ÒáÕáØÛìÝë. ´Ûï àÐáçÕâÐ ÔÒØÖÕÝØï Ø ßàÕÔáÚÐ-
×ÐÝØï ßÞÛÞÖÕÝØï âÕÛ çÕàÕ× ÑÞÛìèÞÙ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ âàÕÑãÕâáï ÞçÕÝì âÞçÝÞ
×ÝÐâì ÝÐçÐÛìÝÞÕ áÞáâÞïÝØÕ. ¸ âÕÜ ÑÞÛÕÕ çØáÛÕÝÝëÕ ÜÕâÞÔë ÝÕ ßÞ×ÒÞÛïîâ Ø×ãçÐâì
ÞÑéØÕ áÒÞÙáâÒÐ ÔÒØÖÕÝØÙ ÝÕÑÕáÝëå âÕÛ.

2 ·ÐÚÞÝ ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï
² ÝÕÑÕáÝÞÙ ÜÕåÐÝØÚÕ Ø ÚÞáÜØçÕáÚÞÙ ÔØÝÐÜØÚÕ Ø×ãçÐÕâáï ÔÒØÖÕÝØÕ âÕÛ (×ÒÕ×Ô, ßÛÐ-
ÝÕâ, ÚÞÜÕâ, ÕáâÕáâÒÕÝÝëå Ø ØáÚãááâÒÕÝÝëå áßãâÝØÚÞÒ, ÚÞáÜØçÕáÚØå ÐßßÐàÐâÞÒ) ßÞÔ
ÔÕÙáâÒØÕÜ áØÛ ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï. ÁÞÓÛÐáÝÞ ÝìîâÞÝÞÒáÚÞÜã ×ÐÚÞÝã âïÓÞâÕÝØï
ÔÒÕ ÜÐâÕàØÐÛìÝëÕ âÞçÚØ ßàØâïÓØÒÐîâáï ÔàãÓ Ú ÔàãÓã á áØÛÐÜØ, ßàÞßÞàæØÞÝÐÛìÝë-
ÜØ ÜÐááÐÜ m1 Ø m2 íâØå âÞçÕÚ Ø ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝëÜØ ÚÒÐÔàÐâã àÐááâÞï-
ÝØï r ÜÕÖÔã ÝØÜØ:

F = G
m1m2

r2
. (1)

ºÞíääØæØÕÝâ ßàÞßÞàæØÞÝÐÛìÝÞáâØ Ò ÒëàÐÖÕÝØØ (1) ÝÐ×ëÒÐÕâáï ßÞáâÞïÝÝÞÙ âï-
ÓÞâÕÝØï ØÛØ ÓàÐÒØâÐæØÞÝÝÞÙ ßÞáâÞïÝÝÞÙ. ·ÝÐçÕÝØÕ ÓàÐÒØâÐæØÞÝÝÞÙ ßÞáâÞ-
ïÝÝÞÙ ×ÐÒØáØâ Þâ ÒëÑÞàÐ ÕÔØÝØæ ÔÛï Ø×ÜÕàÕÝØï áØÛë, ÜÐááë Ø àÐááâÞïÝØï. ² ¼ÕÖ-
ÔãÝÐàÞÔÝÞÙ áØáâÕÜÕ ÕÔØÝØæ (Á¸) ßÞáâÞïÝÝÐï âïÓÞâÕÝØï àÐÒÝÐ 6.670·10−11 ½·Ü2/ÚÓ2.

´Ûï âÕÛ ÚÞÝÕçÝëå àÐ×ÜÕàÞÒ ×ÐÚÞÝ âïÓÞâÕÝØï (1) áßàÐÒÕÔÛØÒ, ÚÞÓÔÐ àÐááâÞïÝØï
ÜÕÖÔã âÕÛÐÜØ ÒÕÛØÚØ ßÞ áàÐÒÝÕÝØî á Øå àÐ×ÜÕàÐÜØ, çâÞ ßÞ×ÒÞÛïÕâ àÐááÜÐâàØÒÐâì
âÐÚØÕ âÕÛÐ ÚÐÚ ÜÐâÕàØÐÛìÝëÕ âÞçÚØ. ½Þ ÜÞÖÝÞ ßÞÚÐ×Ðâì, çâÞ ÓàÐÒØâÐæØÞÝÝÞÕ Ò×Ð-
ØÜÞÔÕÙáâÒØÕ èÐàÞÞÑàÐ×Ýëå âÕÛ ÞßØáëÒÐÕâáï âÞÙ ÖÕ äÞàÜãÛÞÙ (1) ßàØ ÛîÑëå àÐá-
áâÞïÝØïå, ÕáÛØ àÐáßàÕÔÕÛÕÝØÕ ÜÐáá Ò âÕÛÐå áäÕàØçÕáÚØ áØÜÜÕâàØçÝÞ. ÍâÞÜã ãáÛÞ-
ÒØî á åÞàÞèÕÙ âÞçÝÞáâìî ãÔÞÒÛÕâÒÞàïîâ ×ÒÕ×Ôë Ø ÑÞÛìèØÝáâÒÞ ßÛÐÝÕâ. ¿ÞíâÞÜã
âÐÚØÕ ÝÕÑÕáÝëÕ âÕÛÐ ßàØâïÓØÒÐîâ âÐÚ, ÑãÔâÞ Òáï Øå ÜÐááÐ áÞáàÕÔÞâÞçÕÝÐ Ò æÕÝâàÕ,
Ø äÞàÜãÛã (1) ÜÞÖÝÞ ßàØÜÕÝïâì ÔÛï ÞßàÕÔÕÛÕÝØï áØÛë, ÔÕÙáâÒãîéÕÙ ÝÐ Øå áßãâ-
ÝØÚØ ÔÐÖÕ âÞÓÔÐ, ÚÞÓÔÐ áßãâÝØÚØ ÒßÛÞâÝãî ßàØÑÛØÖÐîâáï Ú ÝØÜ. ¿àØ íâÞÜ ßÞÔ
r áÛÕÔãÕâ ßÞÝØÜÐâì àÐááâÞïÝØÕ ÔÞ æÕÝâàÐ ßàØâïÖÕÝØï (æÕÝâàÐ ×ÒÕ×Ôë ØÛØ ßÛÐÝÕ-
âë). ² çÐáâÝÞáâØ, äÞàÜãÛÐ (1) ßàØÜÕÝØÜÐ Ú ÛîÑëÜ âÕÛÐÜ, ÝÐåÞÔïéØÜáï ÚÐÚ ÝÐÔ
·ÕÜÛÕÙ, âÐÚ Ø ÝÐ ÕÕ ßÞÒÕàåÝÞáâØ. ¿ÞíâÞÜã àÕèÕÝØÕ ×ÐÔÐçØ ºÕßÛÕàÐ (ÚÐÚ ÐÝÐÛØâØ-
çÕáÚÞÕ, âÐÚ Ø çØáÛÕÝÝÞÕ, ÔÕÜÞÝáâàØàãÕÜÞÕ ÜÞÔÕÛØàãîéÕÙ ßàÞÓàÐÜÜÞÙ) ßàØÜÕÝØÜÞ
ÝÕ âÞÛìÚÞ Ú ÔÒØÖÕÝØî ßÛÐÝÕâ ÒÞÚàãÓ ÁÞÛÝæÐ, ÓÔÕ àÐááâÞïÝØï ÜÕÖÔã âïÓÞâÕîéØÜØ
âÕÛÐÜØ ÒÕÛØÚØ ßÞ áàÐÒÝÕÝØî á Øå àÐ×ÜÕàÐÜØ, ÝÞ Ø Ú ÔÒØÖÕÝØî áßãâÝØÚÞÒ ßÛÐÝÕâ
ßÞ ÝØ×ÚØÜ ÞàÑØâÐÜ, âÐÚ ÚÐÚ àÐáßàÕÔÕÛÕÝØÕ ßÛÞâÝÞáâØ ÒÕéÕáâÒÐ ÒÝãâàØ ßÛÐÝÕâ á
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åÞàÞèÕÙ âÞçÝÞáâìî ÜÞÖÝÞ áçØâÐâì áäÕàØçÕáÚØ áØÜÜÕâàØçÝëÜ. ¿àØ íâÞÜ, àÐ×ãÜÕ-
Õâáï, ÝÕâ ÝÕÞÑåÞÔØÜÞáâØ, çâÞÑë áÐÜ áßãâÝØÚ (ØÛØ ÚÞáÜØçÕáÚØÙ ÚÞàÐÑÛì) ÑëÛ áäÕ-
àØçÕáÚØ áØÜÜÕâàØçÝëÜ, âÐÚ ÚÐÚ Ò ÛîÑÞÜ áÛãçÐÕ ÕÓÞ àÐ×ÜÕàë ÜÐÛë ßÞ áàÐÒÝÕÝØî
á àÐááâÞïÝØÕÜ ÔÞ æÕÝâàÐ ßÛÐÝÕâë, Ø ÕÓÞ ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ÜÐâÕàØÐÛìÝãî
âÞçÚã. ´àãÓØÜØ áÛÞÒÐÜØ, ßÞÛÕ âïÓÞâÕÝØï ßÛÐÝÕâë ÝÐ ßàÞâïÖÕÝØØ àÐ×ÜÕàÞÒ ÚÞàÐÑÛï
ÜÞÖÝÞ ßÞÛÐÓÐâì ÞÔÝÞàÞÔÝëÜ, Ð áØÛã âïÓÞâÕÝØï áçØâÐâì ßàØÛÞÖÕÝÝÞÙ Ò æÕÝâàÕ ÜÐáá
ÚÞàÐÑÛï.

ÁØÛÐ âïÖÕáâØ mg, ÔÕÙáâÒãîéÐï ÝÐ âÕÛÞ ÜÐááë m ÒÑÛØ×Ø ßÞÒÕàåÝÞáâØ ·ÕÜÛØ,
ßÞÛãçÐÕâáï Ø× ×ÐÚÞÝÐ ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï (1), ÕáÛØ Ò ÝÕÓÞ ÒÜÕáâÞ r ßÞÔáâÐÒØâì
àÐÔØãá ·ÕÜÛØ R = 6370 ÚÜ, Ð ÒÜÕáâÞ m2 � ÜÐááã ·ÕÜÛØ M = 5.98 · 1024 ÚÓ. ¿ÞíâÞ-
Üã ãáÚÞàÕÝØÕ áÒÞÑÞÔÝÞÓÞ ßÐÔÕÝØï ÒÑÛØ×Ø ßÞÒÕàåÝÞáâØ ·ÕÜÛØ (ÞÔØÝÐÚÞÒÞÕ ÔÛï ÒáÕå
âÕÛ) ÜÞÖÝÞ ÒëàÐ×Øâì çÕàÕ× ÜÐááã ·ÕÜÛØ, ÕÕ àÐÔØãá Ø ÓàÐÒØâÐæØÞÝÝãî ßÞáâÞïÝÝãî:
g = GM/R2 = 9.8 Ü/á2. ² ×ÐÔÐçÐå Þ ÔÒØÖÕÝØØ áßãâÝØÚÞÒ ·ÕÜÛØ Ø ÑÐÛÛØáâØçÕ-
áÚØå áÝÐàïÔÞÒ ÑëÒÐÕâ ãÔÞÑÝÞ ßàØ àÐáçÕâÐå Ò äÞàÜãÛã (1) ÒÜÕáâÞ ßàÞØ×ÒÕÔÕÝØï GM
ßÞÔáâÐÒÛïâì íÚÒØÒÐÛÕÝâÝãî ÒÕÛØçØÝã gR2, çâÞ ÔÐÕâ ÑÞÛÕÕ ãÔÞÑÝÞÕ ÒëàÐÖÕÝØÕ ÔÛï
áØÛë ×ÕÜÝÞÓÞ âïÓÞâÕÝØï, ÔÕÙáâÒãîéÕÙ ÝÐ âÕÛÞ ÜÐááë m ÝÐ àÐááâÞïÝØØ r Þâ æÕÝâàÐ
·ÕÜÛØ: F = mgR2/r2.

3 ¿ÞâÕÝæØÐÛìÝÐï íÝÕàÓØï Ò ßÞÛÕ âïÓÞâÕÝØï
¿ÞâÕÝæØÐÛìÝÐï íÝÕàÓØï âÕÛÐ Ò ßÞÛÕ âïÓÞâÕÝØï Ø×ÜÕàïÕâáï àÐÑÞâÞÙ, ÚÞâÞàãî áÞÒÕà-
èÐÕâ áØÛÐ âïÓÞâÕÝØï ßàØ ßÕàÕÜÕéÕÝØØ âÕÛÐ Ø× ÔÐÝÝÞÙ âÞçÚØ Ò âÞçÚã, ÓÔÕ íâÐ íÝÕàÓØï
ßàØÝïâÐ àÐÒÝÞÙ ÝãÛî. ÂÞçÚÐ ÝãÛÕÒÞÓÞ ×ÝÐçÕÝØï ßÞâÕÝæØÐÛìÝÞÙ íÝÕàÓØØ ÜÞÖÕâ Ñëâì
ÒëÑàÐÝÐ ßàÞØ×ÒÞÛìÝÞ. ¾ÑëçÝÞ Ò ÚÐçÕáâÒÕ âÐÚÞÒÞÙ ÒëÑØàÐîâ âÞçÚã ÝÐ ßÞÒÕàåÝÞáâØ
ßÛÐÝÕâë ÛØÑÞ ÑÕáÚÞÝÕçÝÞ ãÔÐÛÕÝÝãî âÞçÚã, ÓÔÕ áØÛÐ âïÓÞâÕÝØï ÞÑàÐéÐÕâáï Ò ÝãÛì.
² ÝÐèÕÜ áÛãçÐÕ ãÔÞÑÝÞ ÒëÑàÐâì âÞçÚã ÝãÛÕÒÞÙ ßÞâÕÝæØÐÛìÝÞÙ íÝÕàÓØØ Ò ÑÕáÚÞÝÕç-
ÝÞáâØ. ÂÞÓÔÐ ßÞâÕÝæØÐÛìÝÐï íÝÕàÓØï U(r) âÕÛÐ ÜÐááë m ÝÐ ÚÞÝÕçÝÞÜ àÐááâÞïÝØØ r
Þâ æÕÝâàÐ ßÛÐÝÕâë, ØÜÕîéÕÙ ÜÐááã M , ÑãÔÕâ ÞâàØæÐâÕÛìÝÐ (ßàØ ãÔÐÛÕÝØØ âÕÛÐ Ò
ÑÕáÚÞÝÕçÝÞáâì áØÛÐ ßàØâïÖÕÝØï áÞÒÕàèÐÕâ ÞâàØæÐâÕÛìÝãî àÐÑÞâã), Ð ÕÕ ×ÝÐçÕÝØÕ
ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ ßÕàÒÞÙ áâÕßÕÝØ àÐááâÞïÝØï r ÔÞ áØÛÞÒÞÓÞ æÕÝâàÐ:

U(r) = −G
Mm

r
= −mgR2

r
. (2)

4 ºàãÓÞÒÐï áÚÞàÞáâì Ø áÚÞàÞáâì ÞáÒÞÑÞÖÔÕÝØï
ºàãÓÞÒãî áÚÞàÞáâì vcirc ÔÛï ÞàÑØâë, ßàÞåÞÔïéÕÙ ÝÐ àÐááâÞïÝØØ r Þâ æÕÝâàÐ ßÛÐÝÕ-
âë, ÜÞÖÝÞ ÝÐÙâØ, ßàØàÐÒÝØÒÐï æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ ãáÚÞàÕÝØÕ v2

circ/r ãáÚÞàÕÝØî
GM/r2, ÚÞâÞàÞÕ áÞÞÑéÐÕâ áØÛÐ âïÓÞâÕÝØï áßãâÝØÚã, ÝÐåÞÔïéÕÜãáï ÝÐ àÐááâÞïÝØØ
r Þâ áØÛÞÒÞÓÞ æÕÝâàÐ:

vcirc =

√
GM

r
=

√
gR2

r
. (3)

·ÝÐçÕÝØÕ ÚàãÓÞÒÞÙ áÚÞàÞáâØ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ ÚÞàÝî ÚÒÐÔàÐâÝÞÜã Ø×
àÐÔØãáÐ ÞàÑØâë Ø ÝÕ ×ÐÒØáØâ Þâ ÜÐááë áßãâÝØÚÐ. ¿ÕàØÞÔ ÞÑàÐéÕÝØï ßÞ ÚàãÓÞÒÞÙ
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ÞàÑØâÕ ÜÞÖÝÞ ÝÐÙâØ, àÐ×ÔÕÛØÒ ÔÛØÝã ÞàÑØâë 2πr (ÔÛØÝã ÞÚàãÖÝÞáâØ àÐÔØãáÐ r) ÝÐ
ßÞáâÞïÝÝãî áÚÞàÞáâì vcirc ÔÒØÖÕÝØï ßÞ íâÞÙ ÞàÑØâÕ:

T =
2πr

vcirc

= 2π

√
r3

GM
. (4)

ºÐÚ ÒØÔÝÞ Ø× (4), ÚÒÐÔàÐâ ßÕàØÞÔÐ ÞÑàÐéÕÝØï ßàÞßÞàæØÞÝÐÛÕÝ ÚãÑã àÐÔØãáÐ
ÞàÑØâë (íâÞ çÐáâÝëÙ áÛãçÐÙ âàÕâìÕÓÞ ×ÐÚÞÝÐ ºÕßÛÕàÐ). ¿ÕàØÞÔ ÞÑàÐéÕÝØï áßãâÝØ-
ÚÐ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛÕÝ ÚÒÐÔàÐâÝÞÜã ÚÞàÝî Ø× ÜÐááë ßÛÐÝÕâë. ·ÐÒØáØÜÞáâì
ßÕàØÞÔÐ ÞÑàÐéÕÝØï Þâ ÜÐááë ßÛÐÝÕâë ÔÐÕâ ßàÞáâÞÙ Ø ÝÐØÑÞÛÕÕ âÞçÝëÙ áßÞáÞÑ
�Ò×ÒÕèØÒÐÝØï� ßÛÐÝÕâë (â. Õ. ÞßàÕÔÕÛÕÝØï ÕÕ ÜÐááë) ßÞ Ø×ÜÕàÕÝØïÜ ßÕàØÞÔÞÒ ÞÑ-
àÐéÕÝØï ÕÕ áßãâÝØÚÞÒ.

·ÝÐçÕÝØÕ ÚàãÓÞÒÞÙ áÚÞàÞáâØ vcirc ÔÛï ÓØßÞâÕâØçÕáÚÞÙ ßàÕÔÕÛìÝÞ ÝØ×ÚÞÙ ÞàÑØâë,
áâÕÛîéÕÙáï ÝÐÔ áÐÜÞÙ ßÞÒÕàåÝÞáâìî ·ÕÜÛØ, ØÝÞÓÔÐ ÝÐ×ëÒÐîâ ßÕàÒÞÙ ÚÞáÜØçÕ-
áÚÞÙ áÚÞàÞáâìî vI =

√
gR ≈ 7.9 ÚÜ/á. ´ÒØÖÕÝØÕ áßãâÝØÚÐ ßÞ âÐÚÞÙ ÞàÑØâÕ ÑëÛÞ

Ñë ÒÞ×ÜÞÖÝÞ âÞÛìÚÞ Ò ØÔÕÐÛØ×ØàÞÒÐÝÝÞÜ áÛãçÐÕ ßÞÛÝÞÓÞ ÞâáãâáâÒØï ÐâÜÞáäÕàë.
ÁÚÞàÞáâì ÞáÒÞÑÞÖÔÕÝØï vesc ÝÐ ×ÐÔÐÝÝÞÜ àÐááâÞïÝØØ r Þâ æÕÝâàÐ ßÛÐÝÕâë

(â. Õ. ÜØÝØÜÐÛìÝÐï áÚÞàÞáâì, ÚÞâÞàãî ÝãÖÝÞ áÞÞÑéØâì âÕÛã, çâÞÑë ÞÝÞ ãÔÐÛØÛÞáì
Ò ÑÕáÚÞÝÕçÝÞáâì) ÜÞÖÕâ Ñëâì àÐááçØâÐÝÐ á ßÞÜÞéìî ×ÐÚÞÝÐ áÞåàÐÝÕÝØï íÝÕàÓØØ Ø
ÒëàÐÖÕÝØï (2). ¼ØÝØÜÐÛìÝÐï áÚÞàÞáâì âÕÛÐ Ò âÞçÚÕ r, ÝÕÞÑåÞÔØÜÐï ÔÛï ßàÕÞÔÞÛÕ-
ÝØï áØÛ âïÓÞâÕÝØï Ø ãÔÐÛÕÝØï Ò ÑÕáÚÞÝÕçÝÞáâì, ÞâÒÕçÐÕâ ÝãÛÕÒÞÙ áÚÞàÞáâØ ÝÐ ÑÕá-
ÚÞÝÕçÝÞáâØ (Ø ÝãÛÕÒÞÜã ×ÝÐçÕÝØî ÚØÝÕâØçÕáÚÞÙ íÝÕàÓØØ). ¿ÞâÕÝæØÐÛìÝÐï íÝÕàÓØï
ÝÐ ÑÕáÚÞÝÕçÝÞáâØ âÞÖÕ àÐÒÝÐ ÝãÛî. ¿ÞíâÞÜã âÕÛÞ, ÚÞâÞàÞÜã áÞÞÑéÕÝÐ áÚÞàÞáâì,
àÐÒÝÐï áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï, ØÜÕÕâ ÝãÛÕÒãî ßÞÛÝãî íÝÕàÓØî:

mv2
esc

2
−G

mM

r
= 0,

ÞâÚãÔÐ

vesc =

√
2GM

r
=

√
2gR2

r
. (5)

ÁàÐÒÝØÒÐï íâÞ ÒëàÐÖÕÝØÕ á äÞàÜãÛÞÙ (3), ÒØÔØÜ, çâÞ áÚÞàÞáâì ÞáÒÞÑÞÖÔÕÝØï
(5) ÝÐ ÛîÑÞÜ àÐááâÞïÝØØ r Þâ áØÛÞÒÞÓÞ æÕÝâàÐ Ò

√
2 ≈ 1.41 àÐ× ßàÕÒëèÐÕâ ÚàãÓÞÒãî

áÚÞàÞáâì. µÕ ×ÝÐçÕÝØÕ ÝÕ ×ÐÒØáØâ Þâ ÜÐááë âÕÛÐ. ² ×ÐÚÞÝ áÞåàÐÝÕÝØï íÝÕàÓØØ, Ø×
ÚÞâÞàÞÓÞ ßÞÛãçÕÝÞ ×ÝÐçÕÝØÕ vesc, ÒåÞÔØâ âÞÛìÚÞ ÒÕÛØçØÝÐ áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï,
ÝÞ ÝÕ ÕÕ ÝÐßàÐÒÛÕÝØÕ. ¿ÞíâÞÜã âÕÛÞ ãÔÐÛïÕâáï Ò ÑÕáÚÞÝÕçÝÞáâì ßàØ ßàÞØ×ÒÞÛìÝÞÜ
ÝÐßàÐÒÛÕÝØØ áÞÞÑéÐÕÜÞÙ ÕÜã áÚÞàÞáâØ, ÕáÛØ âÞÛìÚÞ ÕÕ ÒÕÛØçØÝÐ v0 àÐÒÝÐ áÚÞàÞ-
áâØ ÞáÒÞÑÞÖÔÕÝØï vesc. ÃÔÐÛÕÝØÕ âÕÛÐ Ò ÑÕáÚÞÝÕçÝÞáâì ßàÞØáåÞÔØâ ßÞ ÝÕÚÞâÞàÞÙ
ßÐàÐÑÞÛØçÕáÚÞÙ âàÐÕÚâÞàØØ, ÚÞÝÚàÕâÝëÙ ÒØÔ ÚÞâÞàÞÙ ×ÐÒØáØâ Þâ ÝÐßàÐÒÛÕÝØï ÝÐ-
çÐÛìÝÞÙ áÚÞàÞáâØ, ÛØÑÞ ßÞ ßàïÜÞÙ, ÕáÛØ íâÐ áÚÞàÞáâì ÝÐßàÐÒÛÕÝÐ ßÞ àÐÔØãáã (ÒÕà-
âØÚÐÛìÝÞ ÒÒÕàå).

µáÛØ ÝÐçÐÛìÝÐï áÚÞàÞáâì v0 ßàÕÒëèÐÕâ áÚÞàÞáâì ÞáÒÞÑÞÖÔÕÝØï, âÕÛÞ ãÔÐÛïÕâ-
áï Ò ÑÕáÚÞÝÕçÝÞáâì ßÞ ÓØßÕàÑÞÛØçÕáÚÞÙ âàÐÕÚâÞàØØ. ½Ð ÑÕáÚÞÝÕçÝÞ ÑÞÛìèÞÜ àÐá-
áâÞïÝØØ ÕÓÞ ÔÒØÖÕÝØÕ ÑãÔÕâ àÐÒÝÞÜÕàÝëÜ Ø ßàïÜÞÛØÝÕÙÝëÜ. ¿ÞáâÞïÝÝÐï áÚÞàÞáâì
v∞ íâÞÓÞ ÔÒØÖÕÝØï ÝÐßàÐÒÛÕÝÐ ßÞ ÐáØÜßâÞâÕ ÓØßÕàÑÞÛë. µÕ ×ÝÐçÕÝØÕ ÜÞÖÝÞ ÞßàÕ-
ÔÕÛØâì Ø× ×ÐÚÞÝÐ áÞåàÐÝÕÝØï íÝÕàÓØØ

mv2
0

2
− GMm

r
=

mv2
∞

2
.
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¾âáîÔÐ

v∞ =

√
v2

0 −
2GM

r
=

√
v2

0 − v2
esc. (6)

ÁÚÞàÞáâì âÕÛÐ ÝÐ ÑÕáÚÞÝÕçÝÞ ÑÞÛìèÞÜ àÐááâÞïÝØØ v∞ (6) ÝÐ×ëÒÐîâ ÞáâÐâÞç-
ÝÞÙ áÚÞàÞáâìî ÛØÑÞ ÓØßÕàÑÞÛØçÕáÚØÜ Ø×ÑëâÚÞÜ áÚÞàÞáâØ.

·ÝÐçÕÝØÕ áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï vesc ÔÛï ÝÐçÐÛìÝÞÙ âÞçÚØ ÝÐ ßÞÒÕàåÝÞáâØ ·ÕÜ-
ÛØ (â. Õ. ßàØ r = R) ÞÑëçÝÞ ÝÐ×ëÒÐîâ ÒâÞàÞÙ ÚÞáÜØçÕáÚÞÙ áÚÞàÞáâìî: vII =√

2gR =
√

2vI ≈ 11.2 ÚÜ/á.

5 ÁÒÞÙáâÒÐ ÚÕßÛÕàÞÒëå ÞàÑØâ
² ÞÑéÕÜ áÛãçÐÕ ÔÒØÖÕÝØÕ âÕÛÐ ßÞÔ ÔÕÙáâÒØÕÜ ÝìîâÞÝÞÒáÚÞÙ áØÛë âïÓÞâÕÝØï, ÞÑ-
àÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞÙ ÚÒÐÔàÐâã àÐááâÞïÝØï ÔÞ áØÛÞÒÞÓÞ æÕÝâàÐ, ßàÞØáåÞÔØâ ßÞ
ÞÔÝÞÜã Ø× ÚÞÝØçÕáÚØå áÕçÕÝØÙ � ÞÚàãÖÝÞáâØ ØÛØ íÛÛØßáã, ßÐàÐÑÞÛÕ, ÓØßÕàÑÞÛÕ.
ÃàÐÒÝÕÝØÕ âàÐÕÚâÞàØØ ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï ÜÞÖÝÞ ×ÐßØáÐâì Ò ßÞÛïàÝëå ÚÞÞàÔØ-
ÝÐâÐå

r =
p

1 + e cos ϕ
. (7)

·ÔÕáì r � àÐááâÞïÝØÕ Þâ áØÛÞÒÞÓÞ æÕÝâàÐ (ÔÛØÝÐ àÐÔØãáÐ-ÒÕÚâÞàÐ), ϕ � ãÓÞÛ, ÞÑ-
àÐ×ãÕÜëÙ àÐÔØãáÞÜ-ÒÕÚâÞàÞÜ á Þáìî áØÜÜÕâàØØ âàÐÕÚâÞàØØ (á ÝÐßàÐÒÛÕÝØÕÜ Ø×
æÕÝâàÐ ÝÐ ÑÛØÖÐÙèãî âÞçÚã). ²ÕÛØçØÝÐ p Ò äÞàÜãÛÕ (7) ØÜÕÕâ àÐ×ÜÕàÝÞáâì ÔÛØ-
Ýë. ¾ÝÐ ÝÐ×ëÒÐÕâáï äÞÚÐÛìÝëÜ ßÐàÐÜÕâàÞÜ ÞàÑØâë. ±Õ×àÐ×ÜÕàÝÐï ÒÕÛØçØÝÐ e
ÝÐ×ëÒÐÕâáï íÚáæÕÝâàØáØâÕâÞÜ ÞàÑØâë. ¿àØ e = 0 Ø× (7) ßÞÛãçÐÕÜ r = p � àÐá-
áâÞïÝØÕ ÔÞ ÞàÑØâë ÝÕ ×ÐÒØáØâ Þâ ϕ, â. Õ. ÞàÑØâÐ Ò ÔÐÝÝÞÜ áÛãçÐÕ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ
ÞÚàãÖÝÞáâì. ²Þ ÒáÕå ÞáâÐÛìÝëå áÛãçÐïå ßÐàÐÜÕâà p àÐÒÕÝ àÐááâÞïÝØî ÔÞ ÞàÑØâë
ßàØ ϕ = ±π/2, ÚÞÓÔÐ cos ϕ = 0 (Ò íâÞÜ ×ÐÚÛîçÐÕâáï ÓÕÞÜÕâàØçÕáÚØÙ áÜëáÛ äÞ-
ÚÐÛìÝÞÓÞ ßÐàÐÜÕâàÐ). ¿àØ e < 1 ãàÐÒÝÕÝØÕ (7) áÞÞâÒÕâáâÒãÕâ íÛÛØßáã (àØá. 1), ßàØ
e = 1 � ßÐàÐÑÞÛÕ, ßàØ e > 1 � ÓØßÕàÑÞÛÕ.

ÀØá. 1: ÍÛÕÜÕÝâë íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï.

ÍÛÛØßâØçÕáÚãî ÞàÑØâã ÜÞÖÝÞ åÐàÐÚâÕàØ×ÞÒÐâì, ÝÐàïÔã á ßÐàÐÜÕâàÐÜØ p Ø e,
âÐÚÖÕ àÐááâÞïÝØÕÜ rP ÔÞ ÑÛØÖÐÙèÕÙ Ú áØÛÞÒÞÜã æÕÝâàã âÞçÚØ P , ÝÐ×ëÒÐÕÜÞÙ ßÕ-
àØÓÕÛØÕÜ ÔÛï ßÛÐÝÕâÝëå ÞàÑØâ Ø ßÕàØÓÕÕÜ ÔÛï ÞàÑØâ áßãâÝØÚÞÒ ·ÕÜÛØ, Ø àÐá-
áâÞïÝØÕÜ rA ÔÞ ÝÐØÑÞÛÕÕ ãÔÐÛÕÝÝÞÙ âÞçÚØ A ÞàÑØâë, ÝÐ×ëÒÐÕÜÞÙ áÞÞâÒÕâáâÒÕÝÝÞ
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ÐäÕÛØÕÜ ØÛØ ÐßÞÓÕÕÜ (àØá. 1). ÂÞçÚÕ P áÞÞâÒÕâáâÒãÕâ ×ÝÐçÕÝØÕ ϕ = 0, âÞçÚÕ A �
×ÝÐçÕÝØÕ ϕ = π. ¿ÞÔáâÐÒÛïï íâØ ×ÝÐçÕÝØï Ò (7), ßÞÛãçÐÕÜ

rP =
p

1 + e
, rA =

p

1− e
. (8)

ÍÚáæÕÝâàØáØâÕâ e ÞàÑØâë ÒëàÐÖÐÕâáï çÕàÕ× rP Ø rA áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

e =
rA − rP

rA + rP

.

ÁãÜÜÐ rA + rP ÔÐÕâ ÑÞÛìèãî Þáì íÛÛØßáÐ 2a:

2a = rA + rP =
2p

1− e2
.

ÂÐÚÞÕ ÖÕ ×ÝÐçÕÝØÕ ØÜÕÕâ áãÜÜÐ àÐááâÞïÝØÙ Þâ äÞÚãáÞÒ ÔÞ ÛîÑÞÙ âÞçÚØ íÛÛØßáÐ:
r1 + r2 = 2a. ÀÐááâÞïÝØï Þâ æÕÝâàÐ íÛÛØßáÐ ÔÞ äÞÚãáÞÒ (CF1 Ø CF2 ÝÐ àØá. 1)
àÐÒÝë ßàÞØ×ÒÕÔÕÝØî ÑÞÛìèÞÙ ßÞÛãÞáØ ÝÐ íÚáæÕÝâàØáØâÕâ:

CF1 = a− rP = ae.

¼ÐÛÐï ßÞÛãÞáì íÛÛØßáÐ b ÒëàÐÖÐÕâáï çÕàÕ× ÑÞÛìèãî ßÞÛãÞáì a Ø íÚáæÕÝâàØáØâÕâ
e áÞÞâÝÞèÕÝØÕÜ

b = a
√

1− e2.

¾ßàÕÔÕÛØÜ ßÐàÐÜÕâàë ÞàÑØâë áßãâÝØÚÐ, ÚÞâÞàÞÜã ÝÐ àÐááâÞïÝØØ r0 Þâ áØÛÞ-
ÒÞÓÞ æÕÝâàÐ (æÕÝâàÐ ßÛÐÝÕâë) áÞÞÑéÐÕâáï ÓÞàØ×ÞÝâÐÛìÝÐï áÚÞàÞáâì v0. µáÛØ ÝÐ-
çÐÛìÝÐï áÚÞàÞáâì àÐÒÝÐ ÝÐÙÔÕÝÝÞÙ ÒëèÕ ÚàãÓÞÒÞÙ áÚÞàÞáâØ vcirc (3), ÞàÑØâÐ ßàÕÔ-
áâÐÒÛïÕâ áÞÑÞÙ ÞÚàãÖÝÞáâì (áÜ. ßàÐÒãî çÐáâì àØá. 1). ºÞÓÔÐ ÝÐçÐÛìÝÐï áÚÞàÞáâì
v0 ßàÕÒëèÐÕâ ÚàãÓÞÒãî, ßÕàØÓÕÙ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë àÐáßÞÛÞÖÕÝ Ò ÝÐçÐÛìÝÞÙ
âÞçÚÕ P (àØá. 1), ÐßÞÓÕÙ � ÝÐ ßàÞâØÒÞßÞÛÞÖÝÞÜ ÚÞÝæÕ A ßàïÜÞÙ, ßàÞåÞÔïéÕÙ çÕ-
àÕ× ÝÐçÐÛìÝãî âÞçÚã Ø æÕÝâà ßÛÐÝÕâë. ´Ûï ÝÐåÞÖÔÕÝØï àÐááâÞïÝØï rA ÔÞ ÐßÞÓÕï
ÒÞáßÞÛì×ãÕÜáï ×ÐÚÞÝÞÜ áÞåàÐÝÕÝØï íÝÕàÓØØ Ø ×ÐÚÞÝÞÜ áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ ØÜ-
ßãÛìáÐ, ÚÞâÞàëÙ áßàÐÒÕÔÛØÒ ßàØ ÔÒØÖÕÝØØ âÕÛÐ Ò ÛîÑÞÜ æÕÝâàÐÛìÝÞÜ áØÛÞÒÞÜ
ßÞÛÕ. ½ÐßÞÜÝØÜ, çâÞ áÞåàÐÝÕÝØÕ ÜÞÜÕÝâÐ ØÜßãÛìáÐ ßàØÒÞÔØâ Ú ×ÐÚÞÝã ßÛÞéÐÔÕÙ
(ÒâÞàÞÜã ×ÐÚÞÝã ºÕßÛÕàÐ). ¿àØàÐÒÝØÒÐï ×ÝÐçÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ Ò ÝÐçÐÛìÝÞÙ
âÞçÚÕ P Ø Ò ÐßÞÓÕÕ A ÞàÑØâë, ßÞÛãçÐÕÜ

v0r0 = vArA, (9)

ÓÔÕ vA � áÚÞàÞáâì áßãâÝØÚÐ Ò ÐßÞÓÕÕ. ¿àØàÐÒÝØÒÐï ×ÝÐçÕÝØï íÝÕàÓØØ Ò ÝÐçÐÛìÝÞÙ
âÞçÚÕ Ø Ò ÐßÞÓÕÕ, ßÞÛãçÐÕÜ ÒâÞàÞÕ ãàÐÒÝÕÝØÕ:

v2
0

2
− GM

r0

=
v2

A

2
− GM

rA

.

²ëàÐ×ØÜ áÚÞàÞáâì Ò ÐßÞÓÕÕ vA çÕàÕ× v0 á ßÞÜÞéìî (9) Ø ßÞÔáâÐÒØÜ Ò ãàÐÒÝÕÝØÕ
×ÐÚÞÝÐ áÞåàÐÝÕÝØï íÝÕàÓØØ. ÁÞÑØàÐï çÛÕÝë á v0 Ò ÛÕÒÞÙ ÕÓÞ çÐáâØ, Ð ÞáâÐÛìÝëÕ
çÛÕÝë � Ò ßàÐÒÞÙ çÐáâØ, ßÞÛãçØÜ

v2
0

(
1− r2

0

r2
A

)
=

GM

r0

(
1− r0

rA

)
.
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¸× íâÞÓÞ ÚÒÐÔàÐâÝÞÓÞ ãàÐÒÝÕÝØï ÜÞÖÝÞ ÝÐÙâØ ÝÕØ×ÒÕáâÝÞÕ àÐááâÞïÝØÕ rA ÔÞ ÐßÞ-
ÓÕï. ¾ÔØÝ Ø× ÕÓÞ ÚÞàÝÕÙ rA = r0 áÞÞâÒÕâáâÒãÕâ ÝÐçÐÛìÝÞÙ âÞçÚÕ (ßÕàØÓÕî). ´Ûï
ÝÐåÞÖÔÕÝØï ÒâÞàÞÓÞ ÚÞàÝï, áÞÞâÒÕâáâÒãîéÕÓÞ ÐßÞÓÕî, ßàÕÔáâÐÒØÜ àÐ×ÝÞáâì ÚÒÐÔ-
àÐâÞÒ Ò ÛÕÒÞÙ çÐáâØ ãàÐÒÝÕÝØï ÚÐÚ ßàÞØ×ÒÕÔÕÝØÕ áãÜÜë ÝÐ àÐ×ÝÞáâì, Ø áÞÚàÐâØÜ
ÞÑÕ çÐáâØ ÝÐ (1 − r0/rA). ÃçØâëÒÐï, çâÞ GM/r0 = v2

circ, àÐááâÞïÝØÕ ÔÞ ßÕàØÓÕï Þà-
ÑØâë ÜÞÖÝÞ ÒëàÐ×Øâì áÛÕÔãîéØÜ áÞÞâÝÞèÕÝØÕÜ:

rA =
r0

2(vcirc/v0)2 − 1
=

r0

(vesc/v0)2 − 1
. (10)

¿àØ v0 = vcirc Ø× (10) ØÜÕÕÜ rA = r0 � áßãâÝØÚ ÔÒØÖÕâáï ßÞ ÚàãÓÞÒÞÙ ÞàÑØ-
âÕ. ¿Þ ÜÕàÕ ãÒÕÛØçÕÝØï ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ àÐááâÞïÝØÕ ÔÞ ÐßÞÓÕï áâÐÝÞÒØâáï ÒáÕ
ÑÞÛìèÕ. ¿àØ ßàØÑÛØÖÕÝØØ ×ÝÐçÕÝØï ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ Ú áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕ-
ÝØï vesc =

√
2vcirc íÛÛØßâØçÕáÚÐï ÞàÑØâÐ ÝÕÞÓàÐÝØçÕÝÝÞ ÒëâïÓØÒÐÕâáï, Ø ÕÕ ÐßÞ-

ÓÕÙ ãåÞÔØâ Ò ÑÕáÚÞÝÕçÝÞáâì � âàÐÕÚâÞàØï áâÐÝÞÒØâáï ßÐàÐÑÞÛØçÕáÚÞÙ. ¿àØ ÕéÕ
ÑÞÛìèØå ×ÝÐçÕÝØïå ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ ÔÒØÖÕÝØÕ áßãâÝØÚÐ ÑãÔÕâ ßàÞØáåÞÔØâì ßÞ
ÓØßÕàÑÞÛØçÕáÚÞÙ âàÐÕÚâÞàØØ. ÄÞàÜãÛÐ (10) Ò íâÞÜ áÛãçÐÕ ÝÕßàØÜÕÝØÜÐ. µáÛØ ÖÕ
ÝÐçÐÛìÝÐï áÚÞàÞáâì ÜÕÝìèÕ ÚàãÓÞÒÞÙ áÚÞàÞáâØ vcirc, Ø× äÞàÜãÛë (10) ßÞÛãçÐÕÜ
rA < r0 � ÝÐçÐÛìÝÐï âÞçÚÐ ÑãÔÕâ ÐßÞÓÕÕÜ ÞàÑØâë, Ð ×ÝÐçÕÝØÕ rA Ø× (10) áÞÞâÒÕâ-
áâÒãÕâ àÐááâÞïÝØî ÔÞ ßÕàØÓÕï, ÚÞâÞàëÙ Ò íâÞÜ áÛãçÐÕ ÛÕÖØâ ÝÐ ßàÞâØÒÞßÞÛÞÖÝÞÜ
ßÞ ÞâÝÞèÕÝØî Ú ÝÐçÐÛìÝÞÙ âÞçÚÕ ÚÞÝæÕ ÑÞÛìèÞÙ ÞáØ íÛÛØßáÐ. ±ÞÛìèÐï ßÞÛãÞáì
íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ÔÐÕâáï áÛÕÔãîéØÜ ÒëàÐÖÕÝØÕÜ:

a =
1

2
(r0 + rA) =

r0

2

1

1− v2
0/(2v

2
circ)

=
r0

2

1

1− v2
0/v

2
esc

. (11)

¿àØ v0 = vcirc Ø× (11) ßÞÛãçÐÕÜ, ÕáâÕáâÒÕÝÝÞ, a = r0 � íÛÛØßá ßàÕÒàÐéÐÕâáï Ò
ÞÚàãÖÝÞáâì, Ø ÑÞÛìèÐï ßÞÛãÞáì áÞÒßÐÔÐÕâ á àÐÔØãáÞÜ. ºÞÓÔÐ v0 →

√
2vcirc, â. Õ.

ÝÐçÐÛìÝÐï áÚÞàÞáâì ßàØÑÛØÖÐÕâáï Ú áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï vesc, áÞÓÛÐáÝÞ ãàÐÒ-
ÝÕÝØî (11), ÑÞÛìèÐï ßÞÛãÞáì ÞàÑØâë a → ∞ � íÛÛØßá àÐáâïÓØÒÐÕâáï ÔÞ ÑÕáÚÞ-
ÝÕçÝÞáâØ. ¿àØ v0 → 0 äÞàÜãÛÐ (11) ÔÐÕâ a → r0/2 � ßÞ ÜÕàÕ ãÜÕÝìèÕÝØï ÝÐçÐÛì-
ÝÞÙ áÚÞàÞáâØ íÛÛØßâØçÕáÚÐï ÞàÑØâÐ áÖØÜÐÕâáï Ø ÒëàÞÖÔÐÕâáï Ò ÞâàÕ×ÞÚ ßàïÜÞÙ
Þâ ÝÐçÐÛìÝÞÙ âÞçÚØ ÔÞ áØÛÞÒÞÓÞ æÕÝâàÐ. ÄÞÚãáë âÐÚÞÓÞ ßàÕÔÕÛìÝÞ áßÛîéÕÝÝÞÓÞ
íÛÛØßáÐ áÞÒßÐÔÐîâ á ÚÞÝæÐÜØ ÞâàÕ×ÚÐ.

6 ¼ÞÜÕÝâ ØÜßãÛìáÐ Ø áÕÚâÞàØÐÛìÝÐï áÚÞàÞáâì
¼ÞÜÕÝâ ØÜßãÛìáÐ ÜÐâÕàØÐÛìÝÞÙ âÞçÚØ (�çÐáâØæë�) ÞâÝÞáØâÕÛìÝÞ ÝÐçÐÛÐ ÚÞÞàÔØ-
ÝÐâ ßÞ ÞßàÕÔÕÛÕÝØî àÐÒÕÝ ÒÕÚâÞàÝÞÜã ßàÞØ×ÒÕÔÕÝØî àÐÔØãáÐ-ÒÕÚâÞàÐ r çÐáâØæë
ÝÐ ÒÕÚâÞà ØÜßãÛìáÐ p = mv:

L = r× p = r×mv. (12)

ÁÚÞàÞáâì Ø×ÜÕÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ áÞ ÒàÕÜÕÝÕÜ dL/dt ÝÐÙÔÕÜ, ÔØääÕàÕÝ-
æØàãï ßÞ ÒàÕÜÕÝØ ßàÐÒãî çÐáâì (12) ÚÐÚ ßàÞØ×ÒÕÔÕÝØÕ ÔÒãå áÞÜÝÞÖØâÕÛÕÙ r Ø mv:

dL

dt
=

dr

dt
×mv + r×m

dv

dt
. (13)

10



¿ÕàÒëÙ çÛÕÝ Ò ßàÐÒÞÙ çÐáâØ (13) àÐÒÕÝ ÝãÛî. ² áÐÜÞÜ ÔÕÛÕ, ßàÞØ×ÒÞÔÝÐï dr/dt
ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ áÚÞàÞáâì v çÐáâØæë, Ð ÒÕÚâÞàÝÞÕ ßàÞØ×ÒÕÔÕÝØÕ v×v àÐÒÝÞ Ýã-
Ûî. ²Þ ÒâÞàÞÜ çÛÕÝÕ ãáÚÞàÕÝØÕ çÐáâØæë ÜÞÖÝÞ á ßÞÜÞéìî ÒâÞàÞÓÞ ×ÐÚÞÝÐ ½ìî-
âÞÝÐ ÒëàÐ×Øâì çÕàÕ× áØÛã F, áÞÞÑéÐîéãî çÐáâØæÕ íâÞ ãáÚÞàÕÝØÕ

m
dv

dt
= F.

² àÕ×ãÛìâÐâÕ ßÞÛãçÐÕÜ
dL

dt
= r× F (14)

� áÚÞàÞáâì Ø×ÜÕÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ çÐáâØæë àÐÒÝÐ ÜÞÜÕÝâã ÔÕÙáâÒãîéÕÙ ÝÐ
ÝÕÕ áØÛë F ÞâÝÞáØâÕÛìÝÞ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ. ¿àØ ÔÒØÖÕÝØØ çÐáâØæë Ò æÕÝâàÐÛìÝÞÜ
ßÞÛÕ áØÛÐ ÝÐßàÐÒÛÕÝÐ ÒÔÞÛì àÐÔØãáÐ, Ø ÕÕ ÜÞÜÕÝâ ÞâÝÞáØâÕÛìÝÞ áØÛÞÒÞÓÞ æÕÝâàÐ
àÐÒÕÝ ÝãÛî: r×F = 0. ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÚÐÚ ÒØÔÝÞ Ø× (14), Ò ÛîÑÞÜ æÕÝâàÐÛìÝÞÜ ßÞ-
ÛÕ ÜÞÜÕÝâ ØÜßãÛìáÐ çÐáâØæë ÞâÝÞáØâÕÛìÝÞ áØÛÞÒÞÓÞ æÕÝâàÐ ÞáâÐÕâáï ÝÕØ×ÜÕÝÝëÜ
(áÞåàÐÝïÕâáï).

ÀØá. 2: ³ÕÞÜÕâàØçÕáÚØÙ áÜëáÛ ÜÞÜÕÝâÐ ØÜßãÛìáÐ çÐáâØæë.

ÀÐááÜÞâàØÜ ÓÕÞÜÕâàØçÕáÚØÙ áÜëáÛ ÜÞÜÕÝâÐ ØÜßãÛìáÐ çÐáâØæë, áÞÒÕàèÐîéÕÙ
ÞàÑØâÐÛìÝÞÕ ÔÒØÖÕÝØÕ (àØá. 2). ¿àÕÔáâÐÒØÜ áÚÞàÞáâì v Ò ÞßàÕÔÕÛÕÝØØ ÜÞÜÕÝâÐ
ØÜßãÛìáÐ (12) ÚÐÚ ÞâÝÞèÕÝØÕ ÒÕÚâÞàÐ íÛÕÜÕÝâÐàÝÞÓÞ ßÕàÕÜÕéÕÝØï dr Ú áÞÞâÒÕâ-
áâÒãîéÕÜã ßàÞÜÕÖãâÚã ÒàÕÜÕÝØ dt:

L = r×mv = mr× dr/dt. (15)

²ÕÚâÞàÝÞÕ ßàÞØ×ÒÕÔÕÝØÕ r × dr Ò ßàÐÒÞÙ çÐáâØ (15) ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÒÕÚâÞà,
ßÕàßÕÝÔØÚãÛïàÝëÙ ßÛÞáÚÞáâØ, Ò ÚÞâÞàÞÙ ÛÕÖÐâ áÞÜÝÞÖØâÕÛØ r Ø dr (â. Õ. r Ø v).
µÓÞ ÜÞÔãÛì

|r× dr| = rdr sin α = 2dS (16)
ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ãÔÒÞÕÝÝãî ßÛÞéÐÔì íÛÕÜÕÝâÐàÝÞÓÞ âàÕãÓÞÛìÝØÚÐ, ×ÐèâàØåÞ-
ÒÐÝÝÞÓÞ ÝÐ àØá. 2. ² áÐÜÞÜ ÔÕÛÕ, ßàÞØ×ÒÕÔÕÝØÕ dr ÝÐ áØÝãá ãÓÛÐ α ÜÕÖÔã ÒÕÚâÞàÐÜØ
r Ø dr àÐÒÝÞ ÒëáÞâÕ íâÞÓÞ âàÕãÓÞÛìÝØÚÐ, ÞßãéÕÝÝÞÙ ÝÐ áâÞàÞÝã r. ¾âÝÞèÕÝØÕ dS/dt
íÛÕÜÕÝâÐàÝÞÙ ßÛÞéÐÔØ dS Ú ßàÞÜÕÖãâÚã ÒàÕÜÕÝØ dt, Ò âÕçÕÝØÕ ÚÞâÞàÞÓÞ àÐÔØãá-
ÒÕÚâÞà r �×ÐÜÕâÐÕâ� íâã ßÛÞéÐÔì, ÝÐ×ëÒÐÕâáï áÕÚâÞàØÐÛìÝÞÙ áÚÞàÞáâìî. ÂÐÚØÜ
ÞÑàÐ×ÞÜ, Ø× (16) áÛÕÔãÕâ, çâÞ ÜÞÔãÛì ÜÞÜÕÝâÐ ØÜßãÛìáÐ ßàÞßÞàæØÞÝÐÛÕÝ áÕÚâÞàØ-
ÐÛìÝÞÙ áÚÞàÞáâØ:

L = 2m
dS

dt
. (17)
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ÁÞåàÐÝÕÝØÕ ÝÐßàÐÒÛÕÝØï ÒÕÚâÞàÐ ÜÞÜÕÝâÐ ØÜßãÛìáÐ âÕÛÐ ßàØ ÔÒØÖÕÝØØ Ò æÕÝ-
âàÐÛìÝÞÜ ßÞÛÕ Þ×ÝÐçÐÕâ, çâÞ âàÐÕÚâÞàØï ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ßÛÞáÚãî ÚàØÒãî. ÂàÐ-
ÕÚâÞàØï ÛÕÖØâ Ò ßÛÞáÚÞáâØ, ßÕàßÕÝÔØÚãÛïàÝÞÙ ßÞáâÞïÝÝÞÜã ÒÕÚâÞàã L. ÍâÐ ßÛÞá-
ÚÞáâì ×ÐÔÐÕâáï àÐÔØãáÞÜ-ÒÕÚâÞàÞÜ ÝÐçÐÛìÝÞÓÞ ßÞÛÞÖÕÝØï r0 Ø ÒÕÚâÞàÞÜ ÝÐçÐÛì-
ÝÞÙ áÚÞàÞáâØ v0. ÁÞåàÐÝÕÝØÕ ÜÞÔãÛï ÜÞÜÕÝâÐ ØÜßãÛìáÐ Þ×ÝÐçÐÕâ ÝÕØ×ÜÕÝÝÞáâì
áÕÚâÞàØÐÛìÝÞÙ áÚÞàÞáâØ. ¿àØÜÕÝØâÕÛìÝÞ Ú ÚÕßÛÕàÞÒã ÔÒØÖÕÝØî Ò æÕÝâàÐÛìÝÞÜ
ßÞÛÕ áÞåàÐÝÕÝØÕ áÕÚâÞàØÐÛìÝÞÙ áÚÞàÞáâØ (17) Ø×ÒÕáâÝÞ ÚÐÚ ÒâÞàÞÙ ×ÐÚÞÝ ºÕßÛÕàÐ.
ÁÕÚâÞàØÐÛìÝÐï áÚÞàÞáâì ßÞáâÞïÝÝÐ ÔÛï ÛîÑëå ÚÕßÛÕàÞÒëå ÞàÑØâ, Ò âÞÜ çØáÛÕ Ø
ÔÛï àÐ×ÞÜÚÝãâëå ßÐàÐÑÞÛØçÕáÚØå Ø ÓØßÕàÑÞÛØçÕáÚØå âàÐÕÚâÞàØÙ. ÂÐÚØÜ ÞÑàÐ×ÞÜ,
ÒâÞàÞÙ ×ÐÚÞÝ ºÕßÛÕàÐ Õáâì áÛÕÔáâÒØÕ áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ çÐáâØæë ßàØ
ÔÒØÖÕÝØØ Ò æÕÝâàÐÛìÝÞÜ áØÛÞÒÞÜ ßÞÛÕ. ¿ÞÔçÕàÚÝÕÜ, çâÞ íâÞ áÒÞÙáâÒÞ ØÜÕÕâ ÜÕáâÞ
ÔÛï ÛîÑÞÓÞ æÕÝâàÐÛìÝÞÓÞ ßÞÛï, Ð ÝÕ âÞÛìÚÞ ÔÛï ÝìîâÞÝÞÒÐ ßÞÛï âïÓÞâÕÝØï. ½ÐßàÞ-
âØÒ, ãâÒÕàÖÔÕÝØï, ÒëàÐÖÐÕÜëÕ ßÕàÒëÜ Ø âàÕâìØÜ ×ÐÚÞÝÐÜØ ºÕßÛÕàÐ, áßàÐÒÕÔÛØÒë
âÞÛìÚÞ ÔÛï ÔÒØÖÕÝØï Ò ÚãÛÞÝÞÒÞÜ æÕÝâàÐÛìÝÞÜ ßÞÛÕ, ÓÔÕ áØÛÐ ãÑëÒÐÕâ ÞÑàÐâÝÞ
ßàÞßÞàæØÞÝÐÛìÝÞ ÚÒÐÔàÐâã àÐááâÞïÝØï Þâ áØÛÞÒÞÓÞ æÕÝâàÐ.

7 °ÝÐÛØâØçÕáÚØÙ ÒëÒÞÔ 1-ÓÞ ×ÐÚÞÝÐ ºÕßÛÕàÐ
½ØÖÕ ßàØÒÞÔØâáï ÔØÝÐÜØçÕáÚÞÕ ÔÞÚÐ×ÐâÕÛìáâÒÞ âÞÓÞ, çâÞ âàÐÕÚâÞàØØ Ò ÝìîâÞÝÞÒ-
áÚÞÜ æÕÝâàÐÛìÝÞÜ ßÞÛÕ âïÓÞâÕÝØï ßàÕÔáâÐÒÛïîâ áÞÑÞÙ ÚÞÝØçÕáÚØÕ áÕçÕÝØï. ´Ûï
ÒëÒÞÔÐ äÞàÜë âàÐÕÚâÞàØØ âÕÛÐ ÝÐ ÞáÝÞÒÕ ×ÐÚÞÝÞÒ ÔØÝÐÜØÚØ ãÔÞÑÝÕÕ ØáßÞÛì×ÞÒÐâì
ÒÜÕáâÞ ÔØääÕàÕÝæØÐÛìÝëå ãàÐÒÝÕÝØÙ ÔÒØÖÕÝØï Øå ßÕàÒëÕ ØÝâÕÓàÐÛë, Ð ØÜÕÝÝÞ
×ÐÚÞÝë áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ Ø íÝÕàÓØØ.

ÂàÐÕÚâÞàØï ÔÒØÖÕÝØï âÕÛÐ Ò æÕÝâàÐÛìÝÞÜ ßÞÛÕ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ßÛÞáÚãî
ÚàØÒãî. ´Ûï ×ÐÔÐÝØï ßÞÛÞÖÕÝØï âÕÛÐ Ò íâÞÙ ßÛÞáÚÞáâØ ÑãÔÕÜ ØáßÞÛì×ÞÒÐâì ßÞ-
ÛïàÝëÕ ÚÞÞàÔØÝÐâë r Ø ϕ. ½ÐçÐÛÞ ÚÞÞàÔØÝÐâ ÒëÑÕàÕÜ Ò áØÛÞÒÞÜ æÕÝâàÕ. ÃàÐÒÝÕÝØÕ
âàÐÕÚâÞàØØ Ò ßÞÛïàÝëå ÚÞÞàÔØÝÐâÐå ØÜÕÕâ ÒØÔ r = r(ϕ), â. Õ. ÞÝÞ ÒëàÐÖÐÕâ àÐááâÞ-
ïÝØÕ r Þâ áØÛÞÒÞÓÞ æÕÝâàÐ ÚÐÚ äãÝÚæØî ãÓÛÐ ϕ ÜÕÖÔã âÕÚãéØÜ àÐÔØãáÞÜ-ÒÕÚâÞàÞÜ
Ø ÝÕÚÞâÞàëÜ äØÚáØàÞÒÐÝÝëÜ ÝÐßàÐÒÛÕÝØÕÜ Ò íâÞÙ ßÛÞáÚÞáâØ (ßÞÛïàÝÞÙ Þáìî).

²ëàÐ×ØÜ ÒÕÛØçØÝã ÜÞÜÕÝâÐ ØÜßãÛìáÐ çÐáâØæë L Ò ßÞÛïàÝëå ÚÞÞàÔØÝÐâÐå:

L = m|r× v| = mrv⊥ = mr2ϕ̇. (18)
·ÔÕáì v⊥ = rϕ̇ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ßÞßÕàÕçÝãî (Ð×ØÜãâÐÛìÝãî) ßàÞÕÚæØî áÚÞ-
àÞáâØ çÐáâØæë (ßàÞÕÚæØî ÝÐ ÝÐßàÐÒÛÕÝØÕ, ßÕàßÕÝÔØÚãÛïàÝÞÕ Ú àÐÔØãáã-ÒÕÚâÞàã).
¿ÞáÚÞÛìÚã ßàØ ÔÒØÖÕÝØØ ÜÞÜÕÝâ ØÜßãÛìáÐ L ÞáâÐÕâáï ÝÕØ×ÜÕÝÝëÜ, ÔÛï ÛîÑÞÙ
âÞçÚØ âàÐÕÚâÞàØØ ãÓÛÞÒãî áÚÞàÞáâì ϕ̇ ÜÞÖÝÞ á ßÞÜÞéìî ãàÐÒÝÕÝØï (18) ÒëàÐ×Øâì
çÕàÕ× àÐááâÞïÝØÕ r Þâ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ (Þâ áØÛÞÒÞÓÞ æÕÝâàÐ) Ø ßÞáâÞïÝÝÞÕ ×ÝÐçÕ-
ÝØÕ L ÜÞÜÕÝâÐ ØÜßãÛìáÐ:

ϕ̇ =
L

mr2
. (19)

´ÐÛÕÕ Üë ØáßÞÛì×ãÕÜ ×ÐÚÞÝ áÞåàÐÝÕÝØï íÝÕàÓØØ. ² ÒëàÐÖÕÝØØ mv2/2 ÔÛï ÚØ-
ÝÕâØçÕáÚÞÙ íÝÕàÓØØ ÚÒÐÔàÐâ áÚÞàÞáâØ çÐáâØæë ßàÕÔáâÐÒØÜ ÚÐÚ áãÜÜã ÚÒÐÔàÐâÞÒ ÕÕ
àÐÔØÐÛìÝÞÙ (ṙ) Ø ßÞßÕàÕçÝÞÙ (rϕ̇) ßàÞÕÚæØÙ: v2 = ṙ2 + r2ϕ̇2. ¿ÞÔáâÐÒÛïï ϕ̇ Ø× ãàÐÒ-
ÝÕÝØï (19) ÒÞ ÒâÞàÞÕ áÛÐÓÐÕÜÞÕ, ßÞÛãçÐÕÜ áÛÕÔãîéÕÕ ÒëàÐÖÕÝØÕ ÔÛï ßÞÛÝÞÙ íÝÕà-
ÓØØ çÐáâØæë Ekin + U Ò ßÞÛïàÝëå ÚÞÞàÔØÝÐâÐå:
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1

2
mṙ2 +

L2

2mr2
−G

mM

r
= E. (20)

¿ÞáâÞïÝÝëÕ ×ÝÐçÕÝØï ßÞÛÝÞÙ íÝÕàÓØØ E Ø ÜÞÜÕÝâÐ ØÜßãÛìáÐ L Ò ãàÐÒÝÕÝØØ (20)
ÞßàÕÔÕÛïîâáï ÝÐçÐÛìÝëÜØ ãáÛÞÒØïÜØ. ÃàÐÒÝÕÝØÕ (20) ÝÕ áÞÔÕàÖØâ ãÓÛÞÒÞÙ ßÕàÕ-
ÜÕÝÝÞÙ ϕ. ¿ÞíâÞÜã ÕÓÞ ÜÞÖÝÞ âàÐÚâÞÒÐâì ÚÐÚ ×ÐÚÞÝ áÞåàÐÝÕÝØï íÝÕàÓØØ ÔÛï ÞÔÝÞ-
ÜÕàÝÞÓÞ (àÐÔØÐÛìÝÞÓÞ) ÔÒØÖÕÝØï çÐáâØæë ÜÐááë m Ò ÝÕÚÞâÞàÞÙ íääÕÚâØÒÝÞÙ ßÞ-
âÕÝæØÐÛìÝÞÙ ïÜÕ, ÓÔÕ ×ÐÒØáØÜÞáâì ßÞâÕÝæØÐÛìÝÞÙ íÝÕàÓØØ Þâ r ÔÐÕâáï ÒëàÐÖÕÝØÕÜ
Ueff(r) = −GmM/r + L2/(2mr2). ³àÐäØÚØ íääÕÚâØÒÝÞÙ ßÞâÕÝæØÐÛìÝÞÙ íÝÕàÓØØ
Ueff(r) Ø ÚÐÖÔÞÓÞ Ø× ÕÕ áÛÐÓÐÕÜëå ßÞÚÐ×ÐÝë ÝÐ àØá. 3.

ÀØá. 3: ³àÐäØÚ íääÕÚâØÒÝÞÙ ßÞâÕÝæØÐÛìÝÞÙ íÝÕàÓØØ Ueff(r) ÔÛï àÐÔØÐÛìÝÞÙ áÞáâÐÒÛïî-
éÕÙ ÔÒØÖÕÝØï âÕÛÐ Ò æÕÝâàÐÛìÝÞÜ ßÞÛÕ âïÓÞâÕÝØï.

»ÕÒëÙ ÑÕàÕÓ íâÞÙ ßÞâÕÝæØÐÛìÝÞÙ ïÜë ÞçÕÝì ÚàãâÞÙ Ø ÑÕáÚÞÝÕçÝÞ ÒëáÞÚØÙ: íä-
äÕÚâØÒÝÐï ßÞâÕÝæØÐÛìÝÐï íÝÕàÓØï áâàÕÜØâáï Ú ÑÕáÚÞÝÕçÝÞáâØ (Ueff(r) → ∞ ßàØ
r → 0) ÑÛÐÓÞÔÐàï ÒâÞàÞÜã áÛÐÓÐÕÜÞÜã L2/(2mr2). ¿ÞÛÞÓØÙ ßàÐÒëÙ ÑÕàÕÓ ÞÑãáÛÞÒ-
ÛÕÝ çÛÕÝÞÜ −GmM/r Ò Ueff(r) Ø ßÞÔÝØÜÐÕâáï ÛØèì ÔÞ ÝãÛÕÒÞÙ ÞâÜÕâÚØ ßÞâÕÝæØ-
ÐÛìÝÞÙ íÝÕàÓØØ: Ueff(r) → 0 ßàØ r → ∞. ¿ÞíâÞÜã ßàØ ßÞÛÞÖØâÕÛìÝëå ×ÝÐçÕÝØïå
ßÞÛÝÞÙ íÝÕàÓØØ ßàØåÞÔïéÐï Ø× ÑÕáÚÞÝÕçÝÞáâØ çÐáâØæÐ ßàØÑÛØÖÐÕâáï Ú áØÛÞÒÞÜã
æÕÝâàã ÔÞ ÝÕÚÞâÞàÞÓÞ ÜØÝØÜÐÛìÝÞÓÞ àÐááâÞïÝØï rmin, ÓÔÕ ßÞÛÝÐï íÝÕàÓØï áàÐÒÝØ-
ÒÐÕâáï á Ueff(r), Ø ×ÐâÕÜ áÝÞÒÐ ãÔÐÛïÕâáï Ò ÑÕáÚÞÝÕçÝÞáâì.

¿àØ ÞâàØæÐâÕÛìÝëå ×ÝÐçÕÝØïå ßÞÛÝÞÙ íÝÕàÓØØ çÐáâØæÐ �×ÐßÕàâÐ� Ò ßÞâÕÝæØ-
ÐÛìÝÞÙ ïÜÕ Ø áÞÒÕàèÐÕâ ßÕàØÞÔØçÕáÚÞÕ ÔÒØÖÕÝØÕ ÜÕÖÔã ÕÕ ÑÕàÕÓÐÜØ. ¿àØ íâÞÜ
àÐááâÞïÝØÕ r ÔÞ áØÛÞÒÞÓÞ æÕÝâàÐ Ø×ÜÕÝïÕâáï Ò ÝÕÚÞâÞàëå ÚÞÝÕçÝëå ßàÕÔÕÛÐå Þâ
rmin ÔÞ rmax. ÂÐÚØÜ áÛãçÐïÜ áÞÞâÒÕâáâÒãîâ ÞàÑØâë ÚÞÝÕçÝëå àÐ×ÜÕàÞÒ, ßàØ ÔÒØ-
ÖÕÝØØ ßÞ ÚÞâÞàëÜ ãÓÛÞÒÐï ßÕàÕÜÕÝÝÐï ϕ áÞÒÕàèÐÕâ �ÞÑåÞÔ� ßÞ ßÞÛÝÞÜã ÚàãÓã Ò
ßàÕÔÕÛÐå Þâ 0 ÔÞ 2π á ÞßàÕÔÕÛÕÝÝëÜ ßÕàØÞÔÞÜ. ÆÕÝâàÐÛìÝÞÕ ÚãÛÞÝÞÒÞ ßÞÛÕ, Ò ÚÞ-
âÞàÞÜ áØÛÐ ßàØâïÖÕÝØï ãÑëÒÐÕâ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ ÚÒÐÔàÐâã àÐááâÞïÝØï,
×ÐÜÕçÐâÕÛìÝÞ âÕÜ, çâÞ Ò ÝÕÜ ßÕàØÞÔë àÐÔØÐÛìÝÞÓÞ Ø ãÓÛÞÒÞÓÞ ÔÒØÖÕÝØÙ áÞÒßÐÔÐ-
îâ ßàØ ÛîÑëå ÝÐçÐÛìÝëå ãáÛÞÒØïå, áÞÞâÒÕâáâÒãîéØå ÞâàØæÐâÕÛìÝëÜ ×ÝÐçÕÝØïÜ
ßÞÛÝÞÙ íÝÕàÓØØ. ¿ÞíâÞÜã ÞàÑØâÐ ÞÚÐ×ëÒÐÕâáï ×ÐÜÚÝãâÞÙ.

¿àØ ÛîÑÞÜ ØáÚÐÖÕÝØØ (ÒÞ×ÜãéÕÝØØ) ÚãÛÞÝÞÒÐ ßÞÛï (ÝÐßàØÜÕà, ßàØ ÞâÚÛÞÝÕ-
ÝØØ äÞàÜë ßÛÐÝÕâë Þâ ØÔÕÐÛìÝÞÙ áäÕàØçÕáÚÞÙ áØÜÜÕâàØØ) ßÕàØÞÔë àÐÔØÐÛìÝÞÓÞ Ø
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ãÓÛÞÒÞÓÞ ÔÒØÖÕÝØÙ ãÖÕ ÝÕ áÞÒßÐÔÐîâ, Ø �çãÔÞ� ×ÐÜÚÝãâëå ÚÕßÛÕàÞÒëå ÞàÑØâ ÑÕá-
áÛÕÔÝÞ ØáçÕ×ÐÕâ. ¾âÜÕçÕÝÝÞÕ ÒëèÕ áÞÒßÐÔÕÝØÕ ßÕàØÞÔÞÒ àÐÔØÐÛìÝÞÓÞ Ø ãÓÛÞÒÞÓÞ
ÔÒØÖÕÝØÙ (âÐÚÞÓÞ àÞÔÐ áÞÒßÐÔÕÝØï ÝÐ×ëÒÐîâ �ÒëàÞÖÔÕÝØÕÜ�) áÒï×ÐÝÞ á ÞßàÕÔÕ-
ÛÕÝÝÞÙ (�áÚàëâÞÙ�) áØÜÜÕâàØÕÙ ÚãÛÞÝÞÒÐ ßÞÛï Ø áãéÕáâÒÞÒÐÝØÕÜ ÞÑãáÛÞÒÛÕÝÝÞÓÞ
íâÞÙ áØÜÜÕâàØÕÙ ØÝÒÐàØÐÝâÐ (áÞåàÐÝïîéÕÙáï ßàØ ÔÒØÖÕÝØØ ÒÕÛØçØÝë). ÁÞÞâÒÕâ-
áâÒãîéØÙ ØÝÒÐàØÐÝâ (âÐÚ ÝÐ×ëÒÐÕÜëÙ ÒÕÚâÞà ÀãÝÓÕ � »ÕÝæÐ ØÛØ ÒÕÚâÞà »ÐßÛÐáÐ)
ÜÞÖÝÞ ÝÐ×ÒÐâì ÔØÝÐÜØçÕáÚØÜ, ßÞáÚÞÛìÚã ÕÓÞ áãéÕáâÒÞÒÐÝØÕ áÒï×ÐÝÞ á ÞßàÕÔÕ-
ÛÕÝÝëÜ ×ÐÚÞÝÞÜ áØÛë (ÞÑàÐâÝÐï ßàÞßÞàæØÞÝÐÛìÝÞáâì ÚÒÐÔàÐâã àÐááâÞïÝØï), âÞÓÔÐ
ÚÐÚ âÐÚØÕ ØÝÒÐàØÐÝâë ÚÐÚ ÜÞÜÕÝâ ØÜßãÛìáÐ Ø ßÞÛÝÐï íÝÕàÓØï ÜÞÓãâ Ñëâì ÞâÝÕáÕÝë
Ú ÓÕÞÜÕâàØçÕáÚØÜ, ßÞáÚÞÛìÚã Øå áãéÕáâÒÞÒÐÝØÕ ÞÑãáÛÞÒÛÕÝÞ ÞÑéØÜØ áÒÞÙáâÒÐ-
ÜØ áØÜÜÕâàØØ ßàÞáâàÐÝáâÒÐ Ø ÒàÕÜÕÝØ (Ø×ÞâàÞßÝÞáâìî ßàÞáâàÐÝáâÒÐ Ø ÞÔÝÞàÞÔÝÞ-
áâìî ÒàÕÜÕÝØ áÞÞâÒÕâáâÒÕÝÝÞ).

ÇâÞÑë ÝÐÙâØ äÞàÜã âàÐÕÚâÞàØØ r = r(ϕ), ØáÚÛîçØÜ ÒàÕÜï Ø× ãàÐÒÝÕÝØï (20).
ÀÐááÜÐâàØÒÐï r ÚÐÚ äãÝÚæØî ϕ, Ð ÝÕ ÚÐÚ ïÒÝãî äãÝÚæØî ÒàÕÜÕÝØ t, ÜÞÖÕÜ ÝÐßØ-
áÐâì:

ṙ =
dr

dt
=

dr

dϕ

dϕ

dt
=

dr

dϕ

L

mr2
. (21)

·ÔÕáì Üë ÒëàÐ×ØÛØ ãÓÛÞÒãî áÚÞàÞáâì dϕ/dt = ϕ̇ çÕàÕ× ÜÞÜÕÝâ ØÜßãÛìáÐ L á ßÞÜÞ-
éìî ãàÐÒÝÕÝØï (19). ¿ÞÔáâÐÒÛïï íâÞ ÒëàÐÖÕÝØÕ ÔÛï ṙ Ò ãàÐÒÝÕÝØÕ (20), ßÞÛãçÐ-
ÕÜ ÔØääÕàÕÝæØÐÛìÝÞÕ ãàÐÒÝÕÝØÕ ÔÛï äãÝÚæØØ r(ϕ), ÚÞâÞàÐï ÞßàÕÔÕÛïÕâ ØáÚÞÜãî
äÞàÜã âàÐÕÚâÞàØØ çÐáâØæë. ÍâÞ ãàÐÒÝÕÝØÕ ÜÞÖÝÞ ãßàÞáâØâì, ÕáÛØ ÒÜÕáâÞ r(ϕ) ÒÒÕ-
áâØ ÝÞÒãî ÝÕØ×ÒÕáâÝãî äãÝÚæØî ρ = ρ(ϕ) á ßÞÜÞéìî áÞÞâÝÞèÕÝØï ρ = 1/r. ¿Þ-
áÚÞÛìÚã

dr

dϕ
=

d

dϕ

1

ρ
= − 1

ρ2

dρ

dϕ
= −r2 dρ

dϕ
,

Ø× ãàÐÒÝÕÝØï (21) ÝÐåÞÔØÜ, çâÞ

ṙ = −L

m

dρ

dϕ
, ṙ2 =

L2

m2

(
dρ

dϕ

)2

. (22)

¿ÞÔáâÐÒÛïï íâÞ ÒëàÐÖÕÝØÕ ÔÛï ṙ2 Ò ãàÐÒÝÕÝØÕ (20), ßÞÛãçÐÕÜ áÛÕÔãîéÕÕ ÔØääÕ-
àÕÝæØÐÛìÝÞÕ ãàÐÒÝÕÝØÕ ÔÛï ρ(ϕ):

(
dρ

dϕ

)2

+ ρ2 − 2Gm2M

L2
ρ = const. (23)

² íâÞÜ ãàÐÒÝÕÝØØ ßÕàÒÞÓÞ ßÞàïÔÚÐ ßÕàÕÜÕÝÝëÕ ρ Ø ϕ àÐ×ÔÕÛïîâáï, Ø ßÞâÞÜã ÕÓÞ
àÕèÕÝØÕ ÜÞÖÕâ Ñëâì ÝÐÙÔÕÝÞ áâÐÝÔÐàâÝëÜØ ÜÕâÞÔÐÜØ.

¾ÔÝÐÚÞ ÜÞÖÝÞ ÔÞÑØâìáï ÕéÕ ÑÞÛìèÕÓÞ ãßàÞéÕÝØï, ÕáÛØ ßàÞÔØääÕàÕÝæØàÞÒÐâì
íâÞ ãàÐÒÝÕÝØÕ ßÞ ϕ, ×ÐÜÕÝïï ÕÓÞ áÛÕÔãîéØÜ ãàÐÒÝÕÝØÕÜ ÒâÞàÞÓÞ ßÞàïÔÚÐ:

d2ρ

dϕ2
+ ρ = C, (24)

ÓÔÕ ÒÒÕÔÕÝÞ ÞÑÞ×ÝÐçÕÝØÕ C = Gm2M/L2.
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ÍâÞ ãàÐÒÝÕÝØÕ á ßÞáâÞïÝÝëÜØ ÚÞíääØæØÕÝâÐÜØ çÐáâÞ ÒáâàÕçÐÕâáï Ò àÐ×ÛØçÝëå
×ÐÔÐçÐå. ² çÐáâÝÞáâØ, ÐÝÐÛÞÓØçÝëÜ ãàÐÒÝÕÝØÕÜ ÞßØáëÒÐîâáï áÞÑáâÒÕÝÝëÕ ÚÞÛÕ-
ÑÐÝØï ÓÐàÜÞÝØçÕáÚÞÓÞ ÞáæØÛÛïâÞàÐ. ¾ÑéÕÕ àÕèÕÝØÕ íâÞÓÞ ãàÐÒÝÕÝØï åÞàÞèÞ Ø×-
ÒÕáâÝÞ:

ρ(ϕ) = C + A cos(ϕ− ϕ0), (25)
ÓÔÕ ßàÞØ×ÒÞÛìÝëÕ ßÞáâÞïÝÝëÕ A Ø ϕ0 ÞßàÕÔÕÛïîâáï Ø× ÝÐçÐÛìÝëå ãáÛÞÒØÙ. ²Þ×-
ÒàÐéÐïáì âÕßÕàì Ú ØáåÞÔÝÞÙ ØáÚÞÜÞÙ äãÝÚæØØ r = 1/ρ, ßÞÛãçÐÕÜ:

r(ϕ) =
p

1 + e cos(ϕ− ϕ0)
, (26)

ÓÔÕ ØáßÞÛì×ÞÒÐÝë áÛÕÔãîéØÕ ÞÑÞ×ÝÐçÕÝØï:

p =
1

C
=

L2

Gm2M
, e =

A

C
. (27)

ÃàÐÒÝÕÝØÕ (26) ÒëàÐÖÐÕâ ØáÚÞÜãî äÞàÜã âàÐÕÚâÞàØØ âÕÛÐ, ÔÒØÖãéÕÓÞáï Ò Ýìî-
âÞÝÞÒáÚÞÜ æÕÝâàÐÛìÝÞÜ ßÞÛÕ âïÓÞâÕÝØï, áØÛÐ ÚÞâÞàÞÓÞ áßÐÔÐÕâ ÞÑàÐâÝÞ ßàÞßÞàæØ-
ÞÝÐÛìÝÞ ÚÒÐÔàÐâã àÐááâÞïÝØï. ¸× ÐÝÐÛØâØçÕáÚÞÙ ÓÕÞÜÕâàØØ Ø×ÒÕáâÝÞ, çâÞ ÒëàÐ-
ÖÕÝØÕ (26) ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ãàÐÒÝÕÝØÕ ÚÞÝØçÕáÚÞÓÞ áÕçÕÝØï, â. Õ. ÚàØÒÞÙ, ÚÞâÞ-
àÐï ÞÑàÐ×ãÕâáï ßàØ ßÕàÕáÕçÕÝØØ ÚàãÓÞÒÞÓÞ ÚÞÝãáÐ ßÛÞáÚÞáâìî. ² ×ÐÒØáØÜÞáâØ Þâ
ÝÐÚÛÞÝÐ áÕÚãéÕÙ ßÛÞáÚÞáâØ Ú ÞáØ ÚÞÝãáÐ, Ò áÕçÕÝØØ ßÞÛãçÐîâáï ÞÚàãÖÝÞáâì, íÛ-
ÛØßá, ßÐàÐÑÞÛÐ ØÛØ ÓØßÕàÑÞÛÐ. ² ãàÐÒÝÕÝØØ (26) ϕ−ϕ0 Õáâì ãÓÞÛ ÜÕÖÔã àÐÔØãáÞÜ-
ÒÕÚâÞàÞÜ Ø Þáìî áØÜÜÕâàØØ âàÐÕÚâÞàØØ. ÍâÐ Þáì ÝÐßàÐÒÛÕÝÐ Ø× áØÛÞÒÞÓÞ æÕÝâàÐ Ò
ÑÛØÖÐÙèãî Ú ÝÕÜã âÞçÚã âàÐÕÚâÞàØØ. µáÛØ ßÞÛïàÝãî Þáì áØáâÕÜë ÚÞÞàÔØÝÐâ Òë-
ÑàÐâì ÒÔÞÛì íâÞÙ ÞáØ áØÜÜÕâàØØ, âÞ ÚÞÝáâÐÝâÐ ϕ0 Ò ãàÐÒÝÕÝØØ (26) ÞÑàÐéÐÕâáï Ò
ÝãÛì.

²åÞÔïéÐï Ò ãàÐÒÝÕÝØÕ (26) ÒÕÛØçØÝÐ p = L2/(Gm2M) ØÜÕÕâ àÐ×ÜÕàÝÞáâì ÔÛØ-
Ýë. ¾ÝÐ ÝÐ×ëÒÐÕâáï äÞÚÐÛìÝëÜ ßÐàÐÜÕâàÞÜ ÚÞÝØçÕáÚÞÓÞ áÕçÕÝØï. ±Õ×àÐ×ÜÕà-
ÝÐï ÒÕÛØçØÝÐ e ÝÐ×ëÒÐÕâáï íÚáæÕÝâàØáØâÕâÞÜ ÚÞÝØçÕáÚÞÓÞ áÕçÕÝØï. ¿àØ e = 0
Ø× ãàÐÒÝÕÝØï (26) áÛÕÔãÕâ, çâÞ r = p = const, â. Õ. àÐááâÞïÝØÕ ÔÞ áØÛÞÒÞÓÞ æÕÝâàÐ ÝÕ
×ÐÒØáØâ Þâ ϕ Ø ÞàÑØâÐ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÞÚàãÖÝÞáâì. ¿àØ e < 1 ãàÐÒÝÕÝØî (26)
áÞÞâÒÕâáâÒãÕâ íÛÛØßá (áÜ. àØá. 1 ÝÐ áâà. 8), ßàØ e = 1 � ßÐàÐÑÞÛÐ, Ø ßàØ e > 1 �
ÓØßÕàÑÞÛÐ.

¿ÐàÐÜÕâàë ÞàÑØâë p Ø e ÜÞÖÝÞ ÒëàÐ×Øâì çÕàÕ× áÞåàÐÝïîéØÕáï ßàØ ÔÒØÖÕÝØØ
ÔØÝÐÜØçÕáÚØÕ ßÐàÐÜÕâàë, Ð ØÜÕÝÝÞ ßÞÛÝãî íÝÕàÓØî E Ø ÜÞÜÕÝâ ØÜßãÛìáÐ L, Ø çÕ-
àÕ× äØ×ØçÕáÚØÕ ßÐàÐÜÕâàë áØáâÕÜë � ×ÝÐçÕÝØï ÜÐáá M Ø m. ² áÞÞâÒÕâáâÒØØ á (27)
äÞÚÐÛìÝëÙ ßÐàÐÜÕâà p ×ÐÒØáØâ âÞÛìÚÞ Þâ ÜÞÜÕÝâÐ ØÜßãÛìáÐ L: p = L2/(GMm2).
½ØÖÕ Üë ßÞÛãçØÜ ×ÝÐçÕÝØï ÑÞÛìèÞÙ ßÞÛãÞáØ a (ÔÛï ×ÐÜÚÝãâëå ÞàÑØâ) Ø íÚáæÕÝ-
âàØáØâÕâÐ ÞàÑØâë e.

¿ãáâì rP � àÐááâÞïÝØÕ ÜÕÖÔã áØÛÞÒëÜ æÕÝâàÞÜ Ø ÑÛØÖÐÙèÕÙ Ú ÝÕÜã âÞçÚÞÙ
âàÐÕÚâÞàØØ (ßÕàØÓÕÛØÕÜ, ßÕàØÓÕÕÜ ØÛØ Ò ÞÑéÕÜ áÛãçÐÕ ßÕàØæÕÝâàÞÜ), Ð vP � áÚÞ-
àÞáâì Ò íâÞÙ âÞçÚÕ. (² íâÞÙ âÞçÚÕ ÒÕÚâÞà áÚÞàÞáâØ v ßÕàßÕÝÔØÚãÛïàÕÝ àÐÔØãáã-
ÒÕÚâÞàã r). ÂÞÓÔÐ ßÞÛÝãî íÝÕàÓØî ÜÞÖÝÞ ×ÐßØáÐâì áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

E =
1

2
mv2

P −
GMm

rP

=
L2

2mr2
P

− GMm

rP

. (28)
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¼ë ÒëàÐ×ØÛØ Ò (28) áÚÞàÞáâì Ò ßÕàØÓÕÕ çÕàÕ× ÜÞÜÕÝâ ØÜßãÛìáÐ L = mrP vP .
¸× ãàÐÒÝÕÝØï (26) áÛÕÔãÕâ, çâÞ àÐááâÞïÝØÕ rP ÔÞ ßÕàØÓÕï ÔÛï ÞàÑØâë á ×ÐÔÐÝÝëÜØ
ßÐàÐÜÕâàÐÜØ p Ø e àÐÒÝÞ p/(1 + e). ¿ÞÔáâÐÒÛïï rP = p/(1 + e) Ø L2 = pGMm2

Ø× (27) Ò ãàÐÒÝÕÝØÕ (28), ßÞÛãçÐÕÜ:

E = −(1− e2)
GMm

2p
= −GMm

2a
. (29)

² ßÞáÛÕÔÝÕÜ àÐÒÕÝáâÒÕ ØáßÞÛì×ÞÒÐÝÞ áÞÞâÝÞèÕÝØÕ a = p/(1− e2) ÜÕÖÔã ÑÞÛì-
èÞÙ ßÞÛãÞáìî a Ø ßÐàÐÜÕâàÐÜØ íÛÛØßáÐ p Ø e. ´Ûï ÚÞÝÕçÝëå ×ÐÜÚÝãâëå ÞàÑØâ e < 1
Ø ÒÕÛØçØÝÐ a Ò (29) ßÞÛÞÖØâÕÛìÝÐ. ¼ë ÒØÔØÜ, çâÞ ×ÐÜÚÝãâëÜ ÞàÑØâÐÜ áÞÞâÒÕâáâÒã-
îâ ÞâàØæÐâÕÛìÝëÕ ×ÝÐçÕÝØï ßÞÛÝÞÙ íÝÕàÓØØ: E < 0. ¸× ãàÐÒÝÕÝØï (29) áÛÕÔãÕâ, çâÞ
ÑÞÛìèÐï ßÞÛãÞáì a ÔÛï âÐÚØå ×ÐÜÚÝãâëå íÛÛØßâØçÕáÚØå ÞàÑØâ ×ÐÒØáØâ âÞÛìÚÞ Þâ
ÒÕÛØçØÝë ßÞÛÝÞÙ íÝÕàÓØØ E: a = −GMm/(2E). ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÑÞÛìèÐï ßÞÛãÞáì
Ø, áÛÕÔÞÒÐâÕÛìÝÞ, ßÕàØÞÔ ÞÑàÐéÕÝØï T ÞÔÝÞ×ÝÐçÝÞ ÞßàÕÔÕÛïîâáï ßÞÛÝÞÙ íÝÕàÓØ-
ÕÙ Ø ÝÕ ×ÐÒØáïâ Þâ ÜÞÜÕÝâÐ ØÜßãÛìáÐ. ¿ÕàØÞÔ ÞÑàÐéÕÝØï ÞÔØÝÐÚÞÒ ÔÛï ÒáÕå ÞàÑØâ
á ÔÐÝÝëÜ ×ÝÐçÕÝØÕÜ ßÞÛÝÞÙ íÝÕàÓØØ (ØÛØ ÑÞÛìèÞÙ ßÞÛãÞáØ), ÝÕ×ÐÒØáØÜÞ Þâ íÚá-
æÕÝâàØáØâÕâÐ ÞàÑØâë. ² çÐáâÝÞÜ áÛãçÐÕ ÚàãÓÞÒÞÙ ÞàÑØâë r = a, Ø ãàÐÒÝÕÝØÕ (29)
áÞÒßÐÔÐÕâ á Ø×ÒÕáâÝëÜ ÒëàÐÖÕÝØÕÜ E = −GMm/(2r) ÔÛï ßÞÛÝÞÙ íÝÕàÓØØ áßãâ-
ÝØÚÐ ÝÐ ÚàãÓÞÒÞÙ ÞàÑØâÕ.

¿àØ àÐÒÝÞÜ ÝãÛî ×ÝÐçÕÝØØ ßÞÛÝÞÙ íÝÕàÓØØ (E = 0) ãàÐÒÝÕÝØÕ (29) ÔÐÕâ e = 1.
ºÞÝØçÕáÚÞÕ áÕçÕÝØÕ á e = 1 � íâÞ ßÐàÐÑÞÛÐ. ¿ÞÛÞÖØâÕÛìÝëÜ ×ÝÐçÕÝØïÜ ßÞÛ-
ÝÞÙ íÝÕàÓØØ (E > 0) áÞÞâÒÕâáâÒãîâ íÚáæÕÝâàØáØâÕâë e > 1, â. Õ. ÓØßÕàÑÞÛØçÕáÚØÕ
âàÐÕÚâÞàØØ. µáÛØ ßàØÜÕÝØâì áÞÞâÝÞèÕÝØÕ a = p/(1 − e2) Ú ÓØßÕàÑÞÛÕ (e > 1),
ÔÛï a ßÞÛãçÐÕâáï ÞâàØæÐâÕÛìÝÞÕ ×ÝÐçÕÝØÕ. ² íâÞÜ áÛãçÐÕ |2a| ØÜÕÕâ ÓÕÞÜÕâàØçÕ-
áÚØÙ áÜëáÛ ÚàÐâçÐÙèÕÓÞ àÐááâÞïÝØï ÜÕÖÔã ÔÒãÜï ÒÕâÒïÜØ ÓØßÕàÑÞÛë (Ø×ÜÕàïÕ-
ÜÞÓÞ ÒÔÞÛì ÓÛÐÒÝÞÙ ÞáØ, ßàÞåÞÔïéÕÙ çÕàÕ× äÞÚãáë).

² ÞÑéÕÜ áÛãçÐÕ Ø× ãàÐÒÝÕÝØï (29) ÜÞÖÝÞ ßÞÛãçØâì ÒëàÐÖÕÝØï ÔÛï ÑÞÛìèÞÙ
ßÞÛãÞáØ a Ø íÚáæÕÝâàØáØâÕâÐ e ÞàÑØâë çÕàÕ× ßÞáâÞïÝÝëÕ ×ÝÐçÕÝØï ßÞÛÝÞÙ íÝÕàÓØØ
E Ø ÜÞÜÕÝâÐ ØÜßãÛìáÐ L. ¿ÞÔáâÐÒÛïï p = L2/(GMm2) Ò ãàÐÒÝÕÝØÕ (29), ßÞÛãçÐÕÜ:

a = −GMm

2E
, e =

√
1 +

2EL2

G2M2m3
. (30)

8 ÂàÕâØÙ ×ÐÚÞÝ ºÕßÛÕàÐ
ÇâÞÑë ÔÞÚÐ×Ðâì âàÕâØÙ ×ÐÚÞÝ ºÕßÛÕàÐ ÔÛï íÛÛØßâØçÕáÚØå ÞàÑØâ, ÜÞÖÝÞ ßÞÔáçØâÐâì
ßÕàØÞÔ ÞÑàÐéÕÝØï T , àÐ×ÔÕÛØÒ ßÛÞéÐÔì íÛÛØßáÐ S = πab ÝÐ áÕÚâÞàØÐÛìÝãî áÚÞ-
àÞáâì dS/dt. ºÐÚ ÑëÛÞ ßÞÚÐ×ÐÝÞ àÐÝÕÕ, áÕÚâÞàØÐÛìÝÐï áÚÞàÞáâì ßàÞßÞàæØÞÝÐÛì-
ÝÐ ÜÞÔãÛî ÜÞÜÕÝâÐ ØÜßãÛìáÐ: L = 2mdS/dt. ¿ÞáÚÞÛìÚã ÜÐÛÐï ßÞÛãÞáì íÛÛØßáÐ
b àÐÒÝÐ

√
1− e2, Ð a = p/(1 − e2), ÔÛï ßÕàØÞÔÐ ÞÑàÐéÕÝØï ßÞÛãçÐÕÜ áÛÕÔãîéÕÕ

ÒëàÐÖÕÝØÕ:

T =
2mπp2

L(1− e2)3/2
.

¿ÞÔáâÐÒÛïï áîÔÐ L = m
√

GMp, ßÞÛãçÐÕÜ, çâÞ äÞÚÐÛìÝëÙ ßÐàÐÜÕâà p Ø íÚáæÕÝ-
âàØáØâÕâ e ÒåÞÔïâ Ò ÒëàÐÖÕÝØÕ ÔÛï ßÕàØÞÔÐ Ò ÚÞÜÑØÝÐæØØ p/(1− e2), ×ÝÐçÕÝØÕ ÚÞ-

16



âÞàÞÙ àÐÒÝÞ ÑÞÛìèÞÙ ßÞÛãÞáØ a. ÁÛÕÔÞÒÐâÕÛìÝÞ ßÕàØÞÔ ÞÑàÐéÕÝØï ßÞ íÛÛØßâØçÕ-
áÚÞÙ ÞàÑØâÕ ×ÐÒØáØâ âÞÛìÚÞ Þâ ÕÕ ÑÞÛìèÞÙ ßÞÛãÞáØ:

T =
2πa3/2

√
GM

. (31)

² áÞÞâÒÕâáâÒØØ á íâØÜ ãàÐÒÝÕÝØÕÜ, ÚÒÐÔàÐâ ßÕàØÞÔÐ ÞÑàÐéÕÝØï ßàÞßÞàæØÞÝÐÛÕÝ
ÚãÑã ÑÞÛìèÞÙ ßÞÛãÞáØ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë. ÍâÞ Ø Õáâì ÞÑéÕßàØÝïâÐï äÞàÜã-
ÛØàÞÒÚÐ âàÕâìÕÓÞ ×ÐÚÞÝÐ ºÕßÛÕàÐ.

² ÚÐçÕáâÒÕ ßàØÜÕàÐ ßàÐÚâØçÕáÚÞÓÞ ßàØÜÕÝÕÝØï âàÕâìÕÓÞ ×ÐÚÞÝÐ ºÕßÛÕàÐ àÐá-
áÜÞâàØÜ áÛÕÔãîéãî ×ÐÔÐçã.

·ÐÔÐçÐ. ±ÐÛÛØáâØçÕáÚØÙ áÝÐàïÔ ×ÐßãáÚÐÕâáï ÒÕàâØÚÐÛìÝÞ ÒÒÕàå á ßÞÒÕàåÝÞ-
áâØ ·ÕÜÛØ á ÝÐçÐÛìÝÞÙ áÚÞàÞáâìî, ÜÞÔãÛì ÚÞâÞàÞÙ àÐÒÕÝ ÚàãÓÞÒÞÙ áÚÞàÞáâØ ÔÛï
ßàÕÔÕÛìÝÞ ÝØ×ÚÞÙ ÞàÑØâë (â. Õ. ßÕàÒÞÙ ÚÞáÜØçÕáÚÞÙ áÚÞàÞáâØ): v0 = vI =

√
gR.

ÁÚÞÛìÚÞ ÒàÕÜÕÝØ ßàÞÔÞÛÖÐÕâáï ßÞÛÕâ áÝÐàïÔÐ Þâ ßãáÚÐ ÔÞ ßÐÔÕÝØï ÝÐ ·ÕÜÛî?
ÀÕèÕÝØÕ. ¸× ×ÐÚÞÝÐ áÞåàÐÝÕÝØï íÝÕàÓØØ ÝÐåÞÔØÜ, çâÞ âÞçÚÐ ÜÐÚáØÜÐÛìÝÞÓÞ

ßÞÔêÕÜÐ áÝÐàïÔÐ ßàØ v0 = vI ÝÐåÞÔØâáï ÝÐÔ ßÞÒÕàåÝÞáâìî ·ÕÜÛØ ÝÐ àÐááâÞïÝØØ,
àÐÒÝÞÜ àÐÔØãáã ·ÕÜÛØ R. ÂàÐÕÚâÞàØï áÝÐàïÔÐ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ßÞÛÞÒØÝã ßàï-
ÜÞÛØÝÕÙÝÞÓÞ ÞâàÕ×ÚÐ, áÞÕÔØÝïîéÕÓÞ æÕÝâà ·ÕÜÛØ á âÞçÚÞÙ ÝÐØÒëáèÕÓÞ ßÞÔêÕÜÐ
áÝÐàïÔÐ. ÍâÞâ ÞâàÕ×ÞÚ ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ßàÕÔÕÛìÝëÙ áÛãçÐÙ ÞçÕÝì ã×ÚÞÙ
íÛÛØßâØçÕáÚÞÙ ÞàÑØâë, äÞÚãáë ÚÞâÞàÞÙ áÞÒßÐÔÐîâ á ÚÞÝæÐÜØ ÞâàÕ×ÚÐ. ÇâÞÑë ÔÒØ-
ÖÕÝØÕ ßÞ âÐÚÞÜã íÛÛØßáã ÑëÛÞ Ò ßàØÝæØßÕ ÒÞ×ÜÞÖÝÞ, Òáï ÜÐááÐ ·ÕÜÛØ ÔÞÛÖÝÐ
Ñëâì áÞáàÕÔÞâÞçÕÝÐ Ò ÕÕ æÕÝâàÕ. ±ÞÛìèÐï Þáì íâÞÓÞ ÒëàÞÖÔÕÝÝÞÓÞ íÛÛØßáÐ àÐÒÝÐ
2R. ¿ÞÛÝëÙ ßÕàØÞÔ ÞÑàÐéÕÝØï T0 ßÞ ÝÕÜã ÑëÛ Ñë âÐÚØÜ ÖÕ, ÚÐÚ ßÞ ÚàãÓÞÒÞÙ ÞàÑØ-
âÕ á ÔØÐÜÕâàÞÜ, àÐÒÝëÜ ÑÞÛìèÞÙ ÞáØ íÛÛØßáÐ: T0 = 2πR/vI = 2π

√
R/g. ² ÔÐÝÝÞÙ

×ÐÔÐçÕ ÝÐá ØÝâÕàÕáãÕâ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ, Ò âÕçÕÝØÕ ÚÞâÞàÞÓÞ áÝÐàïÔ ßàÞåÞÔØâ
ßÞÛÞÒØÝã âÐÚÞÓÞ ÒëàÞÖÔÕÝÝÞÓÞ íÛÛØßáÐ, ÝÐØÑÞÛÕÕ ãÔÐÛÕÝÝãî Þâ áØÛÞÒÞÓÞ æÕÝâàÐ.

ÀØá. 4: ¿ÛÞéÐÔì, ÞÜÕâÐÕÜÐï àÐÔØãáÞÜ-ÒÕÚâÞàÞÜ ÑÐÛÛØáâØçÕáÚÞÓÞ áÝÐàïÔÐ ×Ð ÒàÕÜï ßàÞ-
åÞÖÔÕÝØï áÝÐàïÔÞÜ ßÞÛÞÒØÝë íÛÛØßâØçÕáÚÞÙ ÞàÑØâë.

ÇâÞÑë ÝÐÙâØ íâÞ ÒàÕÜï, ÜÞÖÝÞ ÒÞáßÞÛì×ÞÒÐâìáï ÒâÞàëÜ ×ÐÚÞÝÞÜ ºÕßÛÕàÐ. ÀÐá-
áÜÞâàØÜ íÛÛØßâØçÕáÚãî ÞàÑØâã, ÑÞÛìèÐï Ø ÜÐÛÐï ßÞÛãÞáØ ÚÞâÞàÞÙ àÐÒÝë a Ø b
áÞÞâÒÕâáâÒÕÝÝÞ (àØá. 4). ¿àØ ÔÒØÖÕÝØØ ÒÔÞÛì ÝÕÕ àÐÔØãá-ÒÕÚâÞà ÞÜÕâÐÕâ àÐÒÝëÕ
ßÛÞéÐÔØ ×Ð àÐÒÝëÕ ßàÞÜÕÖãâÚØ ÒàÕÜÕÝØ. ½ÐÜ ÝãÖÝÞ ÝÐÙâØ ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ
T1, Ò âÕçÕÝØÕ ÚÞâÞàÞÓÞ ÚÞÝÕæ àÐÔØãáÐ-ÒÕÚâÞàÐ ßàÞåÞÔØâ ÒÔÞÛì ãÔÐÛÕÝÝÞÙ ßÞÛÞÒØ-
Ýë íâÞÓÞ íÛÛØßáÐ Þâ ÞÔÝÞÓÞ ÚÞÝæÐ ÕÓÞ ÜÐÛÞÙ ÞáØ ÔÞ ÔàãÓÞÓÞ, ÞÜÕâÐï ßàØ íâÞÜ áÞÞâ-
ÒÕâáâÒãîéãî ßÛÞéÐÔì S1 (ÝÕ ×ÐèâàØåÞÒÐÝÝãî ÝÐ àØá. 4). ÍâÐ ßÛÞéÐÔì ÞÑàÐ×ÞÒÐ-
ÝÐ ßÞÛÞÒØÝÞÙ íÛÛØßáÐ Ø âàÕãÓÞÛìÝØÚÞÜ, ÞáÝÞÒÐÝØÕÜ ÚÞâÞàÞÓÞ áÛãÖØâ ÜÐÛÐï Þáì, Ð
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ÒÕàèØÝÞÙ � äÞÚãá, àÐáßÞÛÞÖÕÝÝëÙ Ò áØÛÞÒÞÜ æÕÝâàÕ. ²ëáÞâÐ c âÐÚÞÓÞ âàÕãÓÞÛì-
ÝØÚÐ àÐÒÝÐ ea, ÓÔÕ e � íÚáæÕÝâàØáØâÕâ íÛÛØßáÐ.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÞâÝÞèÕÝØÕ ßàÞÜÕÖãâÚÐ ÒàÕÜÕÝØ T1 Ú ßÕàØÞÔã ÞÑàÐéÕÝØï T0

àÐÒÝÞ ÞâÝÞèÕÝØî áÞÞâÒÕâáâÒãîéØå ßÛÞéÐÔÕÙ:

T1

T0

=
S1

S0

=
πab/2 + eab

πab
=

1

2
+

e

π
.

² çÐáâÝÞÜ áÛãçÐÕ ÚàãÓÞÒÞÙ ÞàÑØâë e = 0, Ø Üë ßÞÛãçÐÕÜ T1 = T0/2, ÚÐÚ Ø áÛÕ-
ÔÞÒÐÛÞ ÞÖØÔÐâì: ÛîÑãî ßÞÛÞÒØÝã ÚàãÓÞÒÞÙ ÞàÑØâë âÕÛÞ ßàÞåÞÔØâ ×Ð ßÞÛÞÒØÝã ßÕ-
àØÞÔÐ, ßÞáÚÞÛìÚã ßÞ ÚàãÓÞÒÞÙ ÞàÑØâÕ ÞÝÞ ÔÒØÖÕâáï àÐÒÝÞÜÕàÝÞ. ¾ÔÝÐÚÞ Ò áÛãçÐÕ
íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ÔÒÕ ÕÕ ßÞÛÞÒØÝë ãÖÕ ÝÕ ÑãÔãâ íÚÒØÒÐÛÕÝâÝëÜØ: ÔÛï ßàÞåÞ-
ÖÔÕÝØï ÒÔÞÛì ÔÐÛìÝÕÙ ßÞÛÞÒØÝë âàÕÑãÕâáï ÑÞÛìèÕÕ ÒàÕÜï. ² ßàÕÔÕÛìÝÞÜ áÛãçÐÕ
ÒëàÞÖÔÕÝÝÞÓÞ íÛÛØßáÐ (ßàØ e = 1) ßÞÛãçÐÕÜ T1 = (1 + 2/π)T0/2 = 0.82 T0. ² âÕçÕ-
ÝØÕ ßÕàÒÞÙ ßÞÛÞÒØÝë íâÞÓÞ ÒàÕÜÕÝØ áÝÐàïÔ ßÞÔÝØÜÐÕâáï ÒÒÕàå ÔÞ ÝÐØÒëáèÕÙ âÞç-
ÚØ, Ò âÕçÕÝØÕ ÒâÞàÞÙ ßÞÛÞÒØÝë � ßÐÔÐÕâ ÒÝØ×. ±Õ× ãçÕâÐ áÞßàÞâØÒÛÕÝØï ÒÞ×ÔãåÐ
ÒàÕÜï ßÞÔêÕÜÐ àÐÒÝÞ ÒàÕÜÕÝØ ßÐÔÕÝØï.

9 ³ÞÔÞÓàÐä ÒÕÚâÞàÐ áÚÞàÞáâØ ßàØ ÚÕßÛÕàÞÒÞÜ ÔÒØ-
ÖÕÝØØ

²ÕÚâÞà áÚÞàÞáâØ ÔÒØÖãéÕÓÞáï âÕÛÐ Ò ÛîÑÞÙ ÜÞÜÕÝâ ÝÐßàÐÒÛÕÝ ßÞ ÚÐáÐâÕÛìÝÞÙ
Ú ßàÞáâàÐÝáâÒÕÝÝÞÙ âàÐÕÚâÞàØØ, Ø ßÞíâÞÜã ßàØ ÚàØÒÞÛØÝÕÙÝÞÜ ÔÒØÖÕÝØØ ÕÓÞ ÝÐ-
ßàÐÒÛÕÝØÕ ÒáÕ ÒàÕÜï Ø×ÜÕÝïÕâáï. ÇâÞÑë ßÞÛãçØâì âàÐÕÚâÞàØî Ò ßàÞáâàÐÝáâÒÕ áÚÞ-
àÞáâÕÙ, ÝãÖÝÞ ÝÐçÕàâØâì ÛØÝØî, ÞßØáëÒÐÕÜãî ÚÞÝæÞÜ Ø×ÜÕÝïîéÕÓÞáï ÒÕÚâÞàÐ áÚÞ-
àÞáâØ ßàØ ãáÛÞÒØØ, çâÞ ÕÓÞ ÝÐçÐÛÞ ×ÐäØÚáØàÞÒÐÝÞ Ò ÞßàÕÔÕÛÕÝÝÞÙ âÞçÚÕ � ÝÐçÐÛÕ
ÚÞÞàÔØÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ. ¿ÞÒáÕÜÕáâÝÞ ßàØÝïâÞÕ âÕßÕàì ÝÐ×ÒÐÝØÕ âÐÚÞÙ
ÚàØÒÞÙ � ÓÞÔÞÓàÐä áÚÞàÞáâØ � ÑëÛÞ ÔÐÝÞ ÕÙ ³ÐÜØÛìâÞÝÞÜ Ò 1846 ÓÞÔã.

¿àØ ÔÒØÖÕÝØØ âÕÛÐ (ßÛÐÝÕâë, áßãâÝØÚÐ) ßÞ ÚàãÓÞÒÞÙ ÞàÑØâÕ ÜÞÔãÛì áÚÞàÞáâØ
ÞáâÐÕâáï ÝÕØ×ÜÕÝÝëÜ, âÐÚ çâÞ ÒáÕ Ø×ÜÕÝÕÝØÕ ÒÕÚâÞàÐ áÚÞàÞáâØ áÒÞÔØâáï Ú àÐÒ-
ÝÞÜÕàÝÞÜã ÒàÐéÕÝØî ÒÞÚàãÓ ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ. ÍâÞ ×ÝÐ-
çØâ, çâÞ ÓÞÔÞÓàÐä áÚÞàÞáâØ ÔÛï ßàÞØáåÞÔïéÕÓÞ ßÞ ÞÚàãÖÝÞáâØ ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï
âÐÚÖÕ ÑãÔÕâ ÞÚàãÖÝÞáâìî. ÀÐÔØãá íâÞÙ ÞÚàãÖÝÞáâØ àÐÒÕÝ ÝÕØ×ÜÕÝÝÞÜã ×ÝÐçÕÝØî
ÜÞÔãÛï áÚÞàÞáâØ (ÚàãÓÞÒÞÙ áÚÞàÞáâØ vcirc).

ºÞÓÔÐ ßÛÐÝÕâÐ (ØÛØ áßãâÝØÚ) ÔÒØÖÕâáï ÒÔÞÛì ×ÐÜÚÝãâÞÙ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë
ØÛØ ÞâÚàëâÞÙ ßÐàÐÑÞÛØçÕáÚÞÙ ØÛØ ÓØßÕàÑÞÛØçÕáÚÞÙ âàÐÕÚâÞàØØ, ßÞÒÞàÞâ ÒÕÚâÞàÐ
áÚÞàÞáâØ ßàÞØáåÞÔØâ ÝÕàÐÒÝÞÜÕàÝÞ. ¸×ÜÕÝïÕâáï ßàØ íâÞÜ ÝÕ âÞÛìÚÞ ÝÐßàÐÒÛÕÝØÕ,
ÝÞ Ø ÜÞÔãÛì ÒÕÚâÞàÐ áÚÞàÞáâØ. ¾ÔÝÐÚÞ íâØ Ø×ÜÕÝÕÝØï ßàÞØáåÞÔïâ âÐÚØÜ ÞÑàÐ×ÞÜ,
çâÞ ÚÞÝÕæ ÒÕÚâÞàÐ áÚÞàÞáâØ âÐÚÖÕ ÞßØáëÒÐÕâ ÞÚàãÖÝÞáâì (ÛØÑÞ çÐáâì ÞÚàãÖÝÞ-
áâØ Ò áÛãçÐÕ ÓØßÕàÑÞÛØçÕáÚØå ÔÒØÖÕÝØÙ). ÆÕÝâà âÐÚÞÙ ÞÚàãÖÝÞáâØ ÝÕ ÝÐåÞÔØâáï Ò
ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ. ´àãÓØÜØ áÛÞÒÐÜØ, ÔÛï ßàÞØ×ÒÞÛìÝÞÓÞ ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï ÓÞ-
ÔÞÓàÐä áÚÞàÞáâØ ØÜÕÕâ äÞàÜã ÞÚàãÖÝÞáâØ. ÍâÞ ×ÐÜÕçÐâÕÛìÝÞÕ áÒÞÙáâÒÞ ÞàÑØâÐÛì-
Ýëå ÔÒØÖÕÝØÙ ßÞçÕÜã-âÞ ÝÕ ÝÐèÛÞ ÞâàÐÖÕÝØï Ò áãéÕáâÒãîéØå ãçÕÑÝØÚÐå ßÞ ÜÕ-
åÐÝØÚÕ Ø ÞÑéÕÙ äØ×ØÚÕ.

½ØÖÕ ÝÐ ÞáÝÞÒÕ ×ÐÚÞÝÞÒ ÔØÝÐÜØÚØ ÔÞÚÐ×ëÒÐÕâáï (ÓÕÞÜÕâàØçÕáÚØ Ø ÐÝÐÛØâØçÕ-
áÚØ), çâÞ ÔÛï ßàÞØ×ÒÞÛìÝÞÓÞ ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï ÓÞÔÞÓàÐä áÚÞàÞáâØ ØÜÕÕâ äÞàÜã
ÞÚàãÖÝÞáâØ (ÛØÑÞ ÔãÓØ ÞÚàãÖÝÞáâØ Ò áÛãçÐÕ ÓØßÕàÑÞÛØçÕáÚÞÓÞ ÔÒØÖÕÝØï).
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¸× áÞåàÐÝÕÝØï ÝÐßàÐÒÛÕÝØï ÒÕÚâÞàÐ ÜÞÜÕÝâÐ ØÜßãÛìáÐ áÛÕÔãÕâ, çâÞ âàÐÕÚâÞàØï
ÔÒØÖÕÝØï Ò ÛîÑÞÜ æÕÝâàÐÛìÝÞÜ ßÞÛÕ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ßÛÞáÚãî ÚàØÒãî. ¿ÛÞá-
ÚÞáâì ÞàÑØâë ×ÐÔÐÕâáï ÒÕÚâÞàÐÜØ ÝÐçÐÛìÝÞÓÞ ßÞÛÞÖÕÝØï Ø ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ.
²ÕÚâÞà ÜÞÜÕÝâÐ ØÜßãÛìáÐ ßÕàßÕÝÔØÚãÛïàÕÝ Ú íâÞÙ ßÛÞáÚÞáâØ.

² áÞÞâÒÕâáâÒØØ áÞ ÒâÞàëÜ ×ÐÚÞÝÞÜ ½ìîâÞÝÐ ÔÕÙáâÒãîéÐï ÝÐ âÕÛÞ áØÛÐ ßàØÒÞ-
ÔØâ ßàÕÖÔÕ ÒáÕÓÞ Ú Ø×ÜÕÝÕÝØî ÕÓÞ ØÜßãÛìáÐ (Ø âÕÜ áÐÜëÜ áÚÞàÞáâØ), Ð ÝÕ ßÞÛÞ-
ÖÕÝØï Ò ßàÞáâàÐÝáâÒÕ. ²ÕÚâÞà ãáÚÞàÕÝØï dv/dt, ßàÞØ×ÒÞÔØÜÞÓÞ áØÛÞÙ âïÓÞâÕÝØï,
ÒáÕÓÔÐ ÝÐßàÐÒÛÕÝ Ò áâÞàÞÝã áØÛÞÒÞÓÞ æÕÝâàÐ, Ð ÕÓÞ ÜÞÔãÛì ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐ-
ÛÕÝ ÚÒÐÔàÐâã àÐááâÞïÝØï r:

dv

dt
= −GM

1

r2

r

r
. (32)

¸áÚÛîçØÜ ÜÞÔãÛì àÐÔØãáÐ-ÒÕÚâÞàÐ Ø× íâÞÓÞ ãàÐÒÝÕÝØï, ÒÞáßÞÛì×ÞÒÐÒèØáì ×Ð-
ÚÞÝÞÜ áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ:

L = m|r× v| = mrv⊥ = mr2ϕ̇. (33)
·ÔÕáì v⊥ = rϕ̇ � ßÞßÕàÕçÝÐï ßàÞÕÚæØï áÚÞàÞáâØ âÕÛÐ (â. Õ. ßÕàßÕÝÔØÚãÛïàÝÐï
àÐÔØãáã-ÒÕÚâÞàã), Ð ϕ̇ = dϕ/dt � ãÓÛÞÒÐï áÚÞàÞáâì (áÚÞàÞáâì ßÞÒÞàÞâÐ àÐÔØãáÐ-
ÒÕÚâÞàÐ). ¿ÞáÚÞÛìÚã ÜÞÜÕÝâ ØÜßãÛìáÐ ÞáâÐÕâáï ÝÕØ×ÜÕÝÝëÜ ßàØ ÔÒØÖÕÝØØ çÐáâØ-
æë Ò ÛîÑÞÜ æÕÝâàÐÛìÝÞÜ ßÞÛÕ, ÔÛï ÛîÑÞÙ âÞçÚØ âàÐÕÚâÞàØØ ÚÒÐÔàÐâ àÐááâÞïÝØï
r Þâ áØÛÞÒÞÓÞ æÕÝâàÐ á ßÞÜÞéìî (33) ÜÞÖÝÞ ÒëàÐ×Øâì çÕàÕ× ãÓÛÞÒãî áÚÞàÞáâì Ø
ßÞáâÞïÝÝÞÕ ×ÝÐçÕÝØÕ L:

1

r2
=

m

L
ϕ̇ =

m

L

dϕ

dt
. (34)

¿ÞÔáâÐÒÛïï 1/r2 Ø× (34) Ò (32), ÝÐåÞÔØÜ, çâÞ ßàØàÐéÕÝØÕ ÒÕÚâÞàÐ áÚÞàÞáâØ ×Ð
ßàÞÜÕÖãâÞÚ ÒàÕÜÕÝØ ∆t ÔÐÕâáï íÛÕÜÕÝâÐàÝëÜ ÒÕÚâÞàÞÜ ∆v, ÝÐßàÐÒÛÕÝØÕ ÚÞâÞàÞÓÞ
ßàÞâØÒÞßÞÛÞÖÝÞ ÒÕÚâÞàã r, Ð ÜÞÔãÛì ßàÞßÞàæØÞÝÐÛÕÝ íÛÕÜÕÝâÐàÝÞÜã ãÓÛã ∆ϕ, ÝÐ
ÚÞâÞàëÙ ßÞÒÞàÐçØÒÐÕâáï àÐÔØãá-ÒÕÚâÞà çÐáâØæë ×Ð ÒàÕÜï ∆t:

|∆v| = GMm

L
∆ϕ. (35)

³ÕÞÜÕâàØçÕáÚÐï ØÝâÕàßàÕâÐæØï ãàÐÒÝÕÝØï (35) ßÞÚÐ×ÐÝÐ ÝÐ àØá. 5. ºÐÖÔëÙ àÐ×,
ÚÞÓÔÐ ßàÞáâàÐÝáâÒÕÝÝëÙ àÐÔØãá-ÒÕÚâÞà r ÔÒØÖãéÕÓÞáï ßÞ ÞàÑØâÕ âÕÛÐ ßÞÒÞàÐçØ-
ÒÐÕâáï ÝÐ ÑÕáÚÞÝÕçÝÞ ÜÐÛëÙ ãÓÞÛ ∆ϕ, ÒÕÚâÞà áÚÞàÞáâØ v ßÞÛãçÐÕâ ßàØàÐéÕÝØÕ ∆v,
ÒÕÛØçØÝÐ ÚÞâÞàÞÓÞ |∆v| ßàÞßÞàæØÞÝÐÛìÝÐ ∆ϕ. ÍâÞ ×ÝÐçØâ, çâÞ íÛÕÜÕÝâÐàÝëÕ ÒÕÚ-
âÞàë ∆v Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ ÛÕÖÐâ ÝÐ ÞÚàãÖÝÞáâØ, â. Õ. ÛÞÜÐÝÐï ÛØÝØï, ÞÑ-
àÐ×ÞÒÐÝÝÐï ßÞáÛÕÔÞÒÐâÕÛìÝÞáâìî ÒÕÚâÞàÞÒ ∆v, ÒßØáÐÝÐ Ò ÞÚàãÖÝÞáâì (áÜ. àØá. 5).
ÀÐÔØãá u íâÞÙ ÞÚàãÖÝÞáâØ, Ò áÞÞâÒÕâáâÒØØ á (35), àÐÒÕÝ GMm/L. ² ÚÐÖÔëÙ ÜÞ-
ÜÕÝâ àÐÔØãá-ÒÕÚâÞà ÓÞÔÞÓàÐäÐ u ßÕàßÕÝÔØÚãÛïàÕÝ ∆v, Ð ×ÝÐçØâ Ø ßàÞáâàÐÝáâÒÕÝ-
ÝÞÜã àÐÔØãáã-ÒÕÚâÞàã r. ´àãÓØÜØ áÛÞÒÐÜØ, ÝÕàÐÒÝÞÜÕàÝÞÕ ÒàÐéÕÝØÕ ÒÕÚâÞàÐ r ßÞ-
ÛÞÖÕÝØï âÕÛÐ Ò ßàÞáâàÐÝáâÒÕ (ÛÕÒÐï çÐáâì àØá. 5) Ø áÞÞâÒÕâáâÒãîéÕÕ ÕÜã ÒàÐéÕ-
ÝØÕ ÒÕÚâÞàÐ u Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ (ßàÐÒÐï çÐáâì àØá. 5) ÒáÕÓÔÐ ßàÞØáåÞÔïâ
áÞ áÔÒØÓÞÜ ßÞ äÐ×Õ ÝÐ 90◦.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ãàÐÒÝÕÝØÕ (35) ÔÞÚÐ×ëÒÐÕâ, çâÞ ÓÞÔÞÓàÐä ÒÕÚâÞàÐ áÚÞàÞáâØ ØÜÕ-
Õâ äÞàÜã ÞÚàãÖÝÞáâØ. ²ëàÐÖÐÕÜÐï áÞÞâÝÞèÕÝØÕÜ (35) ßàÞßÞàæØÞÝÐÛìÝÞáâì ÜÕÖ-
Ôã |∆v| Ø ∆ϕ ØÜÕÕâ ÜÕáâÞ âÞÛìÚÞ ßàØ ÔÒØÖÕÝØØ ßÞÔ ÔÕÙáâÒØÕÜ æÕÝâàÐÛìÝÞÙ áØ-
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ÀØá. 5: ºÕßÛÕàÞÒÐ ÞàÑØâÐ á ÒÕÚâÞàÐÜØ áÚÞàÞáâÕÙ Ò àÐ×Ýëå ÕÕ âÞçÚÐå (áÛÕÒÐ) Ø ÓÞÔÞÓàÐä Ò
ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ (áßàÐÒÐ).

Ûë, ÒÕÛØçØÝÐ ÚÞâÞàÞÙ ×ÐÒØáØâ Þâ àÐááâÞïÝØï ÔÞ æÕÝâàÐ ÚÐÚ 1/r2. ¿ÞíâÞÜã ÚàãÓÞÒÐï
äÞàÜÐ ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ ßàØáãéÐ ØÜÕÝÝÞ ÔÒØÖÕÝØïÜ Ò ÚãÛÞÝÞÒÞÜ ßÞÛÕ.

¿ÞáâÞïÝÝëÙ ÚÞíääØæØÕÝâ ßàÞßÞàæØÞÝÐÛìÝÞáâØ u = GMm/L ÜÕÖÔã |∆v| Ø
∆ϕ Ò ãàÐÒÝÕÝØØ (35) àÐÒÕÝ àÐÔØãáã ÚàãÓÞÒÞÓÞ ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ. ÍâÞâ àÐÔØãá
ãÔÞÑÝÞ ÒëàÐ×Øâì çÕàÕ× ×ÝÐçÕÝØÕ áÚÞàÞáâØ Ò ßÕàØÓÕÕ vP Ø áÚÞàÞáâì vcirc ÔÛï ÚàãÓÞÒÞÙ
ÞàÑØâë ÝÐ ÒëáÞâÕ ßÕàØÓÕï rP . ¿ÞáÚÞÛìÚã vcirc =

√
GM/rP Ø L = mrP vP , ÔÛï u

ßÞÛãçÐÕÜ áÛÕÔãîéÕÕ ÒëàÐÖÕÝØÕ:

u =
v2

circ

vP

. (36)

µáÛØ áßãâÝØÚ ×ÐßãéÕÝ ÝÐ ÚàãÓÞÒãî ÞàÑØâã, â. Õ. vP = vcirc, ãàÐÒÝÕÝØÕ (36) ÔÐ-
Õâ u = vcirc. ² íâÞÜ âàØÒØÐÛìÝÞÜ áÛãçÐÕ àÐÔØãá ÓÞÔÞÓàÐäÐ àÐÒÕÝ ÚàãÓÞÒÞÙ áÚÞàÞ-
áâØ. ² áÛãçÐÕ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë àÐÔØãá ÓÞÔÞÓàÐäÐ u = GMm/L ÜÞÖÝÞ ÒëàÐ-
×Øâì çÕàÕ× áÚÞàÞáâØ vP Ø vA Ò ßÕàØÓÕÕ Ø ÐßÞÓÕÕ áÞÞâÒÕâáâÒÕÝÝÞ. ´Ûï íâÞÓÞ ÜÞÖÝÞ
ÒÞáßÞÛì×ÞÒÐâìáï ×ÐÚÞÝÐÜØ áÞåàÐÝÕÝØï íÝÕàÓØØ Ø ÜÞÜÕÝâÐ ØÜßãÛìáÐ. ¿àØàÐÒÝØÒÐï
×ÝÐçÕÝØï ßÞÛÝÞÙ íÝÕàÓØØ Ò âÞçÚÐå rP Ø rA, ÜÞÖÕÜ ÝÐßØáÐâì:

m

2
v2

P −G
Mm

rP

=
m

2
v2

A −G
Mm

rA

. (37)

´ÐÛÕÕ Üë àÐ×àÕèÐÕÜ íâÞ ãàÐÒÝÕÝØÕ ÞâÝÞáØâÕÛìÝÞ GMm, Ø ßÞÔáâÐÒÛïÕÜ ßÞÛãçÕÝ-
ÝÞÕ ×ÝÐçÕÝØÕ Ò u = GMm/L ÒÜÕáâÕ á (ßÞáâÞïÝÝëÜ) ×ÝÐçÕÝØÕÜ ÜÞÜÕÝâÐ ØÜßãÛì-
áÐ, ßÞÔáçØâÐÝÝëÜ, áÚÐÖÕÜ, ÔÛï ßÕàØÓÕï ÞàÑØâë: L = mrP vP . ¾âÝÞèÕÝØÕ àÐááâÞ-
ïÝØÙ rP /rA ÜÞÖÝÞ ØáÚÛîçØâì á ßÞÜÞéìî ×ÐÚÞÝÐ áÞåàÐÝÐÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ
rP vP = rAvA. ÂÐÚØÜ ÞÑàÐ×ÞÜ ßàØåÞÔØÜ Ú ÒëÒÞÔã, çâÞ àÐÔØãá ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ
àÐÒÕÝ ßÞÛãáãÜÜÕ áÚÞàÞáâÕÙ Ò ßÕàØÓÕÕ Ø ÐßÞÓÕÕ:

u =
1

2
(vP + vA). (38)
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¸áßÞÛì×ãï íâÞ áÒÞÙáâÒÞ, ÒÕÚâÞà áÚÞàÞáâØ v Ò ÛîÑÞÙ âÞçÚÕ íÛÛØßâØçÕáÚÞÙ Þà-
ÑØâë ÜÞÖÝÞ ßàÕÔáâÐÒØâì Ò ÒØÔÕ áãÜÜë ÒÕÚâÞàÞÒ w Ø u: v = w + u (áÜ. àØá. 5).
¿ÕàÒëÙ çÛÕÝ íâÞÙ áãÜÜë ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ßÞáâÞïÝÝëÙ ÒÕÚâÞà w = (vP +vA)/2
(ÕÓÞ ÜÞÔãÛì àÐÒÕÝ (vP −vA)/2), ÝÐßàÐÒÛÕÝÝëÙ ßÐàÐÛÛÕÛìÝÞ ÒÕÚâÞàã áÚÞàÞáâØ Ò ßÕ-
àØÓÕÕ vP . ÍâÞâ ÒÕÚâÞà ßàÞåÞÔØâ Ø× ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ ÔÞ
æÕÝâàÐ ÚàãÓÞÒÞÓÞ ÓÞÔÞÓàÐäÐ. ²âÞàÞÙ çÛÕÝ � íâÞ ÒÕÚâÞà u á ßÞáâÞïÝÝëÜ ÜÞÔãÛÕÜ
u = (vP +vA)/2, ÝÐßàÐÒÛÕÝØÕ ÚÞâÞàÞÓÞ ÒáÕÓÔÐ ßÕàßÕÝÔØÚãÛïàÝÞ âÕÚãéÕÜã àÐÔØãáã-
ÒÕÚâÞàã r ßÞÛÞÖÕÝØï âÕÛÐ ÝÐ ÞàÑØâÕ.

´Ûï ßÐàÐÑÞÛØçÕáÚÞÙ âàÐÕÚâÞàØØ ÞÑÐ áÛÐÓÐÕÜëå áãÜÜë u + w àÐÒÝë ßÞ ÜÞÔã-
Ûî: u = w = vP /2. ² áÛãçÐÕ ÓØßÕàÑÞÛØçÕáÚÞÓÞ ÔÒØÖÕÝØï ÔØÐÜÕâà 2u ÓÞÔÞÓàÐäÐ
áÚÞàÞáâØ ÜÕÝìèÕ áÚÞàÞáâØ vP Ò ÒÕàèØÝÕ ÓØßÕàÑÞÛë vP . ¿àØ íâÞÜ u < w, Ø ÝÐçÐÛÞ
ÚÞÞàÔØÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ ÛÕÖØâ ÒÝÕ ÞÚàãÖÝÞáâØ ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ.

¿àÕÔáâÐÒÛÕÝØÕ ÒÕÚâÞàÐ áÚÞàÞáâØ Ò ÒØÔÕ áãÜÜë ÒÕÚâÞàÞÒ (v = w + u) ÜÞÖÕâ
Ñëâì ßÞÛÕ×ÝëÜ ßàØ àÕèÕÝØØ ÜÝÞÓØå ×ÐÔÐç, áÒï×ÐÝÝëå á ÚÕßÛÕàÞÒëÜ ÔÒØÖÕÝØÕÜ.

´ÞÚÐ×ÐâÕÛìáâÒÞ ÚàãÓÞÒÞÙ äÞàÜë ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ ÜÞÖÕâ Ñëâì Ø çØáâÞ ÐÝÐ-
ÛØâØçÕáÚØÜ. ¿ÞÚÐÖÕÜ íâÞ. ½ÐßàÐÒØÜ Þáì z ÔÕÚÐàâÞÒÞÙ áØáâÕÜë ÚÞÞàÔØÝÐâ ÒÔÞÛì
ÒÕÚâÞàÐ ÜÞÜÕÝâÐ ØÜßãÛìáÐ. ÂÞÓÔÐ âàÐÕÚâÞàØï ÑãÔÕâ ÛÕÖÐâì Ò ßÛÞáÚÞáâØ xy. ¾ÑÞ-
×ÝÐçØÜ çÕàÕ× ϕ ãÓÞÛ, ÞÑàÐ×ãÕÜëÙ àÐÔØãáÞÜ-ÒÕÚâÞàÞÜ á Þáìî x. ·ÐßØáëÒÐï ßàÞÕÚ-
æØØ ÒâÞàÞÓÞ ×ÐÚÞÝÐ ½ìîâÞÝÐ ÝÐ ÞáØ x Ø y, ßÞÛãçÐÕÜ áÛÕÔãîéãî áØáâÕÜã ãàÐÒÝÕÝØÙ:

v̇x = −GM

r2
cos ϕ, v̇y = −GM

r2
sin ϕ. (39)

¸áÚÛîçØÜ ÜÞÔãÛì àÐÔØãáÐ-ÒÕÚâÞàÐ Ø× íâØå ãàÐÒÝÕÝØÙ, ÒÞáßÞÛì×ÞÒÐÒèØáì ×Ð-
ÚÞÝÞÜ áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ: L = mr2ϕ̇ = const:

v̇x = −GMm

L
cos ϕ ϕ̇, v̇y = −GMm

L
sin ϕ ϕ̇ (40)

ÀØá. 6: ÍÛÛØßâØçÕáÚÐï ÞàÑØâÐ á ÒÕÚâÞàÐÜØ áÚÞàÞáâÕÙ Ò àÐ×Ýëå ÕÕ âÞçÚÐå (áÛÕÒÐ) Ø ÓÞÔÞ-
ÓàÐä Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ (áßàÐÒÐ).

ÂÐÚ ÚÐÚ cos ϕ ϕ̇ = d(sin ϕ)/dt Ø − sin ϕ ϕ̇ = d(cos ϕ)/dt, âÞ Ø× ãàÐÒÝÕÝØÙ (40)
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ßÞÛãçÐÕÜ áÛÕÔãîéØÕ ÒëàÐÖÕÝØï ÔÛï ßàÞÕÚæØÙ ÒÕÚâÞàÐ áÚÞàÞáâØ çÕàÕ× ãÓÞÛ ϕ:

vx = −GMm

L
sin ϕ + C1, vy =

GMm

L
cos ϕ + C2, (41)

ÓÔÕ ßÞáâÞïÝÝëÕ ØÝâÕÓàØàÞÒÐÝØï C1 Ø C2 ÞßàÕÔÕÛïîâáï ÝÐçÐÛìÝëÜØ ×ÝÐçÕÝØïÜØ
ßàÞÕÚæØÙ ÒÕÚâÞàÐ áÚÞàÞáâØ. ²ëàÐÖÕÝØï (41) ßÞ áãéÕáâÒã ßàÕÔáâÐÒÛïîâ áÞÑÞÙ ßÐ-
àÐÜÕâàØçÕáÚÞÕ ãàÐÒÝÕÝØÕ âàÐÕÚâÞàØØ Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ (â. Õ. ßÐàÐÜÕâàØ-
çÕáÚÞÕ ãàÐÒÝÕÝØÕ ÓÞÔÞÓàÐäÐ ÒÕÚâÞàÐ áÚÞàÞáâØ). ¸áÚÛîçØÒ Ø× ÝØå ßÐàÐÜÕâà ϕ, ßÞ-
ÛãçØÜ ïÒÝÞÕ ãàÐÒÝÕÝØÕ ÓÞÔÞÓàÐäÐ. ´Ûï íâÞÓÞ ÜÞÖÝÞ ßÕàÕÝÕáâØ Ò (41) ßÞáâÞïÝ-
ÝëÕ C1 Ø C2 Ò ÛÕÒëÕ çÐáâØ ãàÐÒÝÕÝØÙ, àÐ×ÔÕÛØâì ãàÐÒÝÕÝØï ÝÐ GMm/L, ÒÞ×ÒÕ-
áâØ Øå Ò ÚÒÐÔàÐâ Ø áÛÞÖØâì ßÞçÛÕÝÝÞ. ÃçØâëÒÐï âàØÓÞÝÞÜÕâàØçÕáÚÞÕ âÞÖÔÕáâÒÞ
sin2 ϕ + cos2 ϕ = 1, ßÞÛãçÐÕÜ:

(vx − C1)
2 + (vy − C2)

2 =

(
GMm

L

)2

. (42)

¸× íâÞÓÞ ãàÐÒÝÕÝØï áÛÕÔãÕâ, çâÞ ßàØ ÛîÑÞÜ ÔÒØÖÕÝØØ ßÞÔ ÔÕÙáâÒØÕÜ æÕÝâàÐÛì-
ÝÞÙ áØÛë, ãÑëÒÐîéÕÙ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ ÚÒÐÔàÐâã àÐááâÞïÝØï, âàÐÕÚâÞàØï
Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÞÚàãÖÝÞáâì (ØÛØ çÐáâì ÞÚàãÖÝÞáâØ
Ò áÛãçÐÕ ÓØßÕàÑÞÛØçÕáÚÞÓÞ ÔÒØÖÕÝØï). ÀÐÔØãá u = GMm/L íâÞÙ ÞÚàãÖÝÞáâØ Ø
ßÞÛÞÖÕÝØÕ ÕÕ æÕÝâàÐ ÝÐ ßÛÞáÚÞáâØ (vx, vy) ÞßàÕÔÕÛïîâáï ÝÐçÐÛìÝëÜØ ãáÛÞÒØïÜØ.

ÀØá. 7: ¿ÐàÐÑÞÛØçÕáÚÐï âàÐÕÚâÞàØï á ÒÕÚâÞàÐÜØ áÚÞàÞáâÕÙ Ò àÐ×Ýëå ÕÕ âÞçÚÐå (áÛÕÒÐ) Ø
ÓÞÔÞÓàÐä Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ (áßàÐÒÐ).

ÀÐááÜÞâàØÜ ÔÛï ÞßàÕÔÕÛÕÝÝÞáâØ áÛãçÐÙ, ÚÞÓÔÐ ÝÐçÐÛìÝÐï áÚÞàÞáâì v0 ßÕàßÕÝ-
ÔØÚãÛïàÝÐ àÐÔØãáã-ÒÕÚâÞàã r0 ÝÐçÐÛìÝÞÓÞ ßÞÛÞÖÕÝØï (àØá. 6). µáÛØ ÒëÑàÐâì Þáì
x ßÞ ÝÐßàÐÒÛÕÝØî àÐÔØãáÐ-ÒÕÚâÞàÐ r0, â. Õ. ßÞÛÞÖØâì ÒÕÚâÞà r0 àÐÒÝëÜ (r0, 0),
âÞ ÒÕÚâÞà v0 ÑãÔÕâ ØÜÕâì ßàÞÕÚæØØ (0, v0). ¿àØ íâÞÜ L = r0mv0 Ø àÐÔØãá ÓÞÔÞ-
ÓàÐäÐ áÚÞàÞáâØ u = GM/(r0v0) = v2

circ/v0, ÓÔÕ vcirc =
√

GM/r0 - ÚàãÓÞÒÐï áÚÞ-
àÞáâì ÔÛï ÝÐçÐÛìÝÞÙ âÞçÚØ. ¿ÞÛÐÓÐï ÔÛï ÝÐçÐÛìÝÞÓÞ ßÞÛÞÖÕÝØï ϕ(0) = 0, Ø× ãàÐÒ-
ÝÕÝØÙ (41) ÝÐåÞÔØÜ C1 = 0, C2 = v0 − GM/(r0v0) = v0 − u. ÂÐÚØÜ ÞÑàÐ×ÞÜ,
ßàØ ×ÐÔÐÝÝëå ÝÐçÐÛìÝëå ãáÛÞÒØïå æÕÝâà ÓÞÔÞÓàÐäÐ ÝÐåÞÔØâáï ÝÐ ÞáØ vy Ò âÞçÚÕ
C2 = v0 −GM/(r0v0) = v0 − u.
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ÀØá. 8: ³ØßÕàÑÞÛØçÕáÚÐï âàÐÕÚâÞàØï á ÒÕÚâÞàÐÜØ áÚÞàÞáâÕÙ Ò àÐ×Ýëå ÕÕ âÞçÚÐå (áÛÕÒÐ) Ø
ÓÞÔÞÓàÐä Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ (áßàÐÒÐ).

µáÛØ ÝÐçÐÛìÝÐï áÚÞàÞáâì àÐÒÝÐ ÚàãÓÞÒÞÙ áÚÞàÞáâØ, â. Õ. v0 =
√

GM/r0, âÞ Ø×
ßàØÒÕÔÕÝÝëå ÒëàÐÖÕÝØÙ áÛÕÔãÕâ, çâÞ àÐÔØãá ÓÞÔÞÓàÐäÐ àÐÒÕÝ ÝÐçÐÛìÝÞÙ áÚÞàÞ-
áâØ u = v0, Ð ÕÓÞ æÕÝâà ÛÕÖØâ Ò ÝÐçÐÛÕ ÚÞÞàÔØÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ (C1 =
0, C2 = 0). µáÛØ ÝÐçÐÛìÝÐï áÚÞàÞáâì àÐÒÝÐ áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï, â. Õ. v0 =√

2GM/r0, âÞ àÐÔØãá ÓÞÔÞÓàÐäÐ àÐÒÕÝ ßÞÛÞÒØÝÕ ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ u = v0/2, Ð
æÕÝâà ÞÚàãÖÝÞáâØ ÓÞÔÞÓàÐäÐ ÛÕÖØâ ÝÐ ÞáØ vy Ò âÞçÚÕ C2 = v0/2 = u, â. Õ. ÓÞÔÞÓàÐä
ßàÞåÞÔØâ çÕàÕ× ÝÐçÐÛÞ ÚÞÞàÔØÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ Ø ÒÕÚâÞà ÝÐçÐÛìÝÞÙ áÚÞ-
àÞáâØ ßàÞåÞÔØâ ÒÔÞÛì ÒáÕÓÞ ÔØÐÜÕâàÐ ÓÞÔÞÓàÐäÐ (àØá. 7).

µáÛØ ÝÐçÐÛìÝÐï áÚÞàÞáâì ÑÞÛìèÕ áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï, âÞ ÔØÐÜÕâà ÓÞÔÞÓàÐ-
äÐ ÜÕÝìèÕ ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ, â. Õ. ÝÐçÐÛÞ ÚÞÞàÔØÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ ÝÐ-
åÞÔØâáï ÒÝÕ ÞÚàãÖÝÞáâØ ÓÞÔÞÓàÐäÐ (àØá. 8).

½Ð ÚÞÝæÐå ÜÐÛÞÙ ÞáØ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ÒÕÚâÞà áÚÞàÞáâØ v ßÐàÐÛÛÕÛÕÝ
ÑÞÛìèÞÙ ÞáØ íÛÛØßáÐ. ¿ÞíâÞÜã ÔÛï íâØå âÞçÕÚ ÒÕÚâÞà v ßÕàßÕÝÔØÚãÛïàÕÝ ÔØÐÜÕâ-
àã ÚàãÓÞÒÞÓÞ ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ. ¾áÝÞÒÐÝØÕ íâÞÓÞ ßÕàßÕÝÔØÚãÛïàÐ ÔÕÛØâ ÔØÐÜÕâà
ÝÐ çÐáâØ, àÐÒÝëÕ áÚÞàÞáâïÜ áßãâÝØÚÐ Ò ßÕàØÓÕÕ Ø ÐßÞÓÕÕ ÞàÑØâë (vP Ø vA áÞÞâÒÕâ-
áâÒÕÝÝÞ). ¿ÞíâÞÜã ÔÛØÝÐ ßÕàßÕÝÔØÚãÛïàÐ, â. Õ. áÚÞàÞáâì ÝÐ ÚÞÝæÕ ÜÐÛÞÙ ÞáØ, àÐÒÝÐ
áàÕÔÝÕÜã ÓÕÞÜÕâàØçÕáÚÞÜã áÚÞàÞáâÕÙ vP Ø vA: v =

√
vP vA.

¿ÞÔçÕàÚÝÕÜ, çâÞ ÚàãÓÞÒÐï äÞàÜÐ ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ ßÞÛãçÕÝÐ ÔÛï ÔÒØÖÕÝØï
Ò ÚãÛÞÝÞÒÞÜ (ÝìîâÞÝÞÒáÚÞÜ) æÕÝâàÐÛìÝÞÜ ßÞÛÕ, ÓÔÕ áØÛÐ ÚÒÐÔàÐâØçÝÞ ãÑëÒÐÕâ á
àÐááâÞïÝØÕÜ.

10 °ÛìâÕàÝÐâØÒÝëÙ ÒëÒÞÔ ãàÐÒÝÕÝØÙ ÞàÑØâë Ø ÓÞ-
ÔÞÓàÐäÐ áÚÞàÞáâØ

² ÑÞÛìèØÝáâÒÕ ãçÕÑÝØÚÞÒ ÒëÒÞÔ ãàÐÒÝÕÝØï ßÛÐÝÕâÝÞÙ ÞàÑØâë âàÐÔØæØÞÝÝÞ ÑÐ×Ø-
àãÕâáï ÝÐ ØáßÞÛì×ÞÒÐÝØØ ×ÐÚÞÝÞÒ áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ Ø ßÞÛÝÞÙ íÝÕàÓØØ.
¼ë áÛÕÔÞÒÐÛØ íâÞÙ âàÐÔØæØØ Ò ßàØÒÕÔÕÝÝÞÜ ÒëèÕ ÒëÒÞÔÕ 1-ÓÞ ×ÐÚÞÝÐ ºÕßÛÕàÐ. ½Þ
ÜÞÖÝÞ ßÞÛãçØâì ãàÐÒÝÕÝØÕ ÞàÑØâë Ø ×ÐÞÔÝÞ ÔÞÚÐ×Ðâì ÚàãÓÞÒãî äÞàÜã ÓÞÔÞÓàÐäÐ
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ÀØá. 9: ºÕßÛÕàÞÒÐ ÞàÑØâÐ Ø ÒÕÚâÞàë áÚÞàÞáâØ Ò àÐ×ÛØçÝëå âÞçÚÐå (áÛÕÒÐ) Ø ÓÞÔÞ-
ÓàÐä ÒÕÚâÞàÐ áÚÞàÞáâØ Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ (áßàÐÒÐ).

áÚÞàÞáâØ ßàØ ÚÕßÛÕàÞÒÞÜ ÔÒØÖÕÝØØ, ÞââÐÛÚØÒÐïáì ÝÕßÞáàÕÔáâÒÕÝÝÞ Þâ 2-ÓÞ ×ÐÚÞÝÐ
½ìîâÞÝÐ ÔÛï ÔÒØÖÕÝØï âÕÛÐ ßÞÔ ÔÕÙáâÒØÕÜ æÕÝâàÐÛìÝÞÙ áØÛë, ÞÑàÐâÝÞ ßàÞßÞàæØ-
ÞÝÐÛìÝÞÙ ÚÒÐÔàÐâã àÐááâÞïÝØï.

±ãÔÕÜ ØáåÞÔØâì Ø× ÔØääÕàÕÝæØÐÛìÝÞÓÞ ãàÐÒÝÕÝØï ÔÛï v = dr/dt:

dv

dt
= −GM

r2
ur, (43)

ÓÔÕ ur = r/r � ÕÔØÝØçÝëÙ ÒÕÚâÞà Ò ÝÐßàÐÒÛÕÝØØ àÐÔØãáÐ-ÒÕÚâÞàÐ (áÜ. ÛÕÒãî çÐáâì
àØá. 9). ¸áÚÛîçØÜ r2 Ø× ãàÐÒÝÕÝØï (43) á ßÞÜÞéìî ×ÐÚÞÝÐ áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ
ØÜßãÛìáÐ L = mr2θ̇. ² àÕ×ãÛìâÐâÕ ßàØåÞÔØÜ Ú áÛÕÔãîéÕÜã ãàÐÒÝÕÝØî:

dv

dt
= −GM

C
θ̇ur. (44)

·ÔÕáì ÒÒÕÔÕÝÐ ÚÞÝáâÐÝâÐ C = L/m = r2θ̇, äØ×ØçÕáÚØÙ áÜëáÛ ÚÞâÞàÞÙ � ÜÞÜÕÝâ
ØÜßãÛìáÐ Ò àÐáçÕâÕ ÝÐ ÕÔØÝØæã ÜÐááë (áÞåàÐÝïîéØÙáï ßàØ ÔÒØÖÕÝØØ) ØÛØ, çâÞ âÞ
ÖÕ áÐÜÞÕ, ãÔÒÞÕÝÝÐï áÕÚâÞàØÐÛìÝÐï áÚÞàÞáâì (C = 2dS/dt).

ÀÕèÐîéØÙ ÔÛï ÔÐÛìÝÕÙèÕÓÞ ÒëÒÞÔÐ èÐÓ ×ÐÚÛîçÐÕâáï Ò ßÞÔáâÐÝÞÒÚÕ duθ/dt
ÒÜÕáâÞ −θ̇ur Ò ãàÐÒÝÕÝØÕ (44), ÓÔÕ uθ � ÕÔØÝØçÝëÙ ÒÕÚâÞà, Ò ÚÐÖÔëÙ ÜÞÜÕÝâ ÝÐ-
ßàÐÒÛÕÝÝëÙ ßÕàßÕÝÔØÚãÛïàÝÞ àÐÔØãáã-ÒÕÚâÞàã r (áÜ. àØá. 9):

dv

dt
=

GM

C

duθ

dt
. (45)

¸ÝâÕÓàØàãï íâÞ ãàÐÒÝÕÝØÕ ßÞ ÒàÕÜÕÝØ, ÔÛï ÒÕÚâÞàÐ áÚÞàÞáâØ v ßÞÛãçÐÕÜ áÛÕÔãî-
éÕÕ ÒëàÐÖÕÝØÕ Ò ÒØÔÕ áãÜÜë ÔÒãå ÒÕÚâÞàÞÒ:

v =
GM

C
(uθ + e). (46)

²âÞàÞÙ çÛÕÝ Ò ßàÐÒÞÙ çÐáâØ ÒëàÐÖÕÝØï (46) � íâÞ ßÞáâÞïÝÝÐï ØÝâÕÓàØàÞÒÐÝØï,
ßàÕÔáâÐÒÛïîéÐï áÞÑÞÙ Ò ÔÐÝÝÞÜ áÛãçÐÕ ÝÕ ×ÐÒØáïéØÙ Þâ ÒàÕÜÕÝØ ÒÕÚâÞà, ÜÞÔãÛì
ÚÞâÞàÞÓÞ àÐÒÕÝ (GM/C)e. ¿ÕàÒëÙ ÖÕ çÛÕÝ � íâÞ ÒÕÚâÞà á ßÞáâÞïÝÝëÜ ÜÞÔãÛÕÜ
(GM/C), ÝÐßàÐÒÛÕÝÝëÙ Ò ÚÐÖÔëÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ ßÐàÐÛÛÕÛìÝÞ ÕÔØÝØçÝÞÜã ÒÕÚ-
âÞàã uθ, â. Õ. ßÕàßÕÝÔØÚãÛïàÝÞ âÕÚãéÕÜã ÝÐßàÐÒÛÕÝØî àÐÔØãáÐ-ÒÕÚâÞàÐ r.
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ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÒëàÐÖÕÝØÕ (46) ÓÞÒÞàØâ Þ âÞÜ, çâÞ ÓÞÔÞÓàÐä ÒÕÚâÞàÐ áÚÞàÞáâØ
ÔÛï ßàÞØ×ÒÞÛìÝÞÓÞ ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÞÚàãÖÝÞáâì (áÜ. ßàÐ-
Òãî çÐáâì àØá. 9). ´ÕÙáâÒØâÕÛìÝÞ, ÕÔØÝØçÝëÙ ÒÕÚâÞà uθ ÒáÕ ÒàÕÜï Ø×ÜÕÝïÕâ áÒÞÕ
ÝÐßàÐÒÛÕÝØÕ ßÞ ÜÕàÕ ßàÞÔÒØÖÕÝØï âÕÛÐ ßÞ ÞàÑØâÕ. ¿ÞíâÞÜã ÒÕÚâÞà (GM/C)uθ

äØÚáØàÞÒÐÝÝÞÙ ÔÛØÝë GM/C, ÝÐçÐÛÞ ÚÞâÞàÞÓÞ áÜÕéÕÝÞ Ø× ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ ßàÞ-
áâàÐÝáâÒÐ áÚÞàÞáâÕÙ ÝÐ ßÞáâÞïÝÝëÙ ÒÕÚâÞà (GM/C)e, á âÕçÕÝØÕÜ ÒàÕÜÕÝØ ßÞÒÞ-
àÐçØÒÐÕâáï (ÝÕàÐÒÝÞÜÕàÝÞ), Ø ÕÓÞ ÚÞÝÕæ ÒëçÕàçØÒÐÕâ Ò ßàÞáâàÐÝáâÒÕ áÚÞàÞáâÕÙ
ÞÚàãÖÝÞáâì (ØÛØ çÐáâì ÞÚàãÖÝÞáâØ Ò áÛãçÐÕ ÓØßÕàÑÞÛØçÕáÚÞÓÞ ÔÒØÖÕÝØï). ¿àØ
íâÞÜ ÚÞÝÕæ ÒÕÚâÞàÐ v, â. Õ. áãÜÜë ÔÒãå ÒÕÚâÞàÞÒ (GM/C)e Ø (GM/C)uθ, ßÕàÕÜÕ-
éÐÕâáï ÒÔÞÛì âÞÙ ÖÕ ÞÚàãÖÝÞáâØ (àØá. 9), çâÞ Ø ÔÞÚÐ×ëÒÐÕâ ÚàãÓÞÒãî äÞàÜã ÓÞÔÞ-
ÓàÐäÐ áÚÞàÞáâØ ÔÛï ßàÞØ×ÒÞÛìÝÞÓÞ ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï.

½ÕØ×ÜÕÝÝãî ÔÛï ÔÐÝÝÞÓÞ ÔÒØÖÕÝØï ÒÕÛØçØÝã u = GM/C ßÞÒÞàÐçØÒÐîéÕÓÞáï
ÒÕÚâÞàÐ u = (GM/C)uθ (àÐÔØãá ÚàãÓÞÒÞÓÞ ÓÞÔÞÓàÐäÐ áÚÞàÞáâØ) ãÔÞÑÝÞ ÒëàÐ×Øâì
çÕàÕ× ×ÝÐçÕÝØÕ áÚÞàÞáâØ Ò ßÕàØÓÕÕ vP Ø áÚÞàÞáâì vcirc ÔÛï ÚàãÓÞÒÞÙ ÞàÑØâë ÝÐ ÒëáÞ-
âÕ ßÕàØÓÕï rP . ¿ÞáÚÞÛìÚã vcirc =

√
GM/rP Ø C = rP vP , ÔÛï u = GM/C ßÞÛãçÐÕÜ

áÛÕÔãîéÕÕ ×ÝÐçÕÝØÕ:

u =
GM

C
=

v2
circ

vP

, (47)

çâÞ áÞÒßÐÔÐÕâ á ßÞÛãçÕÝÝëÜ àÐÝÕÕ ÒëàÐÖÕÝØÕÜ (36). ¿àØ íâÞÜ ÒÞ ÒâÞàÞÜ (ßÞáâÞ-
ïÝÝÞÜ) áÛÐÓÐÕÜÞÜ (GM/C)e Ò (46) ÜÞÔãÛì e ÒÕÚâÞàÐ e ØÜÕÕâ ïáÝëÙ äØ×ØçÕáÚØÙ
áÜëáÛ: íâÞ íÚáæÕÝâàØáØâÕâ ßàÞáâàÐÝáâÒÕÝÝÞÙ ÞàÑØâë. ¿ÞíâÞÜã ÜÞÖÝÞ ÝÐ×ÒÐâì e
ÒÕÚâÞàÞÜ íÚáæÕÝâàØáØâÕâÐ. ¿ÞáâÞïÝÝëÙ ÒÕÚâÞà e ÝÐßàÐÒÛÕÝ ßÕàßÕÝÔØÚãÛïà-
ÝÞ ÑÞÛìèÞÙ ÞáØ ÞàÑØâë. ÁÜÕéÕÝØÕ æÕÝâàÐ ÚàãÓÞÒÞÓÞ ÓÞÔÞÓàÐäÐ Ø× ÝÐçÐÛÐ ÚÞÞàÔØ-
ÝÐâ ßàÞáâàÐÝáâÒÐ áÚÞàÞáâÕÙ (GM/C)e ÜÞÖÝÞ ßàÕÔáâÐÒØâì ÚÐÚ vP−u = vP−v2

circ/vP

ØÛØ ÚÐÚ w = ue, ÓÔÕ íÚáæÕÝâàØáØâÕâ e = v2
P /v2

circ − 1.
¿ÞáÛÕÔÝØÙ èÐÓ, ÚÞâÞàëÙ ßÞ×ÒÞÛØâ ÝÐÜ ßÞÛãçØâì ãàÐÒÝÕÝØÕ ÞàÑØâë Ø× ÒëàÐÖÕ-

ÝØï (46), ×ÐÚÛîçÐÕâáï Ò ÝÐåÞÖÔÕÝØØ ßàÞÕÚæØÙ ÞÑÕØå çÐáâÕÙ ÒÕÚâÞàÝÞÓÞ àÐÒÕÝáâÒÐ
(46) ÝÐ ÝÐßàÐÒÛÕÝØÕ ÕÔØÝØçÝÞÓÞ ÒÕÚâÞàÐ uθ. ¸× ÛÕÒÞÙ çÐáâØ àØá. 9) Üë ÒØÔØÜ, çâÞ
íâÐ ßàÞÕÚæØï ÒÕÚâÞàÐ v àÐÒÝÐ rθ̇ ØÛØ C/r, ÕáÛØ ßàØÝïâì ÒÞ ÒÝØÜÐÝØÕ, çâÞ r2θ̇ = C.
¸× ßàÐÒÞÙ çÐáâØ àØá. 9 ÛÕÓÚÞ ßÞÛãçØâì ÔÛï ßàÞÕÚæØØ áãÜÜë ÒÕÚâÞàÞÒ Ò ßàÐÒÞÙ çÐ-
áâØ (46) ÒëàÐÖÕÝØÕ (GM/C)(1+ e cos θ). ¿àØàÐÒÝØÒÐï íâØ ×ÝÐçÕÝØï, ßÞÛãçÐÕÜ Øá-
ÚÞÜÞÕ ãàÐÒÝÕÝØÕ ÞàÑØâë:

r =
p

1 + e cos θ
, ÓÔÕ p =

C2

GM
=

L2

GMm2
= rP (1 + e). (48)

11 °ÚâØÒÝÞÕ ÜÐÝÕÒàØàÞÒÐÝØÕ � ÒÞ×ÒàÐéÕÝØÕ á Þà-
ÑØâë

² ÚÐçÕáâÒÕ ßàØÜÕàÐ ÐÚâØÒÝÞÓÞ ÜÐÝÕÒàØàÞÒÐÝØï ÝÐ ÞÚÞÛÞ×ÕÜÝÞÙ ÞàÑØâÕ àÐááÜÞâ-
àØÜ ×ÐÔÐçã ßÕàÕåÞÔÐ ÚÞàÐÑÛï á ÚàãÓÞÒÞÙ ÞàÑØâë ÝÐ âàÐÕÚâÞàØî áÝØÖÕÝØï. ´Ûï
ÑÕ×ÞßÐáÝÞÓÞ ÒÞ×ÒàÐéÕÝØï ÝÐ ·ÕÜÛî ÒåÞÔ áßãáÚÐÕÜÞÓÞ ÐßßÐàÐâÐ Ò ÐâÜÞáäÕàã ÔÞÛ-
ÖÕÝ ßàÞØáåÞÔØâì ßÞÔ ÜÐÛëÜ ãÓÛÞÜ. ºàãâÞÙ áßãáÚ çàÕÒÐâ çàÕ×ÜÕàÝëÜØ âÕßÛÞÒë-
ÜØ ÝÐÓàã×ÚÐÜØ, ßàÕÔêïÒÛïîéØÜØ ÒëáÞÚØÕ âàÕÑÞÒÐÝØï Ú âÕßÛÞ×ÐéØâÝÞÜã íÚàÐÝã
áßãáÚÐÕÜÞÓÞ ÐßßÐàÐâÐ, Ø ÞßÐáÝëÜØ ÔÛï ÚÞáÜÞÝÐÒâÞÒ ßÕàÕÓàã×ÚÐÜØ, ÒÞ×ÝØÚÐîéØÜØ
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ßàØ ÑëáâàÞÜ âÞàÜÞÖÕÝØØ. ÍâÞ ×ÝÐçØâ, çâÞ ßÐááØÒÝÐï âàÐÕÚâÞàØï áÝØÖÕÝØï ÔÞÛÖÝÐ
ÚÐáÐâìáï ÓàÐÝØæë ßÛÞâÝëå áÛÞÕÒ ÐâÜÞáäÕàë.

ÀÐááÜÞâàØÜ Ø áÞßÞáâÐÒØÜ ÔÒÐ áßÞáÞÑÐ ßÕàÕåÞÔÐ ÚÞàÐÑÛï á ÚàãÓÞÒÞÙ ÞàÑØâë ÝÐ
âàÐÕÚâÞàØî áÝØÖÕÝØï:

1. ´ÞßÞÛÝØâÕÛìÝÐï áÚÞàÞáâì ßàØ ÞâáâëÚÞÒÚÕ Þâ ÞàÑØâÐÛìÝÞÙ áâÐÝæØØ áÞÞÑéÐ-
Õâáï ÚÞàÐÑÛî Ò ÝÐßàÐÒÛÕÝØØ, ßàÞâØÒÞßÞÛÞÖÝÞÜ ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ.

2. ´ÞßÞÛÝØâÕÛìÝÐï áÚÞàÞáâì áÞÞÑéÐÕâáï ÚÞàÐÑÛî Ò àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ
(ÒÕàâØÚÐÛìÝÞ ÒÝØ×).

ÁÞÞÑéÕÝØÕ ÔÞßÞÛÝØâÕÛìÝÞÙ áÚÞàÞáâØ Ò ÛîÑÞÜ áÛãçÐÕ ßÕàÕÒÞÔØâ ÚÞàÐÑÛì á ØáåÞÔ-
ÝÞÙ ÚàãÓÞÒÞÙ ÞàÑØâë ÝÐ íÛÛØßâØçÕáÚãî. ¾ÔØÝ Ø× äÞÚãáÞÒ íÛÛØßáÐ, Ò áÞÞâÒÕâáâÒØØ
á ßÕàÒëÜ ×ÐÚÞÝÞÜ ºÕßÛÕàÐ, ÝÐåÞÔØâáï Ò æÕÝâàÕ ·ÕÜÛØ. ¿àØ ßÕàÒÞÜ áßÞáÞÑÕ ÚàÐâ-
ÚÞÒàÕÜÕÝÝÞÕ ÒÚÛîçÕÝØÕ âÞàÜÞ×ÝÞÓÞ ÔÒØÓÐâÕÛï Ø×ÜÕÝïÕâ âÞÛìÚÞ ÜÞÔãÛì, ÝÞ ÝÕ ÝÐ-
ßàÐÒÛÕÝØÕ ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ. ¿ÞíâÞÜã Ò âÞçÚÕ D (àØá. 10), ÓÔÕ áàÐÑÐâëÒÐÕâ
ÔÒØÓÐâÕÛì, íÛÛØßâØçÕáÚÐï âàÐÕÚâÞàØï áÝØÖÕÝØï ØÜÕÕâ ÞÑéãî ÚÐáÐâÕÛìÝãî á Øá-
åÞÔÝÞÙ ÚàãÓÞÒÞÙ ÞàÑØâÞÙ. ² íâÞÙ âÞçÚÕ ÑãÔÕâ àÐáßÞÛÞÖÕÝ ÐßÞÓÕÙ íÛÛØßâØçÕáÚÞÙ
âàÐÕÚâÞàØØ. µÕ ßÕàØÓÕÙ ÛÕÖØâ ÝÐ ßàÞâØÒÞßÞÛÞÖÝÞÜ ÚÞÝæÕ P ÑÞÛìèÞÙ ÞáØ, ßàÞåÞ-
ÔïéÕÙ çÕàÕ× D Ø æÕÝâà ·ÕÜÛØ. ¾çÕÒØÔÝÞ, çâÞ ØÜÕÝÝÞ ×ÔÕáì íÛÛØßá ÔÞÛÖÕÝ ßàÞåÞ-
ÔØâì ÝÐÔ áÐÜÞÙ ßÞÒÕàåÝÞáâìî ·ÕÜÛØ (âÞçÝÕÕ, ÚÐáÐâìáï ßÛÞâÝëå áÛÞÕÒ ÐâÜÞáäÕàë).
ÍâÞ Ø ÑãÔÕâ âÞçÚÐ ÒåÞÔÐ Ò ÐâÜÞáäÕàã.

ÀØá. 10: ²Þ×ÜÞÖÝëÕ âàÐÕÚâÞàØØ áÝØÖÕÝØï ÚÞáÜØçÕáÚÞÓÞ ÚÞàÐÑÛï Ò ×ÐÔÐÝÝãî âÞçÚã P ßÞ-
ÒÕàåÝÞáâØ ·ÕÜÛØ á ØáåÞÔÝÞÙ ÚàãÓÞÒÞÙ ÞàÑØâë.

ÁÔÕÛÐÕÜ àÐáçÕâ ÔÞßÞÛÝØâÕÛìÝÞÙ áÚÞàÞáâØ ∆v, ÝÕÞÑåÞÔØÜÞÙ ÔÛï ßÕàÕåÞÔÐ ÝÐ
íÛÛØßâØçÕáÚãî âàÐÕÚâÞàØî áÝØÖÕÝØï. ¿ãáâì vD = vcirc −∆v � áÚÞàÞáâì Ò ÐßÞÓÕÕ
D (vcirc � ØáåÞÔÝÐï áÚÞàÞáâì ÝÐ ÚàãÓÞÒÞÙ ÞàÑØâÕ), Ð vP � áÚÞàÞáâì Ò ßÕàØÓÕÕ P .
·ÐßØèÕÜ ãàÐÒÝÕÝØï áÞåàÐÝÕÝØï íÝÕàÓØØ Ø ÜÞÜÕÝâÐ ØÜßãÛìáÐ (â. Õ. ÒâÞàÞÓÞ ×ÐÚÞÝÐ
ºÕßÛÕàÐ) ÔÛï âÞçÕÚ D Ø P :

v2
D

2
− GM

r
=

v2
P

2
− GM

R
; rvD = RvP . (49)

·ÔÕáì r � àÐÔØãá ØáåÞÔÝÞÙ ÚàãÓÞÒÞÙ ÞàÑØâë, R � àÐÔØãá ·ÕÜÛØ, M � ÜÐááÐ ·ÕÜ-
ÛØ. ¿ÞÔáâÐÒÛïï vP Ø× ÒâÞàÞÓÞ ãàÐÒÝÕÝØï (49) Ò ßÕàÒÞÕ, ßÞÛãçØÜ

v2
D

(
1− r2

R2

)
=

2GM

r

(
1− r

R

)
. (50)
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ÁÞÚàÐéÐï ÞÑÕ çÐáâØ (50) ÝÐ (1− r/R), ÝÐåÞÔØÜ ×ÝÐçÕÝØÕ áÚÞàÞáâØ vD Ò ÐßÞÓÕÕ

vD =

√
2GM

r

1√
1 + r/R

. (51)

ÃçØâëÒÐï, çâÞ áÚÞàÞáâì áâÐÝæØØ ÝÐ ÚàãÓÞÒÞÙ ÞàÑØâÕ vcirc =
√

GM/r Ø çâÞ vD =
vcirc −∆v, ÝÐåÞÔØÜ Ø× (51) ÒÕÛØçØÝã ÝÕÞÑåÞÔØÜÞÓÞ Ø×ÜÕÝÕÝØï áÚÞàÞáâØ

∆v = vcirc

(
1−

√
2

1 + r/R

)
. (52)

² áÛãçÐÕ ÝØ×ÚÞÙ ÚàãÓÞÒÞÙ ÞàÑØâë (ÒëáÞâÐ ÚÞâÞàÞÙ h ¿ R) âÞçÝãî äÞàÜãÛã (52)
ÜÞÖÝÞ ßàØÑÛØÖÕÝÝÞ ßàÕÔáâÐÒØâì Ò ÑÞÛÕÕ ßàÞáâÞÜ ÒØÔÕ. ¿ÞÔáâÐÒØÜ Ò (52) r = R+h
Ø ßàÕÞÑàÐ×ãÕÜ ÚÒÐÔàÐâÝëÙ ÚÞàÕÝì áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

√
2

1 + r/R
=

√
2

2 + h/R
=

1√
1 + h/(2R)

≈ 1− h

4R
.

¿ÞÔáâÐÒÛïï íâÞ ×ÝÐçÕÝØÕ Ò (52), ßÞÛãçÐÕÜ ÞÚÞÝçÐâÕÛìÝÞ

∆v ≈ vcirc
h

4R
. (53)

½ÐßàØÜÕà, ÚÞÓÔÐ ÒëáÞâÐ ÚàãÓÞÒÞÙ ÞàÑØâë áÞáâÐÒÛïÕâ 20% àÐÔØãáÐ ·ÕÜÛØ (h =
0, 2 R), ÔÞßÞÛÝØâÕÛìÝÐï áÚÞàÞáâì ∆v, áÞÓÛÐáÝÞ (53), ÔÞÛÖÝÐ áÞáâÐÒÛïâì ßàØÑÛØ-
×ØâÕÛìÝÞ 5% ØáåÞÔÝÞÙ áÚÞàÞáâØ ÝÐ ÚàãÓÞÒÞÙ ÞàÑØâÕ.

ÀÐááçØâÐÕÜ âÕßÕàì âÞàÜÞ×ÝÞÙ ØÜßãÛìá ÔÛï ÒâÞàÞÓÞ áßÞáÞÑÐ ßÕàÕåÞÔÐ ÝÐ âàÐÕÚ-
âÞàØî áÝØÖÕÝØï. ÁÞÞÑéÕÝØÕ ÔÞßÞÛÝØâÕÛìÝÞÙ áÚÞàÞáâØ Ò àÐÔØÐÛìÝÞÜ (ßÞßÕàÕçÝÞÜ
Ú ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ) ÝÐßàÐÒÛÕÝØØ Ø×ÜÕÝïÕâ Ø ÜÞÔãÛì, Ø ÝÐßàÐÒÛÕÝØÕ áÚÞàÞáâØ.
¿ÞíâÞÜã ÝÞÒÐï íÛÛØßâØçÕáÚÐï âàÐÕÚâÞàØï ßÕàÕáÕÚÐÕâ Ò íâÞÙ âÞçÚÕ (B ÝÐ àØá. 10)
ØáåÞÔÝãî ÚàãÓÞÒãî ÞàÑØâã. ¿ãáâì íÛÛØßâØçÕáÚÐï âàÐÕÚâÞàØï áÝØÖÕÝØï ÚÐáÐÕâáï
·ÕÜÛØ Ò âÞçÚÕ P (íâÞ ßÕàØÓÕÙ ÝÞÒÞÙ ÞàÑØâë). ·ÐßØèÕÜ ÔÛï âÞçÕÚ B Ø P ãàÐÒÝÕÝØï
×ÐÚÞÝÞÒ áÞåàÐÝÕÝØï íÝÕàÓØØ Ø ÜÞÜÕÝâÐ ØÜßãÛìáÐ:

v2
circ + (∆v)2

2
− GM

r
=

v2
P

2
− GM

r
; vcircr = vP R. (54)

·ÔÕáì áÚÞàÞáâì vP Ò ßÕàØÓÕÕ, ÚÐÚ Ø ∆v, ØÜÕÕâ, àÐ×ãÜÕÕâáï, ØÝÞÕ ×ÝÐçÕÝØÕ, çÕÜ Ò
ãàÐÒÝÕÝØØ (49). ¾ÑàÐâØâÕ ÒÝØÜÐÝØÕ, çâÞ ßÞáâÞïÝÝÐï áÕÚâÞàØÐÛìÝÐï áÚÞàÞáâì Ò (54)
ÔÛï âàÐÕÚâÞàØØ áÝØÖÕÝØï ØÜÕÕâ âÞ ÖÕ ×ÝÐçÕÝØÕ, çâÞ Ø ÔÛï ØáåÞÔÝÞÙ ÚàãÓÞÒÞÙ ÞàÑØ-
âë: ÔÞßÞÛÝØâÕÛìÝëÙ àÐÔØÐÛìÝëÙ ØÜßãÛìá ÝÕ Ø×ÜÕÝïÕâ ÜÞÜÕÝâÐ ØÜßãÛìáÐ. ¿ÞÔ-
áâÐÒÛïï vP = vcircr/R Ò ßÕàÒÞÕ Ø× ãàÐÒÝÕÝØÙ (54) Ø ãçØâëÒÐï, çâÞ GM/r = 2v2

circ,
ßÞÛãçÐÕÜ

v2
circ + (∆v)2 − 2v2

circ = v2
circ

( r

R
− 1

)2

.

¿ÞÔáâÐÒÛïï áîÔÐ r = R + h, ÞÚÞÝçÐâÕÛìÝÞ ßÞÛãçÐÕÜ

∆v = vcirc
h

R
. (55)
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ÂÐÚØÜ ÞÑàÐ×ÞÜ, ßàØ ÒâÞàÞÜ áßÞáÞÑÕ ßÕàÕåÞÔÐ ÝÐ âàÐÕÚâÞàØî áÝØÖÕÝØï ÝÕÞÑåÞ-
ÔØÜÐ, áÞÓÛÐáÝÞ (55), ßàØÑÛØ×ØâÕÛìÝÞ Ò çÕâëàÕ àÐ×Ð ÑÞÛìèÐï ÔÞßÞÛÝØâÕÛìÝÐï áÚÞ-
àÞáâì ßÞ áàÐÒÝÕÝØî á ßÕàÒëÜ áßÞáÞÑÞÜ. ½ÐßàØÜÕà, ÔÛï áÝØÖÕÝØï á ÞàÑØâë Òë-
áÞâÞÙ h = 0, 2 R ÔÞßÞÛÝØâÕÛìÝÐï áÚÞàÞáâì áÞáâÐÒÛïÕâ 20% ØáåÞÔÝÞÙ áÚÞàÞáâØ ÝÐ
ÚàãÓÞÒÞÙ ÞàÑØâÕ.

¾âÜÕâØÜ, çâÞ ÔÛï ßàØ×ÕÜÛÕÝØï Ò âÞÙ ÖÕ âÞçÚÕ P , çâÞ Ø ßàØ ßÕàÒÞÜ áßÞáÞÑÕ áÝØ-
ÖÕÝØï, àÐÔØÐÛìÝëÙ âÞàÜÞ×ÝÞÙ ØÜßãÛìá ÝãÖÝÞ áÞÞÑéÐâì ÚÞàÐÑÛî Ò âÞçÚÕ B Úàã-
ÓÞÒÞÙ ÞàÑØâë (áÜ. àØá. 10). µáÛØ ßàØ ßÕàÒÞÜ áßÞáÞÑÕ ãÓÛÞÒÞÕ àÐááâÞïÝØÕ ÜÕÖÔã
âÞçÚÞÙ D áåÞÔÐ á ÚàãÓÞÒÞÙ ÞàÑØâë Ø âÞçÚÞÙ ßàØ×ÕÜÛÕÝØï P áÞáâÐÒÛïÕâ 180◦, ßàØ
ÒâÞàÞÜ áßÞáÞÑÕ íâÞ ãÓÛÞÒÞÕ àÐááâÞïÝØÕ ÒÔÒÞÕ ÜÕÝìèÕ (90◦). ´ÞßÞÛÝØâÕÛìÝëÙ àÐ-
ÔØÐÛìÝëÙ ØÜßãÛìá ÔÛï ßÕàÕåÞÔÐ ÝÐ âàÐÕÚâÞàØî áÝØÖÕÝØï ÜÞÖÝÞ áÞÞÑéØâì ÚÞàÐÑ-
Ûî ÝÕ âÞÛìÚÞ ÒÝØ× (Ò ÝÐßàÐÒÛÕÝØØ ÝÐ æÕÝâà ·ÕÜÛØ), ÝÞ Ø ÒÕàâØÚÐÛìÝÞ ÒÒÕàå (âÞç-
ÚÐ C ÝÐ àØá. 10). ² íâÞÜ áÛãçÐÕ Þâ âÞçÚØ áåÞÔÐ á ÚàãÓÞÒÞÙ ÞàÑØâë ÔÞ âÞçÚØ ßàØ×ÕÜ-
ÛÕÝØï (ÒåÞÔÐ Ò ÐâÜÞáäÕàã) ÚÞàÐÑÛì ßàÞÙÔÕâ ãÓÛÞÒÞÕ àÐááâÞïÝØÕ 270◦. ÁÝÐçÐÛÐ ÚÞ-
àÐÑÛì ÑãÔÕâ ãÔÐÛïâìáï Þâ ·ÕÜÛØ Ø âÞÛìÚÞ ßÞáÛÕ ßàÞåÞÖÔÕÝØï çÕàÕ× ÐßÞÓÕÙ A ÝÞÒÞÙ
íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ÝÐçÝÕâ áÝØÖÐâìáï. ¿àÞÒÕàìâÕ Ò ÒëçØáÛØâÕÛìÝÞÜ íÚáßÕàØ-
ÜÕÝâÕ ßàØÒÕÔÕÝÝëÕ ÒëèÕ âÕÞàÕâØçÕáÚØÕ àÐáçÕâë ÜÐÝÕÒàÞÒ ßÕàÕåÞÔÐ ÝÐ âàÐÕÚâÞàØî
áÝØÖÕÝØï.

12 ºÞáÜØçÕáÚØÙ ×ÞÝÔ
² ÚÐçÕáâÒÕ ßàØÜÕàÐ ×ÐÔÐçØ ÐÚâØÒÝÞÓÞ ÜÐÝÕÒàØàÞÒÐÝØï ÝÐ ÚÞáÜØçÕáÚØå ÞàÑØâÐå
àÐááÜÞâàØÜ �ÚÞáÜØçÕáÚØÙ ×ÞÝÔ�, ×ÐßãáÚÐÕÜëÙ á ÞàÑØâÐÛìÝÞÙ áâÐÝæØØ, áÞÒÕàèÐ-
îéÕÙ ÞÑÛÕâ ÝÕÚÞâÞàÞÙ ßÛÐÝÕâë, á æÕÛìî áÑÞàÐ ØÝäÞàÜÐæØØ Ø ØááÛÕÔÞÒÐÝØï ÞÚÞ-
ÛÞßÛÐÝÕâÝÞÓÞ ßàÞáâàÐÝáâÒÐ. ÂÐÚÐï ÐÒâÞÜÐâØçÕáÚÐï ÝÐãçÝÐï ÛÐÑÞàÐâÞàØï ÔÞÛÖÝÐ
ßàØÑÛØ×Øâìáï Ú ßÛÐÝÕâÕ, ßàÞØ×ÒÕáâØ äÞâÞÓàÐäØàÞÒÐÝØÕ ÕÕ ßÞÒÕàåÝÞáâØ Ø ÒëßÞÛ-
ÝØâì àïÔ Ø×ÜÕàÕÝØÙ, Ð ×ÐâÕÜ ÔÞáâÐÒØâì ÝÐÚÞßÛÕÝÝãî ØÝäÞàÜÐæØî ÞÑàÐâÝÞ ÝÐ Þà-
ÑØâÐÛìÝãî áâÐÝæØî. ¸ÛØ, ÝÐßàÞâØÒ, ÜÞÖÕâ ÒÞ×ÝØÚÝãâì ÝÕÞÑåÞÔØÜÞáâì ×ÐßãáâØâì
×ÞÝÔ ÝÐ ÑÞÛìèÞÕ àÐááâÞïÝØÕ Þâ ·ÕÜÛØ ÔÛï Ø×ãçÕÝØï ÜÕÖßÛÐÝÕâÝÞÓÞ ßàÞáâàÐÝáâÒÐ.
²Þ×ÜÞÖÝë ÛØ ÝÕÞÑåÞÔØÜëÕ ÔÛï âÐÚØå æÕÛÕÙ âàÐÕÚâÞàØØ ßÞÛÕâÐ ÚÞáÜØçÕáÚÞÓÞ ×ÞÝ-
ÔÐ? ºÐÚ Øå ÞáãéÕáâÒØâì?

¿àØ ×ÐßãáÚÕ áÞ áâÐÝæØØ ×ÞÝÔ ßÕàÕÙÔÕâ ÝÐ áÞÑáâÒÕÝÝãî íÛÛØßâØçÕáÚãî ÞàÑØâã
ÒÞÚàãÓ ßÛÐÝÕâë. ºÐÚØÕ âàÕÑÞÒÐÝØï ÝãÖÝÞ ßàÕÔêïÒØâì Ú ÒÞ×ÜÞÖÝÞÙ ÞàÑØâÕ ×ÞÝ-
ÔÐ? ² ßÕàÒÞÜ Ø× ãßÞÜïÝãâëå ÒëèÕ áÛãçÐÕÒ âàÐÕÚâÞàØï ÔÞÛÖÝÐ ßÞÔåÞÔØâì ÑÛØ×ÚÞ
Ú ßÞÒÕàåÝÞáâØ ßÛÐÝÕâë, â. Õ. íâÞ ÔÞÛÖÝÐ Ñëâì ÞàÑØâÐ á ÝØ×ÚØÜ ßÕàØÓÕÕÜ. ² ÛîÑÞÜ
áÛãçÐÕ ßÕàØÞÔ ÞÑàÐéÕÝØï ×ÞÝÔÐ ßÞ ÝÞÒÞÙ íÛÛØßâØçÕáÚÞÙ ÞàÑØâÕ ÔÞÛÖÕÝ Ñëâì áÞ-
Ø×ÜÕàØÜëÜ á ßÕàØÞÔÞÜ ÞÑàÐéÕÝØï áâÐÝæØØ ÒÞÚàãÓ ßÛÐÝÕâë, çâÞÑë ×ÞÝÔ Ø áâÐÝæØï
ßÕàØÞÔØçÕáÚØ ÒáâàÕçÐÛØáì. ÂÐÚÐï ÒáâàÕçÐ ÜÞÖÕâ ßàÞØ×ÞÙâØ âÞÛìÚÞ Ò ÞÑéÕÙ âÞçÚÕ
ÞàÑØâ áâÐÝæØØ Ø ×ÞÝÔÐ. ÍâÞ ØÜÕÝÝÞ âÐ âÞçÚÐ, ÓÔÕ ×ÞÝÔ ßÞÛãçØÛ ØÜßãÛìá ÔÞßÞÛÝØ-
âÕÛìÝÞÙ áÚÞàÞáâØ.

µáÛØ, ÝÐßàØÜÕà, ßÕàØÞÔë ÞÑàÐéÕÝØï ×ÞÝÔÐ Ø áâÐÝæØØ ÞâÝÞáïâáï ÚÐÚ 3 Ú 2, ×ÞÝÔ
ßÞáÛÕ áÞÒÕàèÕÝØï ÔÒãå ÞÑÞàÞâÞÒ ßàØÔÕâ Ò ÞÑéãî âÞçÚã Øå ÞàÑØâ ÞÔÝÞÒàÕÜÕÝÝÞ áÞ
áâÐÝæØÕÙ ÚÐÚ àÐ× Ò âÞâ ÜÞÜÕÝâ, ÚÞÓÔÐ áâÐÝæØï ×ÐÒÕàèØâ âàØ ÞÑÞàÞâÐ. ÁÔÕÛÐÕÜ àÐá-
çÕâ áÚÞàÞáâØ, ÚÞâÞàãî ÝãÖÝÞ áÞÞÑéØâì ×ÞÝÔã ßàØ ÞâÔÕÛÕÝØØ Þâ áâÐÝæØØ, çâÞÑë ßÞ-
ÛãçØâì âàÕÑãÕÜëÙ ßÕàØÞÔ ÞÑàÐéÕÝØï. µáÛØ ÔÞßÞÛÝØâÕÛìÝÐï áÚÞàÞáâì áÞÞÑéÐÕâáï
×ÞÝÔã Ò ÝÐßàÐÒÛÕÝØØ ÞàÑØâÐÛìÝÞÓÞ ÔÒØÖÕÝØï áâÐÝæØØ, ÑÞÛìèÐï ßÞÛãÞáì a íÛÛØß-
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âØçÕáÚÞÙ ÞàÑØâë ×ÞÝÔÐ ÑãÔÕâ ÞßàÕÔÕÛïâìáï äÞàÜãÛÞÙ (11). ½ÐÙÔÕÜ Ø× ÝÕÕ ÚÒÐÔàÐâ
ÝÐçÐÛìÝÞÙ ÓÕÞæÕÝâàØçÕáÚÞÙ áÚÞàÞáâØ v0

v2
0 = v2

circ

(
2− r0

a

)
. (56)

ÍâÐ äÞàÜãÛÐ Ò àÐÒÝÞÙ ÜÕàÕ áßàÐÒÕÔÛØÒÐ ÚÐÚ ÔÛï áÛãçÐï, ÚÞÓÔÐ ÝÐçÐÛìÝÐï áÚÞàÞáâì
ÑÞÛìèÕ ÚàãÓÞÒÞÙ v0 > vcirc, âÐÚ Ø ÔÛï áÛãçÐï v0 < vcirc, ÚÞÓÔÐ ÞâÔÕÛïîéØÙáï Þâ
áâÐÝæØØ ×ÞÝÔ ßÞÛãçÐÕâ ÔÞßÞÛÝØâÕÛìÝãî áÚÞàÞáâì Ò ÝÐßàÐÒÛÕÝØØ, ßàÞâØÒÞßÞÛÞÖ-
ÝÞÜ ÝÐßàÐÒÛÕÝØî ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ áâÐÝæØØ. ² ßÞáÛÕÔÝÕÜ áÛãçÐÕ âÞçÚÐ ÞâÔÕ-
ÛÕÝØï ×ÞÝÔÐ ÑãÔÕâ ÐßÞÓÕÕÜ ÕÓÞ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë. ÂÕßÕàì ÒÞáßÞÛì×ãÕÜáï âàÕ-
âìØÜ ×ÐÚÞÝÞÜ ºÕßÛÕàÐ, çâÞÑë ÒëàÐ×Øâì ÞâÝÞèÕÝØÕ r0/a Ò äÞàÜãÛÕ (56) çÕàÕ× ×Ð-
ÔÐÝÝÞÕ ÞâÝÞèÕÝØÕ ßÕàØÞÔÞÒ ÞÑàÐéÕÝØï áâÐÝæØØ T0 Ø ×ÞÝÔÐ T :

r0

a
=

(
T0

T

)2/3

.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ßÞáÛÕ ÞâÔÕÛÕÝØï Þâ áâÐÝæØØ ×ÞÝÔ ÔÞÛÖÕÝ ØÜÕâì ÓÕÞæÕÝâàØçÕáÚãî
áÚÞàÞáâì

v0 = vcirc

√
2− (T0/T )2/3. (57)

ÀÐááçØâÐÝÝëÕ ßÞ äÞàÜãÛÕ (57) ×ÝÐçÕÝØï ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ ×ÞÝÔÐ v0 Ø áÞÞâÒÕâ-
áâÒãîéÕÙ ÔÞßÞÛÝØâÕÛìÝÞÙ áÚÞàÞáâØ ∆v = |v0 − vcirc| (Ò ßàÞæÕÝâÐå Þâ ÞàÑØâÐÛìÝÞÙ
áÚÞàÞáâØ vcirc) ÔÛï ÝÕÚÞâÞàëå ×ÝÐçÕÝØÙ ÞâÝÞèÕÝØï ßÕàØÞÔÞÒ ÞÑàÐéÕÝØï T0/T ßàØ-
ÒÕÔÕÝë Ò âÐÑÛØæÕ:

T0/T v0/vcirc ∆v/vcirc · 100

2/3 1.112140 11.2140
3/2 0.830499 16.9561
5/4 0.916298 8.37015
4/5 1.066876 6.6876

µáÛØ ßàØ ÞâÔÕÛÕÝØØ ×ÞÝÔÐ Þâ áâÐÝæØØ ÔÞßÞÛÝØâÕÛìÝãî áÚÞàÞáâì ∆v áÞÞÑéÐâì Ò
àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ (ÒÕàâØÚÐÛìÝÞ ÒÒÕàå ØÛØ ÒÝØ×), âÞ ßÕàØÞÔ ÞÑàÐéÕÝØï ×ÞÝ-
ÔÐ ßÞ íÛÛØßâØçÕáÚÞÙ ÞàÑØâÕ ÜÞÖÕâ Ñëâì âÞÛìÚÞ ÑÞÛìèÕ ßÕàØÞÔÐ ÞÑàÐéÕÝØï áâÐÝ-
æØØ ßÞ ÚàãÓÞÒÞÙ ÞàÑØâÕ. ¿àØÜÕÝïï Ú íâÞÜã áÛãçÐî ×ÐÚÞÝ áÞåàÐÝÕÝØï íÝÕàÓØØ Ø
ÒâÞàÞÙ ×ÐÚÞÝ ºÕßÛÕàÐ (×ÐÚÞÝ áÞåàÐÝÕÝØï ÜÞÜÕÝâÐ ØÜßãÛìáÐ) Ø ãçØâëÒÐï, çâÞ áÞÞÑ-
éÕÝØÕ ÔÞßÞÛÝØâÕÛìÝÞÙ áÚÞàÞáâØ Ò àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÝÕ Ø×ÜÕÝïÕâ ÜÞÜÕÝâÐ
ØÜßãÛìáÐ ×ÞÝÔÐ, ÜÞÖÝÞ ßÞÛãçØâì áÛÕÔãîéØÕ ÒëàÐÖÕÝØï ÔÛï àÐááâÞïÝØÙ Þâ æÕÝâàÐ
·ÕÜÛØ ÔÞ ÐßÞÓÕï Ø ßÕàØÓÕï íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ×ÞÝÔÐ:

rA =
r0

1−∆v/vcirc

; rP =
r0

1 + ∆v/vcirc

.
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¾âáîÔÐ ÔÛï ÑÞÛìèÞÙ ßÞÛãÞáØ a íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ×ÞÝÔÐ ßÞÛãçÐÕÜ áÛÕÔãîéÕÕ
ÒëàÐÖÕÝØÕ:

a =
1

2
(rA + rP ) =

r0

1− (∆v/vcirc)2
. (58)

¿àØÜÕÝØÜ Ø ×ÔÕáì âàÕâØÙ ×ÐÚÞÝ ºÕßÛÕàÐ r0/a = (T0/T )2/3 ÔÛï ÞßàÕÔÕÛÕÝØï ÞàÑØ-
âë, ÔÐîéÕÙ âàÕÑãÕÜëÙ ßÕàØÞÔ ÞÑàÐéÕÝØï. ÂÞÓÔÐ Ø× äÞàÜãÛë (58) ÜÞÖÝÞ ÝÐÙâØ, çâÞ
ÔÛï âÞÓÞ, çâÞÑë ßÞÛãçØâì ÝãÖÝÞÕ ×ÝÐçÕÝØÕ (T0/T ), ÚÞáÜØçÕáÚÞÜã ×ÞÝÔã ßàØ ÞâÔÕÛÕ-
ÝØØ Þâ áâÐÝæØØ Ò àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ÝÕÞÑåÞÔØÜÞ áÞÞÑéØâì ÔÞßÞÛÝØâÕÛìÝãî
áÚÞàÞáâì ∆v, ÞßàÕÔÕÛïÕÜãî áÞÞâÝÞèÕÝØÕÜ:

(
∆v

vcirc

)
= 1−

(
T0

T

)2/3

. (59)

½ÐßàØÜÕà, ÔÛï T0/T = 2/3 äÞàÜãÛÐ (59) ÔÐÕâ ∆v/vcirc = 0.48668, Ð ÔÛï T0/T = 4/5
Ø× (59) ØÜÕÕÜ ∆v/vcirc = 0.37179.

13 ¾âÝÞáØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ ÞàÑØâÐÛìÝëå âÕÛ
´Ûï ØááÛÕÔÞÒÐÝØï ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØÖÕÝØï âÕÛ ÝÐ ÚÞáÜØçÕáÚØå ÞàÑØâÐå ÜÞÖ-
ÝÞ ØáßÞÛì×ÞÒÐâì ßàØÑÛØÖÕÝÝëÕ ÔØääÕàÕÝæØÐÛìÝëÕ ãàÐÒÝÕÝØï, áßàÐÒÕÔÛØÒëÕ Ò
ãáÛÞÒØïå áàÐÒÝØâÕÛìÝÞ ÝÕÑÞÛìèØå ãÔÐÛÕÝØÙ (ÜÐÛëå ßÞ áàÐÒÝÕÝØî á àÐ×ÜÕàÐÜØ
ÞàÑØâë). ÀÐááÜÞâàØÜ ÔÛï ÞßàÕÔÕÛÕÝÝÞáâØ ÔÒØÖÕÝØÕ ÝÕÚÞâÞàÞÓÞ ßàÕÔÜÕâÐ, ÑàÞ-
èÕÝÝÞÓÞ ÚÞáÜÞÝÐÒâÐÜØ á ÞàÑØâÐÛìÝÞÙ áâÐÝæØØ, ÔÒØÖãéÕÙáï ßÞ ÚàãÓÞÒÞÙ ÞÚÞÛÞ-
×ÕÜÝÞÙ ÞàÑØâÕ (àØá. 11). ±ãÔÕÜ ØáßÞÛì×ÞÒÐâì áÒï×ÐÝÝãî áÞ áâÐÝæØÕÙ ÝÕØÝÕàæØÐÛì-
Ýãî áØáâÕÜã ÞâáçÕâÐ. ¾áì z ÝÐßàÐÒØÜ ßÕàßÕÝÔØÚãÛïàÝÞ ßÛÞáÚÞáâØ ÞàÑØâë áâÐÝæØØ
(ßÐàÐÛÛÕÛìÝÞ ÒÕÚâÞàã ãÓÛÞÒÞÙ áÚÞàÞáâØ Ω ÞÑàÐéÕÝØï áâÐÝæØØ). ¾áì x ÝÐßàÐÒØÜ Ò
ßÛÞáÚÞáâØ ÞàÑØâë àÐÔØÐÛìÝÞ Þâ æÕÝâàÐ ·ÕÜÛØ, Ð Þáì y � ÒÔÞÛì ÝÐßàÐÒÛÕÝØï ÞàÑØ-
âÐÛìÝÞÙ áÚÞàÞáâØ vorb. ²ÕÚâÞà r0 ßàÞÒÕÔÕÝ Ø× æÕÝâàÐ ·ÕÜÛØ Ú ÞàÑØâÐÛìÝÞÙ áâÐÝæØØ.
ÀÐÔØãá-ÒÕÚâÞà r ÞßàÕÔÕÛïÕâ ßÞÛÞÖÕÝØÕ ßàÕÔÜÕâÐ ÞâÝÞáØâÕÛìÝÞ áâÐÝæØØ, Ð ÒÕÚâÞà
r′ = r0 + r � ÞâÝÞáØâÕÛìÝÞ æÕÝâàÐ ·ÕÜÛØ.

ÀØá. 11: ÁØáâÕÜÐ ÚÞÞàÔØÝÐâ, áÒï×ÐÝÝÐï á ÞàÑØâÐÛìÝÞÙ áâÐÝæØÕÙ.

ÃáÚÞàÕÝØÕ a ßàÕÔÜÕâÐ ÞâÝÞáØâÕÛìÝÞ ÒëÑàÐÝÝÞÙ ÒàÐéÐîéÕÙáï áØáâÕÜë ÞâáçÕ-
âÐ ÞßàÕÔÕÛïÕâáï áØÛÞÙ ×ÕÜÝÞÓÞ âïÓÞâÕÝØï −GmM r′/r′3 (M � ÜÐááÐ ·ÕÜÛØ, m �
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ÜÐááÐ ßàÕÔÜÕâÐ), Ð âÐÚÖÕ æÕÝâàÞÑÕÖÝÞÙ áØÛÞÙ ØÝÕàæØØ −mΩ × (Ω × r′) Ø ÚÞàØÞ-
ÛØáÞÒÞÙ áØÛÞÙ ØÝÕàæØØ 2mv×Ω, ÓÔÕ v � ÒÕÚâÞà áÚÞàÞáâØ ßàÕÔÜÕâÐ ÞâÝÞáØâÕÛìÝÞ
áâÐÝæØØ:

a = −GM

r′3
r′ −Ω× (Ω× r′) + 2v ×Ω. (60)

¿àÕÔáâÐÒØÜ ÒåÞÔïéØÙ Ò (60) ÒÕÚâÞà r′ Ò ÒØÔÕ áãÜÜë r0 +r. ÇâÞÑë ãßàÞáâØâì 1/r′3 Ò
áÛãçÐÕ ÜÐÛëå ÞâÚÛÞÝÕÝØÙ r ¿ r0, ÒÞ×ÒÕÔÕÜ r′ áÝÐçÐÛÐ Ò ÚÒÐÔàÐâ, Ð ×ÐâÕÜ Ò áâÕßÕÝì
−3/2. ¿àØ ÒÞ×ÒÕÔÕÝØØ Ò ÚÒÐÔàÐâ ÒÕÚâÞàÐ r0+r ÜÞÖÝÞ ÞâÑàÞáØâì r2. ¾ÓàÐÝØçØÒÐïáì
ÛØÝÕÙÝëÜØ ßÞ ÜÐÛÞÙ ÒÕÛØçØÝÕ r/r0 çÛÕÝÐÜØ, Ò ßÕàÒÞÜ çÛÕÝÕ Ò ßàÐÒÞÙ çÐáâØ (60)
ßÞÛãçØÜ

GM

r′3
≈ GM

r3
0

(
1 + 2

r0 · r
r2
0

)−3/2

≈ Ω2

(
1− 3

r0 · r
r2
0

)
. (61)

·ÔÕáì Üë ãçÛØ, çâÞ ÚÒÐÔàÐâ ãÓÛÞÒÞÙ áÚÞàÞáâØ Ω ÞÑàÐéÕÝØï áâÐÝæØØ ßÞ ÞàÑØâÕ àÐ-
ÒÕÝ GM/r3

0. ¿àØ ßÞÔáâÐÝÞÒÚÕ (61) Ò (60) á âÞçÝÞáâìî ÔÞ ÛØÝÕÙÝëå ßÞ r/r0 çÛÕÝÞÒ
ßÞÛãçÐÕÜ

a = −Ω2(r0 + r) + 3 Ω2 r0 · r
r2
0

r0 −Ω× (Ω× r0)−Ω× (Ω× r) + 2v ×Ω. (62)

² ÒëàÐÖÕÝØØ (62) ÓÛÐÒÝëÙ çÛÕÝ ãáÚÞàÕÝØï, áÞÞÑéÐÕÜÞÓÞ ÑàÞèÕÝÝÞÜã ßàÕÔÜÕâã
áØÛÞÙ âïÓÞâÕÝØï (−Ω2r0), ÚÞÜßÕÝáØàãÕâáï ÓÛÐÒÝëÜ çÛÕÝÞÜ ãáÚÞàÕÝØï, áÞÞÑéÐÕ-
ÜÞÓÞ æÕÝâàÞÑÕÖÝÞÙ áØÛÞÙ ØÝÕàæØØ (Ω×(Ω×r0), áÜ. àØá. 11). ¿àÞÕÚæØØ ãàÐÒÝÕÝØï
(62) ÝÐ ÞáØ áØáâÕÜë ÚÞÞàÔØÝÐâ, áÒï×ÐÝÝÞÙ á ÞàÑØâÐÛìÝÞÙ áâÐÝæØÕÙ, ÔÐîâ áÛÕÔãî-
éãî áØáâÕÜã ßàØÑÛØÖÕÝÝëå ÔØääÕàÕÝæØÐÛìÝëå ãàÐÒÝÕÝØÙ ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØ-
ÖÕÝØï:

ẍ = 3 Ω2x + 2Ω ẏ,

ÿ = −2 Ω ẋ, (63)
z̈ = −Ω2 z.

´ÒØÖÕÝØÕ ÑàÞèÕÝÝÞÓÞ ßàÕÔÜÕâÐ ÝÐçØÝÐÕâáï Þâ áâÐÝæØØ (Ø× ÝÐçÐÛÐ ÚÞÞàÔØÝÐâ),
ßÞíâÞÜã ÒÞ ÒáÕå áÛãçÐïå x(0) = 0, y(0) = 0, z(0) = 0. ¿ÞÛãçØÜ àÕèÕÝØï áØáâÕÜë
ãàÐÒÝÕÝØÙ (63) ÔÛï àÐ×Ýëå ÝÐßàÐÒÛÕÝØÙ ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ v0 ßàÕÔÜÕâÐ ÞâÝÞáØ-
âÕÛìÝÞ ÞàÑØâÐÛìÝÞÙ áâÐÝæØØ.

1. ¿àÕÔÜÕâ ÑàÞáÐîâ Ò ÝÐßàÐÒÛÕÝØØ, ßÕàßÕÝÔØÚãÛïàÝÞÜ ßÛÞáÚÞáâØ ÞàÑØâë, â. Õ.
ẋ(0) = 0, ẏ(0) = 0, ż(0) = v0. ´Ûï âÐÚØå ÝÐçÐÛìÝëå ãáÛÞÒØÙ àÕèÕÝØÕ áØáâÕÜë
(63) ØÜÕÕâ ÒØÔ x(t) = 0, y(t) = 0, z(t) = (v0/Ω) sin Ωt. ÂÐÚØÜ ÞÑàÐ×ÞÜ, ßàÕÔ-
ÜÕâ áÞÒÕàèÐÕâ ÞâÝÞáØâÕÛìÝÞ áâÐÝæØØ ßÕàØÞÔØçÕáÚÞÕ ÚÞÛÕÑÐâÕÛìÝÞÕ ÔÒØÖÕ-
ÝØÕ ÒÔÞÛì ÞáØ z á ßÕàØÞÔÞÜ T = 2π/Ω, àÐÒÝëÜ ßÕàØÞÔã ÞÑàÐéÕÝØï áâÐÝæØØ
ßÞ ÚàãÓÞÒÞÙ ÞàÑØâÕ. ÇÕàÕ× çÕâÒÕàâì ÞÑÞàÞâÐ ßàÕÔÜÕâ ãÔÐÛïÕâáï Þâ áâÐÝæØØ ÝÐ
ÜÐÚáØÜÐÛìÝÞÕ àÐááâÞïÝØÕ l = v0/Ω = r0(v0/vorb). ¿ãáâì, ÝÐßàØÜÕà, ÒëáÞâÐ
ÚàãÓÞÒÞÙ ÞàÑØâë h = 0.1 R ≈ 640 ÚÜ (àÐÔØãá ÞàÑØâë r0 ≈ 7 âëá. ÚÜ, ßÕàØÞÔ
ÞÑàÐéÕÝØï T ≈ 98 ÜØÝ), Ð ÝÐçÐÛìÝÐï áÚÞàÞáâì ßàÕÔÜÕâÐ v0 = 15 Ü/á, çâÞ
áÞáâÐÒÛïÕâ 0.2% ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ vorb = 7.5 ÚÜ/á. ÂÞÓÔÐ ÜÐÚáØÜÐÛì-
ÝÞÕ ãÔÐÛÕÝØÕ ßàÕÔÜÕâÐ Þâ áâÐÝæØØ l ≈ 14 ÚÜ. ÍâÞâ àÕ×ãÛìâÐâ ÛÕÓÚÞ ÞÑêïá-
ÝØâì, àÐááÜÐâàØÒÐï ÔÒØÖÕÝØÕ ßàÕÔÜÕâÐ Ø áâÐÝæØØ Ò ÓÕÞæÕÝâàØçÕáÚÞÙ áØáâÕÜÕ
ÞâáçÕâÐ. ² áÐÜÞÜ ÔÕÛÕ, Ò íâÞÜ áÛãçÐÕ ßàÕÔÜÕâ ÑãÔÕâ ÔÒØÓÐâìáï ßàÐÚâØçÕáÚØ
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ßÞ ÚàãÓÞÒÞÙ ÞàÑØâÕ, ÚÞâÞàÐï ÞâÛØçÐÕâáï Þâ ÞàÑØâë áâÐÝæØØ ÛØèì ÝÕÑÞÛìèØÜ
ÝÐÚÛÞÝÞÜ áÒÞÕÙ ßÛÞáÚÞáâØ (ÝÐ ãÓÞÛ α = v0/vorb ≈ 2 · 10−3). ¾ÑàÐéÐïáì ßàÐÚ-
âØçÕáÚØ á ÞÔØÝÐÚÞÒëÜØ ßÕàØÞÔÐÜØ, ßàÕÔÜÕâ Ø áâÐÝæØï çÕàÕ× ÚÐÖÔëÕ ßÞÛÞÑÞ-
àÞâÐ ÑãÔãâ ÒáâàÕçÐâìáï Ò âÞçÚÐå ßÕàÕáÕçÕÝØï áÒÞØå ÞàÑØâ, ãÔÐÛïïáì ×ÐâÕÜ ÝÐ
ÜÐÚáØÜÐÛìÝÞÕ àÐááâÞïÝØÕ l = r0α = r0(v0/vorb).

2. ¿àÕÔÜÕâ ÑàÞáÐîâ Ò àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ, ÝÐßàØÜÕà, ÒÕàâØÚÐÛìÝÞ ÒÝØ× Ò
áâÞàÞÝã ·ÕÜÛØ, â. Õ. ẋ(0) = −v0, ẏ(0) = 0, ż(0) = 0. ´Ûï âÐÚØå ÝÐçÐÛìÝëå
ãáÛÞÒØÙ ÒâÞàÞÕ Ø× ãàÐÒÝÕÝØÙ (63) ÔÐÕâ ẏ = −2 Ωx. ¿ÞÔáâÐÒÛïï ẏ Ò ßÕàÒÞÕ
ãàÐÒÝÕÝØÕ (63), ßÞÛãçÐÕÜ ẍ = −Ω2x, ÞâÚãÔÐ x(t) = −(v0/Ω) sin Ωt. ÂÕßÕàì Ø×
ãàÐÒÝÕÝØï ẏ = −2 Ωx ßàØ ãáÛÞÒØØ y(0) = 0 ÝÐåÞÔØÜ ×ÐÒØáØÜÞáâì ÚÞÞàÔØÝÐâë
y Þâ ÒàÕÜÕÝØ: y(t) = −2(v0/Ω)(cos Ωt − 1). ¾ßØáëÒÐÕÜÞÕ íâØÜØ ãàÐÒÝÕÝØï-
ÜØ ÔÒØÖÕÝØÕ ßàÕÔÜÕâÐ ÞâÝÞáØâÕÛìÝÞ áâÐÝæØØ ßàÞØáåÞÔØâ Ò ßÛÞáÚÞáâØ xy ÕÕ
ÞàÑØâë (z(t) = 0). ÇâÞÑë ãáâÐÝÞÒØâì äÞàÜã âàÐÕÚâÞàØØ ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØ-
ÖÕÝØï, áÛÕÔãÕâ ØáÚÛîçØâì ÒàÕÜï Ø× ãàÐÒÝÕÝØÙ ÔÛï x(t) Ø y(t). ² àÕ×ãÛìâÐâÕ
ßÞÛãçÐÕÜ

x2

l2
+

(y − 2l)2

(2l)2
= 1. (64)

·ÔÕáì, ÚÐÚ Ø àÐÝìèÕ, ØáßÞÛì×ÞÒÐÝÞ ÞÑÞ×ÝÐçÕÝØÕ l = v0/Ω = r0(v0/vorb).
¸× (64) ÒØÔÝÞ, çâÞ Ò áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ÞàÑØâÐÛìÝÞÙ áâÐÝæØÕÙ,
ßàÕÔÜÕâ ÔÒØÖÕâáï ßÞ íÛÛØßáã (àØá. 12, a), ÜÐÛÐï ßÞÛãÞáì ÚÞâÞàÞÓÞ àÐÒÝÐ
l = r0(v0/vorb) (14 ÚÜ ßàØ v0 = 15 Ü/á). ±ÞÛìèÐï ßÞÛãÞáì íÛÛØßáÐ Ò ÔÒÐ
àÐ×Ð ÑÞÛìèÕ Ø ÞàØÕÝâØàÞÒÐÝÐ Ò ÝÐßàÐÒÛÕÝØØ ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ áâÐÝæØØ.

ÀØá. 12: ÂàÐÕÚâÞàØØ ÑàÞèÕÝÝÞÓÞ ßàÕÔÜÕâÐ ÞâÝÞáØâÕÛìÝÞ ÞàÑØâÐÛìÝÞÙ áâÐÝæØØ ßàØ ÝÐ-
ßàÐÒÛÕÝØØ ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ ÒÕàâØÚÐÛìÝÞ ÒÝØ× Ú ·ÕÜÛÕ (a) Ø ÒßÕàÕÔ ßÞ ÝÐßàÐÒÛÕÝØî
ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ áâÐÝæØØ (b).

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÑàÞèÕÝÝëÙ Ò áâÞàÞÝã ·ÕÜÛØ ßàÕÔÜÕâ áÝÐçÐÛÐ ÔÕÙáâÒØâÕÛì-
ÝÞ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ áâÐÝæØØ ÒÕàâØÚÐÛìÝÞ ÒÝØ×. ¸ÜÕÝÝÞ âÐÚØÜ Ø ßàÕÔ-
áâÐÒÛïÕâáï ÝÐåÞÔïéØÜáï ÝÐ áâÐÝæØØ ÚÞáÜÞÝÐÒâÐÜ ÔÒØÖÕÝØÕ ßàÕÔÜÕâÐ, ßÞ-
ÚÐ ÞÝØ Ò áÞáâÞïÝØØ áÛÕÔØâì ×Ð ÝØÜ ÝÕÒÞÞàãÖÕÝÝëÜ ÓÛÐ×ÞÜ. ½Þ ßÞáâÕßÕÝÝÞ
ßàÕÔÜÕâ ÝÐçØÝÐÕâ ÞâÚÛÞÝïâìáï Þâ ßÕàÒÞÝÐçÐÛìÝÞ ßÞçâØ ÒÕàâØÚÐÛìÝÞÙ âàÐÕÚ-
âÞàØØ Ø çÕàÕ× ßÞÛÞÒØÝã ÞÑÞàÞâÐ áâÐÝæØØ ßÞ ÞàÑØâÕ ÞÚÐ×ëÒÐÕâáï ÝÐ ßàÕÖÝÕÙ
ÒëáÞâÕ ÒßÕàÕÔØ áâÐÝæØØ ÝÐ àÐááâÞïÝØØ ÞÚÞÛÞ 56 ÚÜ. µéÕ çÕàÕ× ßÞÛÞÑÞàÞâÐ
ÑàÞèÕÝÝëÙ ÒÕàâØÚÐÛìÝÞ ÒÝØ× ßàÕÔÜÕâ ÒÞ×ÒàÐéÐÕâáï Ú áâÐÝæØØ á ßàÞâØÒÞ-
ßÞÛÞÖÝÞÙ áâÞàÞÝë (áÒÕàåã, áÜ. àØá. 12, a). ÂÐÚÞÕ ßÕàØÞÔØçÕáÚÞÕ ÔÒØÖÕÝØÕ
ßàÕÔÜÕâÐ ÞâÝÞáØâÕÛìÝÞ áâÐÝæØØ âÐÚÖÕ ÛÕÓÚÞ ÞÑêïáÝØâì á âÞçÚØ ×àÕÝØï ÓÕÞ-
æÕÝâàØçÕáÚÞÓÞ ÝÐÑÛîÔÐâÕÛï. ±àÞèÕÝÝëÙ Ò àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ ßàÕÔÜÕâ
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ÔÒØÖÕâáï ßÞ íÛÛØßâØçÕáÚÞÙ ÞàÑØâÕ á ÝØçâÞÖÝëÜ íÚáæÕÝâàØáØâÕâÞÜ Ø ßàÐÚ-
âØçÕáÚØ âÐÚØÜ ÖÕ, ÚÐÚ ã áâÐÝæØØ, ßÕàØÞÔÞÜ ÞÑàÐéÕÝØï. ÍâÐ ÞàÑØâÐ ÛÕÖØâ Ò
ßÛÞáÚÞáâØ ÚàãÓÞÒÞÙ ÞàÑØâë áâÐÝæØØ Ø ÞâÛØçÐÕâáï Þâ ÞÚàãÖÝÞáâØ ßàÐÚâØçÕ-
áÚØ ÛØèì ÝÕÑÞÛìèØÜ áÜÕéÕÝØÕÜ æÕÝâàÐ. ¾ÑÕ ÞÚàãÖÝÞáâØ (â. Õ. ÞàÑØâë áâÐÝ-
æØØ Ø ßàÕÔÜÕâÐ) ßÕàÕáÕÚÐîâáï Ò ÝÐçÐÛìÝÞÙ âÞçÚÕ Ø Ò ÔØÐÜÕâàÐÛìÝÞ ßàÞâØÒÞ-
ßÞÛÞÖÝÞÙ âÞçÚÕ, ÚãÔÐ áâÐÝæØï ßàØåÞÔØâ çÕàÕ× ßÞÛÞÒØÝã ßÕàØÞÔÐ ÞÑàÐéÕÝØï
ßÞ ÞàÑØâÕ. ² íâÞÙ âÞçÚÕ ßàÕÔÜÕâ áÝÞÒÐ ÞÚÐ×ëÒÐÕâáï ÝÐ ßàÕÖÝÕÙ ÒëáÞâÕ. ¾Ô-
ÝÐÚÞ Ø×-×Ð ÝÕÑÞÛìèÞÙ ÝÕàÐÒÝÞÜÕàÝÞáâØ ÔÒØÖÕÝØï ßÞ áÒÞÕÙ íÛÛØßâØçÕáÚÞÙ
ÞàÑØâÕ (ÒáßÞÜÝØâÕ ÒâÞàÞÙ ×ÐÚÞÝ ºÕßÛÕàÐ) ßàÕÔÜÕâ ßàØåÞÔØâ Ò íâã ÔØÐÜÕâ-
àÐÛìÝÞ ßàÞâØÒÞßÞÛÞÖÝãî âÞçÚã ÝÕÜÝÞÓÞ àÐÝìèÕ áâÐÝæØØ, âÐÚ ÚÐÚ ÝÐ áÕàÕ-
ÔØÝÕ ØÜÕÝÝÞ íâÞÙ ßÞÛÞÒØÝë ÞàÑØâë ÞÝ ßàÞåÞÔØâ çÕàÕ× ßÕàØÓÕÙ. ² àÕ×ãÛìâÐâÕ
Ò íâÞâ ÜÞÜÕÝâ ÞÝ ÞßÕàÕÖÐÕâ áâÐÝæØî Ò ÕÕ ÞàÑØâÐÛìÝÞÜ ÔÒØÖÕÝØØ ÝÐ ÜÐÚ-
áØÜÐÛìÝÞÕ àÐááâÞïÝØÕ 4r0(v0/vorb). ½Ð áÛÕÔãîéÕÙ ßÞÛÞÒØÝÕ ÒØâÚÐ ßàÕÔÜÕâ
ßàÞåÞÔØâ çÕàÕ× ÐßÞÓÕÙ áÒÞÕÙ ÞàÑØâë, Ø Ø×-×Ð ÝÕÑÞÛìèÞÓÞ ×ÐÜÕÔÛÕÝØï ÔÒØÖÕ-
ÝØï ÝÐ íâÞÜ ãçÐáâÚÕ ÞàÑØâë ßàØåÞÔØâ Ò ÞÑéãî ÝÐçÐÛìÝãî âÞçÚã ÞÔÝÞÒàÕÜÕÝ-
ÝÞ áÞ áâÐÝæØÕÙ, ßàØÑÛØÖÐïáì Ú ÝÕÙ áÒÕàåã.

3. ºÞÓÔÐ ßàÕÔÜÕâ ÑàÞáÐîâ Ò ÝÐßàÐÒÛÕÝØØ ÞàÑØâÐÛìÝÞÙ áÚÞàÞáâØ vorb (ÒßÕàÕÔ
ØÛØ ÝÐ×ÐÔ), ßÕàØÞÔ ÕÓÞ ÞÑàÐéÕÝØï ßÞ íÛÛØßâØçÕáÚÞÙ ÓÕÞæÕÝâàØçÕáÚÞÙ ÞàÑØ-
âÕ ãÖÕ ÝÕÛì×ï áçØâÐâì àÐÒÝëÜ ßÕàØÞÔã ÞÑàÐéÕÝØï áâÐÝæØØ. ² ÞâÝÞáØâÕÛìÝÞÜ
ÔÒØÖÕÝØØ ßÞïÒÛïÕâáï �ÒÕÚÞÒÞÙ� çÛÕÝ, ÜÞÝÞâÞÝÝÞ ÒÞ×àÐáâÐîéØÙ áÞ ÒàÕÜÕ-
ÝÕÜ. ´Ûï ÝÐçÐÛìÝëå ãáÛÞÒØÙ ẋ(0) = 0, ẏ(0) = v0, ż(0) = 0 àÕèÕÝØÕ áØáâÕÜë
(63) ØÜÕÕâ ÒØÔ x(t) = 2l(1 − cos Ωt), y(t) = l(−3 Ωt + 4 sin Ωt), z(t) = 0, ÓÔÕ,
ÚÐÚ Ø ßàÕÖÔÕ, l = r0(v0/vorb). ² àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ (ßÞ ÒëáÞâÕ) ÞâÝÞáØ-
âÕÛìÝÞÕ ÔÒØÖÕÝØÕ ßÞ-ßàÕÖÝÕÜã ßÕàØÞÔØçÕáÚÞÕ, ÝÞ ÒÔÞÛì ÞàÑØâë (ÒÔÞÛì ÞáØ
y) ÝÐàïÔã á ßÕàØÞÔØçÕáÚØÜØ ÚÞÛÕÑÐÝØïÜØ ßàÞØáåÞÔØâ âÐÚÖÕ ÜÞÝÞâÞÝÝÞÕ Ø×-
ÜÕÝÕÝØÕ ÚÞÞàÔØÝÐâë áÞ áàÕÔÝÕÙ áÚÞàÞáâìî −3Ωl = −3v0. ÂàÐÕÚâÞàØï âÐÚÞÓÞ
ÔÒØÖÕÝØï ßÞÚÐ×ÐÝÐ ÝÐ àØá. 12, b (ÜÐáèâÐÑ ßÞ ÒÕàâØÚÐÛØ ßàÕãÒÕÛØçÕÝ). ÁÝÐ-
çÐÛÐ ÑàÞèÕÝÝëÙ ÒßÕàÕÔ ßàÕÔÜÕâ ÔÒØÖÕâáï ÞâÝÞáØâÕÛìÝÞ áâÐÝæØØ Ò ÝÐßàÐÒ-
ÛÕÝØØ áÞÞÑéÕÝÝÞÙ ÕÜã ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ, ÝÞ ÒáÚÞàÕ ÞâÚÛÞÝïÕâáï ÒÒÕàå Ø
ÝÐçØÝÐÕâ ßÞßïâÝÞÕ ÔÒØÖÕÝØÕ. Áßãáâï ÒàÕÜï T , àÐÒÝÞÕ ßÕàØÞÔã ÞÑàÐéÕÝØï
áâÐÝæØØ, ßàÕÔÜÕâ ÞÚÐÖÕâáï ÝÐ ßàÕÖÝÕÙ ÒëáÞâÕ, ÝÞ ßÞ×ÐÔØ áâÐÝæØØ ÒÔÞÛì Þà-
ÑØâë ÝÐ àÐááâÞïÝØØ 6πl (ÞÚÞÛÞ 265 ÚÜ ßàØ v0 = 15 Ü/á).

14 ÁÕÜÕÙáâÒÞ ÚÕßÛÕàÞÒëå ÞàÑØâ àÐÒÝëå íÝÕàÓØÙ á
ÞÑéÕÙ ÝÐçÐÛìÝÞÙ âÞçÚÞÙ

ÀÐááÜÞâàØÜ áÕÜÕÙáâÒÞ íÛÛØßâØçÕáÚØå ÞàÑØâ áßãâÝØÚÞÒ, àÐ×ÛÕâÐîéØåáï ÒÞ ÒáÕ-
ÒÞ×ÜÞÖÝëå ÝÐßàÐÒÛÕÝØïå á ÞÔØÝÐÚÞÒÞÙ ÝÐçÐÛìÝÞÙ áÚÞàÞáâìî v0 Ø× ÞÔÝÞÙ áâÐà-
âÞÒÞÙ âÞçÚØ S, ÝÐåÞÔïéÕÙáï ÝÐ àÐááâÞïÝØØ r0 Þâ áØÛÞÒÞÓÞ æÕÝâàÐ F1 (àØá. 13).

¼ÞÖÝÞ ßàÕÔáâÐÒØâì, ÝÐßàØÜÕà, çâÞ Ò S ßàÞØáåÞÔØâ Ò×àëÒ, Ò àÕ×ãÛìâÐâÕ ÚÞâÞ-
àÞÓÞ ÞáÚÞÛÚØ àÐ×ÛÕâÐîâáï á ÞÔØÝÐÚÞÒëÜØ áÚÞàÞáâïÜØ. ²áÕÜ âÐÚØÜ ÞàÑØâÐÜ áÞ-
ÞâÒÕâáâÒãÕâ ÞÔØÝÐÚÞÒÐï íÝÕàÓØï (Ò àÐáçÕâÕ ÝÐ ÕÔØÝØæã ÜÐááë). ±ÞÛìèØÕ ÞáØ ÒáÕå
ÞàÑØâ âÐÚÖÕ àÐÒÝë; ßÞíâÞÜã (Ò áÞÞâÒÕâáâÒØØ á âàÕâìØÜ ×ÐÚÞÝÞÜ ºÕßÛÕàÐ) ßÕàØÞÔë
ÞÑàÐéÕÝØï ã ÒáÕå áßãâÝØÚÞÒ ÞÔØÝÐÚÞÒë, Ø ÒáÕ ÞÝØ ÞÔÝÞÒàÕÜÕÝÝÞ ÒÞ×ÒàÐéÐîâáï Ò
ØáåÞÔÝãî âÞçÚã S.
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ÀØá. 13: ÁÕÜÕÙáâÒÞ ÞàÑØâ áßãâÝØÚÞÒ, àÐ×ÛÕâÐîéØåáï Ø× ÞÔÝÞÙ âÞçÚØ á ÞÔØÝÐÚÞÒëÜØ áÚÞ-
àÞáâïÜØ.

¾ßàÕÔÕÛØÜ ÓàÐÝØæã ÞÑÛÐáâØ, ×ÐßÞÛÝïÕÜÞÙ íâØÜØ âàÐÕÚâÞàØïÜØ. ¸ÝÐçÕ ÓÞÒÞàï,
ÝÐÙÔÕÜ ÞÓØÑÐîéãî àÐááÜÐâàØÒÐÕÜÞÓÞ áÕÜÕÙáâÒÐ ÞàÑØâ. ÁßãâÝØÚ, ÝÐçÐÛìÝÐï áÚÞ-
àÞáâì ÚÞâÞàÞÓÞ Ò S ÝÐßàÐÒÛÕÝÐ ÒÕàâØÚÐÛìÝÞ ÒÒÕàå, â. Õ. ßÞ àÐÔØãáã Þâ áØÛÞÒÞÓÞ æÕÝ-
âàÐ (ÒÛÕÒÞ ÝÐ àØá. 13), ãÔÐÛïÕâáï ßÞ ßàïÜÞÙ ÝÐ ÝÕÚÞâÞàÞÕ ÜÐÚáØÜÐÛìÝÞÕ àÐááâÞïÝØÕ
rmax ÔÞ âÞçÚØ N , Ð ×ÐâÕÜ ÝÐçØÝÐÕâ ßÐÔÐâì ÞÑàÐâÝÞ Ò áâÞàÞÝã áØÛÞÒÞÓÞ æÕÝâàÐ ßÞ âÞÙ
ÖÕ ßàïÜÞÙ. µÓÞ âàÐÕÚâÞàØî ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ßàÕÔÕÛìÝëÙ áÛãçÐÙ áØÛìÝÞ
�áßÛîéÕÝÝÞÓÞ� íÛÛØßáÐ, ÒëàÞÔØÒèÕÓÞáï Ò ÞâàÕ×ÞÚ ßàïÜÞÙ Þâ áØÛÞÒÞÓÞ æÕÝâàÐ F1

ÔÞ âÞçÚØ N ÝÐØÑÞÛìèÕÓÞ ãÔÐÛÕÝØï. ÄÞÚãáë íâÞÓÞ ÒëàÞÖÔÕÝÝÞÓÞ íÛÛØßáÐ áÞÒßÐ-
ÔÐîâ á ÚÞÝæÐÜØ ÞâàÕ×ÚÐ (â. Õ. ÝÐåÞÔïâáï Ò áØÛÞÒÞÜ æÕÝâàÕ Ø âÞçÚÕ ÝÐØÑÞÛìèÕÓÞ
ãÔÐÛÕÝØï). ¾çÕÒØÔÝÞ, çâÞ âÞçÚÐ ÝÐØÑÞÛìèÕÓÞ ãÔÐÛÕÝØï N ßàØÝÐÔÛÕÖØâ ØáÚÞÜÞÙ
ÓàÐÝØæÕ. ÀÐááâÞïÝØÕ rmax ÔÞ ÝÕÕ Þâ áØÛÞÒÞÓÞ æÕÝâàÐ ÝÐÙÔÕÜ, ßàØàÐÒÝØÒÐï ×ÝÐçÕÝØï
íÝÕàÓØØ Ò íâÞÙ âÞçÚÕ N Ø Ò ÝÐçÐÛìÝÞÙ âÞçÚÕ:

v2
0

2
− GM

r0

= −GM

rmax

, â. Õ. 1

rmax

=
1

r0

− v2
0

2GM
.

² ßÞáÛÕÔÝÕÙ äÞàÜãÛÕ ãÔÞÑÝÞ ÒëàÐ×Øâì ÓàÐÒØâÐæØÞÝÝëÙ ßÐàÐÜÕâà ßÛÐÝÕâë GM çÕ-
àÕ× áÚÞàÞáâì ÞáÒÞÑÞÖÔÕÝØï vesc ÔÛï ÝÐçÐÛìÝÞÙ âÞçÚØ (v2

esc = 2GM/r0):

1

rmax

=
1

r0

(
1− v2

0

v2
esc

)
; rmax =

r0

1− (v0/vesc)2
.

² áÛãçÐÕ v0 = vcirc íâÐ äÞàÜãÛÐ ÔÐÕâ rmax = 2r0 � àÐááâÞïÝØÕ ÔÞ âÞçÚØ ÝÐØÑÞÛì-
èÕÓÞ ãÔÐÛÕÝØï ÒÔÒÞÕ ÑÞÛìèÕ àÐááâÞïÝØï r0 ÔÞ ÝÐçÐÛìÝÞÙ âÞçÚØ. µéÕ ÞÔÝÐ âÞçÚÐ
ØáÚÞÜÞÙ ÓàÐÝØæë áÞÒßÐÔÐÕâ á ÐßÞÓÕÕÜ (ØÛØ á ßÕàØÓÕÕÜ ßàØ v0 < vcirc) A íÛÛØß-
âØçÕáÚÞÙ ÞàÑØâë áßãâÝØÚÐ, ÒëÛÕâÐîéÕÓÞ Ø× ÝÐçÐÛìÝÞÙ âÞçÚØ Ò ßÕàßÕÝÔØÚãÛïàÝÞÜ
àÐÔØãáã-ÒÕÚâÞàã ÝÐßàÐÒÛÕÝØØ. ÀÐááâÞïÝØÕ rA ÔÞ ÝÕÕ Þâ æÕÝâàÐ ·ÕÜÛØ ÞßàÕÔÕÛïÕâáï
äÞàÜãÛÞÙ (10).
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ÀØá. 14: º ÝÐåÞÖÔÕÝØî ÞÓØÑÐîéÕÙ áÕÜÕÙáâÒÐ íÛÛØßâØçÕáÚØå ÞàÑØâ áßãâÝØÚÞÒ, àÐ×ÛÕâÐî-
éØåáï Ø× ÞÔÝÞÙ âÞçÚØ á ÞÔØÝÐÚÞÒëÜØ áÚÞàÞáâïÜØ.

´ÞÚÐÖÕÜ, çâÞ ØáÚÞÜÐï ÓàÐÝØæÐ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ íÛÛØßá (Ò ßàÞáâàÐÝáâÒÕ �
íÛÛØßáÞØÔ ÒàÐéÕÝØï), ÚÞÝæë ÑÞÛìèÞÙ ÞáØ ÚÞâÞàÞÓÞ ÝÐåÞÔïâáï Ò ÝÐÙÔÕÝÝëå Òë-
èÕ âÞçÚÐå N Ø A, Ð äÞÚãáë � Ò ÝÐçÐÛìÝÞÙ âÞçÚÕ S Ø Ò áØÛÞÒÞÜ æÕÝâàÕ F1 (áÜ.
àØá. 14, a). ÄÞàÜã ÓàÐÝØæë ÜÞÖÝÞ ÞßàÕÔÕÛØâì áÛÕÔãîéØÜ ÓÕÞÜÕâàØçÕáÚØÜ ßÞáâàÞ-
ÕÝØÕÜ. ¿àÕÖÔÕ ÒáÕÓÞ ÞßàÕÔÕÛØÜ ßÞÛÞÖÕÝØÕ äÞÚãáÞÒ ÒáÕå ÞàÑØâ àÐááÜÐâàØÒÐÕÜÞÓÞ
áÕÜÕÙáâÒÐ. ¾ÔØÝ äÞÚãá ã ÒáÕå ÞàÑØâ ÞÑéØÙ Ø àÐáßÞÛÞÖÕÝ Ò æÕÝâàÕ ·ÕÜÛØ. ¼ÝÞ-
ÖÕáâÒÞ ÒâÞàëå äÞÚãáÞÒ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÞÚàãÖÝÞáâì, æÕÝâà ÚÞâÞàÞÙ ÝÐåÞÔØâáï
Ò ÝÐçÐÛìÝÞÙ âÞçÚÕ S, Ð àÐÔØãá àÐÒÕÝ àÐááâÞïÝØî SN Þâ íâÞÙ ÝÐçÐÛìÝÞÙ âÞçÚØ ÔÞ
âÞçÚØ ÝÐØÑÞÛìèÕÓÞ ãÔÐÛÕÝØï N . ² áÐÜÞÜ ÔÕÛÕ, ÔÛï ÛîÑÞÙ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë
ÔÐÝÝÞÓÞ áÕÜÕÙáâÒÐ áãÜÜÐ àÐááâÞïÝØÙ ÔÞ ÚÐÖÔÞÙ âÞçÚØ Þâ ÕÕ äÞÚãáÞÒ ØÜÕÕâ ÞÔÝÞ Ø
âÞ ÖÕ ×ÝÐçÕÝØÕ, àÐÒÝÞÕ ÔÛØÝÕ ÑÞÛìèÞÙ ÞáØ ÞàÑØâë. ±ÞÛìèØÕ ÞáØ ã ÒáÕå ÞàÑØâ, ÚÐÚ
ãÖÕ ÞâÜÕçÐÛÞáì ÒëèÕ, ÞÔØÝÐÚÞÒë Ø àÐÒÝë ÔÛØÝÕ rmax ÞâàÕ×ÚÐ F1N , ÚÞâÞàëÙ ÜÞÖÝÞ
àÐááÜÐâàØÒÐâì ÚÐÚ ÑÞÛìèãî Þáì ßàÕÔÕÛìÝÞ áßÛîéÕÝÝÞÓÞ íÛÛØßáÐ, áÞÞâÒÕâáâÒãî-
éÕÓÞ ÞàÑØâÕ ÒëÛÕâÕÒèÕÓÞ Ò ÝÐßàÐÒÛÕÝØØ âÞçÚØ N áßãâÝØÚÐ. ²áÕ ÞàÑØâë áÕÜÕÙáâÒÐ
ßàÞåÞÔïâ çÕàÕ× âÞçÚã S; àÐááâÞïÝØÕ Þâ ÝÕÕ ÔÞ äÞÚãáÐ F1 ã ÒáÕå ÞàÑØâ àÐÒÝÞ r0. ¿Þ-
íâÞÜã àÐááâÞïÝØÕ Þâ S ÔÞ ÒâÞàÞÓÞ äÞÚãáÐ F2 âÞÖÕ ÔÞÛÖÝÞ Ñëâì ÞÔØÝÐÚÞÒÞ ÔÛï ÒáÕå
ÞàÑØâ. ¾âáîÔÐ Ø áÛÕÔãÕâ, çâÞ ÒâÞàëÕ äÞÚãáë áÕÜÕÙáâÒÐ ÞàÑØâ ÛÕÖÐâ ÝÐ ÞÚàãÖÝÞ-
áâØ àÐÔØãáÐ SN á æÕÝâàÞÜ Ò ÝÐçÐÛìÝÞÙ âÞçÚÕ S.

´ÐÛÕÕ áÔÕÛÐÕÜ áÛÕÔãîéÕÕ ÒáßÞÜÞÓÐâÕÛìÝÞÕ ßÞáâàÞÕÝØÕ: ßàÞÒÕÔÕÜ çÕàÕ× ÝÐØÑÞ-
ÛÕÕ ãÔÐÛÕÝÝãî Þâ áØÛÞÒÞÓÞ æÕÝâàÐ âÞçÚã N ØáÚÞÜÞÙ ÓàÐÝØæë ÞÚàãÖÝÞáâì àÐÔØãáÞÜ
rmax á æÕÝâàÞÜ Ò æÕÝâàÕ ·ÕÜÛØ F1 (áÜ. àØá. 14, b). ¿ÞáâÐÒØÜ âÕßÕàì âÐÚãî ×ÐÔÐ-
çã: ÝÐÙâØ ÞàÑØâã, ßàÞåÞÔïéãî çÕàÕ× ßàÞØ×ÒÞÛìÝãî ×ÐÔÐÝÝãî âÞçÚã M . ²ëÑàÐÒ íâã
âÞçÚã Ò ÚÐçÕáâÒÕ æÕÝâàÐ, ßàÞÒÕÔÕÜ ÞÚàãÖÝÞáâì, ÚÐáÐîéãîáï ßÞáâàÞÕÝÝÞÙ ÒëèÕ
ÞÚàãÖÝÞáâØ àÐÔØãáÐ rmax (áÜ. àØá. 14, b). »ÕÓÚÞ ÒØÔÕâì, çâÞ ÒâÞàÞÙ äÞÚãá ØáÚÞÜÞÙ
ÞàÑØâë ÔÞÛÖÕÝ ßàØÝÐÔÛÕÖÐâì íâÞÙ ÞÚàãÖÝÞáâØ. ² áÐÜÞÜ ÔÕÛÕ, áãÜÜÐ àÐááâÞïÝØÙ
Þâ M ÔÞ äÞÚãáÞÒ Þßïâì-âÐÚØ ÔÞÛÖÝÐ Ñëâì àÐÒÝÐ rmax. ¸ Ò âÞ ÖÕ ÒàÕÜï ÒâÞàÞÙ äÞ-
Úãá ÔÞÛÖÕÝ ÛÕÖÐâì ÝÐ ãÖÕ ÝÐÙÔÕÝÝÞÙ ÒëèÕ ÞÚàãÖÝÞáâØ á æÕÝâàÞÜ Ò S. ¿àØ íâÞÜ
ÒÞ×ÜÞÖÝë áÛÕÔãîéØÕ âàØ áÛãçÐï.

1. ¾ÚàãÖÝÞáâì á æÕÝâàÞÜ Ò M ßÕàÕáÕÚÐÕâ ÞÚàãÖÝÞáâì äÞÚãáÞÒ Ò ÔÒãå âÞç-
ÚÐå, çâÞ Þ×ÝÐçÐÕâ, çâÞ áãéÕáâÒãîâ ÔÒÕ ÞàÑØâë àÐááÜÐâàØÒÐÕÜÞÓÞ áÕÜÕÙáâÒÐ,
ßàÞåÞÔïéØÕ çÕàÕ× âÞçÚã M ; ÒâÞàëÕ äÞÚãáë âÐÚØå ÞàÑØâ ÛÕÖÐâ Ò íâØå âÞçÚÐå
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ßÕàÕáÕçÕÝØï.

2. ¾ÚàãÖÝÞáâì á æÕÝâàÞÜ Ò M ÝÕ ØÜÕÕâ ÞÑéØå âÞçÕÚ á ÞÚàãÖÝÞáâìî äÞÚã-
áÞÒ, â. Õ. ÝØ ÞÔÝÐ Ø× ÞàÑØâ àÐááÜÐâàØÒÐÕÜÞÓÞ áÕÜÕÙáâÒÐ ÝÕ ßàÞåÞÔØâ çÕàÕ×
âÞçÚã M ; ÔàãÓØÜØ áÛÞÒÐÜØ, âÞçÚÐ M ÛÕÖØâ ×Ð ßàÕÔÕÛÐÜØ ØáÚÞÜÞÙ ÓàÐÝØæë.

3. ½ÐÚÞÝÕæ, ÒáßÞÜÞÓÐâÕÛìÝÐï ÞÚàãÖÝÞáâì á æÕÝâàÞÜ Ò M ÚÐáÐÕâáï ÞÚàãÖÝÞ-
áâØ äÞÚãáÞÒ, ØÜÕï á ÝÕÙ ÕÔØÝáâÒÕÝÝãî ÞÑéãî âÞçÚã (áÜ. àØá. 14, b). ÍâÞ
Þ×ÝÐçÐÕâ, çâÞ çÕàÕ× âÞçÚã M ßàÞåÞÔØâ âÞÛìÚÞ ÞÔÝÐ ÞàÑØâÐ, Ø âÐÚÐï âÞçÚÐ
ßàØÝÐÔÛÕÖØâ ØáÚÞÜÞÙ ÓàÐÝØæÕ. ² ÔÐÝÝÞÜ áÛãçÐÕ áãÜÜÐ àÐááâÞïÝØÙ Þâ M ÔÞ
F1 Ø S àÐÒÝÐ àÐÔØãáã rmax ÑÞÛìèÞÙ ÞÚàãÖÝÞáâØ á æÕÝâàÞÜ Ò F1 ßÛîá àÐÔØ-
ãá SN ÞÚàãÖÝÞáâØ ÒâÞàëå äÞÚãáÞÒ. ÂÐÚØÜ ÞÑàÐ×ÞÜ, íâÐ áãÜÜÐ ÝÕ ×ÐÒØáØâ Þâ
ÝÐßàÐÒÛÕÝØï ÝÐ âÞçÚã M . ÂÕÜ áÐÜëÜ ÔÞÚÐ×ÐÝÞ, çâÞ ÜÝÞÖÕáâÒÞ âÞçÕÚ, ÞÑàÐ-
×ãîéØå ÓàÐÝØæã ×ÐÝØÜÐÕÜÞÙ ÞàÑØâÐÜØ ÞÑÛÐáâØ, ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ íÛÛØßá
á äÞÚãáÐÜØ Ò âÞçÚÐå F1 Ø S.

¿ÞÔçÕàÚÝÕÜ, çâÞ ÞÑàÐéÕÝØÕ Ú ÓÕÞÜÕâàØçÕáÚØÜ áÒÞÙáâÒÐÜ íÛÛØßáÐ ßÞ×ÒÞÛØÛÞ
ÝÐÜ ÛÕÓÚÞ, ÑÕ× ãâÞÜØâÕÛìÝëå ÔÛØÝÝëå ÒëÚÛÐÔÞÚ, ÝÐÙâØ ÞÓØÑÐîéãî àÐááÜÐâàØÒÐÕ-
ÜÞÓÞ áÕÜÕÙáâÒÐ ÞàÑØâ.

ÍÚáæÕÝâàØáØâÕâ ÞÓØÑÐîéÕÓÞ íÛÛØßáÐ ÜÞÖÝÞ ÝÐÙâØ ÚÐÚ ÞâÝÞèÕÝØÕ àÐááâÞïÝØï
r0 ÜÕÖÔã ÕÓÞ äÞÚãáÐÜØ Ú ÑÞÛìèÞÙ ÞáØ rN + rA.

e =
r0

rN + rA

=
v2

esc − v2
0

v2
esc + v2

0

. (65)

¿àØ ãÒÕÛØçÕÝØØ ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ ÞáÚÞÛÚÞÒ ÞÓØÑÐîéÐï ßÞÒÕàåÝÞáâì àÐá-
èØàïÕâáï, Ð ÕÕ äÞàÜÐ ßàØÑÛØÖÐÕâáï Ú áäÕàØçÕáÚÞÙ. ´ÕÙáâÒØâÕÛìÝÞ, ÚÐÚ ÒØÔÝÞ Ø×
ãàÐÒÝÕÝØï (65), ÕÕ íÚáæÕÝâàØáØâÕâ e áâÐÝÞÒØâáï ÒáÕ ÜÕÝìèÕ Ø áâàÕÜØâáï Ú ÝãÛî ßÞ
ÜÕàÕ ßàØÑÛØÖÕÝØï ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ Ú áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï. µáÛØ ÝÐçÐÛì-
ÝÐï áÚÞàÞáâì v0 àÐÒÝÐ ÚàãÓÞÒÞÙ áÚÞàÞáâØ vcirc ÔÛï ÝÐçÐÛìÝÞÙ âÞçÚØ, àÐááâÞïÝØÕ
ÜÕÖÔã äÞÚãáÐÜØ ÞÓØÑÐîéÕÓÞ íÛÛØßáÐ àÐÒÝÞ ÞÔÝÞÙ âàÕâØ ÕÓÞ ÑÞÛìèÞÙ ÞáØ, â. Õ.
íÚáæÕÝâàØáØâÕâ íÛÛØßáÐ àÐÒÕÝ 1/3. µáÛØ ÝÐçÐÛìÝãî áÚÞàÞáâì ãáâàÕÜØâì Ú ÝãÛî,
íÚáæÕÝâàØáØâÕâ ÞÓØÑÐîéÕÓÞ íÛÛØßáÐ ßàØÑÛØÖÐÕâáï Ú ÕÔØÝØæÕ. ² ßàÕÔÕÛÕ ÒÕàèØ-
Ýë ÞÓØÑÐîéÕÓÞ íÛÛØßáÐ (ÚÞÝæë ÕÓÞ ÑÞÛìèÞÙ ÞáØ) áÛØÒÐîâáï á ÕÓÞ äÞÚãáÐÜØ, íÛ-
ÛØßá áâÐÝÞÒØâáï ßàÕÔÕÛìÝÞ ã×ÚØÜ Ø ÒëàÞÖÔÐÕâáï Ò ÔÒÞÙÝÞÙ ßàïÜÞÛØÝÕÙÝëÙ ÞâàÕ-
×ÞÚ, ÝÐâïÝãâëÙ ÜÕÖÔã ÝÐçÐÛìÝÞÙ âÞçÚÞÙ S Ø æÕÝâàÞÜ ·ÕÜÛØ F1. ÍâÞâ ßàÕÔÕÛìÝëÙ
áÛãçÐÙ ÒëàÞÖÔÕÝÝÞÓÞ íÛÛØßáÐ áÞÞâÒÕâáâÒãÕâ ßÐàÐÑÞÛØçÕáÚÞÙ ÞÓØÑÐîéÕÙ áÕÜÕÙ-
áâÒÐ ßÐàÐÑÞÛØçÕáÚØå âàÐÕÚâÞàØÙ ÑÐÛÛØáâØçÕáÚØå áÝÐàïÔÞÒ, ÒëßãéÕÝÝëå á ÞÔØÝÐ-
ÚÞÒÞÙ áÚÞàÞáâìî Ø× ÞÔÝÞÙ âÞçÚØ ÒÞ ÒáÕÒÞ×ÜÞÖÝëå ÝÐßàÐÒÛÕÝØïå Ø ÔÒØÖãéØåáï Ò
ÞÓàÐÝØçÕÝÝÞÙ ÞÑÛÐáâØ, Ò ßàÕÔÕÛÐå ÚÞâÞàÞÙ ßÞÛÕ âïÓÞâÕÝØï ·ÕÜÛØ ÜÞÖÝÞ áçØâÐâì
ÞÔÝÞàÞÔÝëÜ (â. Õ. Ò ßàØÑÛØÖÕÝØØ �ßÛÞáÚÞÙ� ·ÕÜÛØ).

·ÝÐÝØÕ ÞÓØÑÐîéÕÙ ßÞÒÕàåÝÞáâØ ÜÞÖÕâ ßàØÝÕáâØ ÑÞÛìèãî ßÞÛì×ã ßàØ àÕèÕÝØØ
àÐ×ÛØçÝëå ×ÐÔÐç, áÒï×ÐÝÝëå á ÞàÑØâÐÛìÝëÜ ÔÒØÖÕÝØÕÜ. ½ÐßàØÜÕà, ÜÞÖÝÞ ÛÕÓÚÞ
ÝÐÙâØ ÜØÝØÜÐÛìÝãî ÝÐçÐÛìÝãî áÚÞàÞáâì áÝÐàïÔÐ, ÝÕÞÑåÞÔØÜãî ÔÛï ßÞàÐÖÕÝØï
×ÐÔÐÝÝÞÙ ÜØèÕÝØ Ø× ÔÐÝÝÞÙ ÝÐçÐÛìÝÞÙ âÞçÚØ. ¿àÕÔßÞÛÞÖØÜ, çâÞ ßÞÛÞÖÕÝØÕ ÜØ-
èÕÝØ M (àØá. 14, b) ×ÐÔÐÝÞ ãÚÐ×ÐÝØÕÜ àÐááâÞïÝØï rM = |F1M | Þâ áØÛÞÒÞÓÞ æÕÝâàÐ
F1 (æÕÝâàÐ ·ÕÜÛØ) Ø àÐááâÞïÝØï lM = |SM | Þâ ×ÐÔÐÝÝÞÙ ÝÐçÐÛìÝÞÙ âÞçÚØ S (ÚÞâÞ-
àÐï ÝÐåÞÔØâáï ÝÐ àÐááâÞïÝØØ r0 = |F1S| Þâ áØÛÞÒÞÓÞ æÕÝâàÐ). ºÐÚÞÒÐ ÜØÝØÜÐÛìÝÐï
ÝÐçÐÛìÝÐï áÚÞàÞáâì áÝÐàïÔÐ, Ø ßÞÔ ÚÐÚØÜ ãÓÛÞÜ ÕÕ ÝãÖÝÞ ÝÐßàÐÒØâì?
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¾çÕÒØÔÝÞ, çâÞ ÝÐçÐÛìÝÐï áÚÞàÞáâì ÜØÝØÜÐÛìÝÐ, ÕáÛØ ÜØèÕÝì ÝÐåÞÔØâáï ÝÐ ÞÓØ-
ÑÐîéÕÙ ßÞÒÕàåÝÞáâØ. ÂÐÚ ÚÐÚ íâÐ ßÞÒÕàåÝÞáâì ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ íÛÛØßáÞØÔ, áãÜ-
ÜÐ àÐááâÞïÝØÙ |F1M | Ø |SM | Þâ M ÔÞ ÕÕ äÞÚãáÞÒ (âÞçÕÚ F1 Ø S) àÐÒÝÐ ÑÞÛìèÞÙ ÞáØ
íÛÛØßáÞØÔÐ: |F1M | + |SM | = rN + rA. ÁãÜÜÐ |F1M | + |SM | Ø Õáâì ÚÐÚ àÐ× áãÜ-
ÜÐ ÔÐÝÝëå àÐááâÞïÝØÙ rM Ø lM ÔÞ ÜØèÕÝØ Þâ F1 Ø S. ¾ÑÞ×ÝÐçØÜ íâã áãÜÜã çÕàÕ× b:
rM + lM = b. ÂÐÚØÜ ÞÑàÐ×ÞÜ, Üë ÔÞÛÖÝë ßàØàÐÒÝïâì ÔÐÝÝÞÕ ÝÐÜ ×ÝÐçÕÝØÕ b Ø ÑÞÛì-
èãî Þáì rN + rA, ÔÛØÝÐ ÚÞâÞàÞÙ ÑëÛÐ ÝÐÙÔÕÝÐ ÒëèÕ ßàØ ÒëÒÞÔÕ ÒëàÐÖÕÝØï (65)
ÔÛï íÚáæÕÝâàØáØâÕâÐ ÞÓØÑÐîéÕÓÞ íÛÛØßáÞØÔÐ:

b = rN + rA = r0
v2

esc + v2
0

v2
esc − v2

0

. (66)

ÀÐ×àÕèÐï ãàÐÒÝÕÝØÕ (66) ÞâÝÞáØâÕÛìÝÞ v0, Üë ßÞÛãçÐÕÜ ØáÚÞÜãî ÜØÝØÜÐÛìÝãî
ÝÐçÐÛìÝãî áÚÞàÞáâì áÝÐàïÔÐ:

v2
0min = v2

esc

b− r0

b + r0

. (67)

ÃàÐÒÝÕÝØÕ (67) ßÞÚÐ×ëÒÐÕâ, çâÞ ÔÛï ×ÐÔÐÝÝÞÓÞ ßÞÛÞÖÕÝØï ÝÐçÐÛìÝÞÙ âÞçÚØ S
ÜØÝØÜÐÛìÝÐï ÝÐçÐÛìÝÐï áÚÞàÞáâì ×ÐÒØáØâ âÞÛìÚÞ Þâ b, â. Õ. Þâ áãÜÜë àÐááâÞïÝØÙ
rM Ø lM , ÚÞâÞàëÜØ ÞßàÕÔÕÛïÕâáï ßÞÛÞÖÕÝØÕ ÜØèÕÝØ (b = rM + lM ). ÁÞÓÛÐáÝÞ
ãàÐÒÝÕÝØî (67), ÝÐçÐÛìÝÐï áÚÞàÞáâì àÐÒÝÐ ÝãÛî, ÕáÛØ b = r0, â. Õ. ÕáÛØ ÜØèÕÝì
ÝÐåÞÔØâáï ÓÔÕ-ÛØÑÞ ÝÐ ÞâàÕ×ÚÕ SF1, áÞÕÔØÝïîéÕÜ ÝÐçÐÛìÝãî âÞçÚã Ø æÕÝâà ·ÕÜÛØ.
¼ØÝØÜÐÛìÝÐï áÚÞàÞáâì v0 áâàÕÜØâáï Ú áÚÞàÞáâØ ÞáÒÞÑÞÖÔÕÝØï vesc =

√
2gR2/r ßÞ

ÜÕàÕ ãÔÐÛÕÝØï ÜØèÕÝØ Ò ÑÕáÚÞÝÕçÝÞáâì (ÚÞÓÔÐ b →∞).
ÂàÐÕÚâÞàØï áÝÐàïÔÐ, ÝÐßàÐÒÛÕÝÝÞÓÞ Ò ÜØèÕÝì M á ÜØÝØÜÐÛìÝÞÙ ÝÐçÐÛìÝÞÙ áÚÞ-

àÞáâìî, ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ ÞâàÕ×ÞÚ íÛÛØßáÐ, ßàÞåÞÔïéÕÓÞ çÕàÕ× S Ø M . ¾ÔØÝ Ø×
äÞÚãáÞÒ íâÞÓÞ ÚÕßÛÕàÞÒÐ íÛÛØßáÐ àÐáßÞÛÞÖÕÝ Ò æÕÝâàÕ ·ÕÜÛØ, Ð ÒâÞàÞÙ ÝÐåÞÔØâ-
áï ÝÐ ÞÚàãÖÝÞáâØ á æÕÝâàÞÜ Ò ÝÐçÐÛìÝÞÙ âÞçÚÕ S, àÐÔØãá ÚÞâÞàÞÙ àÐÒÕÝ |SN | (áÜ.
àØá. 14, b). ¿ÞíâÞÜã ÒâÞàÞÙ äÞÚãá ÝÐåÞÔØâáï Ò âÞçÚÕ L, ÓÔÕ ÞâàÕ×ÞÚ SM Þâ ÝÐçÐÛì-
ÝÞÙ âÞçÚØ Ú ÜØèÕÝØ ßÕàÕáÕÚÐÕâ ãÚÐ×ÐÝÝãî ÞÚàãÖÝÞáâì. ·ÝÐï ßÞÛÞÖÕÝØÕ ÞÑÞØå äÞ-
ÚãáÞÒ íÛÛØßâØçÕáÚÞÙ âàÐÕÚâÞàØØ áÝÐàïÔÐ, Üë ÛÕÓÚÞ ÝÐåÞÔØÜ ÝãÖÝÞÕ ÝÐßàÐÒÛÕÝØÕ
ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ, ØáßÞÛì×ãï ÞßâØçÕáÚÞÕ áÒÞÙáâÒÞ íÛÛØßáÐ. ¿ÞáÚÞÛìÚã Ûãç áÒÕ-
âÐ, ÒëåÞÔïéØÙ Ø× äÞÚãáÐ F1 Ò ÝÐßàÐÒÛÕÝØØ S, íÛÛØßâØçÕáÚÞÕ ×ÕàÚÐÛÞ ÞâàÐÖÐÕâ Ò
áâÞàÞÝã ÒâÞàÞÓÞ äÞÚãáÐ L, ÚÐáÐâÕÛìÝÐï Ú íÛÛØßáã Ò âÞçÚÕ S, Ø âÕÜ áÐÜëÜ Ø ÒÕÚâÞà
ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ v0min, ÝÐßàÐÒÛÕÝë ÒÔÞÛì ÑØááÕÚâàØáë ãÓÛÐ LSN (ØÛØ MSN ,
áÜ. àØá. 14, b).

ºÞÝÚàÕâÝëÕ ßàØÜÕàë âàÐÕÚâÞàØÙ, áÞÞâÒÕâáâÒãîéØå ÜØÝØÜÐÛìÝÞÙ ÝÐçÐÛìÝÞÙ
áÚÞàÞáâØ áÝÐàïÔÐ ÔÛï ×ÐÔÐÝÝëå ßÞÛÞÖÕÝØÙ ÝÐçÐÛìÝÞÙ âÞçÚØ S Ø ÜØèÕÝØ M , ßàØ-
ÒÕÔÕÝë ÝÐ àØá. 15. ¿ãáâì, ÝÐßàØÜÕà, ÝÐçÐÛìÝÐï âÞçÚÐ S àÐáßÞÛÞÖÕÝÐ ÝÐ ÒëáÞâÕ
ÞÔÝÞÙ âàÕâØ àÐÔØãáÐ ·ÕÜÛØ R ÝÐÔ ÁÕÒÕàÝëÜ ¿ÞÛîáÞÜ, Ð ÜØèÕÝì � ÝÐ íÚÒÐâÞàÕ
(àØá. 15, a). ¿ÞíâÞÜã r0 = 4

3
R, rM = R, Ø lM = 5

3
R, âÐÚ çâÞ b = 8

3
R. ´Ûï ÜØ-

ÝØÜÐÛìÝÞÙ ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ ãàÐÒÝÕÝØÕ (67) Ò íâÞÜ áÛãçÐÕ ÔÐÕâ v2
0min = 2

3
v2

circ,
v0min = 0.8165 vcirc. ¸× âàÕãÓÞÛìÝØÚÐ F1SM ÒØÔÝÞ, çâÞ áØÝãá ãÓÛÐ MSN àÐÒÕÝ 3

5
.

½ÐçÐÛìÝãî áÚÞàÞáâì v0 ÝãÖÝÞ ÝÐßàÐÒØâì ÒÔÞÛì ÑØááÕÚâàØáë íâÞÓÞ ãÓÛÐ. ÂÐÚØÜ ÞÑ-
àÐ×ÞÜ, ãÓÞÛ ÜÕÖÔã v0 Ø ÜÕáâÝÞÙ ÒÕàâØÚÐÛìî ÔÞÛÖÕÝ áÞáâÐÒÛïâì 71.565◦. ÂàÐÕÚâÞ-
àØï âÐÚÞÓÞ áÝÐàïÔÐ � íâÞ ÞâàÕ×ÞÚ íÛÛØßáÐ, äÞÚãáë ÚÞâÞàÞÓÞ àÐáßÞÛÞÖÕÝë Ò âÞç-
ÚÐå F1 (æÕÝâà ·ÕÜÛØ) Ø F2. ¿ÞáÛÕÔÝïï âÞçÚÐ ÛÕÖØâ ÝÐ ßàïÜÞÙ SM , áÞÕÔØÝïîéÕÙ
ÝÐçÐÛìÝãî âÞçÚã á ÜØèÕÝìî.
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ÀØá. 15: ¿àØÜÕàë âàÐÕÚâÞàØÙ, áÞÞâÒÕâáâÒãîéØå ÜØÝØÜÐÛìÝÞÙ ÝÐçÐÛìÝÞÙ áÚÞàÞáâØ áÝÐ-
àïÔÐ ßàØ ×ÐÔÐÝÝëå ßÞÛÞÖÕÝØïå ÝÐçÐÛìÝÞÙ âÞçÚØ S Ø ÜØèÕÝØ M .

¾âÜÕâØÜ, çâÞ Ò ÜÕáâÕ àÐáßÞÛÞÖÕÝØï ÜØèÕÝØ M (àØá. 15, a) ÞÑÐ íÛÛØßáÐ (âàÐ-
ÕÚâÞàØï Ø ÞÓØÑÐîéÐï ßÞÒÕàåÝÞáâì) ØÜÕîâ ÞÑéãî ÚÐáÐâÕÛìÝãî. ÁÞÓÛÐáÝÞ ÞßâØçÕ-
áÚÞÜã áÒÞÙáâÒã íÛÛØßáÐ, Ûãç F1M Ø× ÞÑéÕÓÞ äÞÚãáÐ F1 íâØ íÛÛØßáÞÒ ÔÞÛÖÕÝ Þâ-
àÐ×Øâìáï Ò âÞçÚÕ M Þâ ÚÐÖÔÞÙ Ø× ÚàØÒëå Ò ÝÐßàÐÒÛÕÝØØ ÕÕ ÒâÞàÞÓÞ äÞÚãáÐ, â. Õ.
Ò ÝÐßàÐÒÛÕÝØØ âÞçÕÚ F2 Ø S. ¿ÞíâÞÜã ÒáÕ âàØ âÞçÚØ (M , F2 Ø S) ÛÕÖÐâ ÝÐ ÞÔÝÞÙ
ßàïÜÞÙ MS.

µáÛØ ÖÕ ÝÐçÐÛìÝÐï âÞçÚÐ S ÝÐåÞÔØâáï ÝÐ ßÞÒÕàåÝÞáâØ ·ÕÜÛØ (àØá. 15, b), ÔÛï
âÞÙ ÖÕ áÐÜÞÙ ÜØèÕÝØ M ÝÐ íÚÒÐâÞàÕ ØÜÕÕÜ lM =

√
2R, b = (1 +

√
2)R, Ø ãàÐÒ-

ÝÕÝØÕ (67) ÔÐÕâ v0min = 0.9102 vcirc. ² íâÞÜ áÛãçÐÕ ãÓÞÛ MSN àÐÒÕÝ 135◦, âÐÚ çâÞ
ÒÕÚâÞà v0 ÔÞÛÖÕÝ áÞáâÐÒÛïâì ãÓÞÛ 67.5◦ á ÜÕáâÝÞÙ ÒÕàâØÚÐÛìî.

ÂÐÚÐï ÖÕ ßÞ ÒÕÛØçØÝÕ ÜØÝØÜÐÛìÝÐï ÝÐçÐÛìÝÐï áÚÞàÞáâì ÝÕÞÑåÞÔØÜÐ ÔÛï ßÞßÐ-
ÔÐÝØï Ò ÜØèÕÝì M ′, ÝÐåÞÔïéãîáï Ò ßàÞáâàÐÝáâÒÕ ÝÐ àÐááâÞïÝØØ R ßÞ ÓÞàØ×ÞÝâÐÛì-
ÝÞÙ ßàïÜÞÙ Þâ ÝÐçÐÛìÝÞÙ âÞçÚØ S (áÜ. àØá. 15, b). º âÐÚÞÜã ÒëÒÞÔã ÜÞÖÝÞ ßàØÙâØ
ÛØÑÞ ÐÝÐÛØâØçÕáÚØ, ØáßÞÛì×ãï ãàÐÒÝÕÝØÕ (67), ÛØÑÞ ÓÕÞÜÕâàØçÕáÚØ ÝÐ ÞáÝÞÒÐÝØØ
âÞÓÞ, çâÞ ÞÑÕ ÜØèÕÝØ M Ø M ′ ÛÕÖÐâ ÝÐ ÞÔÝÞÙ Ø âÞÙ ÖÕ ÓàÐÝØçÝÞÙ ßÞÒÕàåÝÞáâØ.
ÇâÞÑë ßÞàÐ×Øâì âÐÚãî ÜØèÕÝì, ÒÕÚâÞà v0 ÔÞÛÖÕÝ áÞáâÐÒÛïâì ãÓÞÛ 45◦ á ÒÕàâØÚÐ-
Ûìî. ¾ÑàÐâØÜ ÒÝØÜÐÝØÕ ÝÐ âÞ, çâÞ ÔÛï æÕÛÕÙ ÝÐ ßÞÒÕàåÝÞáâØ ·ÕÜÛØ ÔÐÛìÝÞáâì ßÞ-
ÛÕâÐ âÐÚÞÓÞ áÝÐàïÔÐ ÜÕÝìèÕ, çÕÜ Ò àÐááÜÞâàÕÝÝÞÜ áÛãçÐÕ áÝÐàïÔÐ, ÒëßãéÕÝÝÞÓÞ á
âÐÚÞÙ ÖÕ áÚÞàÞáâìî ßÞÔ ãÓÛÞÜ 67.5◦ Ú ÒÕàâØÚÐÛØ.

15 ¿àÕæÕááØï íÛÛØßâØçÕáÚÞÙ ÞàÑØâë íÚÒÐâÞàØÐÛì-
ÝÞÓÞ áßãâÝØÚÐ

½Ðèã ßÛÐÝÕâã ÜÞÖÝÞ áçØâÐâì áäÕàØçÕáÚØ áØÜÜÕâàØçÝÞÙ ÛØèì Ò ßÕàÒÞÜ ßàØÑÛØ-
ÖÕÝØØ. ¾áÝÞÒÝÞÕ ÞâÚÛÞÝÕÝØÕ Òë×ÒÐÝÞ �áßÛîáÝãâÞáâìî� ×ÕÜÝÞÓÞ èÐàÐ, ã ÚÞâÞàÞÓÞ
ßÞÛïàÝëÙ àÐÔØãá ÝÐ 21 ÚÜ ÚÞàÞçÕ íÚÒÐâÞàØÐÛìÝÞÓÞ. ¿ÞíâÞÜã ÓàÐÒØâÐæØÞÝÝÞÕ ßÞ-
ÛÕ ·ÕÜÛØ ÝÕ ØÜÕÕâ áâàÞÓÞÙ áäÕàØçÕáÚÞÙ áØÜÜÕâàØØ. ² ÝÕÑÕáÝÞÙ ÜÕåÐÝØÚÕ ·ÕÜÛî
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ØÝÞÓÔÐ ßàÕÔáâÐÒÛïîâ Ò ÒØÔÕ èÐàÐ á ÝÐÔÕâëÜ ÝÐ ÝÕÓÞ ßÞ íÚÒÐâÞàã ÜÐááØÒÝëÜ ÞÑ-
àãçÕÜ, â. Õ. ÒÜÕáâÞ ßÞÛïàÝÞÓÞ áÖÐâØï ØáßÞÛì×ãîâ íÚÒØÒÐÛÕÝâÝÞÕ ßàÕÔáâÐÒÛÕÝØÕ ÞÑ
íÚÒÐâÞàØÐÛìÝÞÜ �Ò×ÔãâØØ� ·ÕÜÛØ. ² ÒëàÐÖÕÝØØ ÔÛï áØÛë âïÓÞâÕÝØï, ÔÕÙáâÒãî-
éÕÙ ÝÐ áßãâÝØÚ ·ÕÜÛØ, ÑÛÐÓÞÔÐàï íÚÒÐâÞàØÐÛìÝÞÜã �ÞÑàãçã� ßàØáãâáâÒãÕâ ÔÞßÞÛ-
ÝØâÕÛìÝëÙ çÛÕÝ á ÞáÕÒÞÙ áØÜÜÕâàØÕÙ. ¿àØ ãçÕâÕ âÐÚØå ØáÚÐÖÕÝØÙ ßÞÛï âïÓÞâÕÝØï
ÔÒØÖÕÝØÕ áßãâÝØÚÐ ßàÞØáåÞÔØâ ãÖÕ ÝÕ ßÞ ÚÕßÛÕàÞÒã íÛÛØßáã, Ð ßÞ ÒÕáìÜÐ áÛÞÖÝÞÙ
âàÐÕÚâÞàØØ, Ò ÞÑéÕÜ áÛãçÐÕ ÝÕ ×ÐÜÚÝãâÞÙ Ø ÝÕ ÛÕÖÐéÕÙ Ò ÞÔÝÞÙ ßÛÞáÚÞáâØ. ¿ÞáÛÕ
áÞÒÕàèÕÝØï ÞÔÝÞÓÞ ÞÑÞàÞâÐ áßãâÝØÚ ãÖÕ ÝÕ ßÞßÐÔÐÕâ Ò ßàÕÖÝîî âÞçÚã.

15.1 ÄØ×ØçÕáÚØÕ ßàØçØÝë ßàÕæÕááØØ ÞàÑØâë
´Ûï áßãâÝØÚÐ, ÝÐåÞÔïéÕÓÞáï ÝÐ ÞçÕÝì ÑÞÛìèÞÜ àÐááâÞïÝØØ Þâ ·ÕÜÛØ, äÐÚâØçÕáÚÞÕ
àÐáßàÕÔÕÛÕÝØÕ ÜÐááë ·ÕÜÛØ ÝÕáãéÕáâÒÕÝÝÞ. ´àãÓØÜØ áÛÞÒÐÜØ, ÝÐ ÞçÕÝì ÑÞÛìèÞÜ
àÐááâÞïÝØØ ßÞÛÕ âïÓÞâÕÝØï ·ÕÜÛØ ÜÞÖÝÞ áçØâÐâì âÐÚØÜ, ÚÐÚ ÕáÛØ Ñë Òáï ÜÐááÐ
·ÕÜÛØ ÑëÛÐ áÞáàÕÔÞâÞçÕÝÐ Ò ÕÕ æÕÝâàÕ: áØÛÐ âïÓÞâÕÝØï ãÑëÒÐÕâ ÞÑàÐâÝÞ ßàÞßÞàæØ-
ÞÝÐÛìÝÞ ÚÒÐÔàÐâã àÐááâÞïÝØï. ¸áÚÐÖÕÝØÕ æÕÝâàÐÛìÝÞÓÞ ßÞÛï âïÓÞâÕÝØï ßÛÐÝÕâë,
Òë×ÒÐÝÝÞÕ ÕÕ áßÛîáÝãâÞáâìî ÒÔÞÛì ÞáØ, ÞßØáëÒÐÕâáï ÜÐÛëÜ ÔÞßÞÛÝØâÕÛìÝëÜ çÛÕ-
ÝÞÜ, ãÑëÒÐîéØÜ ÓÞàÐ×ÔÞ ÑëáâàÕÕ � ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ çÕâÒÕàâÞÙ áâÕßÕÝØ
àÐááâÞïÝØï ÔÞ æÕÝâàÐ ßÛÐÝÕâë. ´ÞßÞÛÝØâÕÛìÝÐï áØÛÐ âïÓÞâÕÝØï, ÔÕÙáâÒãîéÐï ÝÐ
áßãâÝØÚ áÞ áâÞàÞÝë ÜÐááØÒÝÞÓÞ íÚÒÐâÞàØÐÛìÝÞÓÞ �ÞÑàãçÐ�, Ò ÞÑéÕÜ áÛãçÐÕ ÝÕ ÝÐ-
ßàÐÒÛÕÝÐ Ú æÕÝâàã ÞÑàãçÐ. ¿ÞíâÞÜã ßÞÛÝÐï áØÛÐ âïÓÞâÕÝØï åÐàÐÚâÕàØ×ãÕâáï âÞÛìÚÞ
ÞáÕÒÞÙ (Ð ÝÕ áäÕàØçÕáÚÞÙ) áØÜÜÕâàØÕÙ.

ºÞÓÔÐ ØáÚÐÖÕÝØï áäÕàØçÕáÚØ áØÜÜÕâàØçÝÞÓÞ ßÞÛï âïÓÞâÕÝØï ÝÕÒÕÛØÚØ, ãÔÞÑÝÞ
áçØâÐâì, çâÞ áßãâÝØÚ ÔÒØÖÕâáï ßÞ íÛÛØßáã, ÝÞ áÐÜ íâÞâ íÛÛØßá ÝÕßàÕàëÒÝÞ Ø×ÜÕ-
ÝïÕâáï. ÂÐÚãî ÚÕßÛÕàÞÒã ÞàÑØâã á ßÞáâÕßÕÝÝÞ Ø×ÜÕÝïîéØÜØáï ßÐàÐÜÕâàÐÜØ »Ð-
ÓàÐÝÖ ÝÐ×ÒÐÛ ÞáÚãÛØàãîéÕÙ. ¸×-×Ð ÞâáãâáâÒØï áäÕàØçÕáÚÞÙ áØÜÜÕâàØØ ßÛÞáÚÞáâì
ÞáÚãÛØàãîéÕÙ ÞàÑØâë ßÞáâÕßÕÝÝÞ ßÞÒÞàÐçØÒÐÕâáï Ò ßàÞáâàÐÝáâÒÕ. ¿àØ íâÞÜ ãÓÞÛ
ÜÕÖÔã Þáìî ·ÕÜÛØ Ø ßÛÞáÚÞáâìî ÞàÑØâë ÞáâÐÕâáï ÝÕØ×ÜÕÝÝëÜ, â. Õ. ßÛÞáÚÞáâì Þà-
ÑØâë ÜÕÔÛÕÝÝÞ ßàÕæÕááØàãÕâ ÒÞÚàãÓ ×ÕÜÝÞÙ ÞáØ.

¿àØ ÔÒØÖÕÝØØ Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ ßÛÐÝÕâë ×ÐÔÐçÐ ãßàÞéÐÕâáï, ØÑÞ
ÔÞßÞÛÝØâÕÛìÝÐï áØÛÐ ßàØâïÖÕÝØï áßãâÝØÚÐ �ÞÑàãçÕÜ� ÝÐßàÐÒÛÕÝÐ Ú æÕÝâàã, â. Õ.
ÚÐÚ Ø Ò áÛãçÐÕ áäÕàØçÕáÚØ áØÜÜÕâàØçÝÞÙ ßÛÐÝÕâë ×ÐÒØáØâ âÞÛìÚÞ Þâ àÐááâÞïÝØï
r ÔÞ æÕÝâàÐ ßÛÐÝÕâë. ½Þ íâÐ ×ÐÒØáØÜÞáâì áâÐÝÞÒØâáï ÑÞÛÕÕ áÛÞÖÝÞÙ, âÐÚ ÚÐÚ Ú
ÓÛÐÒÝÞÜã çÛÕÝã, ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞÜã ÚÒÐÔàÐâã àÐááâÞïÝØï, ÔÞÑÐÒÛïÕâáï
ÝÕÑÞÛìèÞÙ çÛÕÝ, ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝëÙ çÕâÒÕàâÞÙ áâÕßÕÝØ àÐááâÞïÝØï r:

Fr = −G
mM

r2

(
1 + b

R2

r2

)
. (68)

² íâÞÙ äÞàÜãÛÕ G � ÓàÐÒØâÐæØÞÝÝÐï ßÞáâÞïÝÝÐï, m � ÜÐááÐ áßãâÝØÚÐ, M �
ÜÐááÐ ßÛÐÝÕâë, R � ÕÕ íÚÒÐâÞàØÐÛìÝëÙ àÐÔØãá. ·ÝÐçÕÝØÕ ÑÕ×àÐ×ÜÕàÝÞÙ ÚÞÝáâÐÝ-
âë b ×ÐÒØáØâ Þâ áâÕßÕÝØ �áßÛîáÝãâÞáâØ� ßÛÐÝÕâë: ÞÝÞ àÐÒÝÞ ÞâÝÞèÕÝØî ÔÞßÞÛ-
ÝØâÕÛìÝÞÓÞ çÛÕÝÐ áØÛë âïÓÞâÕÝØï Ú ÓÛÐÒÝÞÜã (ÝÕÒÞ×ÜãéÕÝÝÞÜã ÝìîâÞÝÞÒáÚÞÜã)
çÛÕÝã ÝÐ àÐááâÞïÝØØ R Þâ æÕÝâàÐ ßÛÐÝÕâë. ² áÛãçÐÕ ÞáÕÒÞÓÞ áÖÐâØï ßÛÐÝÕâë ÚÞÝ-
áâÐÝâÐ b ßÞÛÞÖØâÕÛìÝÐ (b > 0). µáÛØ, ÝÐßàØÜÕà, ÝÕÚÞâÞàÐï çÐáâì ∆m ßÞÛÝÞÙ ÜÐá-
áë M áÞáàÕÔÞâÞçÕÝÐ Ò íÚÒÐâÞàØÐÛìÝÞÜ ßÞïáÕ, íâÞâ ßÐàÐÜÕâà ÔÐÕâáï ÒëàÐÖÕÝØÕÜ
b = (3/4)∆m/M (áÜ. áÛÕÔãîéØÙ àÐ×ÔÕÛ). Ã ·ÕÜÛØ �áßÛîáÝãâÞáâì� ÝÕÒÕÛØÚÐ: ×ÝÐ-
çÕÝØÕ ÑÕ×àÐ×ÜÕàÝÞÙ ßÞáâÞïÝÝÞÙ b Ò ãàÐÒÝÕÝØØ (68) áÞáâÐÒÛïÕâ ÒáÕÓÞ ÛØèì 0.0016.
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´Ûï ÓØßÞâÕâØçÕáÚÞÙ ßÛÐÝÕâë, ÒëâïÝãâÞÙ ÒÔÞÛì ÞáØ (ßÞåÞÖÕÙ ÝÐ Üïç ÔÛï àÕÓ-
ÑØ), ÚÞÝáâÐÝâÐ b ÞâàØæÐâÕÛìÝÐ (b < 0). ² ßÞáÛÕÔÝÕÜ áÛãçÐÕ ÜÞÖÝÞ ßàÕÔáâÐÒÛïâì
áÕÑÕ ßÛÐÝÕâã Ò ÒØÔÕ èÐàÐ á ÔÞßÞÛÝØâÕÛìÝëÜØ âÞçÕçÝëÜØ ÜÐááÐÜØ ÝÐ ßÞÛîáÐå �
áÒÞÕÓÞ àÞÔÐ ßÞÛïàÝëÜØ �èÐßÚÐÜØ.� ² ßÕàÒÞÜ áÛãçÐÕ ÔÞßÞÛÝØâÕÛìÝëÙ çÛÕÝ ãáØ-
ÛØÒÐÕâ ßàØâïÖÕÝØÕ íÚÒÐâÞàØÐÛìÝÞÓÞ áßãâÝØÚÐ Ú ßÛÐÝÕâÕ ÝÐ ÜÐÛëå àÐááâÞïÝØïå, Ð
ÒÞ ÒâÞàÞÜ ÞáÛÐÑÛïÕâ (ßÞ áàÐÒÝÕÝØî áÞ áÛãçÐÕÜ áäÕàØçÕáÚØ áØÜÜÕâàØçÝÞÓÞ àÐá-
ßàÕÔÕÛÕÝØï ÜÐáá, ÚÞÓÔÐ Òáî ÜÐááã ßÛÐÝÕâë ÜÞÖÝÞ áçØâÐâì áÞáàÕÔÞâÞçÕÝÝÞÙ Ò ÕÕ
æÕÝâàÕ).

¿ÞáÚÞÛìÚã Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ ßÛÐÝÕâë áØÛÐ âïÓÞâÕÝØï ×ÐÒØáØâ âÞÛì-
ÚÞ Þâ àÐááâÞïÝØï r, ÜÞÜÕÝâ ØÜßãÛìáÐ íÚÒÐâÞàØÐÛìÝÞÓÞ áßãâÝØÚÐ áÞåàÐÝïÕâáï, Ø
áßãâÝØÚ ÞßØáëÒÐÕâ ßÛÞáÚãî âàÐÕÚâÞàØî, ÚÞâÞàÐï Ò ÞÑéÕÜ áÛãçÐÕ ÝÕ ÑãÔÕâ ×ÐÜÚÝã-
âÞÙ ÚàØÒÞÙ. ´ÒØÖÕÝØÕ ßÞ âÐÚÞÙ âàÐÕÚâÞàØØ ßàÞØáåÞÔØâ Ò áÞÞâÒÕâáâÒØØ áÞ ÒâÞàëÜ
×ÐÚÞÝÞÜ ºÕßÛÕàÐ, â. Õ. àÐÔØãá-ÒÕÚâÞà ×Ð àÐÒÝëÕ ßàÞÜÕÖãâÚØ ÒàÕÜÕÝØ ÞßØáëÒÐÕâ
àÐÒÝëÕ ßÛÞéÐÔØ.

ºÐÚ ãÖÕ ÑëÛÞ áÚÐ×ÐÝÞ, ÔÛï áßãâÝØÚÐ, ÝÐåÞÔïéÕÓÞáï ÝÐ ÞçÕÝì ÑÞÛìèÞÜ àÐááâÞ-
ïÝØØ Þâ ·ÕÜÛØ, ÞâÚÛÞÝÕÝØÕ ßÞÛï âïÓÞâÕÝØï Þâ ×ÐÚÞÝÐ ÞÑàÐâÝëå ÚÒÐÔàÐâÞÒ Ø×-×Ð
ØáÚÐÖÕÝØï äÞàÜë ßÛÐÝÕâë ÝÕÒÕÛØÚÞ. ¿ÞíâÞÜã ÝÐ ÑÞÛìèØå àÐááâÞïÝØïå áßãâÝØÚ
ÔÒØÖÕâáï ßÞçâØ ßÞ ÚÕßÛÕàÞÒã íÛÛØßáã. ½Þ ÝÐÛØçØÕ ÔÞßÞÛÝØâÕÛìÝÞÓÞ çÛÕÝÐ ã áØÛë
âïÓÞâÕÝØï, ÑëáâàÕÕ (ßÞ áàÐÒÝÕÝØî á ÞáÝÞÒÝëÜ) ãÑëÒÐîéÕÓÞ á àÐááâÞïÝØÕÜ, ×ÐÜÕâ-
ÝÞ áÚÐ×ëÒÐÕâáï ÝÐ áØÛìÝÞ ÒëâïÝãâëå ÞàÑØâÐå áßãâÝØÚÞÒ á ÝØ×ÚØÜ ßÕàØÓÕÕÜ, Òë-
×ëÒÐï ßÞáâÕßÕÝÝëÙ ßÞÒÞàÞâ ÑÞÛìèÞÙ ÞáØ íÛÛØßáÐ ÒÞÚàãÓ äÞÚãáÐ ßàØ ÝÕØ×ÜÕÝÝëå
ÜÐÚáØÜÐÛìÝÞÜ Ø ÜØÝØÜÐÛìÝÞÜ àÐááâÞïÝØïå Þâ æÕÝâàÐ ßÛÐÝÕâë. ÂÐÚÞÙ ÝÕßàÕàëÒ-
ÝëÙ ßÞÒÞàÞâ ÞàÑØâë ÞÑëçÝÞ ÝÐ×ëÒÐîâ ßàÕæÕááØÕÙ.

½ÐÑÛîÔÐÕÜÐï Ò ÜÞÔÕÛØàãîéÕÜ íÚáßÕàØÜÕÝâÕ ßàÕæÕááØï íÚÒÐâÞàØÐÛìÝÞÙ Þà-
ÑØâë Ò ßÞÛÕ âïÓÞâÕÝØï �áßÛîáÝãâÞÙ� ßÛÐÝÕâë ØÛÛîáâàØàãÕâáï ÝÐ àØá. 16. ÇâÞÑë
íääÕÚâ ÑëÛ ÑÞÛÕÕ ×ÐÜÕâÕÝ, ßàØ ÜÞÔÕÛØàÞÒÐÝØØ ÜÞÖÝÞ ×ÐÔÐÒÐâì ãâàØàÞÒÐÝÝÞ ÑÞÛì-
èØÕ ×ÝÐçÕÝØï (ßÞàïÔÚÐ ÕÔØÝØæë) ÑÕ×àÐ×ÜÕàÝÞÓÞ ßÐàÐÜÕâàÐ b, åÐàÐÚâÕàØ×ãîéÕÓÞ
ÝÕáäÕàØçÝÞáâì ßÛÐÝÕâë Ø ÒåÞÔïéÕÓÞ Ò ÔÞßÞÛÝØâÕÛìÝëÙ çÛÕÝ áØÛë ßàØâïÖÕÝØï Ò
ãàÐÒÝÕÝØØ (68).

ºÐçÕáâÒÕÝÝÞÕ ÞÑêïáÝÕÝØÕ ßàÕæÕááØØ ÒëâïÝãâÞÙ ÞàÑØâë ×ÐÚÛîçÐÕâáï Ò áÛÕÔãî-
éÕÜ. ¿Þ ÜÕàÕ ßàØÑÛØÖÕÝØï Ú ßÛÐÝÕâÕ àÞÛì ÔÞßÞÛÝØâÕÛìÝÞÓÞ çÛÕÝÐ áØÛë âïÓÞâÕÝØï
ÒÞ×àÐáâÐÕâ (ÞÝ áØÛìÝÕÕ ×ÐÒØáØâ Þâ àÐááâÞïÝØï). ²ÑÛØ×Ø ßÛÐÝÕâë áØÛÐ âïÓÞâÕÝØï
Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ ÑÞÛìèÕ, çÕÜ Ò áÛãçÐÕ èÐàÞÞÑàÐ×ÝÞÙ ßÛÐÝÕâë âÐÚÞÙ
ÖÕ ÜÐááë, Ø áÞÞâÒÕâáâÒÕÝÝÞ áÞÞÑéÐÕÜÞÕ íâÞÙ áØÛÞÙ áßãâÝØÚã ãáÚÞàÕÝØÕ ÑÞÛìèÕ,
çÕÜ ÝÕÞÑåÞÔØÜÞ ÔÛï ÔÒØÖÕÝØï ßÞ ÚÕßÛÕàÞÒã íÛÛØßáã. ² àÕ×ãÛìâÐâÕ ÒÑÛØ×Ø ßÛÐÝÕ-
âë âàÐÕÚâÞàØï ØáÚàØÒÛïÕâáï áØÛìÝÕÕ, çâÞ ÜÞÖÝÞ âàÐÚâÞÒÐâì ÚÐÚ ßÞÒÞàÞâ ÑÞÛìèÞÙ
ÞáØ íÛÛØßáÐ ÒÞÚàãÓ æÕÝâàÐ ßÛÐÝÕâë. ÂÐÚÞÙ ßÞÒÞàÞâ, ÚÐÚ ÛÕÓÚÞ ÒØÔÕâì, ßàÞØáåÞÔØâ
Ò ÝÐßàÐÒÛÕÝØØ ÞàÑØâÐÛìÝÞÓÞ ÔÒØÖÕÝØï áßãâÝØÚÐ. Ã ·ÕÜÛØ àÕÐÛìÝÐï áßÛîáÝãâÞáâì
ÜÐÛÐ, ßÞíâÞÜã ÑÞÛìèÐï Þáì íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ×Ð ÞÔØÝ ÞÑÞàÞâ áßãâÝØÚÐ ßÞÒÞ-
àÐçØÒÐÕâáï ÝÐ ÞçÕÝì ÜÐÛëÙ ãÓÞÛ, ÞÔÝÐÚÞ íâÞâ íääÕÚâ ÝÐÚÐßÛØÒÐÕâáï ×Ð ÑÞÛìèÞÕ
çØáÛÞ ÞÑÞàÞâÞÒ ßÞ ÞàÑØâÕ.

½Ð àØá. 16 âÞÝÚØÜØ ÛØÝØïÜØ ßÞÚÐ×ÐÝë ÞáÚãÛØàãîéØÕ íÛÛØßáë ÔÛï âàÕå âÞçÕÚ
âàÐÕÚâÞàØØ (S, A Ø B) Ø ÒÕÚâÞàë áÚÞàÞáâØ Ò íâØå âÞçÚÐå. µáÛØ Ñë ÔÞßÞÛÝØâÕÛìÝëÙ
çÛÕÝ Ò ÒëàÐÖÕÝØØ ÔÛï áØÛë âïÓÞâÕÝØï ÒÝÕ×ÐßÝÞ ØáçÕ×, ÒáÕ ßÐàÐÜÕâàë ÞáÚãÛØàã-
îéÕÓÞ íÛÛØßáÐ Ò ÔÐÛìÝÕÙèÕÜ ÞáâÐÒÐÛØáì Ñë ÝÕØ×ÜÕÝÝëÜØ, Ø ÔÒØÖÕÝØÕ áßãâÝØÚÐ
ßàÞØáåÞÔØÛÞ Ñë ßÞ íÛÛØßáã, ÚÐáÐîéÕÜãáï ÔÕÙáâÒØâÕÛìÝÞÙ âàÐÕÚâÞàØØ Ò àÐááÜÐâ-
àØÒÐÕÜÞÙ âÞçÚÕ. ÍâÞâ íÛÛØßá ÔÐÕâ ßàÕÔáâÐÒÛÕÝØÕ Þ åÐàÐÚâÕàÕ ØáâØÝÝÞÙ âàÐÕÚâÞàØØ
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ÀØá. 16: ¿àÕæÕááØï ÞàÑØâë íÚÒÐâÞàØÐÛìÝÞÓÞ áßãâÝØÚÐ �áßÛîáÝãâÞÙ� ßÛÐÝÕâë.

ßÞ ÚàÐÙÝÕÙ ÜÕàÕ ÔÛï ÝÕÚÞâÞàÞÙ ÞÚàÕáâÝÞáâØ ÔÐÝÝÞÙ âÞçÚØ.
¾áÚãÛØàãîéØÕ íÛÛØßáë, ßÞáâàÞÕÝÝëÕ ÔÛï àÐ×Ýëå âÞçÕÚ ØáâØÝÝÞÙ âàÐÕÚâÞàØØ,

àÐ×ÛØçÐîâáï ÝÕ âÞÛìÚÞ ÞàØÕÝâÐæØïÜØ ÑÞÛìèØå ÞáÕÙ, ÝÞ Ø ÔàãÓØÜØ ßÐàÐÜÕâàÐÜØ.
² çÐáâÝÞáâØ, ÞáÚãÛØàãîéØÙ íÛÛØßá ÔÛï ÐßÞÓÕï ØÜÕÕâ ÑÞÛÕÕ ÚÞàÞâÚãî ÑÞÛìèãî
Þáì, çÕÜ íÛÛØßá ÔÛï ßÕàØÓÕï. ½Þ Ò ßàÞâØÒÞßÞÛÞÖÝÞáâì ÞàØÕÝâÐæØØ ÑÞÛìèÞÙ ÞáØ
íÛÛØßáÐ, ÚÞâÞàÐï Ø×ÜÕÝïÕâáï ßàØ ÞÑàÐéÕÝØØ áßãâÝØÚÐ ÒáÕ ÒàÕÜï Ò ÞÔÝÞÜ ÝÐßàÐÒ-
ÛÕÝØØ, ÔàãÓØÕ ßÐàÐÜÕâàë ÞáÚãÛØàãîéÕÓÞ íÛÛØßáÐ Ø×ÜÕÝïîâáï ßÕàØÞÔØçÕáÚØÜ ÞÑ-
àÐ×ÞÜ. ² àÕ×ãÛìâÐâÕ ã áÛÞÖÝÞÙ âàÐÕÚâÞàØØ, ßÞàÞÖÔÐÕÜÞÙ âÐÚØÜ áØáâÕÜÐâØçÕáÚØÜ
ßÞÒÞàÞâÞÜ ÝÐßàÐÒÛÕÝØï Ø ßÕàØÞÔØçÕáÚØÜØ ÒÐàØÐæØïÜØ ÔÛØÝë ÑÞÛìèÞÙ ÞáØ ÞáÚã-
ÛØàãîéÕÓÞ íÛÛØßáÐ, ÜØÝØÜÐÛìÝÞÕ Ø ÜÐÚáØÜÐÛìÝÞÕ àÐááâÞïÝØï áßãâÝØÚÐ Þâ æÕÝâàÐ
ßÛÐÝÕâë ÝÕ Ø×ÜÕÝïîâáï Þâ ÒØâÚÐ Ú ÒØâÚã.

´ÕÙáâÒØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ áßãâÝØÚÐ åÐàÐÚâÕàØ×ãÕâáï ÔÒãÜï ßÕàØÞÔÐÜØ: ÞÔÝØÜ
ÔÛï àÐÔØÐÛìÝÞÓÞ ÔÒØÖÕÝØï ÜÕÖÔã ÜÐÚáØÜÐÛìÝëÜ Ø ÜØÝØÜÐÛìÝëÜ ãÔÐÛÕÝØïÜØ Þâ
æÕÝâàÐ (ÔÛï ßÕàØÞÔØçÕáÚØå Ø×ÜÕÝÕÝØÙ ÜÞÔãÛï àÐÔØãáÐ-ÒÕÚâÞàÐ), Ø ÔàãÓØÜ � ÔÛï
ßÞÛÝÞÓÞ ÞÑÞàÞâÐ àÐÔØãáÐ-ÒÕÚâÞàÐ. ² ÞÑéÕÜ áÛãçÐÕ íâØ ßÕàØÞÔë ÝÕáÞØ×ÜÕàØÜë, Ø
ÜÝÞÓÞÛÕßÕáâÚÞÒÐï âàÐÕÚâÞàØï ÒáîÔã ßÛÞâÝÞ ×ÐßÞÛÝïÕâ ÚÞÛìæÕÒãî ÞÑÛÐáâì ÜÕÖÔã
ÞÚàãÖÝÞáâïÜØ, ßÞÚÐ×ÐÝÝëÜØ èâàØåÞÒëÜØ ÛØÝØïÜØ ÝÐ àØá. 16. �ÇãÔÞ� ×ÐÜÚÝãâëå
ÚÕßÛÕàÞÒëå íÛÛØßâØçÕáÚØå ÞàÑØâ ÞÑãáÛÞÒÛÕÝÞ âÞçÝëÜ áÞÒßÐÔÕÝØÕÜ íâØå ÔÒãå ßÕ-
àØÞÔÞÒ ßàØ ÔÒØÖÕÝØØ ßÞÔ ÔÕÙáâÒØÕÜ æÕÝâàÐÛìÝÞÙ áØÛë âïÓÞâÕÝØï, ãÑëÒÐîéÕÙ ÞÑ-
àÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ ÚÒÐÔàÐâã àÐááâÞïÝØï.

ÍääÕÚâ ßàÕæÕááØØ ÑÞÛìèÞÙ ÞáØ ÒëàÐÖÕÝ áØÛìÝÕÕ ÔÛï ÞàÑØâ á ÑÞÛìèØÜØ íÚá-
æÕÝâàØáØâÕâÐÜØ. ´Ûï ßÞÛãçÕÝØï âÐÚØå ÒëâïÝãâëå ÞàÑØâ ßàØ ÜÞÔÕÛØàÞÒÐÝØØ ÝãÖÝÞ
×ÐÔÐÒÐâì ÝÐçÐÛìÝãî áÚÞàÞáâì, ×ÝÐçØâÕÛìÝÞ ÞâÛØçÐîéãîáï Þâ ÚàãÓÞÒÞÙ áÚÞàÞáâØ
ÔÛï ÒëÑàÐÝÝÞÙ ÝÐçÐÛìÝÞÙ ÒëáÞâë. ÂàÐÕÚâÞàØï áßãâÝØÚÐ ÒëÓÛïÔØâ ÚÐÚ ÜÝÞÓÞÛÕ-
ßÕáâÚÞÒëÙ æÒÕâÞÚ, ÛÕßÕáâÚØ ÚÞâÞàÞÓÞ ßÞáâÕßÕÝÝÞ ×ÐßÞÛÝïîâ Òáî ÚÞÛìæÕÒãî ÞÑ-
ÛÐáâì. ¾ÔÝÐÚÞ Ò âÕå áÛãçÐïå, ÚÞÓÔÐ ßÕàØÞÔ ßÞÒÞàÞâÐ ÑÞÛìèÞÙ ÞáØ àÐÒÕÝ æÕÛÞÜã
(ØÛØ àÐæØÞÝÐÛìÝÞÜã) ÚàÐâÝÞÜã ßÕàØÞÔÐ ÞÑàÐéÕÝØï áßãâÝØÚÐ (ÑÞÛÕÕ âÞçÝÞ, ßÕàØ-
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ÞÔÐ ÕÓÞ àÐÔØÐÛìÝÞÓÞ ÔÒØÖÕÝØï), ÞàÑØâÐ áßãâÝØÚÐ ÒáÚÞàÕ ×ÐÜëÚÐÕâáï, â. Õ. áÞáâÞØâ
ÒáÕÓÞ Ø× ÝÕáÚÞÛìÚØå ÒØâÚÞÒ.

¿àÞÓàÐÜÜÐ �¿àÕæÕááØï íÚÒÐâÞàØÐÛìÝÞÙ ÞàÑØâë� ßÞ×ÒÞÛïÕâ áâàÞØâì ÞáÚãÛØ-
àãîéØÕ íÛÛØßáë ÔÛï ÛîÑëå âÞçÕÚ ÔÕÙáâÒØâÕÛìÝÞÙ áÛÞÖÝÞÙ âàÐÕÚâÞàØØ áßãâÝØÚÐ.
ÇâÞÑë ßàØ ÜÞÔÕÛØàÞÒÐÝØØ ßÞÛãçØâì ÝÐ íÚàÐÝÕ ÞáÚãÛØàãîéØÙ íÛÛØßá, ÔÞáâÐâÞçÝÞ
Ò ßÞÔåÞÔïéØÙ ÜÞÜÕÝâ ÝÐÖÐâì ÚÝÞßÚã �¿Ðã×Ð�. µáÛØ ßàØ íâÞÜ áÞÞâÒÕâáâÒãîéØÙ
ßãÝÚâ ÜÕÝî �ÃáÛÞÒØï ÜÞÔÕÛØàÞÒÐÝØï� ÞâÜÕçÕÝ �ÓÐÛÞçÚÞÙ�, ßàÞÓàÐÜÜÐ àÐááçØâë-
ÒÐÕâ ßÐàÐÜÕâàë íÛÛØßáÐ ÔÛï âÕÚãéØå ×ÝÐçÕÝØÙ ßÞÛÞÖÕÝØï Ø áÚÞàÞáâØ áßãâÝØÚÐ, Ø
áâàÞØâ íâÞâ íÛÛØßá ÝÐ íÚàÐÝÕ. ½Ð àØá. 16 ÞáÚãÛØàãîéØÕ íÛÛØßáë ßÞÚÐ×ÐÝë (âÞÝÚØ-
ÜØ ÛØÝØïÜØ) ÔÛï âàÕå âÞçÕÚ âàÐÕÚâÞàØØ (ÝÐçÐÛìÝÞÙ âÞçÚØ S, âÞçÕÚ A Ø B). ½ÐÖÐÒ
×ÐâÕÜ ÚÝÞßÚã �¿ãáÚ�, ÜÞÖÝÞ áàÐÒÝØâì ÔÕÙáâÒØâÕÛìÝãî âàÐÕÚâÞàØî ÔÐÛìÝÕÙèÕÓÞ
ÔÒØÖÕÝØï á âÕÞàÕâØçÕáÚØ ßàÕÔáÚÐ×ÐÝÝëÜ ÝÕÒÞ×ÜãéÕÝÝëÜ ÔÒØÖÕÝØÕÜ áßãâÝØÚÐ.

µáÛØ âÞçÚÐ ÔÛï ßÞáâàÞÕÝØï ÞáÚãÛØàãîéÕÓÞ íÛÛØßáÐ ÒëÑàÐÝÐ ÔÞáâÐâÞçÝÞ ÔÐÛÕ-
ÚÞ Þâ ßÛÐÝÕâë (âÞçÚØ S Ø B ÝÐ àØá. 16), âÞ ÔÕÙáâÒØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ ßàÞØáåÞÔØâ ßÞ-
çâØ âÞçÝÞ ÒÔÞÛì íâÞÓÞ íÛÛØßáÐ ÔÞ âÕå ßÞà, ßÞÚÐ áßãâÝØÚ ÝÕ ßàØÑÛØ×Øâáï Ú ßÕàØÓÕî.
²ÑÛØ×Ø ßÕàØÓÕï ÔÕÙáâÒØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ ×ÝÐçØâÕÛìÝÞ ÞâÚÛÞÝïÕâáï Þâ íÛÛØßáÐ, Ø
ÝÐ áÛÕÔãîéÕÜ ÒØâÚÕ âàÐÕÚâÞàØØ ÔÒØÖÕÝØÕ ßàÞØáåÞÔØâ ßÞ íÛÛØßáã, ÑÞÛìèÐï Þáì
ÚÞâÞàÞÓÞ ßÞÒÕàÝãâÐ ÝÐ ×ÐÜÕâÝëÙ ãÓÞÛ Ò ÝÐßàÐÒÛÕÝØØ ÞàÑØâÐÛìÝÞÓÞ ÔÒØÖÕÝØï áßãâ-
ÝØÚÐ. µáÛØ ÖÕ ÞáÚãÛØàãîéØÙ íÛÛØßá ßÞáâàÞÕÝ ÔÛï âÞçÚØ, ÝÐåÞÔïéÕÙáï ÝÕÔÐÛÕÚÞ
Þâ ßÛÐÝÕâë (âÞçÚÐ A ÝÐ àØá. 16), âÞ ÔÕÙáâÒØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ ØÔÕâ ÒÔÞÛì ÞáÚãÛØàã-
îéÕÓÞ íÛÛØßáÐ âÞÛìÚÞ ÒÑÛØ×Ø íâÞÙ âÞçÚØ, Ø ÞçÕÝì áÚÞàÞ ×ÝÐçØâÕÛìÝÞ ÞâÚÛÞÝïÕâáï
Þâ âÕÞàÕâØçÕáÚÞÙ ÚàØÒÞÙ.

ÁàÕÔØ ÒÞ×ÜÞÖÝëå âàÐÕÚâÞàØÙ íÚÒÐâÞàØÐÛìÝëå áßãâÝØÚÞÒ Ò ßÞÛÕ âïÓÞâÕÝØï Øá-
ÚÐÖÕÝÝÞÙ ßÛÐÝÕâë ÒáÕÓÔÐ áãéÕáâÒãîâ ×ÐÜÚÝãâëÕ ÚàãÓÞÒëÕ ÞàÑØâë ÛîÑëå àÐÔØã-
áÞÒ. ¿ÞáÚÞÛìÚã Ò áÛãçÐÕ �áßÛîáÝãâÞÙ� ßÛÐÝÕâë æÕÝâàÞáâàÕÜØâÕÛìÝÐï áØÛÐ ÑÞÛì-
èÕ, çÕÜ ã ÝÕØáÚÐÖÕÝÝÞÙ ßÛÐÝÕâë âÞÙ ÖÕ ÜÐááë, áÚÞàÞáâì áßãâÝØÚÐ ÝÐ ÚàãÓÞÒÞÙ Þà-
ÑØâÕ ÔÞÛÖÝÐ ßàÕÒëèÐâì ÚàãÓÞÒãî áÚÞàÞáâì, áÞÞâÒÕâáâÒãîéãî ÝÕØáÚÐÖÕÝÝÞÙ ßÛÐ-
ÝÕâÕ. µáÛØ ßàÕÔáâÐÒØâì áÕÑÕ, çâÞ ØáÚÐÖÕÝØÕ ßÛÐÝÕâë ÒÝÕ×ÐßÝÞ ØáçÕ×ÐÕâ, âÞ ÝÐçØ-
ÝÐï á íâÞÓÞ ÜÞÜÕÝâÐ ÚàãÓÞÒÞÙ áßãâÝØÚ áâÐÛ Ñë ÔÒØÓÐâìáï ßÞ íÛÛØßâØçÕáÚÞÙ ÞàÑØâÕ,
ßÕàØÓÕÙ ÚÞâÞàÞÙ ÝÐåÞÔØâáï Ò ØáåÞÔÝÞÙ âÞçÚÕ, ÓÔÕ ßàÕÖÝïï ÚàãÓÞÒÐï Ø ÝÞÒÐï íÛ-
ÛØßâØçÕáÚÐï ÞàÑØâë áÞßàØÚÐáÐîâáï. ¸ÝÐçÕ ÓÞÒÞàï, ÔÛï áßãâÝØÚÐ, ÔÒØÖãéÕÓÞáï ßÞ
ÚàãÓÞÒÞÙ ÞàÑØâÕ ÒÞÚàãÓ ØáÚÐÖÕÝÝÞÙ ßÛÐÝÕâë, ÔÛï ÚÐÖÔÞÓÞ ÜÞÜÕÝâÐ ÒàÕÜÕÝØ ÞáÚã-
ÛØàãîéÐï ÞàÑØâÐ ßàÕÔáâÐÒÛïÕâ áÞÑÞÙ íÛÛØßá á ßÕàØÓÕÕÜ Ò ÔÐÝÝÞÙ âÞçÚÕ, ÑÞÛìèÐï
Þáì ÚÞâÞàÞÓÞ áÞÒÕàèÐÕâ àÞÒÝÞ ÞÔØÝ ÞÑÞàÞâ ÝÐ ßàÞâïÖÕÝØØ ßÕàØÞÔÐ ÚàãÓÞÒÞÓÞ ÔÒØ-
ÖÕÝØï Ò ßÞÛÕ âïÓÞâÕÝØï ØáÚÐÖÕÝÝÞÙ ßÛÐÝÕâë. ÁßãâÝØÚ ßÞáâÞïÝÝÞ ÝÐåÞÔØâáï Ò ßÕ-
àØÓÕÕ âÐÚÞÓÞ ÞáÚãÛØàãîéÕÓÞ íÛÛØßáÐ.

² áÛãçÐÕ ÞáÕÒÞÓÞ �àÐáâïÖÕÝØï� ßÛÐÝÕâë (ØÛØ ßàØ ÝÐÛØçØØ ßÞÛïàÝëå �èÐßÞÚ�)
ÔÞßÞÛÝØâÕÛìÝëÙ çÛÕÝ áØÛë âïÓÞâÕÝØï Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ ÞâàØæÐâÕÛÕÝ
(b < 0 Ò ãàÐÒÝÕÝØØ (68)), âÐÚ ÚÐÚ ÝÐ ÜÐÛëå àÐááâÞïÝØïå Þâ ßÛÐÝÕâë áØÛÐ âïÓÞ-
âÕÝØï ÜÕÝìèÕ, çÕÜ ßàØ áäÕàØçÕáÚØ áØÜÜÕâàØçÝÞÜ àÐáßàÕÔÕÛÕÝØØ ÜÐáá. ² áÐÜÞÜ
ÔÕÛÕ, ßàØ ßàØÑÛØÖÕÝØØ Ú ßÛÐÝÕâÕ àÐááâÞïÝØÕ ÔÞ ßÞÛïàÝëå �èÐßÞÚ� ãÜÕÝìèÐÕâáï
ÜÕÔÛÕÝÝÕÕ, çÕÜ àÐááâÞïÝØÕ ÔÞ ÕÕ æÕÝâàÐ. ² íâÞÜ áÛãçÐÕ ßàØ ßàØÑÛØÖÕÝØØ Ú ßÛÐ-
ÝÕâÕ áØÛÐ âïÓÞâÕÝØï áÞÞÑéÐÕâ áßãâÝØÚã ÜÕÝìèÕÕ ãáÚÞàÕÝØÕ, çÕÜ ÝÕÞÑåÞÔØÜÞ ÔÛï
ÔÒØÖÕÝØï ßÞ ÚÕßÛÕàÞÒã íÛÛØßáã, Ø íâÞâ íÛÛØßá ÚÐÚ Ñë �àÐáßàïÜÛïÕâáï� ÒÑÛØ×Ø
ßÕàØÓÕï. ² àÕ×ãÛìâÐâÕ ßàÕæÕááØï ÞàÑØâë ßàÞØáåÞÔØâ Ò ÝÐßàÐÒÛÕÝØØ, ßàÞâØÒÞßÞ-
ÛÞÖÝÞÜ ÞàÑØâÐÛìÝÞÜã ÔÒØÖÕÝØî áßãâÝØÚÐ.

¿àØ àÐÑÞâÕ á ßàÞÓàÐÜÜÞÙ, ÜÞÔÕÛØàãîéÕÙ ÔÒØÖÕÝØÕ áßãâÝØÚÐ Ò ßÞÛÕ ØáÚÐÖÕÝ-
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ÝÞÙ ßÛÐÝÕâë, áÛÕÔãÕâ ØÜÕâì Ò ÒØÔã, çâÞ ÒëàÐÖÕÝØÕ (68) ÔÛï áØÛë âïÓÞâÕÝØï, Øá-
ßÞÛì×ãÕÜÞÕ ßàØ ÜÞÔÕÛØàÞÒÐÝØØ, ßàØÑÛØÖÕÝÝÞÕ Ø áßàÐÒÕÔÛØÒÞ âÞÛìÚÞ ÔÛï ÔÞáâÐ-
âÞçÝÞ ÑÞÛìèØå àÐááâÞïÝØÙ Þâ ßÛÐÝÕâë. ºÞÓÔÐ âàÐÕÚâÞàØï ßàÞåÞÔØâ ÑÛØ×ÚÞ Ú ßÞ-
ÒÕàåÝÞáâØ áØÛìÝÞ ÔÕäÞàÜØàÞÒÐÝÝÞÙ ßÛÐÝÕâë, ßàØÝïâÐï ÜÐâÕÜÐâØçÕáÚÐï ÜÞÔÕÛì ÝÕ
ÞÑÕáßÕçØÒÐÕâ ÝÕÞÑåÞÔØÜÞÙ âÞçÝÞáâØ.

´ÕäÞàÜÐæØï æÕÝâàÐÛìÝÞÓÞ âÕÛÐ (â. Õ. ÞâÚÛÞÝÕÝØÕ ßÞÛï âïÓÞâÕÝØï Þâ áäÕàØçÕ-
áÚÞÙ áØÜÜÕâàØØ) � ÝÕ ÕÔØÝáâÒÕÝÝÐï ßàØçØÝÐ ÒÞ×ÜÞÖÝÞÙ ßàÕæÕááØØ ÞàÑØâë áßãâ-
ÝØÚÐ. ¿àÕæÕááØï ÑÞÛìèÞÙ ÞáØ íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ßÛÐÝÕâë ÜÞÖÕâ Ñëâì Òë×ÒÐ-
ÝÐ ÓàÐÒØâÐæØÞÝÝëÜØ ÒÞ×ÜãéÕÝØïÜØ áÞ áâÞàÞÝë ÔàãÓØå ßÛÐÝÕâ. ² ÝÐèÕÙ ßÛÐÝÕâ-
ÝÞÙ áØáâÕÜÕ íâÞâ íääÕÚâ ÝÐØÑÞÛÕÕ ×ÝÐçØâÕÛÕÝ ÔÛï ¼ÕàÚãàØï � áÐÜÞÙ ÑÛØ×ÚÞÙ Ú
ÁÞÛÝæã ßÛÐÝÕâë. ÀÐáçÕâë ßÞÚÐ×ëÒÐîâ, çâÞ ßÞÛï âïÓÞâÕÝØï ÔàãÓØå ßÛÐÝÕâ ÔÕÙáâÒØ-
âÕÛìÝÞ ÔÞÛÖÝë Òë×ëÒÐâì ÝÐÑÛîÔÐÕÜãî ÐáâàÞÝÞÜÐÜØ ßàÕæÕááØî ÞàÑØâë ¼ÕàÚã-
àØï, ÝÞ ÞáâÐÕâáï ÚàÞèÕçÝÞÕ àÐáåÞÖÔÕÝØÕ ÜÕÖÔã àÐáçÕâÐÜØ Ø ÝÐÑÛîÔÕÝØïÜØ. ÍâÞ
àÐáåÞÖÔÕÝØÕ áÞáâÐÒÛïÕâ ÒáÕÓÞ 43′′ (43 ãÓÛÞÒëå áÕÚãÝÔë!) ×Ð áâÞÛÕâØÕ, Ø ÕÜã ÝÕ ÝÐ-
åÞÔØâáï ÞÑêïáÝÕÝØï Ò àÐÜÚÐå ÝìîâÞÝÞÒáÚÞÙ âÕÞàØØ âïÓÞâÕÝØï. ¸áçÕàßëÒÐîéÕÕ
ÚÞÛØçÕáâÒÕÝÝÞÕ ÞÑêïáÝÕÝØÕ ßàÕæÕááØï ßÕàØÓÕÛØï íÛÛØßâØçÕáÚÞÙ ÞàÑØâë ¼ÕàÚã-
àØï ßÞÛãçØÛÐ ÛØèì Ò áÞ×ÔÐÝÝÞÙ ÍÙÝèâÕÙÝÞÜ àÕÛïâØÒØáâáÚÞÙ âÕÞàØØ âïÓÞâÕÝØï.

15.2 ¿ÞÛÕ âïÓÞâÕÝØï ØáÚÐÖÕÝÝÞÙ ßÛÐÝÕâë
ºÞÓÔÐ àÐáßàÕÔÕÛÕÝØÕ ÜÐááë ÝÕÑÕáÝÞÓÞ âÕÛÐ ÞÑÛÐÔÐÕâ áäÕàØçÕáÚÞÙ áØÜÜÕâàØÕÙ,
áÞ×ÔÐÒÐÕÜÞÕ íâØÜ âÕÛÞÜ ßÞÛÕ âïÓÞâÕÝØï ÒÝÕ âÕÛÐ íÚÒØÒÐÛÕÝâÝÞ ÓàÐÒØâÐæØÞÝÝÞÜã
ßÞÛî âÞçÕçÝÞÙ ÜÐááë, â. Õ. ÝÐßàïÖÕÝÝÞáâì ßÞÛï ãÑëÒÐÕâ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛì-
ÝÞ ÚÒÐÔàÐâã àÐááâÞïÝØï Þâ æÕÝâàÐ âÕÛÐ. Ã ×ÒÕ×Ô Ø ßÛÐÝÕâ ÜÐááÐ àÐáßàÕÔÕÛÕÝÐ ßÞçâØ
áäÕàØçÕáÚØ áØÜÜÕâàØçÝÞ, Ø Ò ÑÞÛìèØÝáâÒÕ ×ÐÔÐç ÝÕÑÕáÝÞÙ ÜÕåÐÝØÚØ ÜÞÖÝÞ áçØ-
âÐâì, çâÞ Øå ßÞÛï âïÓÞâÕÝØï á ÒëáÞÚÞÙ âÞçÝÞáâìî ßÞÔçØÝïîâáï ×ÐÚÞÝã ÞÑàÐâÝëå
ÚÒÐÔàÐâÞÒ.

½Þ Ò ÔÕÙáâÒØâÕÛìÝÞáâØ äÞàÜÐ ßÛÐÝÕâë ÜÞÖÕâ áÛÕÓÚÐ ÞâÛØçÐâìáï Þâ ØÔÕÐÛìÝÞÙ
áäÕàë. ·ÔÕáì Üë ßÞÚÐÖÕÜ, çâÞ Ø×-×Ð ÝÕÑÞÛìèÞÓÞ ÐÚáØÐÛìÝÞÓÞ ØáÚÐÖÕÝØï äÞàÜë
ßÛÐÝÕâë ÕÕ ÓàÐÒØâÐæØÞÝÝÞÕ ßÞÛÕ ÞâÛØçÐÕâáï Þâ ßÞÛï âÞçÕçÝÞÙ ÜÐááë ÝÕÑÞÛìèØÜ
ÔÞßÞÛÝØâÕÛìÝëÜ çÛÕÝÞÜ, ÚÞâÞàëÙ, ÚÐÚ Ò ãàÐÒÝÕÝØØ (68), ãÑëÒÐÕâ ÞÑàÐâÝÞ ßàÞßÞà-
æØÞÝÐÛìÝÞ çÕâÒÕàâÞÙ áâÕßÕÝØ àÐááâÞïÝØï Þâ æÕÝâàÐ ßÛÐÝÕâë.

ÀØá. 17: ¼ÞÔÕÛØ àÐáßàÕÔÕÛÕÝØï ÜÐááë ÔÛï �ÒëâïÝãâÞÙ� ßÛÐÝÕâë: âÞçÕçÝëÕ ÜÐááë
∆m/2 ÝÐ ßÞÛîáÐå (a), Ø ÔÛï �áßÛîáÝãâÞÙ� ßÛÐÝÕâë: íÚÒÐâÞàØÐÛìÝëÙ ÞÑàãç ÜÐááë
∆m, ÞßÞïáëÒÐîéØÙ ßÛÐÝÕâã (b).

ÀÐááÜÞâàØÜ áÝÐçÐÛÐ áÛãçÐÙ �ÒëâïÝãâÞÙ� ßÛÐÝÕâë, ßÞÛïàÝëÙ àÐÔØãá ÚÞâÞàÞÙ
ÝÕÜÝÞÓÞ ÑÞÛìèÕ íÚÒÐâÞàØÐÛìÝÞÓÞ. ´Ûï ÔÞáâÐâÞçÝÞ ÑÞÛìèØå àÐááâÞïÝØÙ Þâ ßÛÐÝÕ-
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âë ÜÞÖÝÞ ßàØÝïâì, çâÞ ÓàÐÒØâÐæØÞÝÝÞÕ ßÞÛÕ áÞ×ÔÐÕâáï ØÔÕÐÛìÝÞÙ áäÕàÞÙ ÜÐááë
M − ∆m Ø ÔÒãÜï âÞçÕçÝëÜØ ÜÐááÐÜØ ∆m/2, àÐáßÞÛÞÖÕÝÝëÜØ ÝÐ ßÞÛîáÐå ßÛÐ-
ÝÕâë (àØá. 17,a). ´àãÓØÜØ áÛÞÒÐÜØ, Üë ßàÕÔßÞÛÐÓÐÕÜ, çâÞ ÝÕÚÞâÞàÐï ÝÕÑÞÛìèÐï
çÐáâì ∆m ÒáÕÙ ÜÐááë M ßÕàÕÝÕáÕÝÐ Ø× æÕÝâàÐ ÝÐ àÐááâÞïÝØÕ R Ú ßÞÛîáÐÜ ßÛÐ-
ÝÕâë. ±ÛÐÓÞÔÐàï ÞáÕÒÞÙ áØÜÜÕâàØØ áØáâÕÜë, ÓàÐÒØâÐæØÞÝÝÞÕ ßÞÛÕ Ò íÚÒÐâÞàØÐÛì-
ÝÞÙ ßÛÞáÚÞáâØ ×ÐÒØáØâ âÞÛìÚÞ Þâ àÐááâÞïÝØï r Þâ æÕÝâàÐ. ¿ÞâÕÝæØÐÛìÝÐï íÝÕàÓØï
U(r) ÕÔØÝØçÝÞÙ ÜÐááë Ò ÝÕÚÞâÞàÞÙ âÞçÚÕ P íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ áÞáâÞØâ Ø×
ÓÛÐÒÝÞÓÞ çÛÕÝÐ −G(M − ∆m)/r, áÞÞâÒÕâáâÒãîéÕÓÞ âÞçÕçÝÞÜã ØáâÞçÝØÚã ÜÐááë
M −∆m Ò æÕÝâàÕ ßÛÐÝÕâë, Ø ÔÞßÞÛÝØâÕÛìÝÞÓÞ çÛÕÝÐ, áÞÞâÒÕâáâÒãîéÕÓÞ ÔÒãÜ âÞ-
çÕçÝëÜ ÜÐááÐÜ ∆m/2 ÝÐ ßÞÛîáÐå:

U(r) = −G

r
(M −∆m)− G∆m√

r2 + R2
=

−GM

r

(
1− ∆m

M
+

∆m

M

1√
1 + (R/r)2

)
. (69)

ÀÐ×ãÜÕÕâáï, íâÞ ßàØÑÛØÖÕÝÝÞÕ ÒëàÐÖÕÝØÕ áßàÐÒÕÔÛØÒÞ âÞÛìÚÞ ÔÛï àÐááâÞïÝØÙ
r, ÔÞáâÐâÞçÝÞ ÑÞÛìèØå ßÞ áàÐÒÝÕÝØî á àÐÔØãáÞÜ R ßÛÐÝÕâë: r À R. ½Þ ÚÞÓÔÐ
ÔÛï âÞçÚØ P íâÞ ãáÛÞÒØÕ ÒëßÞÛÝÕÝÞ, â. Õ. R/r ¿ 1, äÞàÜãÛã (69) ÔÛï U(r) ÜÞÖÝÞ
ãßàÞáâØâì Ø ßàØÒÕáâØ Ú áÛÕÔãîéÕÜã ÒØÔã:

U(r) ≈ −GM

r

[
1− 1

2

∆m

M

(
R

r

)2
]

. (70)

ÁØÛã âïÓÞâÕÝØï F (r), ÔÕÙáâÒãîéãî ÝÐ ÕÔØÝØçÝãî ÜÐááã Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞá-
ÚÞáâØ ßÛÐÝÕâë, ÜÞÖÝÞ ÝÐÙâØ ÚÐÚ ßàÞØ×ÒÞÔÝãî ßÞâÕÝæØÐÛìÝÞÙ íÝÕàÓØØ U(r) ßÞ àÐá-
áâÞïÝØî r (Ò×ïâãî á ßàÞâØÒÞßÞÛÞÖÝëÜ ×ÝÐÚÞÜ):

F (r) = −dU(r)

dr
= −GM

r2

[
1− 3

2

∆m

M

(
R

r

)2
]

. (71)

¼ë ÒØÔØÜ, çâÞ ÔÞßÞÛÝØâÕÛìÝëÙ çÛÕÝ Ò ÒëàÐÖÕÝØØ ÔÛï áØÛë âïÓÞâÕÝØï F (r)
ßàÞßÞàæØÞÝÐÛÕÝ ØáÚÐÖÕÝØî ßÛÐÝÕâë (ÚÞâÞàÞÕ Ò ÝÐèÕÙ ÜÞÔÕÛØ åÐàÐÚâÕàØ×ãÕâáï
ÒÕÛØçØÝÞÙ ∆m/M) Ø ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛÕÝ çÕâÒÕàâÞÙ áâÕßÕÝØ àÐááâÞïÝØï r Þâ
æÕÝâàÐ ßÛÐÝÕâë. ·ÝÐÚ íâÞÓÞ çÛÕÝÐ ßàÞâØÒÞßÞÛÞÖÕÝ ×ÝÐÚã ÓÛÐÒÝÞÓÞ çÛÕÝÐ, â. Õ. ÞáÕ-
ÒÞÕ àÐáâïÖÕÝØÕ ßÛÐÝÕâë ãÜÕÝìèÐÕâ áØÛã âïÓÞâÕÝØï Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ.
ÁàÐÒÝØÒÐï ÒëàÐÖÕÝØÕ (71) á ãàÐÒÝÕÝØÕÜ (68), ßÞÛãçÐÕÜ áÛÕÔãîéÕÕ ÒëàÐÖÕÝØÕ
ÔÛï ÑÕ×àÐ×ÜÕàÝÞÙ ÒÕÛØçØÝë b, ÚÞâÞàÐï Ò ãàÐÒÝÕÝØØ (68) åÐàÐÚâÕàØ×ãÕâ ØáÚÐÖÕÝØÕ
ßÞÛï âïÓÞâÕÝØï Ø×-×Ð ÐÚáØÐÛìÝÞÓÞ àÐáâïÖÕÝØï ßÛÐÝÕâë:

b = −3

2

∆m

M
. (72)

°ÝÐÛÞÓØçÝÞ ÜÞÖÝÞ àÐááÜÞâàÕâì áÛãçÐÙ �áßÛîáÝãâÞÙ� ßÛÐÝÕâë. ½Ð ÑÞÛìèØå
àÐááâÞïÝØïå Þâ ßÛÐÝÕâë (ßàØ r À R) ßÞÛÕ âïÓÞâÕÝØï ÑãÔÕâ âÐÚØÜ, ÚÐÚ ÕáÛØ Ñë ÞÝÞ
áÞ×ÔÐÒÐÛÞáì ØÔÕÐÛìÝÞ áäÕàØçÕáÚØÜ âÕÛÞÜ ÜÐááë M − ∆m á ÔÞßÞÛÝØâÕÛìÝëÜ íÚ-
ÒÐâÞàØÐÛìÝëÜ ßÞïáÞÜ ÜÐááë ∆m (áÜ. àØá. 17,b). ´àãÓØÜØ áÛÞÒÐÜØ, Üë ßàØÝØÜÐÕÜ
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ÜÞÔÕÛì, Ò ÚÞâÞàÞÙ ÝÕÚÞâÞàÐï çÐáâì ∆m ßÞÛÝÞÙ ÜÐááë M ßÕàÕÝÕáÕÝÐ Ø× æÕÝâàÐ ßÛÐ-
ÝÕâë ÝÐ ÕÕ íÚÒÐâÞà.

ÇâÞÑë àÐááçØâÐâì ßÞÛÕ âïÓÞâÕÝØï, áÞ×ÔÐÒÐÕÜÞÕ âÐÚÞÙ áØáâÕÜÞÙ, Üë ÜëáÛÕÝ-
ÝÞ àÐ×ÑØÒÐÕÜ ßÞïá ÝÐ íÛÕÜÕÝâÐàÝëÕ ãçÐáâÚØ, áâïÓØÒÐÕÜëÕ æÕÝâàÐÛìÝëÜ ãÓÛÞÜ dθ.
¼ÐááÐ ÚÐÖÔÞÓÞ íÛÕÜÕÝâÐàÝÞÓÞ ãçÐáâÚÐ àÐÒÝÐ dm = (∆m/2π)dθ. µáÛØ ãÓÛÞÒÞÕ ßÞ-
ÛÞÖÕÝØÕ ÝÕÚÞâÞàÞÓÞ íÛÕÜÕÝâÐ ßÞïáÐ åÐàÐÚâÕàØ×ãÕâáï ãÓÛÞÜ θ (áÜ. àØá. 17,b), âÞ
àÐááâÞïÝØÕ Þâ íÛÕÜÕÝâÐ ÔÞ âÞçÚØ P àÐÒÝÞ

√
r2 + R2 − 2rR cos θ, Ø ÒÚÛÐÔ íâÞÓÞ íÛÕ-

ÜÕÝâÐ Ò ßÞâÕÝæØÐÛìÝãî íÝÕàÓØî ÕÔØÝØçÝÞÙ ÜÐááë Ò âÞçÚÕ P àÐÒÕÝ

dU(r) = − Gdm√
r2 + R2 − 2rR cos θ

= −G∆m

2π

dθ√
r2 + R2 − 2rR cos θ

. (73)

ÇâÞÑë ÝÐÙâØ ßÞâÕÝæØÐÛìÝãî íÝÕàÓØî ∆U(r) Ò ßÞÛÕ âïÓÞâÕÝØï, áÞ×ÔÐÒÐÕÜÞÜ
ÒáÕÜ ßÞïáÞÜ, ÒÞáßÞÛì×ãÕÜáï ßàØÝæØßÞÜ áãßÕàßÞ×ØæØØ Ø ßàÞØÝâÕÓàØàãÕÜ dU(r) Ø×
ÒëàÐÖÕÝØï (73) ßÞ θ ÒÔÞÛì ÒáÕÓÞ ßÞïáÐ Þâ 0 ÔÞ 2π:

∆U(r) = −G∆m

r

1

2π

∫ 2π

0

dθ√
1 + (R/r)2 − 2(R/r) cos θ

. (74)

¿àØÝïâÐï ×ÔÕáì ÜÞÔÕÛì àÐáßàÕÔÕÛÕÝØï ÜÐáá ÔÛï �áßÛîáÝãâÞÙ� ßÛÐÝÕâë ßàØÜÕ-
ÝØÜÐ âÞÛìÚÞ ÔÛï ÑÞÛìèØå àÐááâÞïÝØÙ r À R, Ø ßÞíâÞÜã ÜÞÖÝÞ ãßàÞáâØâì ßÞÔëÝ-
âÕÓàÐÛìÝÞÕ ÒëàÐÖÕÝØÕ Ò áÛãçÐÕ R/r ¿ 1:

∆U(r) ≈ −G∆m

r

1

2π

∫ 2π

0

[
1− 1

2

(
R

r

)2

+
R

r
cos θ +

3

2

(
R

r

)2

cos2 θ

]
dθ =

−G∆m

r

[
1 +

1

2

(
R

r

)2
1

2π

∫ 2π

0

(3 cos2 θ − 1)dθ

]
=

−G∆m

r

[
1 +

1

4

(
R

r

)2
]

. (75)

´ÞÑÐÒÛïï ßÞâÕÝæØÐÛìÝãî íÝÕàÓØî ∆U(r) ßÞÛï, áÞ×ÔÐÒÐÕÜÞÓÞ ßÞïáÞÜ, Ú ßÞâÕÝ-
æØÐÛìÝÞÙ íÝÕàÓØØ −G(M − ∆m)/r ÕÔØÝØçÝÞÙ ÜÐááë Ò ßÞÛÕ âïÓÞâÕÝØï âÞçÕçÝÞÓÞ
ØáâÞçÝØÚÐ ÜÐááë M − ∆m, àÐáßÞÛÞÖÕÝÝÞÓÞ Ò æÕÝâàÕ ßÛÐÝÕâë, ßÞÛãçÐÕÜ áÛÕÔã-
îéÕÕ ÒëàÐÖÕÝØÕ ÔÛï ßÞâÕÝæØÐÛìÝÞÙ íÝÕàÓØØ ÝÐ àÐááâÞïÝØØ r Þâ �áßÛîáÝãâÞÙ�
ßÛÐÝÕâë:

U(r) = −GM

r

[
1 +

1

4

∆m

M

(
R

r

)2
]

= −gR2

r

[
1 +

1

4

∆m

M

(
R

r

)2
]

. (76)

¼ë ×ÐÜÕÝØÛØ ×ÔÕáì ßàÞØ×ÒÕÔÕÝØÕ GM ÝÐ gR2, ÓÔÕ g � ãáÚÞàÕÝØÕ áÒÞÑÞÔÝÞÓÞ
ßÐÔÕÝØï ÝÐ ßÞÒÕàåÝÞáâØ ßÛÐÝÕâë. ´ØääÕàÕÝæØàãï ßÞâÕÝæØÐÛìÝãî íÝÕàÓØî U(r)
ßÞ r, ßÞÛãçÐÕÜ ÒëàÐÖÕÝØÕ ÔÛï áØÛë âïÓÞâÕÝØï, ÔÕÙáâÒãîéÕÙ ÝÐ ÕÔØÝØçÝãî ÜÐááã
Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ ßÛÐÝÕâë:

F (r) = −dU(r)

dr
= −gR2

r2

[
1 +

3

4

∆m

M

(
R

r

)2
]

= −gR2

r2

[
1 + b

(
R

r

)2
]

. (77)
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·ÔÕáì Üë ÒÒÕÛØ ÑÕ×àÐ×ÜÕàÝëÙ ßÐàÐÜÕâà b = (3/4)(∆m/M), åÐàÐÚâÕàØ×ãîéØÙ Øá-
ÚÐÖÕÝØÕ ßÞÛï âïÓÞâÕÝØï Ø×-×Ð ÞáÕÒÞÓÞ áÖÐâØï ßÛÐÝÕâë. ÂÐÚØÜ ÞÑàÐ×ÞÜ, Ò áÛãçÐÕ
�áßÛîáÝãâÞÙ� ßÛÐÝÕâë íÚÒÐâÞàØÐÛìÝëÙ ßÞïá ßàØÒÞÔØâ Ò ÒëàÐÖÕÝØØ (68) ÔÛï áØÛë
âïÓÞâÕÝØï F (r) Ú ßÞïÒÛÕÝØî ÔÞßÞÛÝØâÕÛìÝÞÓÞ çÛÕÝÐ, ÚÞâÞàëÙ ãÑëÒÐÕâ á àÐááâÞï-
ÝØÕÜ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞ çÕâÒÕàâÞÙ áâÕßÕÝØ àÐááâÞïÝØï r Þâ æÕÝâàÐ ßÛÐÝÕ-
âë. ·ÝÐÚ ÔÞßÞÛÝØâÕÛìÝÞÓÞ çÛÕÝÐ áÞÒßÐÔÐÕâ áÞ ×ÝÐÚÞÜ ÞáÝÞÒÝÞÓÞ çÛÕÝÐ (ÞÑàÐâÝÞ
ßàÞßÞàæØÞÝÐÛìÝÞÓÞ ÚÒÐÔàÐâã àÐááâÞïÝØï): ÞáÕÒÞÕ áÖÐâØÕ ãÒÕÛØçØÒÐÕâ áØÛã âïÓÞ-
âÕÝØï Ò íÚÒÐâÞàØÐÛìÝÞÙ ßÛÞáÚÞáâØ ßÛÐÝÕâë, çâÞ Òë×ëÒÐÕâ ßÞÒÞàÞâ ÑÞÛìèÞÙ ÞáØ
íÛÛØßâØçÕáÚÞÙ ÞàÑØâë íÚÒÐâÞàØÐÛìÝÞÓÞ áßãâÝØÚÐ Ò ÝÐßàÐÒÛÕÝØØ ÕÓÞ ÞàÑØâÐÛìÝÞÓÞ
ÔÒØÖÕÝØï.

16 ·ÐÔÐçÐ ÔÒãå âÕÛ
ÀÐááÜÞâàØÜ ÔÒØÖÕÝØÕ ÔÒãå Ò×ÐØÜÞÔÕÙáâÒãîéØå âÕÛ (ÜÐâÕàØÐÛìÝëå âÞçÕÚ), ØÜÕ-
îéØå ÜÐááë m1 Ø m2. ² ÝÕÚÞâÞàÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ Øå ßÞÛÞÖÕÝØï
ÞßàÕÔÕÛïîâáï àÐÔØãáÐÜØ-ÒÕÚâÞàÐÜØ r1 Ø r2. ¾ÑÞ×ÝÐçØÜ çÕàÕ× F12 æÕÝâàÐÛìÝãî áØ-
Ûã, ÔÕÙáâÒãîéãî ÝÐ ßÕàÒÞÕ âÕÛÞ áÞ áâÞàÞÝë ÒâÞàÞÓÞ. ÂÞÓÔÐ (Ò áÞÞâÒÕâáâÒØØ á âàÕ-
âìØÜ ×ÐÚÞÝÞÜ ½ìîâÞÝÐ) ÝÐ ÒâÞàÞÕ âÕÛÞ áÞ áâÞàÞÝë ßÕàÒÞÓÞ ÔÞÛÖÝÐ ÔÕÙáâÒÞÒÐâì
àÐÒÝÐï ßÞ ÜÞÔãÛî Ø ßàÞâØÒÞßÞÛÞÖÝÞ ÝÐßàÐÒÛÕÝÝÐï áØÛÐ F21. ÂÐÚØÜ ÞÑàÐ×ÞÜ,

F21 = −F12. (78)

½Õ ÑãÔÕÜ ßÞÚÐ ÚÞÝÚàÕâØ×ØàÞÒÐâì äØ×ØçÕáÚãî ßàØàÞÔã Ò×ÐØÜÞÔÕÙáâÒØï àÐááÜÐâàØ-
ÒÐÕÜëå âÕÛ. ² çÐáâÝÞÜ áÛãçÐÕ íâÞ ÜÞÓãâ Ñëâì áØÛë ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï. ·ÐßØèÕÜ
ãàÐÒÝÕÝØï ÔÒØÖÕÝØï (ãàÐÒÝÕÝØï ÒâÞàÞÓÞ ×ÐÚÞÝÐ ½ìîâÞÝÐ) ÔÛï ÚÐÖÔÞÓÞ Ø× âÕÛ

m1r̈1 = F12, m2r̈2 = −F12. (79)

´ÒãÜï âÞçÚÐÜØ ÝÐÔ ÑãÚÒÞÙ ×ÔÕáì ÞÑÞ×ÝÐçÕÝÐ, ÚÐÚ íâÞ ÞÑëçÝÞ ßàØÝïâÞ Ò ÜÕåÐÝØÚÕ,
ÒâÞàÐï ßàÞØ×ÒÞÔÝÐï ßÞ ÒàÕÜÕÝØ (ãáÚÞàÕÝØÕ). ¿ÕàÕÙÔÕÜ Ò íâÞÙ áØáâÕÜÕ ÔØääÕàÕÝ-
æØÐÛìÝëå ãàÐÒÝÕÝØÙ Þâ ßÕàÕÜÕÝÝëå r1 Ø r2 Ú ÝÞÒëÜ ßÕàÕÜÕÝÝëÜ rc Ø r, ÚÞâÞàëÕ
ÒëàÐÖÐîâáï çÕàÕ× r1 Ø r2 áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ:

rc =
m1r1 + m2r2

m1 + m2

, r = r1 − r2. (80)

½ÞÒëÕ ßÕàÕÜÕÝÝëÕ rc Ø r Ò (80) ØÜÕîâ ïáÝëÙ äØ×ØçÕáÚØÙ áÜëáÛ: àÐÔØãá-ÒÕÚâÞà
rc ÞßàÕÔÕÛïÕâ ßÞÛÞÖÕÝØÕ æÕÝâàÐ ÜÐáá áØáâÕÜë ÔÒãå âÕÛ, Ð ÒÕÚâÞà r åÐàÐÚâÕàØ×ã-
Õâ ßÞÛÞÖÕÝØÕ ßÕàÒÞÓÞ âÕÛÐ ÞâÝÞáØâÕÛìÝÞ ÒâÞàÞÓÞ. ÁÚÛÐÔëÒÐï ßÞçÛÕÝÝÞ ãàÐÒÝÕÝØï
ÔÒØÖÕÝØï (79), ßÞÛãçÐÕÜ r̈c = 0: æÕÝâà ÜÐáá áØáâÕÜë ÔÒãå Ò×ÐØÜÞÔÕÙáâÒãîéØå âÕÛ
ÔÒØÖÕâáï ßàïÜÞÛØÝÕÙÝÞ Ø àÐÒÝÞÜÕàÝÞ. ¾âÜÕâØÜ, çâÞ àÐÒÕÝáâÒÞ ÝãÛî ãáÚÞàÕÝØï
æÕÝâàÐ ÜÐáá áÒï×ÐÝÞ á âÕÜ, çâÞ áØÛë Ò×ÐØÜÞÔÕÙáâÒØï ãÔÞÒÛÕâÒÞàïîâ âàÕâìÕÜã ×Ð-
ÚÞÝã ½ìîâÞÝÐ (78). 1 ÇâÞÑë ßÞÛãçØâì ÔØääÕàÕÝæØÐÛìÝÞÕ ãàÐÒÝÕÝØÕ ÔÛï ßÕàÕÜÕÝ-
ÝÞÙ r, ÞßØáëÒÐîéÕÙ ÞâÝÞáØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ âÕÛ, àÐ×ÔÕÛØÜ ßÕàÒÞÕ Ø× ãàÐÒÝÕÝØÙ

1²ßàÞçÕÜ, ÜÞÖÝÞ áçØâÐâì áÞåàÐÝÕÝØÕ ØÜßãÛìáÐ ×ÐÜÚÝãâÞÙ áØáâÕÜë Ø áÒï×ÐÝÝÞÕ á íâØÜ àÐÒÝÞ-
ÜÕàÝÞÕ ÔÒØÖÕÝØÕ ÕÕ æÕÝâàÐ ÜÐáá ÑÞÛÕÕ äãÝÔÐÜÕÝâÐÛìÝëÜ áÒÞÙáâÒÞÜ (ÒëàÐÖÐîéØÜ ÞÔÝÞàÞÔÝÞáâì
äØ×ØçÕáÚÞÓÞ ßàÞáâàÐÝáâÒÐ), Ð âàÕâØÙ ×ÐÚÞÝ ½ìîâÞÝÐ (Ø ÝÕÞÑåÞÔØÜÞáâì ÕÓÞ ÒëßÞÛÝÕÝØï ÔÛï ÒáÕå
äãÝÔÐÜÕÝâÐÛìÝëå Ò×ÐØÜÞÔÕÙáâÒØÙ, ÒÚÛîçÐï ×ÐÚÞÝ ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï) � áÛÕÔáâÒØÕÜ áÞåàÐÝÕ-
ÝØï ØÜßãÛìáÐ.
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(79) ÝÐ m1, ÒâÞàÞÕ � ÝÐ m2, Ø ÒëçâÕÜ Ø× ßÕàÒÞÓÞ ãàÐÒÝÕÝØï ÒâÞàÞÕ. ² àÕ×ãÛìâÐâÕ
ßÞÛãçØÜ

r̈ =

(
1

m1

+
1

m2

)
F12. (81)

²ÒÕÔÕÜ ßàØÒÕÔÕÝÝãî ÜÐááã ÔÒãå Ò×ÐØÜÞÔÕÙáâÒãîéØå âÕÛ ßÞ áÛÕÔãîéÕÜã ÞßàÕ-
ÔÕÛÕÝØî:

1

µ
=

1

m1

+
1

m2

, ØÛØ µ =
m1m2

m1 + m2

. (82)

ÂÞÓÔÐ (81) ßàØÝØÜÐÕâ ÒØÔ ãàÐÒÝÕÝØï ÔÒØÖÕÝØï ÕÔØÝáâÒÕÝÝÞÓÞ âÕÛÐ, ØÜÕîéÕÓÞ
ÜÐááã µ (82), ßÞÔ ÔÕÙáâÒØÕÜ æÕÝâàÐÛìÝÞÙ áØÛë F12, àÐÒÝÞÙ áØÛÕ Ò×ÐØÜÞÔÕÙáâÒØï
âÕÛ. ² çÐáâÝÞáâØ, ÚÞÓÔÐ Ò×ÐØÜÞÔÕÙáâÒØÕ âÕÛ ÞÑãáÛÞÒÛÕÝÞ ÒáÕÜØàÝëÜ âïÓÞâÕÝØÕÜ,
×ÐÔÐçÐ ÝÐåÞÖÔÕÝØï Øå ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØÖÕÝØï r(t) (â. Õ. ÔÒØÖÕÝØï ßÕàÒÞÓÞ âÕÛÐ
ÞâÝÞáØâÕÛìÝÞ ÒâÞàÞÓÞ) áÒÞÔØâáï Ú ×ÐÔÐçÕ ºÕßÛÕàÐ ÔÛï ÞÔÝÞÓÞ âÕÛÐ Ò æÕÝâàÐÛìÝÞÜ
ßÞÛÕ âïÓÞâÕÝØï ßÞÔ ÔÕÙáâÒØÕÜ áØÛë, ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÞÙ ÚÒÐÔàÐâã àÐááâÞ-
ïÝØï ÔÞ áØÛÞÒÞÓÞ æÕÝâàÐ. ÂÐÚÞÕ ÔÒØÖÕÝØÕ ßàÞØáåÞÔØâ ßÞ ÞÔÝÞÜã Ø× ÚÞÝØçÕáÚØå áÕ-
çÕÝØÙ (íÛÛØßáã, ßÐàÐÑÞÛÕ ØÛØ ÓØßÕàÑÞÛÕ).

´ÒØÖÕÝØÕ ÚÐÖÔÞÓÞ Ø× âÕÛ ãÔÞÑÝÞ àÐááÜÐâàØÒÐâì Ò ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ Þâ-
áçÕâÐ, áÒï×ÐÝÝÞÙ á æÕÝâàÞÜ ÜÐáá áØáâÕÜë âÕÛ. ²ëÑÕàÕÜ ÝÐçÐÛÞ ÞâáçÕâÐ Ò æÕÝâàÕ
ÜÐáá, ßÞÛÐÓÐï rc = 0, â. Õ. m2r2 = −m1r1. ÂÞÓÔÐ àÐÔØãáë-ÒÕÚâÞàë ÚÐÖÔÞÓÞ Ø× âÕÛ
ÑãÔãâ áÛÕÔãîéØÜ ÞÑàÐ×ÞÜ ÒëàÐÖÐâìáï çÕàÕ× àÐÔØãá-ÒÕÚâÞà ÞâÝÞáØâÕÛìÝÞÓÞ ßÞÛÞ-
ÖÕÝØï r(t):

r1 =
m1

m1 + m2

r, r2 = − m2

m1 + m2

r. (83)

ÍâÞ ×ÝÐçØâ, çâÞ Ò âÞÜ áÛãçÐÕ, ÚÞÓÔÐ ÞßØáëÒÐÕÜÞÕ ãàÐÒÝÕÝØÕÜ (81) ÞâÝÞáØâÕÛì-
ÝÞÕ ÔÒØÖÕÝØÕ âÕÛ ßàÞØáåÞÔØâ ßÞÔ ÔÕÙáâÒØÕÜ áØÛ âïÓÞâÕÝØï ßÞ ÚÐÚÞÙ-ÛØÑÞ ÚÕßÛÕ-
àÞÒÞÙ ÞàÑØâÕ, ÞÑÐ âÕÛÐ ÔÒØÖãâáï ßÞ ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝëÜ ÚÕßÛÕàÞÒëÜ ÞàÑØâÐÜ
á ÞÑéØÜ äÞÚãáÞÜ Ò æÕÝâàÕ ÜÐáá áØáâÕÜë.

ÀØá. 18: ÂàÐÕÚâÞàØØ ÚÞÜßÞÝÕÝâ ÔÒÞÙÝÞÙ ×ÒÕ×Ôë Ò áØáâÕÜÕ ÞâáçÕâÐ æÕÝâàÐ ÜÐáá. ¾ÔÝÞÒàÕ-
ÜÕÝÝëÕ ßÞÛÞÖÕÝØï ÚÞÜßÞÝÕÝâ ÞâÜÕçÕÝë ÞÔØÝÐÚÞÒëÜØ æØäàÐÜØ.

ÂÕÛÐ Ò áÒÞÕÜ ÔÒØÖÕÝØØ ÝÐåÞÔïâáï ÒáÕ ÒàÕÜï ÝÐ ßàÞâØÒÞßÞÛÞÖÝëå ÚÞÝæÐå Þâ-
àÕ×ÚÐ ßàïÜÞÙ, ßàÞåÞÔïéÕÓÞ çÕàÕ× æÕÝâà ÜÐáá (áÜ. àØá. 18). ¸× (83) áÛÕÔãÕâ, çâÞ
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ÛØÝÕÙÝëÕ àÐ×ÜÕàë âÐÚØå ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝëå ÞàÑØâ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛì-
Ýë ÜÐááÐÜ âÕÛ. ºÞÓÔÐ ÜÐááÐ m ÞÔÝÞÓÞ Ø× âÕÛ ÜÝÞÓÞ ÜÕÝìèÕ ÜÐááë M ÔàãÓÞÓÞ (m ¿
M), ÚÐÚ, ÝÐßàØÜÕà, Ò áÛãçÐÕ ßÛÐÝÕâë Ø ÁÞÛÝæÐ ØÛØ áßãâÝØÚÐ Ø ßÛÐÝÕâë, æÕÝâà ÜÐáá
áØáâÕÜë ßàÐÚâØçÕáÚØ áÞÒßÐÔÐÕâ á ßÞÛÞÖÕÝØÕÜ ÑÞÛìèÞÓÞ âÕÛÐ, Ð ßàØÒÕÔÕÝÝÐï ÜÐá-
áÐ áÒÞÔØâáï Ú ÜÐááÕ ÜÐÛÞÓÞ âÕÛÐ. ² àÕ×ãÛìâÐâÕ Üë ÒÞ×ÒàÐéÐÕÜáï Ú ×ÐÔÐçÕ Þ ÔÒØ-
ÖÕÝØØ âÕÛÐ ßÞÔ ÔÕÙáâÒØÕÜ áØÛë ßàØâïÖÕÝØï Ú ÝÕßÞÔÒØÖÝÞÜã æÕÝâàã. ¿àØ àÐÒÝëå
ÜÐááÐå âÕÛ ßàØÒÕÔÕÝÝÐï ÜÐááÐ àÐÒÝÐ ßÞÛÞÒØÝÕ ÜÐááë ÞÔÝÞÓÞ Ø× âÕÛ. »ØÝÕÙÝëÕ àÐ×-
ÜÕàë ÞàÑØâ Ò íâÞÜ áÛãçÐÕ ÞÔØÝÐÚÞÒë, Ð ÞâÝÞáØâÕÛìÝÞÕ ÔÒØÖÕÝØÕ âÕÛ ßàÞØáåÞÔØâ ßÞ
ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝÞÙ ÞàÑØâÕ ÒÔÒÞÕ ÑÞÛìèÕÓÞ àÐ×ÜÕàÐ.

¿ÞáÚÞÛìÚã ×ÐÔÐçÐ Þ ÔÒØÖÕÝØØ ÔÒãå Ò×ÐØÜÞÔÕÙáâÒãîéØå âÕÛ ÜÐâÕÜÐâØçÕáÚØ íÚ-
ÒØÒÐÛÕÝâÝÐ ×ÐÔÐçÕ Þ ÔÒØÖÕÝØØ ÞÔÝÞÓÞ âÕÛÐ (á ßàØÒÕÔÕÝÝÞÙ ÜÐááÞÙ) Ò ×ÐÔÐÝÝÞÜ ßÞ-
áâÞïÝÝÞÜ æÕÝâàÐÛìÝÞÜ áØÛÞÒÞÜ ßÞÛÕ, ÕÕ ÞÑëçÝÞ ÝÕ ÞâÝÞáïâ Ú ×ÐÔÐçÕ ÜÝÞÓØå âÕÛ.
½Þ ÞßØáÐÝÝëÙ ÒëèÕ âàÐÔØæØÞÝÝëÙ ßÞÔåÞÔ, ÑãÔãçØ ÔÞáâÐâÞçÝÞ ßàÞáâëÜ Ø áÞÒÕà-
èÕÝÝÞ ßàÐÒØÛìÝëÜ Ò ÜÐâÕÜÐâØçÕáÚÞÜ ÞâÝÞèÕÝØØ, ÜÞÖÕâ Òë×ÒÐâì ã áâãÔÕÝâÐ ÞßàÕ-
ÔÕÛÕÝÝëÕ âàãÔÝÞáâØ, ßÞáÚÞÛìÚã ÔÛï àÐááÜÐâàØÒÐÕÜÞÓÞ ÞâÝÞáØâÕÛìÝÞÓÞ ÔÒØÖÕÝØï
âÕÛ äÐÚâØçÕáÚØ ØáßÞÛì×ãÕâáï ÝÕØÝÕàæØÐÛìÝÐï áØáâÕÜÐ ÞâáçÕâÐ. ¿àØ íâÞÜ ßàÞØ×-
ÒÞÔØâáï ááëÛÚÐ ÝÐ Ø×ÒÕáâÝÞÕ àÕèÕÝØÕ ×ÐÔÐçØ ºÕßÛÕàÐ, ßÞÛãçÕÝÝÞÕ Ò ØÝÕàæØÐÛìÝÞÙ
áØáâÕÜÕ ÞâáçÕâÐ. ¿àØ Ø×ãçÕÝØØ äØ×ØÚØ Ò àÐÜÚÐå ÞÑéÕÓÞ ÚãàáÐ ÞÑêïáÝÕÝØÕ íâÞÓÞ
ÚÐÖãéÕÓÞáï ÝÕáÞÞâÒÕâáâÒØï ÜÞÖÕâ ÞÚÐ×Ðâìáï áÛØèÚÞÜ âÞÝÚØÜ Ø âàãÔÝëÜ ÔÛï ßÞ-
ÝØÜÐÝØï ÜÞÜÕÝâÞÜ. ´Ð Ø ×ÐÔÐçÐ ßàÕÞÑàÐ×ÞÒÐÝØï Þâ ÞÔÝÞÙ áØáâÕÜë ÞâáçÕâÐ Ú ÔàãÓÞÙ
Ò ÔÐÝÝÞÜ áÛãçÐÕ âÞÖÕ ÜÞÖÕâ Òë×ëÒÐâì ×ÐâàãÔÝÕÝØï. ² áÐÜÞÜ ÔÕÛÕ, ÒÕÔì ÚÐÚ ÝÕßàÞ-
áâÞ ÑëÛÞ ºÞßÕàÝØÚã Ø ³ÐÛØÛÕî ÔÞÒÕáâØ âÐÚØÕ ØÔÕØ ÔÞ ÒáÕÞÑéÕÓÞ ßàØ×ÝÐÝØï.

²áÕ íâØ ×ÐâàãÔÝÕÝØï ÜÞÖÝÞ ÞÑÞÙâØ, ÕáÛØ ÒÞáßÞÛì×ÞÒÐâìáï ÝÕáÚÞÛìÚÞ ØÝëÜ, Þâ-
ÛØçÝëÜ Þâ âàÐÔØæØÞÝÝÞÓÞ ßÞÔåÞÔÞÜ Ú ×ÐÔÐçÕ ÔÒãå âÕÛ. ±ãÔÕÜ àÐááÜÐâàØÒÐâì ÔÒØ-
ÖÕÝØÕ ÚÐÖÔÞÓÞ Ø× âÕÛ Ò ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ÞÑéØÜ æÕÝ-
âàÞÜ ÜÐáá. ¿ÞáÚÞÛìÚã áØÛÐ âïÓÞâÕÝØï Ò ÛîÑÞÙ ÜÞÜÕÝâ ÝÐßàÐÒÛÕÝÐ ÒÔÞÛì ßàïÜÞÙ,
áÞÕÔØÝïîéÕÙ âÕÛÐ, Ø æÕÝâà ÜÐáá ÝÐåÞÔØâáï ÝÐ íâÞÙ ßàïÜÞÙ, âÞ ÒÕÚâÞàë áØÛ, ÔÕÙ-
áâÒãîéØå ÝÐ ÚÐÖÔÞÕ Ø× âÕÛ, ÒáÕÓÔÐ ÝÐßàÐÒÛÕÝë Ú æÕÝâàã ÜÐáá. ÇâÞÑë ÞÑêïáÝØâì,
ßÞçÕÜã ÔÒØÖÕÝØÕ ÚÐÖÔÞÓÞ Ø× âÕÛ ÞâÝÞáØâÕÛìÝÞ æÕÝâàÐ ÜÐáá ßÞÔçØÝïÕâáï ×ÐÚÞÝÐÜ
ºÕßÛÕàÐ Ø ßàÞØáåÞÔØâ ßÞ ÚÞÝØçÕáÚØÜ áÕçÕÝØïÜ, ÔÞáâÐâÞçÝÞ ßÞÚÐ×Ðâì, çâÞ ÜÞÖÝÞ
âàÐÚâÞÒÐâì ÔÒØÖÕÝØÕ ÚÐÖÔÞÓÞ âÕÛÐ ÚÐÚ ßàÞØáåÞÔïéÕÕ Ò ÝÕÚÞâÞàÞÜ íääÕÚâØÒÝÞÜ
ÓàÐÒØâÐæØÞÝÝÞÜ ßÞÛÕ, áÞ×ÔÐÒÐÕÜÞÜ ÝÕßÞÔÒØÖÝëÜ æÕÝâàÞÜ, Ð ÝÕ ÔàãÓØÜ ÔÒØÖã-
éØÜáï âÕÛÞÜ íâÞÙ ßÐàë. ÂÐÚÞÙ áØÛÞÒÞÙ æÕÝâà àÐáßÞÛÞÖÕÝ Ò ÝÕßÞÔÒØÖÝÞÜ æÕÝâàÕ
ÜÐáá áØáâÕÜë, Ø åÐàÐÚâÕàØ×ãÕâáï ÝÕÚÞâÞàÞÙ íääÕÚâØÒÝÞÙ ÜÐááÞÙ Meff . ´ÕÙáâÒãî-
éÐï ÝÐ ÚÐÚÞÕ-ÛØÑÞ Ø× âÕÛ áÞ áâÞàÞÝë âÐÚÞÓÞ æÕÝâàÐ áØÛÐ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÐ
ÚÒÐÔàÐâã àÐááâÞïÝØï ÔÞ ÝÕÓÞ Þâ íâÞÓÞ âÕÛÐ.

² áÐÜÞÜ ÔÕÛÕ, ßãáâì r1 Ø r2 � ßàÞÒÕÔÕÝÝëÕ Ø× æÕÝâàÐ ÜÐáá àÐÔØãáë-ÒÕÚâÞàë
ÜÓÝÞÒÕÝÝëå ßÞÛÞÖÕÝØÙ âÕÛ, ÜÐááë ÚÞâÞàëå àÐÒÝë m1 Ø m2. ÂÞÓÔÐ m1r1 +m2r2 = 0,
Ø r1+r2 = [1+(m1/m2)]r1. ¿ÞÛì×ãïáì íâØÜ áÞÞâÝÞèÕÝØÕÜ, Ò äÞàÜãÛÕ ÔÛï áØÛë âï-
ÓÞâÕÝØï F1, ßàØÛÞÖÕÝÝÞÙ Ú ßÕàÒÞÜã âÕÛã áÞ áâÞàÞÝë ÒâÞàÞÓÞ, Üë ÜÞÖÕÜ ÒëàÐ×Øâì
àÐááâÞïÝØÕ (r1 + r2) ÜÕÖÔã âÕÛÐÜØ çÕàÕ× àÐááâÞïÝØÕ r1 Þâ æÕÝâàÐ ÜÐáá ÔÞ ßÕàÒÞÓÞ
âÕÛÐ:

F1 = −G
m1m2

(r1 + r2)2

r1

r1

= −G
m1(M1)eff

r2
1

r1

r1

, (M1)eff =
m3

2

(m1 + m2)2
. (84)

ÂÐÚØÜ ÞÑàÐ×ÞÜ, Ò áÒï×ÐÝÝÞÙ á æÕÝâàÞÜ ÜÐáá ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ ÔÒØ-
ÖÕÝØÕ ßÕàÒÞÓÞ âÕÛÐ ÜÐááë m1 ÑãÔÕâ Ò âÞçÝÞáâØ âÐÚØÜ, ÚÐÚ ÕáÛØ Ñë ÝÐ ÝÕÓÞ ÔÕÙáâÒÞ-
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ÒÐÛÞ æÕÝâàÐÛìÝÞÕ ßÞÛÕ âïÓÞâÕÝØï, áÞ×ÔÐÒÐÕÜÞÕ ÝÕßÞÔÒØÖÝëÜ ØáâÞçÝØÚÞÜ á ÜÐááÞÙ
(M1)eff (Ð ÝÕ ÒâÞàëÜ ÔÒØÖãéØÜáï âÕÛÞÜ). ºÐÚ Üë ×ÝÐÕÜ, âÐÚÞÕ ÔÒØÖÕÝØÕ ßàÞØáåÞ-
ÔØâ ßÞ ×ÐÚÞÝÐÜ ºÕßÛÕàÐ.

ÂÐÚØÕ ÖÕ àÐááãÖÔÕÝØï ÜÞÖÝÞ ßàØÜÕÝØâì Ø ÚÞ ÒâÞàÞÜã âÕÛã áØáâÕÜë: ÕÓÞ ÓàÐÒØ-
âÐæØÞÝÝÞÕ Ò×ÐØÜÞÔÕÙáâÒØÕ á ßÕàÒëÜ âÕÛÞÜ ÜÞÖÝÞ ×ÐÜÕÝØâì ÔÕÙáâÒØÕÜ ÝÕÚÞâÞàÞÓÞ
ÝÕßÞÔÒØÖÝÞÓÞ ØáâÞçÝØÚÐ, àÐáßÞÛÞÖÕÝÝÞÓÞ Ò æÕÝâàÕ ÜÐáá Ø åÐàÐÚâÕàØ×ãÕÜÞÓÞ (Ôàã-
ÓÞÙ) íääÕÚâØÒÝÞÙ ÜÐááÞÙ (M2)eff = m3

1/(m1 +m2)
2. ¾áâÐÕâáï âÞÛìÚÞ ÔÞÚÐ×Ðâì, çâÞ

ÚÕßÛÕàÞÒë ÔÒØÖÕÝØï ÞÑÞØå âÕÛ ßàÞØáåÞÔïâ áØÝåàÞÝÝÞ ßÞ ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝëÜ
ÚÞÜßÛÐÝÐàÝëÜ (×ÐÜÚÝãâëÜ ÛØÑÞ ÞâÚàëâëÜ) ÞàÑØâÐÜ, ÛØÝÕÙÝëÕ àÐ×ÜÕàë ÚÞâÞàëå
ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝë ÜÐááÐÜ âÕÛ. ÂÐÚÞÕ ×ÐÚÛîçÕÝØÕ ÝÕÜÕÔÛÕÝÝÞ ÒëâÕÚÐÕâ Ø×
ãàÐÒÝÕÝØï m1r1 +m2r2 = 0, ÒëßÞÛÝïîéÕÓÞáï Ò áØáâÕÜÕ æÕÝâàÐ ÜÐáá ßàØ ÔÒØÖÕÝØØ
âÕÛ Ò ÛîÑÞÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ.

ÀØá. 19: ÂàÐÕÚâÞàØØ ÚÞÜßÞÝÕÝâ ÔÒÞÙÝÞÙ ×ÒÕ×Ôë ßàØ ÝÐÑÛîÔÕÝØØ �áÞ áâÞàÞÝë� (Ò ØÝÕàæØ-
ÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ). ¾ÔÝÞÒàÕÜÕÝÝëÕ ßÞÛÞÖÕÝØï ÚÞÜßÞÝÕÝâ ÞâÜÕçÕÝë ÞÔØÝÐÚÞÒëÜØ
æØäàÐÜØ.

² ÛîÑÞÙ ÔàãÓÞÙ ØÝÕàæØÐÛìÝÞÙ áØáâÕÜÕ ÞâáçÕâÐ, â. Õ. ßàØ ÝÐÑÛîÔÕÝØØ �áÞ áâÞ-
àÞÝë�, âÕÛÐ áØáâÕÜë ÔÒØÖãâáï ÝÕàÐÒÝÞÜÕàÝÞ ÒÔÞÛì áÛÞÖÝëå ÒÞÛÝÞÞÑàÐ×Ýëå ØÛØ
ßÕâÛÕÞÑàÐ×Ýëå âàÐÕÚâÞàØÙ. ÍâÐ ÚÐÖãéÐïáï áÛÞÖÝÞáâì Øå ÔÒØÖÕÝØï ßÞÛãçÐÕâáï Ò
àÕ×ãÛìâÐâÕ áÛÞÖÕÝØï áàÐÒÝØâÕÛìÝÞ ßàÞáâëå ÚÕßÛÕàÞÒëå ÔÒØÖÕÝØÙ (ßÕàØÞÔØçÕáÚØå
ßàØ ×ÐÜÚÝãâëå ÞàÑØâÐå) ÞâÝÞáØâÕÛìÝÞ æÕÝâàÐ ÜÐáá á àÐÒÝÞÜÕàÝëÜ ßàïÜÞÛØÝÕÙ-
ÝëÜ ÔÒØÖÕÝØÕÜ ÒÜÕáâÕ á æÕÝâàÞÜ ÜÐáá áØáâÕÜë. ½Ð àØá. 19 ßÞÚÐ×ÐÝ ßàØÜÕà âÐÚØå
âàÐÕÚâÞàØÙ.

17 ÂÞçÝëÕ çÐáâÝëÕ àÕèÕÝØï ×ÐÔÐçØ âàÕå âÕÛ
´Ûï ÞÓàÐÝØçÕÝÝÞÙ ÚàãÓÞÒÞÙ ×ÐÔÐçØ âàÕå âÕÛ áãéÕáâÒãÕâ ÚÛÐáá âÞçÝëå àÕèÕÝØÙ, áÞ-
ÞâÒÕâáâÒãîéØå àÐÒÝÞÒÕáØî âàÕâìÕÓÞ âÕÛÐ (ÜÐááÐ ÚÞâÞàÞÓÞ ßàÕÝÕÑàÕÖØÜÞ ÜÐÛÐ ßÞ
áàÐÒÝÕÝØî á ÜÐááÐÜØ ÔÒãå ÔàãÓØå âÕÛ) Ò ÞÔÝÞÙ Ø× ßïâØ ÛÐÓàÐÝÖÕÒëå âÞçÕÚ (ØÛØ
âÞçÕÚ ÛØÑàÐæØØ) ÒÞ ÒàÐéÐîéÕÙáï áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ÛØÝØÕÙ, áÞÕÔØ-
ÝïîéÕÙ ÜÐááØÒÝëÕ âÕÛÐ. ½ØÖÕ ßàØÒÞÔØâáï ÜÐâÕÜÐâØçÕáÚÞÕ ÔÞÚÐ×ÐâÕÛìáâÒÞ áãéÕ-
áâÒÞÒÐÝØï âàÕãÓÞÛìÝëå âÞçÕÚ ÛØÑàÐæØØ Ø ÞßØáÐÝ áßÞáÞÑ ÝÐåÞÖÔÕÝØï ßÞÛÞÖÕÝØï
ÚÞÛÛØÝÕÐàÝëå âÞçÕÚ ÛØÑàÐæØØ.
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17.1 ÂàÕãÓÞÛìÝëÕ âÞçÚØ ÛØÑàÐæØØ

ÀØá. 20: ÂàÕãÓÞÛìÝëÕ âÞçÚØ ÛØÑàÐæØØ Ò áØáâÕÜÕ âïÓÞâÕîéØå âÕÛ A Ø B àÐÒÝëå ÜÐáá (a) Ø
àÐ×ÛØçÝëå ÜÐáá (b).

ÀÐááÜÞâàØÜ áÝÐçÐÛÐ âàÕãÓÞÛìÝëÕ âÞçÚØ ÛØÑàÐæØØ Ò çÐáâÝÞÜ áÛãçÐÕ, ÚÞÓÔÐ ÜÐá-
áë âÕÛ A Ø B àÐÒÝë Ø Ò áØáâÕÜÕ æÕÝâàÐ ÜÐáá ÞÝØ ÔÒØÖãâáï ßÞ ÞÑéÕÙ ÚàãÓÞÒÞÙ
ÞàÑØâÕ, ÝÐåÞÔïáì Ò ÚÐÖÔëÙ ÜÞÜÕÝâ Ò ÕÕ ÔØÐÜÕâàÐÛìÝÞ ßàÞâØÒÞßÞÛÞÖÝëå âÞçÚÐå.
´ØÐÜÕâà âÐÚÞÙ ÞàÑØâë àÐÒÕÝ R (àØá. 20,a). ÃÓÛÞÒãî áÚÞàÞáâì ω ÞÑàÐéÕÝØï ÜÐá-
áØÒÝëå âÕÛ ÛÕÓÚÞ ÝÐÙâØ á ßÞÜÞéìî ÒâÞàÞÓÞ ×ÐÚÞÝÐ ½ìîâÞÝÐ. ÀÐááÜÐâàØÒÐï Úàã-
ÓÞÒÞÕ ÔÒØÖÕÝØÕ ÞÔÝÞÓÞ Ø× âÕÛ ÜÐááë m ßÞ ÞÚàãÖÝÞáâØ àÐÔØãáÐ R/2 ßÞÔ ÔÕÙáâÒØÕÜ
áØÛë âïÓÞâÕÝØï, ÔÕÙáâÒãîéÕÙ áÞ áâÞàÞÝë ÔàãÓÞÓÞ âÕÛÐ, ÜÞÖÝÞ ÝÐßØáÐâì:

mω2R/2 = Gm2/R2,

ÞâÚãÔÐ ω2 = 2Gm/R3. µáÛØ âàÕâìÕ âÕÛÞ ßàÕÝÕÑàÕÖØÜÞ ÜÐÛÞÙ ÜÐááë ßÞÜÕáâØâì Ò
ÒÕàèØÝã S àÐÒÝÞáâÞàÞÝÝÕÓÞ âàÕãÓÞÛìÝØÚÐ BAS, ÞáÝÞÒÐÝØÕÜ BA ÚÞâÞàÞÓÞ áÛãÖØâ
ÞâàÕ×ÞÚ, áÞÕÔØÝïîéØÙ ÜÐááØÒÝëÕ âÕÛÐ, âÞ àÕ×ãÛìâØàãîéÐï áØÛÐ ßàØâïÖÕÝØï âàÕ-
âìÕÓÞ âÕÛÐ ÔÒãÜï ÜÐááØÒÝëÜØ âÕÛÐÜØ ÑãÔÕâ ÝÐßàÐÒÛÕÝÐ Ú æÕÝâàã ÜÐáá C, Ð ÕÕ ÒÕ-
ÛØçØÝÐ ÑãÔÕâ ÚÐÚ àÐ× âÐÚÞÙ, çâÞÑë áÞÞÑéÐâì âàÕâìÕÜã âÕÛã æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ
ãáÚÞàÕÝØÕ, ÝÕÞÑåÞÔØÜÞÕ ÔÛï áØÝåàÞÝÝÞÓÞ ÚàãÓÞÒÞÓÞ ÔÒØÖÕÝØï ÒÜÕáâÕ á ÜÐááØÒÝë-
ÜØ âÕÛÐÜØ. ´ÕÙáâÒØâÕÛìÝÞ, àÕ×ãÛìâØàãîéÐï áØÛÐ âïÓÞâÕÝØï àÐÒÝÐ

√
3Gm∆m/R2,

Ð æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ ãáÚÞàÕÝØÕ ßàØ ÞÑàÐéÕÝØØ ÒÞÚàãÓ æÕÝâàÐ ÜÐáá ßÞ ÞÚàãÖÝÞ-
áâØ àÐÔØãáÐ R

√
3/2 á ãÓÛÞÒÞÙ áÚÞàÞáâìî ω àÐÒÝÞ ω2R

√
3/2 =

√
3Gm/R2.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÕáÛØ âàÕâìÕ âÕÛÞ ßÞÜÕéÕÝÞ Ò âÞçÚã ÛØÑàÐæØØ S Ø ÒÞ ÒàÐéÐî-
éÕÙáï áØáâÕÜÕ ÞâáçÕâÐ ßÞÚÞØâáï (ØÜÕÕâ ÝãÛÕÒãî áÚÞàÞáâì), ÞÝÞ ÑãÔÕâ ÞáâÐÒÐâìáï
Ò íâÞÙ âÞçÚÕ Ø ÔÐÛìèÕ. ´àãÓØÜØ áÛÞÒÐÜØ, Òáï áØáâÕÜÐ âàÕå âÕÛ ÒàÐéÐÕâáï ÚÐÚ æÕ-
ÛÞÕ (ÚÐÚ âÒÕàÔÞÕ âÕÛÞ) ÒÞÚàãÓ æÕÝâàÐ ÜÐáá C á ãÓÛÞÒÞÙ áÚÞàÞáâìî ω =

√
2mG/R3.

ÂàÕãÓÞÛìÝÐï àÐÒÝÞáâÞàÞÝÝïï ÚÞÝäØÓãàÐæØï âÕÛ áÞåàÐÝïÕâáï ÒÞ ÒàÕÜï ÔÒØÖÕÝØï. ²
áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ÞÔÝØÜ Ø× ÜÐááØÒÝëå âÕÛ, ÝÐßàØÜÕà, á âÕÛÞÜ A, âàÕ-
âìÕ âÕÛÞ ÞÑàÐéÐÕâáï ÒÞÚàãÓ A ßÞ âÞÙ ÖÕ ÚàãÓÞÒÞÙ ÞàÑØâÕ àÐÔØãáÐ R, çâÞ Ø ÔàãÓÞÕ
ÜÐááØÒÝÞÕ âÕÛÞ B, ÝÐåÞÔïáì ÒßÕàÕÔØ ÛØÑÞ ßÞ×ÐÔØ âÕÛÐ B ÝÐ ãÓÛÞÒÞÜ àÐááâÞïÝØØ
60◦.
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´Ûï áØáâÕÜë, Ò ÚÞâÞàÞÙ ÜÐááë ÑÞÛìèØå âÕÛ A Ø B àÐ×ÛØçÝë, ÔÞÚÐ×ÐâÕÛìáâÒÞ
ÞÚÐ×ëÒÐÕâáï ÝÕáÚÞÛìÚÞ ÑÞÛÕÕ áÛÞÖÝëÜ. ºàãÓÞÒÞÕ ÔÒØÖÕÝØÕ âÕÛ ÒÞÚàãÓ æÕÝâàÐ ÜÐáá
C (àØá. 20,b) ßàÞØáåÞÔØâ á ãÓÛÞÒÞÙ áÚÞàÞáâìî ω =

√
(m1 + m2)G/R3. ÍâÞ ÒëàÐ-

ÖÕÝØÕ ßÞÛãçÐÕâáï âÕÜ ÖÕ áßÞáÞÑÞÜ, çâÞ Ø ÔÛï àÐááÜÞâàÕÝÝÞÓÞ ÒëèÕ áÛãçÐï àÐÒÝëå
ÜÐáá: ÔÞáâÐâÞçÝÞ ßàØÜÕÝØâì ÒâÞàÞÙ ×ÐÚÞÝ ½ìîâÞÝÐ Ú ÚàãÓÞÒÞÜã ÔÒØÖÕÝØî ÞÔÝÞÓÞ
Ø× ÜÐááØÒÝëå âÕÛ. ÇâÞÑë ãÒØÔÕâì, çâÞ Ø Ò íâÞÜ áÛãçÐÕ Òáï áØáâÕÜÐ âàÕå âÕÛ ÜÞÖÕâ
ÒàÐéÐâìáï ÚÐÚ æÕÛÞÕ (ÚÐÚ âÒÕàÔÞÕ âÕÛÞ) ÒÞÚàãÓ æÕÝâàÐ ÜÐáá, ÝãÖÝÞ ßÞÚÐ×Ðâì, çâÞ
àÕ×ãÛìâØàãîéÐï áØÛÐ âïÓÞâÕÝØï, ßàØÛÞÖÕÝÝÐï Ú âàÕâìÕÜã âÕÛã áÞ áâÞàÞÝë ÜÐááØÒ-
Ýëå âÕÛ, ÝÐßàÐÒÛÕÝÐ Ú æÕÝâàã ÜÐáá, Ð ÕÕ ÒÕÛØçØÝÐ ÚÐÚ àÐ× âÐÚÞÒÐ, çâÞÑë ÞÑÕáßÕçØâì
âàÕâìÕÜã âÕÛã ÝÕÞÑåÞÔØÜÞÕ æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ ãáÚÞàÕÝØÕ.

¿àÞÒÕÔÕÜ ÒÕÚâÞà Ø× âàÕãÓÞÛìÝÞÙ âÞçÚØ ÛØÑàÐæØØ S (àØá. 20,b) Ú æÕÝâàã ÜÐáá C,
Ø àÐááÜÞâàØÜ ÕÓÞ áÞáâÐÒÛïîéØÕ, ßÐàÐÛÛÕÛìÝëÕ ÑÞÚÞÒëÜ áâÞàÞÝÐÜ âàÕãÓÞÛìÝØÚÐ
BAS. ¸× àØáãÝÚÐ ÒØÔÝÞ, çâÞ íâØ áÞáâÐÒÛïîéØÕ àÐÒÝë àÐááâÞïÝØïÜ r1 Ø r2 ÜÕÖÔã
æÕÝâàÞÜ ÜÐáá Ø âÕÛÐÜØ B Ø A áÞÞâÒÕâáâÒÕÝÝÞ. ¿ÞÚÐÖÕÜ, çâÞ íâÞâ ÒÕÚâÞà ÜÞÖÝÞ
àÐááÜÐâàØÒÐâì (Ò ÞßàÕÔÕÛÕÝÝÞÜ ÜÐáèâÐÑÕ) ÚÐÚ àÕ×ãÛìâØàãîéãî áØÛã âïÓÞâÕÝØï F,
ßàØÛÞÖÕÝÝãî Ú âÕÛã S ßàÕÝÕÑàÕÖØÜÞ ÜÐÛÞÙ ÜÐááë ∆m, Ð ÕÓÞ áÞáâÐÒÛïîéØÕ ÒÔÞÛì
áâÞàÞÝ âàÕãÓÞÛìÝØÚÐ � ÚÐÚ áØÛë ßàØâïÖÕÝØï FB Ø FA âÕÛÐ S âÕÛÞÜ B ÜÐááë m1 Ø
âÕÛÞÜ A ÜÐááë m2 áÞÞâÒÕâáâÒÕÝÝÞ.

¿ãáâì R � àÐááâÞïÝØÕ ÜÕÖÔã ÜÐááØÒÝëÜØ âÕÛÐÜØ A Ø B. ÂÞÓÔÐ Øå àÐááâÞïÝØï
Þâ æÕÝâàÐ ÜÐáá àÐÒÝë r1 = Rm2/(m1 + m2) Ø r2 = Rm1/(m1 + m2) áÞÞâÒÕâáâÒÕÝÝÞ.
ÁÞÓÛÐáÝÞ ×ÐÚÞÝã âïÓÞâÕÝØï, FB = Gm1∆m/R2, Ø FA = Gm2∆m/R2, âÐÚ ÚÐÚ àÐá-
áâÞïÝØï ÜÕÖÔã âÞçÚÞÙ ÛØÑàÐæØØ Ø ÚÐÖÔëÜ Ø× âÕÛ A Ø B âÐÚÖÕ àÐÒÝë R. ¼ë ÒØÔØÜ,
çâÞ ÞâÝÞèÕÝØÕ áØÛ FA/FB àÐÒÝÞ m2/m1 = r1/r2, Ø ßÞíâÞÜã áÞáâÐÒÛïîéØÕ ÒÕÚâÞ-
àÐ SC ÔÕÙáâÒØâÕÛìÝÞ ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ áØÛë âïÓÞâÕÝØï FA Ø FB, ßàØÛÞ-
ÖÕÝÝëÕ Ú âÕÛã S áÞ áâÞàÞÝë ÜÐááØÒÝëå âÕÛ A Ø B. ¿ÞíâÞÜã áãÜÜÐ áØÛ FA Ø FB

ÔÕÙáâÒØâÕÛìÝÞ ÝÐßàÐÒÛÕÝÐ Ú æÕÝâàã ÜÐáá C.
ÂÕßÕàì ÞáâÐÕâáï ÛØèì ßÞÚÐ×Ðâì, çâÞ ÒÕÛØçØÝÐ àÕ×ãÛìâØàãîéÕÙ áØÛë âïÓÞâÕ-

ÝØï F = FA + FB ÚÐÚ àÐ× âÐÚÞÒÐ, çâÞÑë ÞÑÕáßÕçØâì âàÕâìÕÜã âÕÛã ÝÕÞÑåÞÔØ-
ÜÞÕ æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ ãáÚÞàÕÝØÕ ω2r = (m1 + m2)Gr/R3 (Ò ØÝÕàæØÐÛìÝÞÙ áØ-
áâÕÜÕ ÞâáçÕâÐ æÕÝâàÐ ÜÐáá), ÓÔÕ r � àÐááâÞïÝØÕ Þâ æÕÝâàÐ ÜÐáá ÔÞ âàÕãÓÞÛìÝÞÙ
âÞçÚØ ÛØÑàÐæØØ S. ¸× àØá. 20,b Üë ÒØÔØÜ, çâÞ F/FB = r/r2, Ø, áÛÕÔÞÒÐâÕÛìÝÞ,
F/FB = (r/R)(m1 + m2)/m1. ¿ÞáÚÞÛìÚã FB = Gm1∆m/R2, ÝÐåÞÔØÜ, çâÞ F =
Gr/R3(m1 + m2)∆m. ÂÐÚØÜ ÞÑàÐ×ÞÜ, áØÛÐ ØÜÕÕâ ÚÐÚ àÐ× ÝÕÞÑåÞÔØÜãî ÒÕÛØçØÝã.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, Üë ßÞÚÐ×ÐÛØ, çâÞ Òáï áØáâÕÜÐ ÜÞÖÕâ ÒàÐéÐâìáï ÚÐÚ æÕÛÞÕ ÒÞ-
ÚàãÓ æÕÝâàÐ ÜÐáá. ÂÕÛÐ ßàØ íâÞÜ ÔÒØÖãâáï áØÝåàÞÝÝÞ ßÞ ÞÚàãÖÝÞáâïÜ àÐ×Ýëå àÐ-
ÔØãáÞÒ. ² áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ÞÔÝØÜ Ø× ÜÐááØÒÝëå âÕÛ, ÔÒÐ ÔàãÓØå âÕÛÐ
ÔÒØÖãâáï ßÞ ÞÔÝÞÙ Ø âÞÙ ÖÕ ÚàãÓÞÒÞÙ ÞàÑØâÕ ÝÐ ãÓÛÞÒÞÜ àÐááâÞïÝØØ 60◦ ÞÔÝÞ Þâ
ÔàãÓÞÓÞ. ² ÞÔÝÞÙ Ø× âàÕãÓÞÛìÝëå âÞçÕÚ ÛØÑàÐæØØ ÛÕÓÚÞÕ âÕÛÞ ÞßÕàÕÖÐÕâ ÜÐááØÒÝÞÕ
âÕÛÞ ÝÐ ãÓÞÛ 60◦, Ò ÔàãÓÞÙ � ÞâáâÐÕâ ÝÐ âÐÚÞÙ ÖÕ ãÓÞÛ.

ÃáâÞÙçØÒÞáâì ÔÒØÖÕÝØï ÛÕÓÚÞÓÞ âÕÛÐ Ò ÞÚàÕáâÝÞáâØ âàÕãÓÞÛìÝëå âÞçÕÚ ÛØÑàÐ-
æØØ Ò ÞÓàÐÝØçÕÝÝÞÙ ÚàãÓÞÒÞÙ ×ÐÔÐçÕ âàÕå âÕÛ ÞáâÐÒÐÛÐáì ßàÕÔÜÕâÞÜ ÝÐßàïÖÕÝ-
Ýëå ØááÛÕÔÞÒÐÝØÙ Ò ÝÕÑÕáÝÞÙ ÜÕåÐÝØÚÕ ÝÐ ßàÞâïÖÕÝØØ ÑÞÛÕÕ ÔÒãå áâÞÛÕâØÙ. ²
ÚÞÝæÕ ÚÞÝæÞÒ ÑëÛÞ ãáâÐÝÞÒÛÕÝÞ, çâÞ ÔÒØÖÕÝØÕ ãáâÞÙçØÒÞ, ÕáÛØ ÞâÝÞèÕÝØÕ ÜÐáá
κ = m1/(m1 + m2) (ÓÔÕ m1 < m2) ãÔÞÒÛÕâÒÞàïÕâ áÛÕÔãîéÕÜã ãáÛÞÒØî:

κ(1− κ) < 1/27.

ÂÐÚØÜ ÞÑàÐ×ÞÜ, ÔÒØÖÕÝØÕ Ò âàÕãÓÞÛìÝëå âÞçÚÐå ÛØÑàÐæØØ ãáâÞÙçØÒÞ, ÕáÛØ ÜÐá-
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áÐ ÞÔÝÞÓÞ Ø× ÜÐááØÒÝëå âÕÛ ×ÝÐçØâÕÛìÝÞ ÜÕÝìèÕ ÜÐááë ÔàãÓÞÓÞ (ÕáÛØ ÞâÝÞèÕÝØÕ
m1/m2 ÝÕ ßàÕÒëèÐÕâ ßàØÑÛØ×ØâÕÛìÝÞ 0,04). ² áØáâÕÜÕ ·ÕÜÛï � »ãÝÐ m1/m2 =
0.0123, ßÞíâÞÜã âàÕãÓÞÛìÝëÕ âÞçÚØ ÛØÑàÐæØØ ãáâÞÙçØÒë.

17.2 ºÞÛÛØÝÕÐàÝëÕ âÞçÚØ ÛØÑàÐæØØ

ÀØá. 21: ºÞÛÛØÝÕÐàÝëÕ âÞçÚØ ÛØÑàÐæØØ S1, S2 Ø S3 Ò áØáâÕÜÕ âÕÛ A Ø B á àÐ×ÛØçÝëÜØ
ÜÐááÐÜØ (a) Ø àÐÒÝëÜØ ÜÐááÐÜØ (b).

½ÐÙÔÕÜ ßÞÛÞÖÕÝØï âàÕå ÚÞÛÛØÝÕÐàÝëå âÞçÕÚ ÛØÑàÐæØØ S1, S2 Ø S3, àÐáßÞÛÞ-
ÖÕÝÝëå ÝÐ ßàïÜÞÙ, áÞÕÔØÝïîéÕÙ ÜÐááØÒÝëÕ âÕÛÐ A Ø B (àØá. 21,a). ºÞÔÐ ÜÐááÐ
ÞÔÝÞÓÞ Ø× ÝØå ×ÝÐçØâÕÛìÝÞ ÜÕÝìèÕ ÜÐááë ÔàãÓÞÓÞ, ÔÒÕ Ø× âàÕå ÚÞÛÛØÝÕÐàÝëå âÞ-
çÕÚ ÛØÑàÐæØØ àÐáßÞÛÞÖÕÝë ÒÑÛØ×Ø ÜÕÝìèÕÓÞ âÕÛÐ (B ÝÐ àØá. 21,a). ² âÐÚÞÜ áÛãçÐÕ
ãÔÞÑÝÞ ÝÐ×ëÒÐâì âàÕâìÕ âÕÛÞ ßàÕÝÕÑàÕÖØÜÞ ÜÐÛÞÙ ÜÐááë Ò ÞÔÝÞÙ Ø× íâØå âÞçÕÚ
áßãâÝØÚÞÜ ÜÕÝìèÕÓÞ âÕÛÐ, åÞâï ÝÐ áÐÜÞÜ ÔÕÛÕ ÞÝÞ ïÒÛïÕâáï áßãâÝØÚÞÜ ÞÑÞØå ÜÐá-
áØÒÝëå âÕÛ A Ø B, Ø ÔÒØÖÕâáï áØÝåàÞÝÝÞ á A Ø B Ò Øå Ò×ÐØÜÝÞÜ ÞÑàÐéÕÝØØ. ÂÐÚÞÕ
ÞÑàÐéÕÝØÕ ßàÞØáåÞÔØâ á ãÓÛÞÒÞÙ áÚÞàÞáâìî ω, ×ÐÒØáïéÕÙ Þâ ßÞÛÝÞÙ ÜÐááë áØáâÕ-
Üë m1 + m2 Ø Þâ àÐááâÞïÝØï R ÜÕÖÔã ÜÐááØÒÝëÜØ âÕÛÐÜØ: ω =

√
(m1 + m2)G/R3.

´Ûï ÝÐåÞÖÔÕÝØï ßÞÛÞÖÕÝØï ÚÞÛÛØÝÕÐàÝëå âÞçÕÚ ÛØÑàÐæØØ, ÝÐßàØÜÕà, àÐááâÞ-
ïÝØï l1 ÔÞ ÒÝÕèÝÕÙ âÞçÚØ S1 Þâ æÕÝâàÐ ÜÐáá C, ÒÞáßÞÛì×ãÕÜáï ×ÐÚÞÝÞÜ âïÓÞâÕÝØï Ø
ÒâÞàëÜ ×ÐÚÞÝÞÜ ½ìîâÞÝÐ. ¿àØÛÞÖÕÝÝÐï Ú áßãâÝØÚã àÕ×ãÛìâØàãîéÐï áØÛÐ � íâÞ
ÒÕÚâÞàÝÐï áãÜÜÐ áØÛ ßàØâïÖÕÝØï áßãâÝØÚÐ ÜÐááØÒÝëÜØ âÕÛÐÜØ B Ø A. ¾ÑÕ áØÛë
ÝÐßàÐÒÛÕÝë Ò áâÞàÞÝã æÕÝâàÐ ÜÐáá C, Ð Øå áãÜÜÐ ÔÞÛÖÝÐ ÞÑÕáßÕçØÒÐâì áßãâÝØÚã
æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ ãáÚÞàÕÝØÕ ω2l1 ÔÛï ÔÒØÖÕÝØï ßÞ ÞÚàãÖÝÞáâØ ÒÞÚàãÓ æÕÝâàÐ
ÜÐáá á ÔÐÝÝÞÙ ãÓÛÞÒÞÙ áÚÞàÞáâìî ω. ¿ÞíâÞÜã

ω2l1 = G

[
m1

(l1 − r1)2
+

m2

(l1 + r2)2

]
. (85)

·ÔÕáì r1 Ø r2 � àÐááâÞïÝØï ÜÕÖÔã æÕÝâàÞÜ ÜÐáá C Ø âÕÛÐÜØ B (ÜÐááë m1) Ø A
(ÜÐááë m2) áÞÞâÒÕâáâÒÕÝÝÞ: r1 = Rm2/(m1 + m2), r2 = Rm1/(m1 + m2). ¿ÕàÒëÙ
çÛÕÝ Ò ßàÐÒÞÙ çÐáâØ ãàÐÒÝÕÝØï (85) ÞÑãáÛÞÒÛÕÝ ßàØâïÖÕÝØÕÜ âÕÛÐ B, àÐááâÞïÝØÕ
ÔÞ ÚÞâÞàÞÓÞ Þâ S1 àÐÒÝÞ l1 − r1, ÒâÞàÞÙ � âÕÛÐ A, àÐááâÞïÝØÕ ÔÞ ÚÞâÞàÞÓÞ Þâ S1

àÐÒÝÞ l1 − r2. ¿ÞÔáâÐÒÛïï Ò ãàÐÒÝÕÝØÕ (85) Ø×ÒÕáâÝÞÕ ×ÝÐçÕÝØÕ ÚÒÐÔàÐâÐ ãÓÛÞÒÞÙ
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áÚÞàÞáâØ ω2 = (m1 + m2)G/R3, ßÞÛãçÐÕÜ ãàÐÒÝÕÝØÕ ÔÛï ÝÐåÞÖÔÕÝØï àÐááâÞïÝØï
l1:

(m1 + m2)
l1
R3

=
m1

(l1 − r1)2
+

m2

(l1 + r2)2
. (86)

ÍâÞ ãàÐÒÝÕÝØÕ ÜÞÖÝÞ àÕèØâì çØáÛÕÝÝÞ ÜÕâÞÔÞÜ ØâÕàÐæØÙ. ´Ûï íâÞÓÞ ßÕàÕßØ-
èÕÜ ÕÓÞ Ò ÒØÔÕ x = f(x) á f ′(x) < 1:

l1 = r1 +

√
m1

(m1 + m2)l1/R3 −m2/(l1 + r2)2
. (87)

¿àØÝØÜÐï l1 = R Ò ÚÐçÕáâÒÕ ÝãÛÕÒÞÓÞ ßàØÑÛØÖÕÝØï, ßÞÔáâÐÒÛïÕÜ íâÞ ×ÝÐçÕ-
ÝØÕ Ò ßàÐÒãî çÐáâì ãàÐÒÝÕÝØï (87). ÂÞÓÔÐ ÛÕÒÐï çÐáâì ÔÐÕâ ßÕàÒÞÕ ßàØÑÛØÖÕÝØÕ Ú
l1. ¿ÞÔáâÐÒÛïï áÝÞÒÐ íâÞ ßàØÑÛØÖÕÝÝÞÕ ×ÝÐçÕÝØÕ Ò ßàÐÒãî çÐáâì, ßÞÛãçÐÕÜ áÛÕ-
ÔãîéÕÕ (ÒâÞàÞÕ) ßàØÑÛØÖÕÝØÕ ÔÛï l1, Ø âÐÚ ÔÐÛÕÕ, ßÞÚÐ ÞçÕàÕÔÝÞÕ ßàØÑÛØÖÕÝÝÞÕ
×ÝÐçÕÝØÕ ÝÕ áÞÒßÐÔÕâ á ßàÕÔëÔãéØÜ Ò ßàÕÔÕÛÐå ×ÐÔÐÝÝÞÙ âÞçÝÞáâØ.

ÂÐÚØÜ áßÞáÞÑÞÜ Üë ÝÐåÞÔØÜ, çâÞ àÐááâÞïÝØÕ l1 ÔÞ ÒÝÕèÝÕÙ âÞçÚØ ÛØÑàÐæØØ Þâ
æÕÝâàÐ ÜÐáá ÔÛï áØáâÕÜë á m1 = m2 àÐÒÝÞ 1.1984 R; ÔÛï áØáâÕÜë á m1 = 0.5 m2

ÞÝÞ àÐÒÝÞ 1.2490 R; ÔÛï m1 = 0.4 m2 l1 = 1.2597 R. ´Ûï áØáâÕÜë ·ÕÜÛï � »ãÝÐ
m1 = 0.0123 m2, âÐÚ çâÞ ÒÝÕèÝïï âÞçÚÐ ÛØÑàÐæØØ ÝÐåÞÔØâáï ÝÐ àÐááâÞïÝØØ Þâ æÕÝ-
âàÐ ÜÐáá, àÐÒÝÞÜ ßàÞØ×ÒÕÔÕÝØî 1.1557 ÝÐ áàÕÔÝÕÕ àÐááâÞïÝØÕ R Þâ ·ÕÜÛØ ÔÞ »ãÝë,
â. Õ. ÝÐ àÐááâÞïÝØØ ßàØÑÛØ×ØâÕÛìÝÞ 0.17 R Þâ »ãÝë.

°ÝÐÛÞÓØçÝÞ ÝÐåÞÔØâáï ßÞÛÞÖÕÝØÕ ÒÝãâàÕÝÝÕÙ ÚÞÛÛØÝÕÐàÝÞÙ âÞçÚØ ÛØÑàÐæØØ
S2. ´Ûï àÐááâÞïÝØï l2 Þâ íâÞÙ âÞçÚØ ÛØÑàÐæØØ ÔÞ æÕÝâàÐ ÜÐáá C ßÞÛãçÐÕÜ áÛÕÔã-
îéØÕ ×ÝÐçÕÝØï: Ò áØáâÕÜÕ á àÐÒÝëÜØ ÜÐááÐÜØ ÔÒãå âÕÛ (m1 = m2) íâÐ âÞçÚÐ àÐá-
ßÞÛÞÖÕÝÐ Ò æÕÝâàÕ ÜÐáá, â. Õ. l2 = 0, çâÞ ÞçÕÒØÔÝÞ Ø× áÞÞÑàÐÖÕÝØÙ áØÜÜÕâàØØ; ÔÛï
áØáâÕÜë á m1 = 0.5 m2 l2 = 0.2374 R; ÔÛï m1 = 0.4 m2 l2 = 0.30772 R. ´Ûï áØáâÕÜë
·ÕÜÛï � »ãÝÐ l2 = 0.8369 R, â. Õ. âÞçÚÐ ÝÐåÞÔØâáï ÝÐ àÐááâÞïÝØØ ßàØÑÛØ×ØâÕÛìÝÞ
0.15 R Þâ »ãÝë.

ÂàÕâìï ÚÞÛÛØÝÕÐàÝÐï âÞçÚÐ ÛØÑàÐæØØ S3 ÝÐåÞÔØâáï ÝÐ ßàÞâØÒÞßÞÛÞÖÝÞÙ áâÞ-
àÞÝÕ (ßÞ ÞâÝÞèÕÝØî Ú B) ÑÞÛÕÕ ÜÐááØÒÝÞÓÞ âÕÛÐ A. ² áØáâÕÜÕ, ÓÔÕ ÜÐááë âÕÛ A Ø
B àÐÒÝë (àØá. 21,b), íâÐ âÞçÚÐ ÝÐåÞÔØâáï ÝÐ âÐÚÞÜ ÖÕ àÐááâÞïÝØØ Þâ æÕÝâàÐ ÜÐáá,
ÚÐÚ Ø âÞçÚÐ S1: l3 = l1 = 1.1984 R. ÍâÞ ÞçÕÒØÔÝÞ Ø× áÞÞÑàÐÖÕÝØÙ áØÜÜÕâàØØ. ´Ûï
áØáâÕÜë á m1 = 0.5 m2 l3 = 1.1364 R; ÔÛï m1 = 0.4 m2 l3 = 1.1175 R. ´Ûï áØáâÕÜë
·ÕÜÛï � »ãÝÐ l3 = 1.005 R, â. Õ. ßàÞâØÒÞßÞÛÞÖÝÐï ÒÝÕèÝïï âÞçÚÐ ÝÐåÞÔØâáï ÝÐ
àÐááâÞïÝØØ ßàØÑÛØ×ØâÕÛìÝÞ 0.993 R Þâ ·ÕÜÛØ Ò áâÞàÞÝã, ßàÞâØÒÞßÞÛÞÖÝãî »ãÝÕ.
ÁßãâÝØÚ Ò âÐÚÞÙ âÞçÚÕ ÑãÔÕâ ÔÒØÓÐâìáï ÒÞÚàãÓ ·ÕÜÛØ ÒÔÞÛì ßÞçâØ âÐÚÞÙ ÖÕ, ÚÐÚ
ã »ãÝë, ÚàãÓÞÒÞÙ ÞàÑØâë, ÕáÛØ áÞÞÑéØâì áßãâÝØÚã ÝÕÞÑåÞÔØÜãî ÝÐçÐÛìÝãî áÚÞ-
àÞáâì. ¿àØ ÔÒØÖÕÝØØ »ãÝÐ Ø áßãâÝØÚ ÑãÔãâ àÐÒßÞÛÐÓÐâìáï Ò ÔØÐÜÕâàÐÛìÝÞ ßàÞâØ-
ÒÞßÞÛÞÖÝëå âÞçÚÐå áÒÞØå ÞàÑØâ.

¼ë àÐááÜÞâàÕÛØ ×ÔÕáì âÞçÝëÕ çÐáâÝëÕ àÕèÕÝØï ÞÓàÐÝØçÕÝÝÞÙ ×ÐÔÐçØ âàÕå âÕÛ,
ÚÞâÞàëÜ áÞÞâÒÕâáâÒãîâ ÚàãÓÞÒëÕ ÔÒØÖÕÝØï. ½Þ ßÞÔÞÑÝëÕ âÞçÝëÕ àÕèÕÝØï, áÒï-
×ÐÝÝëÕ á âÞçÚÐÜØ ÛØÑàÐæØØ, áãéÕáâÒãîâ Ø ÔÛï íÛÛØßâØçÕáÚØå (ÚÐÚ Ø ÔÛï ÓØßÕàÑÞ-
ÛØçÕáÚØå) ÔÒØÖÕÝØÙ âàÕå âÕÛ. µáÛØ Ò áØáâÕÜÕ ÔÒãå ÜÐááØÒÝëå âÕÛ, ÞÑàÐéÐîéØåáï
ÒÞÚàãÓ ÞÑéÕÓÞ æÕÝâàÐ ÜÐáá ßÞ ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝëÜ íÛÛØßâØçÕáÚØÜ ÞàÑØâÐÜ,
ßÞÜÕáâØâì áßãâÝØÚ Ò ÞÔÝã Ø× âÞçÕÚ ÛØÑàÐæØØ Ø áÞÞÑéØâì ÕÜã ÝÕÞÑåÞÔØÜãî áÚÞ-
àÞáâì, ÞÝ âÐÚÖÕ ÑãÔÕâ ÔÒØÓÐâìáï áØÝåàÞÝÝÞ á ÜÐááØÒÝëÜØ âÕÛÐÜØ ßÞ íÛÛØßâØçÕ-
áÚÞÙ ÞàÑØâÕ, ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝÞÙ ÞàÑØâÐÜ ÜÐááØÒÝëå âÕÛ.
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ÇâÞÑë ÞÑêïáÝØâì ÒÞ×ÜÞÖÝÞáâì âÐÚØå ÔÒØÖÕÝØÙ, ÜÞÖÝÞ ßÞÚÐ×Ðâì, çâÞ ÒÕÚâÞà-
ÝÐï áãÜÜÐ áØÛ âïÓÞâÕÝØï ÔÒãå ÜÐááØÒÝëå âÕÛ, ßàØÛÞÖÕÝÝëå Ú ßÞÜÕéÕÝÝÞÜã Ò âÞç-
Úã ÛØÑàÐæØØ âÕÛã ßàÕÝÕÑàÕÖØÜÞ ÜÐÛÞÙ ÜÐááë, ÝÐßàÐÒÛÕÝÐ Ò áâÞàÞÝã æÕÝâàÐ ÜÐáá
áØáâÕÜë, Ð ÕÕ ÒÕÛØçØÝÐ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÐ ÚÒÐÔàÐâã àÐááâÞïÝØï ÔÞ æÕÝâàÐ
ÜÐáá. ¸ÝëÜØ áÛÞÒÐÜØ, ÕáÛØ áßãâÝØÚ ÞáâÐÕâáï Ò âÞçÚÕ ÛØÑàÐæØØ, ÕÓÞ ÔÒØÖÕÝØÕ ßàÞ-
ØáåÞÔØâ âÐÚ, ÚÐÚ ÕáÛØ Ñë ÝÐ ÝÕÓÞ ÔÕÙáâÒÞÒÐÛÐ ÕÔØÝáâÒÕÝÝÐï áØÛÐ âïÓÞâÕÝØï, áÞ×ÔÐ-
ÒÐÕÜÐï ÝÕÚÞâÞàëÜ ÝÕßÞÔÒØÖÝëÜ íääÕÚâØÒÝëÜ ØáâÞçÝØÚÞÜ Ò æÕÝâàÕ ÜÐáá áØáâÕ-
Üë, Ð ÝÕ ÔÒãÜï ÔÒØÖãéØÜØáï âÕÛÐÜØ. ÁØÝåàÞÝÝÞÕ ÚÕßÛÕàÞÒÞ ÔÒØÖÕÝØÕ áßãâÝØÚÐ
Ò âÞçÚÕ ÛØÑàÐæØØ ÒÜÕáâÕ á ÜÐááØÒÝëÜØ âÕÛÐÜØ ÒÞ×ÜÞÖÝÞ ßÞâÞÜã, çâÞ ÕÓÞ ãáÚÞàÕ-
ÝØÕ ßÞÔ ÔÕÙáâÒØÕÜ íâÞÓÞ íääÕÚâØÒÝÞÓÞ ßÞÛï ÞâÝÞáØâáï Ú ãáÚÞàÕÝØî ÜÐááØÒÝÞÓÞ
âÕÛÐ (ßÞÔ ÔÕÙáâÒØÕÜ ßàØâïÖÕÝØï ÒâÞàëÜ ÜÐááØÒÝëÜ âÕÛÞÜ) âÐÚ, ÚÐÚ ÕÓÞ àÐááâÞï-
ÝØÕ Þâ æÕÝâàÐ ÜÐáá ÞâÝÞáØâáï Ú àÐááâÞïÝØî íâÞÓÞ ÜÐááØÒÝÞÓÞ âÕÛÐ Þâ æÕÝâàÐ ÜÐáá
áØáâÕÜë. ÀÐ×ãÜÕÕâáï, ÔÛï àÕÐÛØ×ÐæØØ âÐÚÞÓÞ ÔÒØÖÕÝØï ÝãÖÝÞ áÞÞÑéØâì áßãâÝØÚã
Ò âÞçÚÕ ÛØÑàÐæØØ ÒßÞÛÝÕ ÞßàÕÔÕÛÕÝÝãî ÝÐçÐÛìÝãî áÚÞàÞáâì.

18 ½ÕÞÓàÐÝØçÕÝÝÐï ×ÐÔÐçÐ âàÕå âÕÛ
·ÐÔÐçÐ âàÕå âÕÛ çÐáâÞ ßàØÒÞÔØâáï Ò ÝÐãçÝÞÙ Ø ãçÕÑÝÞÙ ÛØâÕàÐâãàÕ Ò ÚÐçÕáâÒÕ ßàØ-
ÜÕàÐ çàÕ×ÒëçÐÙÝÞÙ áÛÞÖÝÞáâØ ÒÞ×ÜÞÖÝëå ÔÒØÖÕÝØÙ, ßàÞØáåÞÔïéØå ßÞÔ ÔÕÙáâÒØ-
ÕÜ áØÛ, ßÞÔçØÝïîéØåáï ßàÞáâëÜ Ø âÞçÝëÜ äØ×ØçÕáÚØÜ ×ÐÚÞÝÐÜ. ¾ÔÝÐÚÞ áÞ ÒàÕÜÕÝ
»ÐÓàÐÝÖÐ Ø×ÒÕáâÝÞ, çâÞ ÔÛï íâÞÙ Ò ÞÑéÕÜ áÛãçÐÕ ÝÕàÐ×àÕèØÜÞÙ ×ÐÔÐçØ áãéÕáâÒãÕâ
ÝÕáÚÞÛìÚÞ âÞçÝëå çÐáâÝëå àÕèÕÝØÙ, ÚÞâÞàëÜ áÞÞâÒÕâáâÒãîâ áØÝåàÞÝÝëÕ ÔÒØÖÕ-
ÝØï âàÕå âÕÛ ßÞ íÛÛØßâØçÕáÚØÜ (Ò çÐáâÝÞÜ áÛãçÐÕ ßÞ ÚàãÓÞÒëÜ), ÓØßÕàÑÞÛØçÕáÚØÜ
ØÛØ ßÐàÐÑÞÛØçÕáÚØÜ ÚÞÜßÛÐÝÐàÝëÜ ÞàÑØâÐÜ. ÂÞçÝëÕ çÐáâÝëÕ àÕèÕÝØï áãéÕáâÒã-
îâ Ø ÔÛï ÝÕÞÓàÐÝØçÕÝÝÞÙ ×ÐÔÐçØ âàÕå âÕÛ, ÚÞÓÔÐ ÜÐááã âàÕâìÕÓÞ âÕÛÐ ÝÕÛì×ï áçØâÐâì
ßàÕÝÕÑàÕÖØÜÞ ÜÐÛÞÙ. ÁãéÕáâÒÞÒÐÝØÕ ÚÞÝÕçÝÞÓÞ ßÞÔÜÝÞÖÕáâÒÐ ÝÕÞÖØÔÐÝÝÞ ßàÞ-
áâëå ÔÒØÖÕÝØÙ ÝÐ äÞÝÕ ÑÕáÚÞÝÕçÝÞÓÞ ÝÐÑÞàÐ çàÕ×ÒëçÐÙÝÞ áÛÞÖÝëå ÞÑéØå ÔÒØÖÕ-
ÝØÙ áØáâÕÜë âàÕå âÕÛ ÒëÓÛïÔØâ ÝÐáâÞïéØÜ çãÔÞÜ. ¸ ÔÛï âÐÚØå ßàÞáâëå ÔÒØÖÕÝØÙ
ÔÞÛÖÝÞ áãéÕáâÒÞÒÐâì áâÞÛì ÖÕ ßàÞáâÞÕ äØ×ØçÕáÚÞÕ ÞÑêïáÝÕÝØÕ.

² áãéÕáâÒãîéÕÙ ãçÕÑÝÞÙ ÛØâÕàÐâãàÕ ßÞ ÞÑéÕÙ äØ×ØÚÕ Ø ÔÐÖÕ ßÞ ÝÕÑÕáÝÞÙ ÜÕ-
åÐÝØÚÕ ÝÕÒÞ×ÜÞÖÝÞ ÝÐÙâØ ßÞÛÝÞæÕÝÝãî ØÝäÞàÜÐæØî, ÚÐáÐîéãîáï íâØå ßàÞáâëå
âÞçÝëå àÕèÕÝØÙ ×ÐÔÐçØ âàÕå âÕÛ. ² ÝÕÚÞâÞàëå áâÐâìïå, ÞßãÑÛØÚÞÒÐÝÝëå Ò ÝÐãçÝëå
ÖãàÝÐÛÐå ×Ð ßÞáÛÕÔÝØÕ ÔÕáïâØÛÕâØï, àÐááÜÐâàØÒÐîâáï ÛØèì âàÕãÓÞÛìÝëÕ âÞçÚØ
ÛØÑàÐæØØ ÔÛï ÚàãÓÞÒëå ÔÒØÖÕÝØÙ Ò ÞÓàÐÝØçÕÝÝÞÙ ×ÐÔÐçÕ âàÕå âÕÛ. ² ßàÞÔÒØÝãâëå
ÚãàáÐå ÝÕÑÕáÝÞÙ ÜÕåÐÝØÚØ ßàÞáâëÕ àÕ×ãÛìâÐâë, ÚÐáÐîéØÕáï ÛÐÓàÐÝÖÕÒëå âÞçÕÚ
ÛØÑàÐæØØ, ßÞÛãçÐîâáï ÞÑëçÝÞ Ø× çãÔÞÒØéÝÞÓÞ ÝÐÓàÞÜÞÖÔÕÝØï áÛÞÖÝëå äÞàÜãÛ
Ø ßÞâÞÜã ÝÕ ÜÞÓãâ ÔÞáâÐÒØâì íáâÕâØçÕáÚÞÓÞ ãÔÞÒÛÕâÒÞàÕÝØï: Üë ÒßàÐÒÕ ÞÖØÔÐâì,
çâÞ ßàÞáâëÕ Ø ÚàÐáØÒëÕ àÕ×ãÛìâÐâë ×ÐáÛãÖØÒÐîâ áâÞÛì ÖÕ ßàÞáâëå áßÞáÞÑÞÒ Øå
ßÞÛãçÕÝØï.

´ÒÐ âØßÐ ÛÐÓàÐÝÖÕÒëå âÞçÝëå àÕèÕÝØÙ áÞÞâÒÕâáâÒãîâ àÐÒÝÞáâÞàÞÝÝÕÙ ÚÞÝäØ-
ÓãàÐæØØ âàÕå âÕÛ. ÂàØ ÔàãÓØå âØßÐ áÞÞâÒÕâáâÒãîâ ÚÞÛÛØÝÕÐàÝëÜ ÚÞÝäØÓãàÐæØïÜ,
Ò ÚÞâÞàëå ßàØ ÔÒØÖÕÝØØ áÞåàÐÝïÕâáï ÞßàÕÔÕÛÕÝÝÞÕ ÞâÝÞèÕÝØÕ àÐááâÞïÝØÙ ÜÕÖ-
Ôã âÕÛÐÜØ. ÍâÞ ÞâÝÞèÕÝØÕ àÐááâÞïÝØÙ ×ÐÒØáØâ Þâ ÜÐáá âÕÛ m1, m2 Ø m3 Ø ÜÞÖÕâ
Ñëâì ÝÐÙÔÕÝÞ àÕèÕÝØÕÜ ãàÐÒÝÕÝØï ßïâÞÙ áâÕßÕÝØ. ½ÕáÜÞâàï ÝÐ âÞ, çâÞ Ò ßàÐÚâØ-
çÕáÚÞÜ ×ÝÐçÕÝØØ íâØå àÕèÕÝØÙ ÜÞÖÝÞ ãáÞÜÝØâìáï, áÐÜÞ Øå áãéÕáâÒÞÒÐÝØÕ ÝÕáÞ-
ÜÝÕÝÝÞ ßàÕÔáâÐÒÛïÕâ ×ÝÐçØâÕÛìÝëÙ ØÝâÕàÕá.
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18.1 ºÞÛÛØÝÕÐàÝÐï ÚÞÝäØÓãàÐæØï
²Þ×ÜÞÖÝÞáâì ßàÞáâëå ÚÕßÛÕàÞÒëå ÔÒØÖÕÝØÙ Ò ÚÞÛÛØÝÕÐàÝÞÙ ÚÞÝäØÓãàÐæØØ ßÞçâØ
ÞçÕÒØÔÝÐ Ò çÐáâÝÞÜ áÛãçÐÕ áØáâÕÜë ÔÒãå ßÛÐÝÕâ àÐÒÝëå ÜÐáá, áØÝåàÞÝÝÞ ÞÑàÐéÐ-
îéØåáï ÒÞÚàãÓ ×ÒÕ×Ôë-åÞ×ïØÝÐ. ¿ãáâì ßÛÐÝÕâë ÝÐåÞÔïâáï ÝÐ ÞÔØÝÐÚÞÒëå àÐááâÞï-
ÝØïå á ßàÞâØÒÞßÞÛÞÖÝëå áâÞàÞÝ Þâ ×ÒÕ×Ôë (àØá. 18.1). µáÛØ áÚÞàÞáâØ ßÛÐÝÕâ àÐÒÝë
Ø ßàÞâØÒÞßÞÛÞÖÝë (Ò áØáâÕÜÕ ÞâáçÕâÐ æÕÝâàÐ ÜÐáá ØÛØ Ò áØáâÕÜÕ ÞâáçÕâÐ ×ÒÕ×Ôë,
çâÞ Ò ÔÐÝÝÞÜ áÛãçÐÕ ÞÔÝÞ Ø âÞ ÖÕ), âÞ âÐÚÐï áØÜÜÕâàØçÝÐï ÚÞÝäØÓãàÐæØï ßÛÐÝÕâ
ÑãÔÕâ áÞåàÐÝïâìáï ßàØ Øå ÔÒØÖÕÝØØ.

ÀØá. 22: ºÕßÛÕàÞÒë ÔÒØÖÕÝØï ØÔÕÝâØçÝëå ßÛÐÝÕâ Ò âÞçÝÞÜ çÐáâÝÞÜ àÕèÕÝØØ ×ÐÔÐçØ âàÕå
âÕÛ.

¿ÞÚÐÖÕÜ, çâÞ Ò âÐÚÞÙ áØáâÕÜÕ ÔÒØÖÕÝØÕ ßÛÐÝÕâ ÜÞÖÕâ Ñëâì Ò âÞçÝÞáâØ ÚÕßÛÕ-
àÞÒëÜ. ÆÕÝâà ÜÐáá áØáâÕÜë àÐáßÞÛÞÖÕÝ Ò æÕÝâàÕ ×ÒÕ×Ôë Ø ÞáâÐÕâáï âÐÜ ÔÞ âÕå ßÞà,
ßÞÚÐ áÞåàÐÝïÕâáï áØÜÜÕâàØçÝÐï ÚÞÝäØÓãàÐæØï áØáâÕÜë. ÀÕ×ãÛìâØàãîéÐï áØÛÐ,
ÔÕÙáâÒãîéÐï ÝÐ ÚÐÖÔãî ßÛÐÝÕâã, ÞÑãáÛÞÒÛÕÝÐ âïÓÞâÕÝØÕÜ ×ÒÕ×Ôë Ø ÔàãÓÞÙ ßÛÐÝÕ-
âë. ² áØÜÜÕâàØçÝÞÙ ÚÞÝäØÓãàÐæØØ ßÞÛÝÐï áØÛÐ ÒáÕÓÔÐ ÝÐßàÐÒÛÕÝÐ Ú æÕÝâàã ×ÒÕ×Ôë,
Ð ÕÕ ÒÕÛØçØÝÐ ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÐ ÚÒÐÔàÐâã àÐááâÞïÝØï ÔÞ ×ÒÕ×Ôë:

F = G
mM

r2
+ G

mm

(2r)2
= G

m(M + m/4)

r2
. (88)

·ÔÕáì M � ÜÐááÐ ×ÒÕ×Ôë, m � ÜÐááÐ ÚÐÖÔÞÙ Ø× ßÛÐÝÕâ, r � àÐááâÞïÝØÕ Þâ
×ÒÕ×Ôë ÔÞ ÚÐÖÔÞÙ Ø× ßÛÐÝÕâ. ¸× ãàÐÒÝÕÝØï (88) áÛÕÔãÕâ, çâÞ Ò áØÜÜÕâàØçÝÞÙ ÚÞÝ-
äØÓãàÐæØØ ÔÒØÖÕÝØÕ ÚÐÖÔÞÙ Ø× ßÛÐÝÕâ ßàÞØáåÞÔØâ ßÞ ÚÕßÛÕàÞÒã íÛÛØßáã, ÚÐÚ Õá-
ÛØ Ñë íâÞ ÔÒØÖÕÝØÕ ßàÞØáåÞÔØÛÞ ØáÚÛîçØâÕÛìÝÞ ßÞÔ ÔÕÙáâÒØÕÜ æÕÝâàÐÛìÝÞÙ áØÛë
âïÓÞâÕÝØï ÝÕÚÞâÞàÞÓÞ ÝÕßÞÔÒØÖÝÞÓÞ ØáâÞçÝØÚÐ á íääÕÚâØÒÝÞÙ ÜÐááÞÙ M + m/4.
¿ÛÐÝÕâë Ò âÐÚÞÙ áØáâÕÜÕ ÔÒØÖãâáï áØÝåàÞÝÝÞ ßÞ ÚÕßÛÕàÞÒëÜ íÛÛØßáÐÜ á ÞÑéØÜ
äÞÚãáÞÜ Ò æÕÝâàÕ ÜÐáá áØáâÕÜë. ² ÛîÑÞÙ ÜÞÜÕÝâ ÒàÕÜÕÝØ ßÛÐÝÕâë ÝÐåÞÔïâáï ÝÐ
ßàÞâØÒÞßÞÛÞÖÝëå ÚÞÝæÐå ßàïÜÞÛØÝÕÙÝÞÓÞ ÞâàÕ×ÚÐ, ßàÞåÞÔïéÕÓÞ çÕàÕ× æÕÝâà ×ÒÕ×-
Ôë (áÜ. àØá. 18.1).

½ÐÙÔÕÜ áÚÞàÞáâì ßÛÐÝÕâ ÔÛï çÐáâÝÞÓÞ áÛãçÐï ÚàãÓÞÒëå ÞàÑØâ. ¿àØàÐÒÝØÒÐï áØ-
Ûã, ÔÐÒÐÕÜãî ãàÐÒÝÕÝØÕÜ (88), ßàÞØ×ÒÕÔÕÝØî ÜÐááë ÝÐ æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ ãáÚÞ-
àÕÝØÕ v2

circ/r, ßÞÛãçÐÕÜ áÛÕÔãîéÕÕ ÒëàÐÖÕÝØÕ ÔÛï áÚÞàÞáâØ ßÛÐÝÕâë ÝÐ ÚàãÓÞÒÞÙ
ÞàÑØâÕ àÐÔØãáÐ r:

vcirc =

√
G

r
(M +

m

4
). (89)

55



ßÕàØÞÔ ÞÑàÐéÕÝØï ßÞ âÐÚÞÙ ÚàãÓÞÒÞÙ ÞàÑØâÕ ÝÐÙÔÕÜ, àÐ×ÔÕÛØÒ ÔÛØÝã ÞÚàãÖÝÞ-
áâØ ÞàÑØâë 2πr ÝÐ ÚàãÓÞÒãî áÚÞàÞáâì vcirc:

T =
2πr

vcirc

= 2π

√
r3

G(M + m/4)
. (90)

ÍâÞ áÞÞâÝÞèÕÝØÕ ÜÞÖÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ÞÑÞÑéÕÝØÕ âàÕâìÕÓÞ ×ÐÚÞÝÐ ºÕßÛÕàÐ
ÝÐ àÐááÜÐâàØÒÐÕÜëÙ çÐáâÝëÙ áÛãçÐÙ ÔÒØÖÕÝØï ßÛÐÝÕâ. ÃàÐÒÝÕÝØÕ (90) Ò àÐÒÝÞÙ
ÜÕàÕ ßàØÜÕÝØÜÞ Ú íÛÛØßâØçÕáÚØÜ ÞàÑØâÐÜ, ÕáÛØ ×ÐÜÕÝØâì Ò ÝÕÜ r ÝÐ ÑÞÛìèãî ßÞ-
ÛãÞáì a íÛÛØßâØçÕáÚÞÙ ÞàÑØâë.

ÀÐááÜÞâàÕÝÝÞÕ çÐáâÝÞÕ àÕèÕÝØÕ ×ÐÔÐçØ âàÕå âÕÛ ßàØÜÕÝØÜÞ âÐÚÖÕ Ú ßÛÐÝÕ-
âÕ Ò áØáâÕÜÕ ÔÒÞÙÝÞÙ ×ÒÕ×Ôë, ÚÞÜßÞÝÕÝâë ÚÞâÞàÞÙ ØÜÕîâ àÐÒÝëÕ ÜÐááë Ø ßÞâÞÜã
áØÝåàÞÝÝÞ ÔÒØÖãâáï ßÞ àÐÒÝëÜ íÛÛØßâØçÕáÚØÜ (ØÛØ ÚàãÓÞÒëÜ) ÞàÑØâÐÜ. µáÛØ Ò
æÕÝâà ÜÐáá áØáâÕÜë ßÞÜÕáâØâì ÝÕßÞÔÒØÖÝãî ßÛÐÝÕâã (ßàÞØ×ÒÞÛìÝÞÙ ÜÐááë), ÞÝÐ
ÑãÔÕâ ÞáâÐÒÐâìáï âÐÜ Ò àÐÒÝÞÒÕáØØ ßàØ ÔÒØÖÕÝØØ ×ÒÕ×Ô. ² íâÞÜ áÛãçÐÕ Ò ãàÐÒÝÕ-
ÝØïå (88)�(90) ßÞÔ m ÝãÖÝÞ ßÞÝØÜÐâì ÜÐááã ÚÐÖÔÞÙ Ø× ×ÒÕ×Ô, Ð ßÞÔ M � ÜÐááã
ßÛÐÝÕâë. ÀÐÒÝÞÒÕáØÕ ßÛÐÝÕâë Ò æÕÝâàÕ ÞâàÕ×ÚÐ, áÞÕÔØÝïîéÕÓÞ ×ÒÕ×Ôë, ÝÕãáâÞÙçØ-
ÒÞ: ßàØ ÛîÑÞÜ áÚÞÛì ãÓÞÔÝÞ ÜÐÛÞÜ ÝÐàãèÕÝØØ áØÜÜÕâàØØ áØáâÕÜë ØÛØ ÝÐçÐÛìÝëå
ãáÛÞÒØÙ çÕàÕ× ÝÕÚÞâÞàÞÕ ÒàÕÜï àÕÓãÛïàÝÞÕ ßÕàØÞÔØçÕáÚÞÕ ÔÒØÖÕÝØÕ âÕÛ ßÕàÕåÞÔØâ
Ò åÐÞâØçÕáÚÞÕ.

18.2 ÀÐÒÝÞáâÞàÞÝÝïï âàÕãÓÞÛìÝÐï ÚÞÝäØÓãàÐæØï
¿àØÒÕÔÕÜ ßàÞáâÞÕ ÞÑêïáÝÕÝØÕ âÞçÝÞÓÞ çÐáâÝÞÓÞ àÕèÕÝØï ÝÕÞÓàÐÝØçÕÝÝÞÙ ×ÐÔÐçØ
âàÕå âÕÛ, ÚÞâÞàÞÜã áÞÞâÒÕâáâÒãÕâ ÔÒØÖÕÝØÕ Ò àÐÒÝÞáâÞàÞÝÝÕÙ ÚÞÝäØÓãàÐæØØ.

ÀØá. 23: ¿ÕàØÞÔØçÕáÚØÕ ÚÕßÛÕàÞÒë ÔÒØÖÕÝØï âàÕå âÕÛ àÐ×ÛØçÝëå ÜÐáá Ò àÐÒÝÞáâÞàÞÝÝÕÙ
ÚÞÝäØÓãàÐæØØ ßÞ ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝëÜ íÛÛØßâØçÕáÚØÜ ÞàÑØâÐÜ.

¿ãáâì âàØ âÕÛÐ 1, 2 Ø 3, ÜÐááë ÚÞâÞàëå àÐÒÝë m1, m2 Ø m3 áÞÞâÒÕâáâÒÕÝÝÞ,
àÐáßÞÛÞÖÕÝë Ò ÒÕàèØÝÐå àÐÒÝÞáâÞàÞÝÝÕÓÞ âàÕãÓÞÛìÝØÚÐ áÞ áâÞàÞÝÐÜØ ÔÛØÝÞÙ R
(àØá. 23 áÞÞâÒÕâáâÒãÕâ áØáâÕÜÕ á m1 = 0.3m3 Ø m2 = 0.6m3). ¾ÑÞ×ÝÐçØÜ çÕàÕ× r12 Ø
r13 àÐÔØãáë-ÒÕÚâÞàë âÕÛ 2 Ø 3 ÞâÝÞáØâÕÛìÝÞ 1, Ø çÕàÕ× F12 Ø F13 � áØÛë âïÓÞâÕÝØï,
ßàØÛÞÖÕÝÝëÕ Ú âÕÛã 1 áÞ áâÞàÞÝë âÕÛ 2 Ø 3. ² áÞÞâÒÕâáâÒØØ á ×ÐÚÞÝÞÜ âïÓÞâÕÝØï
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F12 = Gm1m2
r12

R3
, F13 = Gm1m3

r13

R3
.

ÁÛÞÖØÜ ÒÕÚâÞàÝÞ áØÛë F12 Ø F13, çâÞÑë ÝÐÙâØ ßÞÛÝãî áØÛã âïÓÞâÕÝØï F1, ßàØ-
ÛÞÖÕÝÝãî Ú âÕÛã 1:

F1 = F12 + F13 =
Gm1

R3
(m2r12 + m3r13). (91)

ÁØÛÐ F1 ÝÐßàÐÒÛÕÝÐ Ú æÕÝâàã ÜÐáá C áØáâÕÜë âÕÛ. ´ÕÙáâÒØâÕÛìÝÞ, àÐÔØãá-
ÒÕÚâÞà r1C æÕÝâàÐ ÜÐáá ÞâÝÞáØâÕÛìÝÞ âÕÛÐ 1 (â. Õ. ÒÕÚâÞà, áÞÕÔØÝïîéØÙ 1 á C) ÔÐ-
Õâáï ÒëàÐÖÕÝØÕÜ:

r1C =
(m2r12 + m3r13)

M
, (92)

ÓÔÕ M = m1 + m2 + m3 � ßÞÛÝÐï ÜÐááÐ áØáâÕÜë.
Á ßÞÜÞéìî ãàÐÒÝÕÝØï (92) ÜÞÖÝÞ ÒëàÐ×Øâì ßÞÛÝãî áØÛã F1, ßàØÛÞÖÕÝÝãî Ú

âÕÛã 1 áÞ áâÞàÞÝë ÔÒãå ÔàãÓØå âÕÛ 2 Ø 3, çÕàÕ× M Ø r1C :

F1 = F12 + F13 =
GMm1

R3
r1C . (93)

¸× ãàÐÒÝÕÝØï (93) áÛÕÔãÕâ, çâÞ ãáÚÞàÕÝØÕ a1 âÕÛÐ 1, áÞÞÑéÐÕÜÞÕ ÕÜã áÞÒÜÕáâ-
ÝëÜ ÔÕÙáâÒØÕÜ áØÛ âïÓÞâÕÝØï âÕÛ 2 Ø 3, ßàÞßÞàæØÞÝÐÛìÝÞ r1C . ¸× áÞÞÑàÐÖÕÝØÙ
áØÜÜÕâàØØ ïáÝÞ, çâÞ ÐÝÐÛÞÓØçÝëÕ ÒëàÐÖÕÝØï áßàÐÒÕÔÛØÒë ÔÛï ãáÚÞàÕÝØÙ ÔÒãå Ôàã-
ÓØå âÕÛ áØáâÕÜë:

a1 =
GM

R3
r1C , a2 =

GM

R3
r2C , a3 =

GM

R3
r3C . (94)

·ÔÕáì r2C Ø r3C � ÒÕÚâÞàë, áÞÕÔØÝïîéØÕ âÕÛÐ 1 Ø 2 á æÕÝâàÞÜ ÜÐáá C. ¿ÞíâÞ-
Üã ãáÚÞàÕÝØï ÒáÕå âàÕå âÕÛ ÝÐßàÐÒÛÕÝë Ú æÕÝâàã ÜÐáá, Ð ÒÕÛØçØÝë íâØå ãáÚÞàÕÝØÙ
ßàÞßÞàæØÞÝÐÛìÝë àÐááâÞïÝØïÜ Þâ áÞÞâÒÕâáâÒãîéØå âÕÛ ÔÞ æÕÝâàÐ ÜÐáá. ¸× íâÞ-
ÓÞ ×ÐÚÛîçÕÝØï áÛÕÔãÕâ, Ò çÐáâÝÞáâØ, çâÞ áØáâÕÜÐ âàÕå âÕÛ Ò àÐÒÝÞáâÞàÞÝÝÕÙ ÚÞÝ-
äØÓãàÐæØØ ßÞÔ ÔÕÙáâÒØÕÜ áØÛ Ò×ÐØÜÝÞÓÞ ßàØâïÖÕÝØï ÜÞÖÕâ ÒàÐéÐâìáï ÚÐÚ æÕÛÞÕ
(ÚÐÚ âÒÕàÔÞÕ âÕÛÞ) ÒÞÚàãÓ æÕÝâàÐ ÜÐáá. Á ßÞÜÞéìî ÒâÞàÞÓÞ ×ÐÚÞÝÐ ½ìîâÞÝÐ ÜÞÖÝÞ
àÐááçØâÐâì ãÓÛÞÒãî áÚÞàÞáâì ω íâÞÓÞ ÒàÐéÕÝØï. ¿àØàÐÒÝØÒÐï ßàÞØ×ÒÕÔÕÝØÕ ÜÐááë
ÞÔÝÞÓÞ Ø× âÕÛ (ÝÐßàØÜÕà, m1) ÝÐ æÕÝâàÞáâàÕÜØâÕÛìÝÞÕ ãáÚÞàÕÝØÕ ßàØ ÕÓÞ ÒàÐéÕÝØØ
ÒÞÚàãÓ C ßÞÛÝÞÙ áØÛÕ F1 (áÜ. ãàÐÒÝÕÝØÕ (93)), ÔÕÙáâÒãîéÕÙ ÝÐ íâÞ âÕÛÞ áÞ áâÞàÞÝë
ÔÒãå ÔàãÓØå, ßÞÛãçÐÕÜ:

m1ω
2rC1 =

GMm1

R3
r1C , ω =

√
GM

R3
=

√
G(m1 + m2 + m3)

R3
. (95)

ÂÐÚÞÕ àÐÒÝÞÜÕàÝÞÕ ÒàÐéÕÝØÕ áØáâÕÜë Ò àÐÒÝÞáâÞàÞÝÝÕÙ ÚÞÝäØÓãàÐæØØ ÜÞÖÕâ
ßàÞØáåÞÔØâì âÞÛìÚÞ âÞÓÔÐ, ÚÞÓÔÐ ÝÐçÐÛìÝëÕ áÚÞàÞáâØ ÒáÕå âÕÛ Ò áØáâÕÜÕ ÞâáçÕâÐ
æÕÝâàÐ ÜÐáá ÝÐßàÐÒÛÕÝë âÞçÝÞ ßÕàßÕÝÔØÚãÛïàÝÞ àÐÔØãáÐÜ-ÒÕÚâÞàÐÜ âÕÛ, ßàÞÒÕ-
ÔÕÝÝëÜ Ø× æÕÝâàÐ ÜÐáá, Ø ÜÞÔãÛØ áÚÞàÞáâÕÙ Ò âÞçÝÞáâØ àÐÒÝë ßàÞØ×ÒÕÔÕÝØïÜ ãÓ-
ÛÞÒÞÙ áÚÞàÞáâØ ω ÝÐ áÞÞâÒÕâáâÒãîéØÕ àÐááâÞïÝØï âÕÛ Þâ æÕÝâàÐ ÜÐáá. ÀÐááÜÐâàØ-
ÒÐÕÜÞÕ ÔÒØÖÕÝØÕ ÝÕãáâÞÙçØÒÞ: ÕáÛØ ÞÔÝÞ Ø× ßÕàÕçØáÛÕÝÝëå ãáÛÞÒØÙ åÞâï Ñë áÛÕÓ-
ÚÐ ÝÐàãèÕÝÞ, çÕàÕ× ÝÕÚÞâÞàÞÕ ÒàÕÜï àÐÒÝÞáâÞàÞÝÝïï ÚÞÝäØÓãàÐæØï ØáÚÐÖÐÕâáï, Ø
ÔÒØÖÕÝØÕ âÕÛ áâÐÝÞÒØâáï ÝÕàÕÓãÛïàÝëÜ.
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ÀÐÒÝÞÜÕàÝÞÕ ÒàÐéÕÝØÕ � íâÞ ÝÕ ÕÔØÝáâÒÕÝÝÞ ÒÞ×ÜÞÖÝÞÕ àÕÓãÛïàÝÞÕ ßÕàØÞ-
ÔØçÕáÚÞÕ ÔÒØÖÕÝØÕ áØáâÕÜë Ò àÐÒÝÞáâÞàÞÝÝÕÙ ÚÞÝäØÓãàÐæØØ. ¼ÞÖÝÞ ßÞÚÐ×Ðâì,
çâÞ ßÞÛÝÐï áØÛÐ âïÓÞâÕÝØï, ßàØÛÞÖÕÝÝÐï Ú ÛîÑÞÜã Ø× âÕÛ áÞ áâÞàÞÝë ÔÒãå ÔàãÓØå,
ÑãÔãçØ ÝÐßàÐÒÛÕÝÝÞÙ Ú æÕÝâàã ÜÐáá áØáâÕÜë, ÞÑàÐâÝÞ ßàÞßÞàæØÞÝÐÛìÝÐ ÚÒÐÔàÐ-
âã àÐááâÞïÝØï âÕÛÐ Þâ æÕÝâàÐ ÜÐáá, ÚÐÚ ÕáÛØ Ñë íâÐ áØÛÐ áÞ×ÔÐÒÐÛÐáì ÝÕßÞÔÒØÖ-
ÝëÜ ØáâÞçÝØÚÞÜ, Ð ÝÕ ÔÒãÜï ÔÒØÖãéØÜØáï âÕÛÐÜØ. ¿ÞíâÞÜã ßÞÔ ÔÕÙáâÒØÕÜ âÐÚÞÙ
æÕÝâàÐÛìÝÞÙ áØÛë ÚÐÖÔÞÕ Ø× âÕÛ ÜÞÖÕâ ÔÒØÓÐâìáï ßÞ (×ÐÜÚÝãâÞÙ ÛØÑÞ ÞâÚàëâÞÙ)
ÚÕßÛÕàÞÒÞÙ ÞàÑØâÕ.

´Ûï ÔÞÚÐ×ÐâÕÛìáâÒÐ ãÚÐ×ÐÝÝÞÙ ÒëèÕ ×ÐÒØáØÜÞáâØ Þâ àÐááâÞïÝØï íääÕÚâØÒÝÞ-
ÓÞ ÓàÐÒØâÐæØÞÝÝÞÓÞ ßÞÛï ÒëàÐ×ØÜ àÐááâÞïÝØÕ Þâ ÞÔÝÞÓÞ Ø× âÕÛ (áÚÐÖÕÜ, âÕÛÐ 1) ÔÞ
æÕÝâàÐ ÜÐáá C çÕàÕ× àÐááâÞïÝØÕ R ÜÕÖÔã ÔÒãÜï ÛîÑëÜØ âÕÛÐÜØ (â. Õ.çÕàÕ× ÔÛØ-
Ýã áâÞàÞÝë àÐÒÝÞáâÞàÞÝÝÕÓÞ âàÕãÓÞÛìÝØÚÐ) Ø ÜÐááë âÕÛ. ²Þ×ÒÞÔï Ò ÚÒÐÔàÐâ r1C Ò
ãàÐÒÝÕÝØØ (92) Ø ßàØÝØÜÐï ÒÞ ÒÝØÜÐÝØÕ, çâÞ ÜÞÔãÛØ ÒÕÚâÞàÞÒ r12 Ø r13 àÐÒÝë R,
Ø çâÞ ãÓÞÛ ÜÕÖÔã ÝØÜØ àÐÒÕÝ 60◦, ÝÐåÞÔØÜ, çâÞ r2

1C = R2(m2
2 + m2

3 + m2m3)/M
2,

ÞâÚãÔÐ

R2 =
M2

m2
2 + m2

3 + m2m3

r2
1C .

¿ÞÔáâÐÒÛïï R Ò ãàÐÒÝÕÝØÕ (93), ßÞÛãçÐÕÜ:

F1 = m1
G(m2

2 + m2
3 + m2m3)

3/2

M2

r1C

r3
1C

. (96)

²ëàÐÖÕÝØÕ (96) ßÞÚÐ×ëÒÐÕâ, çâÞ ßÞÛÝÐï áØÛÐ âïÓÞâÕÝØï, ßàØÛÞÖÕÝÝÐï Ú 1 áÞ
áâÞàÞÝë ÔÒãå ÔàãÓØå âÕÛ, ÝÐßàÐÒÛÕÝÐ Ú æÕÝâàã ÜÐáá áØáâÕÜë Ø ÞÑàÐâÝÞ ßàÞßÞàæØ-
ÞÝÐÛìÝÐ ÚÒÐÔàÐâã àÐááâÞïÝØï Þâ âÕÛÐ ÔÞ æÕÝâàÐ ÜÐáá. ¿ÞÔ ÔÕÙáâÒØÕÜ âÐÚÞÙ áØÛë
âÕÛÞ ÔÒØÖÕâáï ßÞ ÚÕßÛÕàÞÒã íÛÛØßáã á äÞÚãáÞÜ Ò æÕÝâàÕ ÜÐáá. ÂÞ ÖÕ áÐÜÞÕ áßàÐ-
ÒÕÔÛØÒÞ Ø ÔÛï ÔÒãå ÔàãÓØå âÕÛ áØáâÕÜë. ¸ ßÞáÚÞÛìÚã ãáÚÞàÕÝØï âÕÛ, áÞÓÛÐáÝÞ ãàÐÒ-
ÝÕÝØïÜ (94), ßàÞßÞàæØÞÝÐÛìÝë Øå àÐááâÞïÝØïÜ Þâ æÕÝâàÐ ÜÐáá, ÒáÕ âàØ âÕÛÐ ÜÞÓãâ
ÔÒØÓÐâìáï áØÝåàÞÝÝÞ ßÞ ÓÕÞÜÕâàØçÕáÚØ ßÞÔÞÑÝëÜ ÚÕßÛÕàÞÒëÜ íÛÛØßáÐÜ á ÞÑéØÜ
äÞÚãáÞÜ Ò æÕÝâàÕ ÜÐáá áØáâÕÜë, áÞåàÐÝïï ßàØ ÔÒØÖÕÝØØ àÐÒÝÞáâÞàÞÝÝîî ÚÞÝäØ-
ÓãàÐæØî. ´Ûï ÜÞÔÕÛØàÞÒÐÝØï âÐÚÞÓÞ àÕÓãÛïàÝÞÓÞ ßÕàØÞÔØçÕáÚÞÓÞ ÔÒØÖÕÝØï ÝãÖÝÞ
×ÐÔÐâì ÞßàÕÔÕÛÕÝÝëÜ ÞÑàÐ×ÞÜ ÝÐçÐÛìÝëÕ áÚÞàÞáâØ âÕÛ. ² áØáâÕÜÕ ÞâáçÕâÐ æÕÝâàÐ
ÜÐáá ÝÐçÐÛìÝëÕ áÚÞàÞáâØ âÕÛ ÔÞÛÖÝë Ñëâì ßàÞßÞàæØÞÝÐÛìÝë ÝÐçÐÛìÝëÜ àÐááâÞ-
ïÝØïÜ âÕÛ Þâ æÕÝâàÐ ÜÐáá, Ð Øå ÝÐßàÐÒÛÕÝØï Ø ÔÞÛÖÝë ÞÑàÐ×ÞÒëÒÐâì àÐÒÝëÕ ãÓÛë
á áÞÞâÒÕâáâÒãîéØÜØ àÐÔØãáÐÜØ-ÒÕÚâÞàÐÜØ âÕÛ.

19 ÁäÕàÐ ÔÕÙáâÒØï ßÛÐÝÕâë
ÀÐááÜÞâàØÜ ÔÒØÖÕÝØÕ áßãâÝØÚÐ (ÚÞáÜØçÕáÚÞÓÞ ÐßßÐàÐâÐ) ßÞÔ ÔÕÙáâÒØÕÜ áØÛ âïÓÞ-
âÕÝØï ÁÞÛÝæÐ S Ø ßÛÐÝÕâë P (àØá. 21). ¼ÐááÐ ÚÞáÜØçÕáÚÞÓÞ ÐßßÐàÐâÐ ßàÕÝÕÑàÕ-
ÖØÜÞ ÜÐÛÐ ßÞ áàÐÒÝÕÝØî á ÜÐááÐÜØ ßÛÐÝÕâë Ø ÁÞÛÝæÐ. ¿ÞíâÞÜã ÞÝØ ÔÒØÖãâáï,
ÚÐÚ Ø Ò ×ÐÔÐçÕ ÔÒãå âÕÛ, Ò ßÞÛÝÞÜ áÞÞâÒÕâáâÒØØ á ×ÐÚÞÝÐÜØ ºÕßÛÕàÐ ßÞ ÓÕÞÜÕâàØçÕ-
áÚØ ßÞÔÞÑÝëÜ íÛÛØßáÐÜ á ÞÑéØÜ äÞÚãáÞÜ Ò æÕÝâàÕ ÜÐáá áØáâÕÜë. ¸ÝÐçÕ ÓÞÒÞàï,
×ÔÕáì àÐááÜÐâàØÒÐÕâáï ÞÓàÐÝØçÕÝÝÐï ×ÐÔÐçÐ âàÕå âÕÛ. ²ÑÛØ×Ø ßÛÐÝÕâë ÔÒØÖÕÝØÕ
áßãâÝØÚÐ ÕáâÕáâÒÕÝÝÞ àÐááÜÐâàØÒÐâì ÚÐÚ ßÛÐÝÕâÞæÕÝâàØçÕáÚÞÕ (â. Õ. ØáßÞÛì×ÞÒÐâì
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áØáâÕÜã ÞâáçÕâÐ, áÒï×ÐÝÝãî á ßÛÐÝÕâÞÙ), áçØâÐï, çâÞ ÞáÝÞÒÝÞÕ ãáÚÞàÕÝØÕ a ÞÑã-
áÛÞÒÛÕÝÞ âïÓÞâÕÝØÕÜ ßÛÐÝÕâë. ² áÞÞâÒÕâáâÒØØ á ×ÐÚÞÝÞÜ ÒáÕÜØàÝÞÓÞ âïÓÞâÕÝØï (3)
íâÞ ãáÚÞàÕÝØÕ ÜÞÖÕâ Ñëâì ×ÐßØáÐÝÞ Ò ÒØÔÕ

a = −Gm
r

r3
. (97)

·ÔÕáì m �ÜÐááÐ ßÛÐÝÕâë, r � àÐÔØãá-ÒÕÚâÞà, ßàÞÒÕÔÕÝÝëÙ Þâ ßÛÐÝÕâë Ú áßãâÝØ-
Úã. ²Þ×ÜãéÐîéÕÕ ãáÚÞàÕÝØÕ a′ Ò ßÛÐÝÕâÞæÕÝâàØçÕáÚÞÜ ÔÒØÖÕÝØØ � íâÞ ÒÕÚâÞàÝÐï
àÐ×ÝÞáâì ãáÚÞàÕÝØÙ, áÞÞÑéÐÕÜëå ÁÞÛÝæÕÜ áßãâÝØÚã Ø ßÛÐÝÕâÕ:

a′ = −GM

(
rs

r3
s

− R

R3

)
. (98)

² íâÞÙ äÞàÜãÛÕ M � ÜÐááÐ ÁÞÛÝæÐ, rs � àÐÔØãá-ÒÕÚâÞà, ßàÞÒÕÔÕÝÝëÙ Þâ ÁÞÛÝæÐ
Ú ÚÞáÜØçÕáÚÞÜã ÐßßÐàÐâã, Ð R � Þâ ÁÞÛÝæÐ Ú ßÛÐÝÕâÕ.

ÀØá. 24: ÁäÕàÐ ÔÕÙáâÒØï ßÛÐÝÕâë ÞâÝÞáØâÕÛìÝÞ ÁÞÛÝæÐ.

·Ð ßàÕÔÕÛÐÜØ áäÕàë ÔÕÙáâÒØï ßÛÐÝÕâë ÔÒØÖÕÝØÕ ÚÞáÜØçÕáÚÞÓÞ ÐßßÐàÐâÐ ÕáâÕ-
áâÒÕÝÝÕÕ àÐááÜÐâàØÒÐâì ÚÐÚ ÓÕÛØÞæÕÝâàØçÕáÚÞÕ, ØáßÞÛì×ãï áÒï×ÐÝÝãî á ÁÞÛÝæÕÜ
áØáâÕÜã ÞâáçÕâÐ. ² íâÞÜ ÔÒØÖÕÝØØ ÞáÝÞÒÝÞÕ ãáÚÞàÕÝØÕ as ÞÑãáÛÞÒÛÕÝÞ áÞÛÝÕçÝëÜ
âïÓÞâÕÝØÕÜ:

as = −GM
rs

r3
s

. (99)

²Þ×ÜãéÐîéØÜ ãáÚÞàÕÝØÕÜ a′s Ò ÔÐÝÝÞÜ áÛãçÐÕ ÑãÔÕâ àÐ×ÝÞáâì ãáÚÞàÕÝØÙ, áÞÞÑéÐ-
ÕÜëå áØÛÞÙ âïÓÞâÕÝØï ßÛÐÝÕâë ÚÞáÜØçÕáÚÞÜã ÐßßÐàÐâã Ø ÁÞÛÝæã:

a′s = −Gm

(
r

r3
+

R

R3

)
≈ −Gm

r

r3
. (100)

ÁçØâÐï ÜÐááã ßÛÐÝÕâë m ÜÐÛÞÙ ßÞ áàÐÒÝÕÝØî á ÜÐááÞÙ ÁÞÛÝæÐ M , Üë ÜÞÖÕÜ
ßàÕÔßÞÛÞÖØâì, çâÞ ØáÚÞÜëÙ àÐÔØãá áäÕàë ÔÕÙáâÒØï ßÛÐÝÕâë ÞâÝÞáØâÕÛìÝÞ ÁÞÛÝæÐ
ÜÝÞÓÞ ÜÕÝìèÕ àÐááâÞïÝØï R ÜÕÖÔã ÝØÜØ. ÍâÞ ×ÝÐçØâ, çâÞ ØÝâÕàÕáãîéØÕ ÝÐá ×ÝÐ-
çÕÝØï r Ò (100), áÞÞâÒÕâáâÒãîéØÕ ÓàÐÝØæÕ áäÕàë ÔÕÙáâÒØï ßÛÐÝÕâë, ÜÐÛë ßÞ áàÐÒ-
ÝÕÝØî á R. ¿ÞíâÞÜã ÒâÞàëÜ çÛÕÝÞÜ Ò áÚÞÑÚÐå (ãáÚÞàÕÝØÕÜ, áÞÞÑéÐÕÜëÜ ÁÞÛÝæã
âïÓÞâÕÝØÕÜ ßÛÐÝÕâë) ÜÞÖÝÞ ßàÕÝÕÑàÕçì ßÞ áàÐÒÝÕÝØî á ßÕàÒëÜ. ´àãÓØÜØ áÛÞÒÐ-
ÜØ, ÚÞÓÔÐ ÚÞáÜØçÕáÚØÙ ÐßßÐàÐâ ÝÐåÞÔØâáï áàÐÒÝØâÕÛìÝÞ ÝÕÔÐÛÕÚÞ Þâ ßÛÐÝÕâë, ÕÓÞ
ãáÚÞàÕÝØÕ ßÞÔ ÔÕÙáâÒØÕÜ âïÓÞâÕÝØï ßÛÐÝÕâë ×ÝÐçØâÕÛìÝÞ ÑÞÛìèÕ, çÕÜ ãáÚÞàÕÝØÕ
ÁÞÛÝæÐ. ·Ð ÜÕàã ÑÛØ×ÞáâØ ÔÒØÖÕÝØï ÚÞáÜØçÕáÚÞÓÞ ÐßßÐàÐâÐ Ú ÝÕÒÞ×ÜãéÕÝÝÞÜã
ÚÕßÛÕàÞÒÞÜã ÓÕÛØÞæÕÝâàØçÕáÚÞÜã ÔÒØÖÕÝØî ÜÞÖÝÞ ßàØÝïâì ÞâÝÞèÕÝØÕ ÒÕÛØçØÝ
ÒÞ×ÜãéÐîéÕÓÞ ãáÚÞàÕÝØï (100) Ø ÞáÝÞÒÝÞÓÞ ãáÚÞàÕÝØï (99). ²ÜÕáâÞ ÞâÝÞèÕÝØï
ÜÞÔãÛÕÙ áÞáâÐÒØÜ ÞâÝÞèÕÝØÕ ÚÒÐÔàÐâÞÒ íâØå ãáÚÞàÕÝØÙ a′s Ø as:

(
a′s
as

)2

=
( m

M

)2 r4
s

r4
≈

( m

M

)2 R4

r4
. (101)

59



°ÝÐÛÞÓØçÝÞ, ÑÛØ×Þáâì ÔÒØÖÕÝØï áßãâÝØÚÐ Ú ÚÕßÛÕàÞÒÞÜã ßÛÐÝÕâÞæÕÝâàØçÕáÚÞÜã
ÔÒØÖÕÝØî ÜÞÖÝÞ åÐàÐÚâÕàØ×ÞÒÐâì ÞâÝÞèÕÝØÕÜ ÚÒÐÔàÐâÞÒ áÞÞâÒÕâáâÒãîéØå ÒÞ×-
ÜãéÐîéÕÓÞ a′ Ø ÞáÝÞÒÝÞÓÞ a ãáÚÞàÕÝØÙ, ÒëàÐÖÐÕÜëå äÞàÜãÛÐÜØ (98) Ø (97). ¿Õ-
àÕÔ áÞáâÐÒÛÕÝØÕÜ íâÞÓÞ ÞâÝÞèÕÝØï ßàÕÞÑàÐ×ãÕÜ äÞàÜãÛã (98) ÔÛï áÛãçÐï, ÚÞÓÔÐ
m ¿ M . ¿àÕÔáâÐÒØÜ Ò (98) àÐÔØãá-ÒÕÚâÞà rs ÚÐÚ áãÜÜã R + r Ø ßàØ ÒÞ×ÒÕÔÕÝØØ rs

Ò ÚÒÐÔàÐâ ãçâÕÜ, çâÞ Ò ØÝâÕàÕáãîéÕÙ ÝÐá ÞÑÛÐáâØ r ¿ R

r2
s = (R + r)2 = R2 + 2(R · r) + r2 ≈ R2

(
1 + 2

(R · r)
R2

)
,

ÞâÚãÔÐ
1

r3
s

≈ 1

R3

(
1− 3

(R · r)
R2

)
.

ÂÕßÕàì (98) ÜÞÖÝÞ ßàØÒÕáâØ Ú áÛÕÔãîéÕÜã ÒØÔã:

a′ ≈ −GM

R3

[
(R + r)

(
1− 3

(R · r)
R2

)
−R

]
≈ −GM

R3

[
r− 3R

(R · r)
R2

]
.

ÁÞáâÐÒØÜ ÞâÝÞèÕÝØÕ ÚÒÐÔàÐâÞÒ ÒÞ×ÜãéÐîéÕÓÞ Ø ÞáÝÞÒÝÞÓÞ ãáÚÞàÕÝØÙ Ò ßÛÐÝÕâÞ-
æÕÝâàØçÕáÚÞÜ ÔÒØÖÕÝØØ

(
a′

a

)2

=

(
M

m

)2
r4

R6

[
r2 + 3

(R · r)2

R2

]
=

(
M

m

)2
r6

R6
(1 + 3 cos2 θ). (102)

·ÔÕáì Üë ÒÒÕÛØ ãÓÞÛ θ ÜÕÖÔã ÝÐßàÐÒÛÕÝØïÜØ ÒÕÚâÞàÞÒ R Ø r (áÜ. àØá. 21) Ø ßàÕÔáâÐ-
ÒØÛØ Øå áÚÐÛïàÝÞÕ ßàÞØ×ÒÕÔÕÝØÕ (R · r) Ò ÒØÔÕ Rr cos θ. ·Ð ÓàÐÝØæã áäÕàë ÔÕÙáâÒØï
ßÛÐÝÕâë ÞâÝÞáØâÕÛìÝÞ ÁÞÛÝæÐ ßàØÝØÜÐîâ âÕ âÞçÚØ, ÓÔÕ ÞâÝÞèÕÝØï ÒÞ×ÜãéÐîéÕÓÞ
ãáÚÞàÕÝØï Ú ÞáÝÞÒÝÞÜã ÞÔØÝÐÚÞÒë ÔÛï ßÛÐÝÕâÞæÕÝâàØçÕáÚÞÓÞ Ø ÓÕÛØÞæÕÝâàØçÕáÚÞ-
ÓÞ ÔÒØÖÕÝØÙ. ¿àØàÐÒÝØÒÐï ßàÐÒëÕ çÐáâØ ÒëàÐÖÕÝØÙ (102) Ø (101), ÝÐåÞÔØÜ

r

R
=

( m

M

)2/5 1

(1 + 3 cos2 θ)1/10
. (103)

¿àØ θ = ±π/2 (Ò ßÞßÕàÕçÝÞÜ ÝÐßàÐÒÛÕÝØØ) r Ò äÞàÜãÛÕ (103) ØÜÕÕâ ÜÐÚáØÜÐÛìÝÞÕ
×ÝÐçÕÝØÕ

rmax = R
( m

M

)2/5

, (104)

ÚÞâÞàÞÕ ÞÑëçÝÞ Ø ßàØÝØÜÐîâ ×Ð àÐÔØãá áäÕàë ÔÕÙáâÒØï ÜÐÛÞÓÞ âÕÛÐ (ßÛÐÝÕâë) Þâ-
ÝÞáØâÕÛìÝÞ ÑÞÛìèÞÓÞ (ÁÞÛÝæÐ). ² àÐÔØÐÛìÝÞÜ ÝÐßàÐÒÛÕÝØØ (ßàØ θ = 0) àÐÔØãá r Ò
(103) ØÜÕÕâ ÜØÝØÜÐÛìÝÞÕ ×ÝÐçÕÝØÕ

rmin = R
( m

M

)2/5 1
5
√

2
.

¾âÝÞèÕÝØÕ ÜÐÚáØÜÐÛìÝÞÓÞ àÐÔØãáÐ Ú ÜØÝØÜÐÛìÝÞÜã áÞáâÐÒÛïÕâ ÒáÕÓÞ 5
√

2 ≈ 1, 15.
¿ÞíâÞÜã ×Ð ÓàÐÝØæã ÞÑÛÐáâØ áÛÐÑÞÒÞ×ÜãéÕÝÝÞÓÞ ßÛÐÝÕâÞæÕÝâàØçÕáÚÞÓÞ ÔÒØÖÕÝØï
(áÜ. àØá. 21) ÜÞÖÝÞ ßàØÝïâì áäÕàã àÐÔØãáÐ rmax, ÞßàÕÔÕÛïÕÜÞÓÞ äÞàÜãÛÞÙ (104). ²
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ÜÕâÞÔÕ áÞßàïÖÕÝÝëå ÚÞÝØçÕáÚØå áÕçÕÝØÙ ÔÒØÖÕÝØÕ ÚÞáÜØçÕáÚÞÓÞ ÐßßÐàÐâÐ Ò ßàÕ-
ÔÕÛÐå áäÕàë ÔÕÙáâÒØï ßÛÐÝÕâë àÐááÜÐâàØÒÐîâ Ò áØáâÕÜÕ ÞâáçÕâÐ, áÒï×ÐÝÝÞÙ á ßÛÐ-
ÝÕâÞÙ. ÍâÞ ßÛÐÝÕâÞæÕÝâàØçÕáÚÞÕ ÔÒØÖÕÝØÕ ßàØÑÛØÖÕÝÝÞ ÜÞÖÝÞ áçØâÐâì ÚÕßÛÕàÞ-
ÒëÜ, ßàÞØáåÞÔïéØÜ ßÞ íÛÛØßáã, ßÐàÐÑÞÛÕ ØÛØ ÓØßÕàÑÞÛÕ. ¿àØ ßÕàÕáÕçÕÝØØ ÐßßÐ-
àÐâÞÜ ÓàÐÝØæë áäÕàë ÔÕÙáâÒØï ßÛÐÝÕâë ßàÞØ×ÒÞÔïâ ßÕàÕáçÕâ ÕÓÞ ßÞÛÞÖÕÝØï Ø áÚÞ-
àÞáâØ Ò ÓÕÛØÞæÕÝâàØçÕáÚãî áØáâÕÜã ÞâáçÕâÐ. ¿ÞÛãçÕÝÝëÕ ×ÝÐçÕÝØï àÐááÜÐâàØÒÐ-
îâ ÚÐÚ ÝÐçÐÛìÝëÕ ãáÛÞÒØï ÔÛï ÔÐÛìÝÕÙèÕÓÞ ÚÕßÛÕàÞÒÐ ÔÒØÖÕÝØï ÐßßÐàÐâÐ ÞâÝÞ-
áØâÕÛìÝÞ ÁÞÛÝæÐ. ² áÛãçÐÕ áØÛìÝÞ àÐ×ÛØçÐîéØåáï ÜÐáá ßÛÐÝÕâë Ø ÁÞÛÝæÐ ßàØ-
ÑÛØÖÕÝÝëÙ ÜÕâÞÔ áÞßàïÖÕÝÝëå ÚÞÝØçÕáÚØå áÕçÕÝØÙ ÔÐÕâ åÞàÞèØÕ àÕ×ãÛìâÐâë. ¾Ý
á ãáßÕåÞÜ ØáßÞÛì×ãÕâáï ÔÛï ßàÕÔÒÐàØâÕÛìÝÞÓÞ ßàÞÕÚâØàÞÒÐÝØï ÞàÑØâ ÜÕÖßÛÐÝÕâ-
Ýëå ßÕàÕÛÕâÞÒ.
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